Best Plumbing Specialties - Pricelist 2/13/2013

Part No|ltem Description PRICE
00056 UPPER QUAD RING 1.34
00249 PACKING O-RING & WASHER 5.23
00250 POWERS GASKET & WASHER KIT 64.93
00999 AQUA SEAL O RING 0.36
01089 COLD SEAT WASHER 0.74
01095 S* C.W. SEAT WASHER HOLDER 6.18
01096 S* H.W. SEAT WASHER HOLDER 6.18
01099 CAP WASHER 0.68
01106 WAVE WASHER COLONY 1.15
01107 NYLON WASHER (6/PACK) 2.72
01127 S* SEAT WASHER 1.45
01131 HUB WASHER 2.92
01136 HUB WASHER 4.52
01141 SEAT WASHER 2.53
01146 HOLD DOWN WASHER W/SCREWS 3.71
01148 SEAT WASHER 4.26
01149 PLUNGER SEAT 3.52
01150 FIBRE WASHER 2.62
01165 CHICAGO N/S PACKING ASSY 2PC NF 1.92
02000 RED & BLUE SCREWS (PAIR) 4.46
02011 3/8 X 6-32 BRASS ROUND HD SCREW 0.15
02013 1/4 X 8-32 ROUND HD SCREW (CP) 0.35
02014 3/8 X 8-32 BRONZE ROUND HD SCREW 0.16
02015 1/2 X 8-32 BRONZE ROUND HD SCREW 0.19
02016 3/8 X 10-24 BRONZE ROUND HD SCREW 0.22
02017 1/2 X 10-24 BRONZE ROUND HD SCREW 0.23
02018 3/8 X 10-28 BRONZE ROUND HD SCREW 0.20
02019 1/2 X 10-28 BRONZE ROUND HD SCREW 0.23
02020 3/8 X 10-32 BRONZE ROUND HD SCREW 0.19
02021 1/2 X 10-32 BRONZE ROUND HD SCREW 0.22
02030 3/8 X 10-24 MONEL SCREW 0.56
02031 1/2 X 10-24 MONEL SCREW 0.32
02039 3/8 X 10-28 OVAL HD HANDLE SCREW 1.06
02040 3/8 X 10-32 CP ROUND HD SCREW 0.51
02041 5/16 X 10-24 OVAL HD HANDLE SCREW 0.37
02042 8-32 X 3/8 TRUSS HD HANDLE SCREW 0.55
02046 3/4 X 8-32 OVAL HD HANDLE SCREW 0.44
02053 COVER SCREW 2.64
02086 ADJ. CROSS HANDLES (PAIR) (CP) 15.91
02090 1/2 X 10-24 TRUSS HD HANDLE SCREW 0.33
02097 SCREW FOR VACUUM BREAKER 1.12
02100 1/4 X 10-32 OVAL HD HANDLE SCREW 0.37
02102 5/8 X 10-24 S/S SET SCREW FOR 1.02
02103 PLATE SCREW (2) 3.66
02109 SCREW 10-24 X .375 2.34

STS # 800130

Page 1



Best Plumbing Specialties - Pricelist 2/13/2013

02110 9/16 X 8-32 TRUSS HD HANDLE SCREW 0.37
02112 KOHLER B/C SCREEN 2.78
02114 SET SCREW 1.17
02115 OEM KOHLER SCREW 2.51
02117 ESCUTCHEON SCREWS (2) (CP) 9.36
02125 SPEAKMAN MACHINE SCREW 4.10
02126 PHILLIPS HEAD SCREW 2.92
02128 10-24 X 3/16 SET SCREW 0.59
02129 MACHINE SCREW 2.92
02133 1/2 X 8-32 BRASS ROUND HD HANDLE 2.95
02134 ESCUTCHEON SCREWS (2 REQ) (PAIR) 3.17
02135 HOLD DOWN WASHER W/SCREW 3.71
02139 8-32 X 1/2 OVAL HD HANDLE SCREW 0.37
02156 10-32 X 1/2 FLAT HD ALLEN S/S SCREWS 13.26
02168 10-32 X 3/4 S/S HEX DRIVE SOCKET CAP 0.28
03001 ESCUTCHEON RETAINER CLIP 2.95
03002 LEVER VICE GRIP H&C HANDLE (PAIR) 6.77
03010 1/4S CP BR RETAINER CUP 1.35
03011 1/4 RETAINER CUP 0.68
03013 3/8 CP BR RETAINER CUP 1.44
03014 3/8M CP BR RETAINER CUP 1.58
03015 3/8L CP BR RETAINER CUP 1.18
03016 S* 1/2 RETAINER CUP 1.29
03018 AQUASEAL WASHER 0.49
03034 S* 1-1/4 X 10-24 PAN HEAD SCREW 0.46
03035 1/2L RETAINER CUP 1.62
03037 5/8L CP BR WASHER RETAINER 0.54
03038 PAN HEAD SCREW - SLOTTED 0.30
03050 STEM NUT GASKET 0.59
03091 FRICTION WASHER 0.70
03092 SLIP JOINT WASHER 0.66
03093 SERVOMOTOR PILOT ORIFICE SPRING 1.67
03105 SPRING 7.93
03115 POWERS SPRING 4.92
03602 3-1/8 X 10-24 TRUSS HD SCREW ZINC 7.00
04005 S* BONNET PACKING 11/16 X 27/64 X 5/16 0.92
04009 S* BONNET PACKING 39/64 X 7/16 X 7/32 0.51
04013 BONNET PACKING 43/64 X 13/32 X 15/64 1.27
04015 BONNET PACKING 11/64 X 27/64 X 11/32 0.68
04016 S* BONNET PACKING 57/64 X 29/64 X 13/32 0.77
04020 S* BONNET PACKING 3/4 X 25/64 X 1/4 0.34
04027 SNAKE EYE SCREW FOR 81102 0.62
04031 PR/PF FIBRE CAP THREAD GASKET 0.52
04043 STEM PACKING 2.45
04046 SPOUT PACKING BACK MOUNT FAUCET 1.76
04049 S* PACKING 0.54
04052 S* CHASE PACKING 1.35

STS # 800130

Page 2



Best Plumbing Specialties - Pricelist 2/13/2013

04053 PACKING RUBBER (10/PACK) 8.72
04054 P/U ROD PACKING (12/PACK) 4.64
04055 PACKING (10/PACK) 10.43
04059 BATH PACKING 1.54
04068 PACKING 2.16
04069 BATH STEM PACKING 0.71
04071 VALVE BONNET PACKING 3.83
04079 S* BONNET NUT 6.26
04082 2-3/4 0D X 2 IN ID NO-PUTTY GASKET 1.05
04083 2IN OD X 1-1/2 ID NO-PUTTY GASKET 1.33
04084 4-1/4 OD X 3-3/8 ID NO-PUTTY GASKET 1.55
04090 00 STANDARD RED FLAT BIBB WASHER 0.11
04091 0 STANDARD RED FLAT BIBB WASHER 0.11
04092 1/4 STANDARD RED FLAT BIBB WASHER 0.11
04094 1/4L STANDARD RED FLAT BIBB WASHER 0.11
04097 3/8L STANDARD RED FLAT BIBB WASHER 0.11
04098 3/8 STANDARD RED FLAT BIBB WASHER 0.12
04099 1/2 STANDARD RED FLAT BIBB WASHER 0.14
04154 SCREW 3.27
04156 ESCH SCREW CP 4.24
04157 WASHER SCREW S/S 2.92
04161 S* HANDLE SCREW 2.16
04162 URINAL OUTLET GASKET 3.27
04163 KOHLER WASHER SCREW 1.46
04165 CHICAGO SPOUT GASKET 2.59
04168 CHICAGO RUBBER WASHER NF 2.78
04174 NYLON RETAINING SEAL 14.56
04176 WASHER 3.38
04182 2 X 2-1/4In 3 PLY CLOTH INSERTED 4.01
04184 SPEAKMAN FIBRE WASHER 1.62
05011 S* O-RING 1.60
05012 COUNTERSUNK SCREW (CP) 3.96
05013 SPRING 4.27
08001 FIBRE CAP THREAD GASKET 0.51
08012 CRANE CORK CAP GASKET 0.45
08015 O/S DELTA SEAT (LONG) 0.54
08016 CORK BONNET GASKET 0.58
08017 FIBER CAP THREAD GASKET 0.23
08019 CAP THREAD GASKET 0.14
08022 S* FIBER CAP THREAD GASKET 0.24
08024 POLY CAP THREAD GASKET 0.22
08028 CRANE HANDLE ADAPTER 0.52
08029 FIBER CAP THREAD GASKET 0.16
08031 POLY CAP THREAD GASKET 0.30
08033 NEW STYLE DELTA SEAT 0.74
08036 SHORT CONICAL SPRING 0.54
08037 DELTA CAM 0.99

STS # 800130

Page 3



Best Plumbing Specialties - Pricelist 2/13/2013

08040 INLET SEAL 0.30
08043 SPRING 0.22
08044 WHITE PLASTIC INSERT 0.13
08055 DISC COLONY BATH SHOWER 0.78
08067 GASKET 3.38
08068 GASKET 1.61
08071 POWERS GASKET & DISC 28.85
08072 FIBRE GASKET 0.17
08084 DELTA GASKET & PIVOT SEAT P/U 5.57
08086 POWERS WASHER & GASKET KIT 36.19
08569 A/S SPRING 2.23
09000 FIBER CAP THREAD GASKET 0.14
09001 POLY CAP THREAD GASKET 0.24
09003 POLY CAP THREAD GASKET 0.29
09008 FIBER CAP THREAD GASKET 0.34
09011 FIBER CAP THREAD GASKET 0.34
09014 FIBER CAP THREAD GASKET 0.17
09016 AM STD WASHER 0.63
09018 RUBBER CAP THREAD GASKET 0.36
09027 S* POLY CAP THREAD GASKET 0.24
09038 PLASTIC HANDLE INSERT 2.95
09300 HOT ROUND CANOPY HANDLE (CP) 4.56
09301 COLD ROUND CANOPY HANDLE (CP) 4.56
09302 HOT CANOPY HANDLE 1-1/4 2.47
09303 COLD CANOPY HANDLE 1-1/4 2.47
09507 COVER GASKET 3.80
09508 CHECK SPRING 3.86
09509 COVER GASKET 3.52
09510 FIT-ALL BROACH TRI-SET 6.19
09512 BROACH ADAPTER DELEX 1.02
09514 BROACH ADAPTER PP-CR-RE 0.77
09515 BROACH ADAPTER AM STD 2.13
09517 BROACH ADAPTER AM STD 0.40
09528 BROACH ADAPTER AM/BR-BRIGGS 3/PK 1.33
09600 HANDLE INSERT - CRANE 1.46
09601 HANDLE INSERT - PRICE PFISTER 1.46
09602 HANDLE INSERT - AM STD 1.46
09603 HANDLE INSERT - STERLING 1.66
09604 HANDLE INSERT - CENTRAL BRASS 1.46
09605 HANDLE INSERT - KOHLER 1.07
09609 7/16 IN HANDLE INSERT - AM STD 1.46
09611 HANDLE INSERT - GERBER 1.46
09612 HANDLE INSERT - SPEAKMAN 1.46
09613 HANDLE INSERT - PRICE PFISTER 1.46
09614 S* SMALL HANDLE INSERT - AM STD 1.46
09617 HANDLE INSERT - BRIGGS INDIANA 1.46
09618 HANDLE INSERT - CENTRAL BRASS 1.75

STS # 800130

Page 4



Best Plumbing Specialties - Pricelist 2/13/2013

09621 HANDLE INSERT - UNIVERSAL RUNDLE 1.46
09623 HANDLE INSERT - CHICAGO FAUCET 1.46
09624 HEX HANDLE INSERT - CENTRAL BRASS 1.75
09627 HEX HANDLE INSERT - 3/8 & 7/16 AM STD 2.14
09633 HEX HANDLE INSERT - 5/16 SQ & 1.75
09634 HEX HANDLE INSERT - 1/4 SQ & 3/8 SQ 1.75
09637 HEX HANDLE INSERT - FIT-ALL 1.56
09641 S* STEM X-TENDER - PRICE PFISTER 9.91
09642 STEM X-TENDER - AM STD HERITAGE 11.05
09644 STEM X-TENDER - ACME BRASS/ 11.05
09646 STEM X-TENDER - SAVOY 11.59
09661 SEAT WASHER W/BRASS RING 11.01
09662 OEM HANDLE SCREW 2.62
09700 H/C FIT-ALL ACRYLIC HANDLES (PAIR) 10.75
09704 H/C FIT-ALL ACRYLIC HANDLES (PAIR) 10.90
09706 DIVERTER FIT ALL ACRYLIC HANDLE 7.57
09715 SPLINE ADAPTER (2) 4.70
09802 S* AM STD SET SCREW 0.50
09819 SET SCREW 10/32 X 7/16 0.32
09820 SLOW CLOSE REPAIR KIT 3.07
09821 CHICAGO HARD WASHER 0.57
09822 MONEL SEAT NF 1.07
09826 1/8 X 3 FT X 3 FT GASKET MATERIAL 34.34
10000 THREAD LOCKING COMPOUND 0.2 0Z 4.81
10129 NEW STYLE POWERS EXTRACTER 29.93
10322 2-PIECE RENEWABLE SEAT SOCKET 62.76
10325 ALLEN SCREW SET 9.14
10344 ADJUSTABLE BASIN EXTRACT LG 48.04
10356 3/4 X 4 WALL CORNER GUARD CLEAR 2.04
10374 SPRING SEAT EXTRACTOR 3.21
10646 6-32 X 1/2 FLAT HD MACH SCREW 0.30
10647 6-32 X 3/4 FLAT HD MACH SCREW 0.35
10648 8-32 X 1/2 PAN HD MACH SCREW 0.40
10649 8-32 X 1/2 FLAT HD MACH SCREW 0.32
10650 8-32 X 1 PAN HD MACH SCERW 0.33
10652 10-32 X 1/2 PAN HD MACH SCREW 0.36
10653 10-32 X 1/2 FLAT HD MACH SCREW 0.39
10654 10-32 X 1 PAN HD MACH SCREW 0.49
10655 10-32 X 1 FLAT HD MACH SCREW 0.39
10656 10-24 X 1/2 PAN HD MACH SCREW 0.39
10657 10-24 X 1/2 FLAT HD MACH SCREW 0.39
10658 10-24 X 1 PAN HD MACH SCREW 0.49
10659 10-24 X 1 FLAT HD MACH SCREW 0.39
10660 #8 X 1/2 PAN HD SHEET METAL SCREW 0.33
10661 #8 X 1 PAN HD SHEET METAL SCREW 0.34
10662 #8 X 1 FLAT HD SHEET METAL SCREW 0.52
10663 #10 X 1/2 PAN HD SHEET METAL SCREW 0.39

STS # 800130

Page 5



Best Plumbing Specialties - Pricelist 2/13/2013

10664 #10 X 1 PAN HD SHEET METAL SCREW 0.44
10665 #10 X 1 FLAT HD SHEET METAL SCREW 0.44
10666 #6 X 3/4 PAN HD SHEET METAL SCREW 0.40
10670 1-1/2 MECHANICAL PIPE PLUG 5.34
10672 S* TUB SEAT (10/PACK) 14.13
10675 1.6 GAL PLUNGER 8.62
10678 DRAIN KING3TO 4 IN 30.82
10703 DRAIN KING MINI 1-1/2 TO 3 IN 17.21
10743 18 IN X 3/4 BLK VELCRO TAPE FAST 2.64
10747 3/8 DRIVE EXTENSION - LIGHTED 34.19
10749 4FT X 2IN BLK HD VELCRO TAPE 9.57
10751 GRIP N CLIP FOR D CELL 9.94
10752 GRIP N CLIP FOR AA CELL 6.29
10854 5/16 X 25 FT CABLE (BULB AUGER) 53.00
10855 5/16 X 25 FT CABLE DROP HEAD 66.37
10856 3/8 X 25 FT CABLE (MALE CPLG) 65.61
10857 3/8 X 35 FT CABLE (BULB AUGER) 80.89
10858 3/8 X 35 FT CABLE (MALE CPLG) 85.84
10860 5/8 CABLE SECTION ALL-PURP WIND 31.30
10862 BULB AUGER 1-1/8 OD 18.72
10863 BULB AUGER 7/8 OD 18.72
10865 FUNNEL AUGER 3 IN 19.49
10873 4 IN DROP HEAD AUGER 20.38
10884 TURBO TORCH KIT 134.34
10885 3/16 SOF FLAME TIP 31.53
10886 5/16 SOF FLAME TIP 41.56
10889 1/4 SOF FLAME TIP 39.37
10920 3/16 X 7/8 PLASTIC ANCHOR 0.08
10921 1/4 X 1 PLASTIC ANCHOR 0.08
10922 14-16 X 1-1/2 PLASTIC ANCHOR 0.09
10929 2 IN MECHANICAL PIPE PLUG 6.14
10930 3 IN MECHANICAL PIPE PLUG 8.29
10931 4 IN MECHANICAL PIPE PLUG 9.08
10949 MASTER ANCHOR W/ OFFSET 6.60
10970 ANCHOR & SCREW ASSORTMENT 13.07
10971 ANCHOR & SCREW ASSORTMENT 14.36
10972 ANCHOR & SCREW ASSORTMENT 22.18
10981 E-Z TOGGLE ANCHOR 1.07
10999 RETAINER PLATE 8.74
11188 2-3/4 X 3/16 PH CEMENT SCREW 0.31
11189 1-3/4 X 3/16 PH CEMENT SCREW 0.28
11190 1-1/4 X 3/16 PH CEMENT SCREW 0.17
11201 HOT SEAT REMOVAL TOOL 10.33
11202 COLD SEAT REMOVAL TOOL 10.33
11203 BOA ALUMINUM STRAP WRENCH 17.43
11218 1-1/4 X 8-18 PHIL PAN HD SLF DRL 0.07
11219 1-1/2 X 10-16 PHIL PAN HD SLF DRL 0.14

STS # 800130

Page 6



Best Plumbing Specialties - Pricelist 2/13/2013

11220 3/8 X 6-20 PHIL PAN HD SLF DRL SCREW 0.04
11221 1/2 X 8-18 PHIL PAN HD SLF DRL SCREW 0.04
11222 3/4 X 8-18 PHIL PAN HD SLF DRL SCREW 0.05
11224 1/2 X 10-16 PHIL PAN HD SLF DRL 0.07
11226 3/4 X 10-16 PHIL PAN HD SLF DRL 0.07
11237 8-32 X 1/2 ONE WAY SCREW 0.18
11238 8-32 X 3/4 ONE WAY SCREW 0.19
11239 8-32 X 1 ONE WAY SCREW 0.24
11240 10-24 X 1/2 ONE WAY SCREW 0.23
11241 10-24 X 3/4 ONE WAY SCREW 0.18
11242 10-24 X 1 ONE WAY SCREW 0.23
11243 8-32 X 1/2 SMOOTH HEAD 0.51
11244 10-24 X 5/8 BARREL NUT-CP RH 0.63
11245 PARTITION BOLTS SET 0.63
11250 10 X 1-1/2 SHEET METAL SCREW 0.14
11252 7 X 1/2 SHEET METAL SCREW 0.07
11253 8 X 1/2 SHEET METAL SCREW 0.08
11254 8 X 3/4 SHEET METAL SCREW 0.07
11256 10 X 1/2 SHEET METAL SCREW 0.08
11257 10 X 3/4 SHEET METAL SCREW 0.08
11274 8 X 1/2 ONE WAY SHEET METAL 0.19
11275 8 X 3/4 ONE WAY SHEET METAL 0.17
11276 8 X1 ONE WAY SHEET METAL 0.30
11277 10 X 1/2 ONE WAY SHEET METAL 0.14
11278 10 X 3/4 ONE WAY SHEET METAL 0.16
11279 10 X 1 ONE WAY SHEET METAL 0.26
11281 E-Z ANCHOR ZINC 0.27
11286 MR. GRIP STRIPPED SCREW HOLE 2.71
11287 8 X 1/2 DRILTIP HEX HD S/M/S 0.10
11288 8 X 3/4 DRILTIP HEX HD S/M/S 0.10
11289 8 X 1 DRILTIP HEX HD S/M/S 0.11
11290 8 X 1-1/4 DRIPTIP HEX HD S/M/S 0.14
11291 8 X 1-1/2 DRIPTIP HEX HD S/M/S 0.16
11292 8 X 2 DRILTIP HEX HD S/M/S 0.21
11299 UV SAFETY GLASSES, BLUE LENS 8.29
11356 TORCH GUARD 21.32
11364 KEY FOR B & MC TANKS 6.61
11372 PUSH TYPE HAND CLEANER WALL 49.15
11442 LUMI-NUTS 2 POLE CONNECTOR 1.11
11443 LUMI-NUTS 3 POLE CONNECTOR SW & DIM 1.42
11444 LUMI-NUTS 3 POLE CONNECTOR MF/BL 1.44
11445 LEVER-NUT 2 CONNECTOR REUSABLE 0.35
11446 LEVER-NUT 3 CONNECTOR REUSABLE 0.44
11447 LEVER-NUT 5 CONNECTOR REUSABLE 0.71
11452 HOSE GRIP W/M CONNECTOR 11.51
11480 SOLENOID WRENCH FOR SLOAN 19.47
11577 OPTI-KLENS GREEN CAPS (PAIR) 10.82

STS # 800130

Page 7



Best Plumbing Specialties - Pricelist 2/13/2013

11578 OPTI-KLENS RED CAPS (PAIR) 10.82
11607 MASTER PLUNGER 13.69
11852 S* MR. GRIP FURNITURE REPAIR 2.79
12000 HOSE SPRAY ASSY W/UNION NUT 11.64
12001 SPRAY HOSE ASSY MALE 15.84
12002 SPRAY HEAD ONLY 7.43
12004 4 FT HOSE 10.15
13019 FRICTION RING 39/64 X 7/16 X 1/16 0.41
13026 FRICTION RING 39/64 X 25/64 X 1/16 0.47
13034 LOCK WASHER 0.30
13041 ADJUSTING RING 1.67
13043 KOHLER BRASS WASHER 4.11
13046 BRASS WASHER 3.05
13051 BRASS WASHER 0.65
13052 PACKING WASHER 0.89
13054 FRICTION WASHER 1.02
13055 WASHER 1.15
13056 WASHER FOR CW CHOKE 0.58
13552 DELTA BONNET REPAIR 9.94
14142 AM BR SEAT .554 OD X 20TH 1.01
14143 AM KT SEAT 1/20D X 20TH 1.01
14145 A/S 7/160D X 24TH 0.86
14146 A/S SEAT 9/160D X 24TH 1.26
14147 A/S SEAT 1/2 OD X 20TH 0.68
14148 A/S SEAT 9/160D X 18TH 0.70
14149 A/S S/L SEAT 55/64 OD X 24TH 2.20
14150 NYLON SEAT 3/16 X 1 X 22 3.22
14410 A/S SEAT 7/80D X 24TH 8.00
14416 S* BORG-WAR SEAT 7/160D X 20TH 2.18
14417 BRIGGS SEAT 1/20D X 24TH 1.01
14421 BR RP ST 5/80D X 20TH 2.61
14423 CT BR SEAT 1/20D X 24TH 1.07
14424 CT BR SEAT 5/80D X 24TH 1.39
14426 CENTRAL SEAT 9/16 X 27TH 1.54
14427 CT BR SEAT .5/8 OD X 24TH 1.60
14428 S* CT BR SEAT 1/2 OD X 24TH 2.62
14429 CHASE SEAT 5/8 OD X18TH 3.81
14430 SAVOY SEAT (BRASS) 0.96
14432 SLEEVE SEAT 4.90
14433 SEAT 4.65
14434 PLUNGER L.H. HOT 4.11
14435 PLUNGER R.H. COLD 4.11
14443 SAVOY SEAT 1.80
14456 HANDLE INSERT FOR KOHLER 5.26
14600 2.2 GPM AERATOR REG SLOTTED 3.00
14601 2.2 GPM AERATOR REG SLOTTED 3.00
14602 2.2 GPM AERATOR SMALL SLOTTED 3.33

STS # 800130

Page 8



Best Plumbing Specialties - Pricelist 2/13/2013

14603 2.2 GPM AERATOR SMALL SLOTTED 3.17
14604 2.2 GPM AERATOR REG SLOTTED 3.66
14607 CHICAGO 2.0 GPM VANDAL RESISTANT 13.54
14609 CHICAGO 2.0 GPM SOFTFLO AERATOR 10.60
14610 2.2 GPM SWIVEL AERATOR DUAL THREAD 6.20
14611 2.2 GPM AERATOR REG 15/16-27 MALE 3.94
14612 2.2 GPM AERATOR REG 55/64-27 FEMALE 5.42
14623 2.2 GPM AERATOR REG 15/16-27 MALE 3.59
14624 2.2 GPM AERATOR REG 55/64-27 FEMALE 3.22
14626 2.2 GPM AERATOR SMALL 3/4-27 FEMALE 2.75
14628 2.2 GPM AERATOR REG DUAL THREAD 3.67
14631 2.2 GPM S/M CONSERVERATOR 5.24
14632 1.50 GPM AERATOR REG DUAL THREAD 3.82
14634 1.50 GPM AERATOR REG 55/64-27 FEMALE 3.59
14636 CHICAGO FAUCET AERATOR ADAPTER 2.42
14639 2.2 GPM AERATOR DUAL THREAD (PB) 1.98
14640 2.2 GPM AERATOR REG DUAL THREAD 2.03
14665 2.2 GPM SPEAKMAN AERATOR 13/16-27 3.49
14675 T&S AERATOR 2.2 GPM 3/8 MALE 7.45
14789 0.5 GPM AERATOR REG 15/16-27 MALE 4.93
14795 0.5 GPM AERATOR REG 55/64-27 FEMALE 4.35
14802 FLOW GUARD FEMALE/MALE 32.86
14805 QUIK-WASH FAUCET CONTROL W/ 31.60
14997 2.2 GPM SOFT FLO AERATOR (CP) 14.31
14998 1.5 GPM AERATOR REG DUAL THREAD 1.61
15520 AM STD BRASS SEAT 2.41
15530 CRANE SEAT 9/16 OD X 22TH 1.55
15532 CRANE SEAT 11/16 OD X 22TH 2.01
15534 CRANE SEAT 9/16 OD X 18TH 1.26
15535 CRANE SEAT 9/16 OD X 22TH 1.45
15537 DICK BROS. SEAT 9/16 X 27 1.07
15539 ELJER SEAT 1/2 OD X 27TH 1.04
15541 ELJER SEAT 1/2 OD X 20TH 0.63
15542 ELJER SEAT 9/16 OD X 27TH 1.68
15543 ELJER SEAT 1/2 OD X 27TH 2.67
15544 ELJER SEAT 1/2 OD X 27TH 2.78
15545 GERBER SEAT 5/8 OD X 20TH 1.02
15546 S* GERBER SEAT 5/8 OD X 20TH 3.32
15547 HARCRAFT SEAT 3/4 OD X 20TH 1.90
15548 HARCRAFT SEAT 5/8 OD X 18TH 1.01
15552 KOHLER SEAT 1/2 OD X 27TH 0.90
15553 KOHLER SEAT 5/8 OD X 27TH 0.78
15555 KOHLER SEAT 5/8 OD X 27TH 1.18
15556 KOHLER SEAT 1/2 OD X 27TH 0.85
15557 KOHLER SEAT GALAXY 1.08
15561 MILWAUKEE SEAT 33/64 OD X 27TH 1.25
15562 KOHLER SEAT 11/16 OD X 27TH 6.57

STS # 800130

Page 9



Best Plumbing Specialties - Pricelist 2/13/2013

15563 PR PF SEAT 21/32 OD X 18TH 1.08
15566 REPCAL SEAT NO THREAD 1.03
15567 REPCAL SEAT 9/16 OD X 28TH 1.19
15572 AM STD SEAT 5.00
15573 S* FLOW CONTROL WASHER 13.26
15575 GROHE 1/2 IN RENEWABLE SEAT SET 18.07
16001 FAUCET AERATOR ADAPTER 1.98
16002 FAUCET AERATOR ADAPTER 3.52
16003 FAUCET AERATOR ADAPTER 1.86
16006 FAUCET AERATOR ADAPTER 3.18
16008 FAUCET AERATOR ADAPTER 5.08
16010 FAUCET AERATOR ADAPTER 1.79
16019 FAUCET AERATOR ADAPTER 4.23
16023 FAUCET AERATOR ADAPTER 3.27
16031 FAUCET AERATOR ADAPTER (CP) 3.44
16671 SAVOY SEAT 9/16 OD X 20TH 0.78
16672 SAVOY SEAT 1/2 OD X 20TH 0.91
16673 SAYCO SEAT 1/20D X 20TH 0.94
16676 SCHAIBLE SEAT 5/8 OD X 20TH 1.55
16677 SEARS SEAT 17/32 OD X 24TH 1.26
16678 SP KNT SEAT 7/16 OD X 27TH 0.78
16679 SPEAKMAN SEAT 5/8 OD X 24TH 1.60
16680 SP/FI SEAT 9/16 OD X 28TH 1.44
16682 STERLING SEAT 1/2 OD X 24TH 0.85
16683 STREAMWAY SEAT 1/2 OD X 24TH 2.89
16686 UNION SEAT 33/64 OD X 18TH 2.56
16689 UNION SEAT 5/8 OD X 18TH 0.92
16692 S* U/R SEAT 9/160D X 24TH 2.07
16695 WOLVERINE SEAT 1/2 OD X 24TH 0.77
16697 WOLVERINE SEAT 11/16 OD X 20TH 3.60
16711 AM STD COLD BARREL W/O-RING 3.40
16716 S* AM STD BARREL BATH HOT ONLY 16.22
16718 KOH BARREL COLD W/RING 3.71
16723 AM STD SEAT 33/64 OD X 18TH 2.17
16724 AM STD SEAT 19/32 OD X 20 TH 3.20
16725 M A/S ST 7/16 OD X 24TH 5.53
16726 M A/S SEAT M 9/16 OD X 24TH 4.07
16727 M A/S SEAT 1/2 OD X 20TH 5.26
16732 M CT ST 1/2 OD X 24TH 4.37
16735 M GERBER SEAT 5/80D X 20T 5.21
16738 M P/P SEAT 21/320D X 18TH 3.30
16739 M P/P SEAT 1/2 OD X 20TH 4.94
16741 M SAYCO SEAT 1/2 OD X 20TH 4.94
16744 M SPEAKMN ST 5/8 OD X 24TH 7.80
16745 M SPEAKMAN SEAT 9/16 OD X 28TH 5.01
16746 M STERLING SEAT 1/2 OD X 24TH 5.26
16749 S* M WOLVERINE SEAT 4.49

STS # 800130

Page 10



Best Plumbing Specialties - Pricelist 2/13/2013

16755 RUBBER COATED MONEL SEAT FOR 2.56
16783 GERBER SEAT 1/2 OD X 20TH 1.15
16791 INDIANA BRASS SEAT 9/16 OD X 27TH 3.24
16797 ROYAL BRASS SEAT 1/2 OD X 20TH 2.56
16809 NEW STYLE A/S SEAT 7/160D X 24TH 0.89
16819 T&S SEAT 1/2 OD X 27TH 0.66
16825 S* UNION BRASS SEAT 5/8 OD X 1 2.34
16827 UNION BRASS SEAT 5/8 OD X 18TH 1.80
17735 MIGHTY PUMP 7.11
18016 O/S DELTA SPRING (LONG) 134A 0.55
18020 CF MONEL RETAINER 1.30
18021 CF MONEL SEAT 1-27 1.55
18023 CHICAGO NUT 1/4 10-32 1.45
18025 LOCKNUT A/S AQUASEAL 2.12
18883 6 FT HEATING CABLE 28.01
18889 24 FT HEATING CABLE 49.74
20000 WATERSAVER STEM PACKING 3.11
20001 WATERSAVER RETAINER WASHER 1.71
20002 WATERSAVER STEM FRICTION RING 1.88
20003 WATERSAVER BARREL 7.46
20004 WATERSAVER SEAT 7.08
20005 WATERSAVER UNIT WASHER 191
20006 WATERSAVER VOLUME CONTROL 2.89
20008 DIVERTER RETAINER 3.99
20010 METERING S/S SPRING 3.83
20011 ADJUSTING PIECE 6.01
20240 KOHLER WASHER KIT 7.37
20241 1/4 SS HEX HEAD BOLT ASSORT 75.84
20242 3/8 SS HEX HEAD BOLT ASSORT 128.36
20243 5/16 SS HEX HEAD BOLT ASSORT 90.67
20244 1/4 5/16 3/8 HEX HEAD BOLT ASSORT 162.68
20245 MASTER SHEET METAL SCREW ASSORT 170.49
20246 1/45/16 3/8 SS HEX HD BOLT ASSORT 279.85
20262 LUMI-NUTS BALLAST CONNECTORS 44.28
20268 LEVER-NUTS CONNECTOR ASSORT 39.25
21006 CHICAGO FELT WASHER NF 1.35
21009 SOFT RUBBER SEAT WASHER 0.44
21016 BLACK SEAT WASHER 0.22
21017 HARD FIBER WASHER 2.88
21036 FIT-ALL BALL ROD SET 3.77
21044 S* FLANGE 10.01
21100 PUSH BUTTON CARTRIDGE FOR FOOT 63.59
21101 S* PEDAL VALVE BUTTON ASSY (CP) 25.04
21103 PEDAL VALVE SPRING 1.36
21104 PEDAL VALVE WASHER (RB) 1.06
21106 PEDAL VALVE LEATHER WASHER NF 1.46
21108 CHICAGO PEDAL VALVE CAP GASKET 0.57

STS # 800130

Page 11



Best Plumbing Specialties - Pricelist 2/13/2013

21109 PEDAL VALVE SLEEVE (RB) 7.75
21111 PEDAL VALVE RUBBER SEAT 1.09
21112 PEDAL VALVE RETAINER (RB) 1.29
21113 PEDAL VALVE RUBBER CUP WASHER NF 2.23
21114 PEDAL VALVE WASHER NF 0.75
21115 PEDAL VALVE WASHER NF 0.79
21116 STEM NUT NF 1.58
21117 DASH POT - FAST 9.43
21118 S* CAM TYPE KNEE VALVE CARTRIDGE NF 57.31
21122 S* KNEE ACTION SLOW DASHPOT NF 16.08
21123 CHICAGO CAP NUT (CP) 11.91
21125 CHICAGO WASHER 0.52
21126 CHICAGO RH QUATURN SLEEVE (RB) 8.55
21128 CHICAGO LH QUATURN SLEEVE (RB) 9.14
21129 CHICAGO CAP NUT (RB) 17.38
21132 NAIAD CARTRIDGE REPAIR KIT 15.88
21133 CHICAGO CARTRIDGE (AB) 58.03
21134 CHICAGO SLOW CLOSING PUSH 54.72
21135 CHICAGO CARTRIDGE NF 61.14
21136 INDEX BUTTON (CP) 5.37
21139 CHICAGO RUBBER SEAT WASHER NF 0.98
21140 WATERSAVER HOT INDEX 2.55
21141 WATERSAVER COLD INDEX 2.55
21144 5/8 X 8-32 CP TRUSS HEAD HANDLE 1.96
21145 FOUR ARM HANDLE 20.50
21156 CARTRIDGE REPAIR KIT NF 10.61
21447 AMARILIS CARTRIDGE COMPLETE 24.06
21558 CARTRIDGE SEALKIT 6.25
21560 CARTRIDGE HYDROSEAL 1.39
22400 DIAPHRAGM ASSY- AUTOSTREAM KIT 28.21
22410 HALSEY TAYLOR SELF CLOSING KIT 24.86
22596 RETAINER CLIP POSI-TEMP 7.35
22631 CHICAGO METAL CROSS HNDL PAIR CP 32.78
22702 S/L CARTRIDGE ASSY 40.46
22703 STEM EXTENSIONS 3-1/4 (2) 8.89
22705 SPOUT GLAND (RB) 2.55
22706 SPOUT PACKING NF 1.93
22707 SPLIT RETAINER RING NF 1.39
22708 SINGLE-FUNCTION PRESSURE 55.04
22709 DUAL-FUNCTION VOLUME & PRESSURE 76.50
22731 S/L CARTRIDGE W/(2) DIAPHRAGMS 36.12
22732 S* CARTRIDGE SCREW 0.91
22753 AQUARIAN CARTRIDGE SEAL KIT 6.49
22754 CARTRIDGE ASSY - AQUARIAN 4.0 GPM 27.27
22758 S/L CARTRIDGE 16.94
22759 HOT CARTRIDGE OLD STYLE 28.75
22760 COLD CARTRIDGE OLD STYLE 28.75

STS # 800130

Page 12



Best Plumbing Specialties - Pricelist 2/13/2013

22763 A/S BRASS WRIST HANDLE PAIR (CP) 61.69
22784 HOT CARTRIDGE (METAL) 46.52
22785 COLD CARTRIDGE (METAL) 46.52
23540 STOP TUBE (CP) 8.46
23541 CARTRIDGE REPAIR KIT 13.90
23542 MOEN CARTRIDGE 50.42
23543 LEVER HANDLE KIT (CP) 21.09
23545 ACRYLIC KNOB 25.79
23546 LINK 2.12
24304 STOPPER (CP) 51.14
24307 DRAIN PLUG S/A (CP) 31.01
24311 STOP TUBE FOR MOEN 4.32
24313 S* POP-UP KNOB (CP) 4.69
24315 BALL ROD ASSY SHORT 6-28 W/LOOP 8.08
24318 ROCKER ARM 15.80
24319 LAV POP-UP STOPPER (CP) 5.48
24343 STOPPER ASSY (CP) 59.55
24345 DELTA KNOB & ROD ASSM 19.14
24346 HOT TAPERED METERING HANDLE & 41.34
24347 COLD TAPERED METERING HANDLE & 41.34
24459 COLD WRIST BLADE HANDLE (CP) 45.14
24512 1/4 TURN CARTRIDGE 5.16
24518 VALLEY STOPPER 5.43
24519 1/4 TURN REVERSE CARTRIDGE 5.16
24520 LAV STOPPER 3.87
24522 1-1/2 STOPPER ONLY 3.50
24527 S* P/U STOPPER GASKET 0.77
24528 P/U STOPPER 2.79
24531 TUBULAR POP-UP STOPPER 8.80
24533 STEEL STRIKER FOR POP-UP DRAIN 3.05
24542 DELTA STOPPER 5.85
24564 DELTA ROD W/CLIP 8.34
24575 DELTA POP-UP BASIN GASKET 5.90
24639 CENTRAL BRASS 2-9/16 ESCUTCHEON 3.40
24640 12 IN TUBE SPOUT (CP) 33.70
24643 8 IN DELTA SPOUT 21.91
24644 SPOUT FOR KITCHEN FAUCET 34.72
24649 SPOUT POST W/ O RINGS 5.50
24655 CHATEAU 9 IN SPOUT (CP) 81.91
24656 KITCHEN SPOUT KIT (CP) 54.61
24657 S* TUB SPOUT 18.28
24660 8 IN TUBULAR SPOUT W/NUT (CP) 29.22
24667 KITCHEN SPOUT 25.49
24675 SAVOY SPOUT POST 5.97
24678 SWING SPOUT POST (RP) 29.22
24679 RP TRITON SPOUT POST 37.59
24692 FACE PLATE 5.70

STS # 800130

Page 13



Best Plumbing Specialties - Pricelist 2/13/2013

24693 1IN COLLAR ASSY 6.72
24694 1IN PLUG ASSY 3.60
24695 1IN SPRING 1.52
24696 3/4 COLLAR ASSY 6.72
24697 3/4 PLUG ASSY 3.60
24698 3/4 SPRING 0.91
24803 LIFT ROD & KNOB KIT (CP) 6.08
24804 PIVOT ROD & CLIP ASSY 13.81
24806 PIVOT ROD SEAT 6.03
24820 COLD HANDLE ASSY FOR MOEN 6.60
24821 HOT HANDLE ASSY FOR MOEN 6.60
24822 COLD INDEX 0.90
24823 HOT INDEX 0.90
24827 P/U PLUG BUTTON (CP) 5.32
24932 S* YOKE 1.21
24939 S* CONVERSION KIT 106.60
24945 METERING SERVO-MOTOR ASSY W/ 94.32
24946 MOEN BALL & ROD 6-3/4 LONG 6.21
24947 KOHLER SLEEVE 24.87
24948 BONNET 18.22
24949 KOHLER BONNET (CP) 37.54
24950 5-1/4 IN C-C RIGID/SWING GOOSENECK 68.31
24951 S* ESCUTCHEON KIT (CP) 27.41
24952 12 IN SWING SPOUT W/AERATOR (CP) 55.19
24955 SHANK NUT 3.67
24958 SEATS O RINGS & SPRINGS 10.15
24959 BONNET 14.23
24961 BRASS HANDLE (CP) 37.00
24962 PLUNGER ASSY 46.72
24966 CROSS HANDLE - ZINC 18.53
24967 POP-UP ASSY (CP) 79.62
24968 RETAINER NF 1.59
24969 KOHLER CLAMPING NUT 31.04
24970 SPLINE CANOPY HANDLE 33.96
24971 SEATS SPRINGS & QUAD RINGS 7.90
24972 BONNET (CP) 18.04
24973 BONNET 30.20
24974 LIMIT STOP 3.75
24976 HOT WRIST BLADE HANDLE (CP) 45.14
24978 CARTRIDGE ASSY 63.80
24979 STOPPER (CP) 24.99
24980 SLEEVE (CP) 15.25
24981 LEVER HANDLE REPAIR KIT 39.50
24983 LEVER HANDLE REPAIR KIT 42.34
24984 STOP STEM ASSY 18.61
24985 HOT HANDLE W/SET SCREW - SLOW 19.38
24986 MOEN ESCUTCHEON (CP) 37.12

STS # 800130

Page 14



Best Plumbing Specialties - Pricelist 2/13/2013

24987 PISTON STEM CAP COVER 20.94
24988 COLD HANDLE W/SET SCREW - SLOW 19.38
24991 HOT METERING EASY-PUSH HANDLE 25.83
25015 SPOUT FOR P/P 12.57
25021 PR/PF LARGE VERVE BATH HANDLE 5.74
25051 FLUSH VALVE FLAPPER CHAIN L/GUIDE 2.60
25062 METAL SHOWERHEAD 15.26
25089 BEST SHOWER ALL DIVERTER 14.36
25104 18 IN T&S SPOUT 45.26
25105 12 IN T&S SPOUT 38.25
25106 8 IN T&S SPOUT 29.84
25114 LOCK NUT 5.34
25134 BRASS POP-UP ASSY (CP) 14.30
25172 S* HOT TRI-BLADE HANDLE 17.66
25173 S* COLD TRI-BLADE HANDLE 17.66
25502 ACRYLIC LATEX CAULK 10.1 OZ (WHITE) 3.15
25515 ELKAY CARTRIDGE DIAPHRAM (2) 15.90
25563 MOEN LEVER HANDLE (CP) 38.27
25566 VOLUME CONTROL KIT 31.37
25567 HOT CHICAGO RED INDEX BUTTON NF 1.85
25568 COLD CHICAGO BLUE INDEX BUTTON NF 1.85
25586 A/S CROWN HDLE KIT 1-1/8 BASE (CP) 36.00
25591 AIR DIAPHRAGM SPRING ONLY 1.05
25601 CARTRIDGE ASSY 46.16
25604 INDEX BUTTON FOR KNOB HANDLE (CP) 4.55
25605 LUCITE HANDLE ASSY (CP) 13.69
25701 3-1/2 IN C-C RIGID/SWING GOOSENECK 45.41
25702 SERVOMOTOR SEPARATOR CUP ONLY 10.34
25703 RETRO-AIR CARTRIDGE SEAT ASSY 15.09
25704 2.5 GPM FLO-CONTROL PENAL 5.81
25706 S* ESCUTCHEON 38.65
25707 S* H&C AIR-TROL PSHBTN ASSY 202.48
25808 T&S STRAIGHT SERRATED TIP 16.72
25809 T&S RIGID TO SWIVEL ADAPTER 14.76
25810 T&S SWIVEL TO RIGID ADAPTER 17.19
25811 T&S RIGID TO RIGID SWIVEL ADAPTER 38.96
25812 S* T&S RESTRICTED SWING ADAPTER 37.35
26100 YOKE REP KIT (BOTTOM) 51.77
26101 YOKE REP KIT (TOP) 52.63
26102 LOWER HOUSING ASSY 43.89
26117 SLIP RING 4.78
26119 SINGLE LEVER DEVICE 0.59
26122 DELTA CAM ASSY (HEART SHAPED) 2.42
26123 DELTA BALL ASSEMBLY 2.49
26125 DEL-DIAL BALL STAINLESS STEEL 6.19
26126 DELTA DIVERTER ASSY 3.33
26128 DELTA GUIDE 2.47

STS # 800130

Page 15



Best Plumbing Specialties - Pricelist 2/13/2013

26130 DELEX STEM WITH O RINGS 4.23
26133 DELTA BALL STAINLESS 6.42
26136 OEM DELTA REPAIR KIT 13.17
26137 HOT INDEX FOR 2-HANDE LAV & 1.93
26139 COLD INDEX FOR 2-HANDLE LAV & 1.61
26140 BRASS BALL FOR DELTA 6.06
26142 BRASS BALL DELTA 4.65
26144 VACUUM BREAKER REPAIR KIT 21.69
26149 INDEX BUTTON SET 5.78
26152 HANDLE NUT ASSY 18.11
26162 AM STD HOT RED INDEX BUTTON 4.63
26171 BUTTON FOR CRYSTAL HANDLE 4.18
26172 SET 2-INDEX BUTTONS FOR DELTA 1.33
26177 COLD ACRYLIC INDEX BUTTON 0.72
26179 DIVERTER ACRYLIC INDEX BUTTON 1.39
26190 A/S HOT INDEX BUTTON 1.90
26196 S* INDEX BUTTON SET 6.65
26301 DELTA INDEX BUTTON - CLEAR 6.21
26500 DEL-DIAL BUTTON (SILVER) 6.19
26501 BLADE HANDLE ONLY (CP) 4.14
26509 REBUILD KIT FOR SLOW CLOSE 5.17
26512 BALLCOCK REPAIR KIT 7.12
26513 DELTA CONVERSION BALL 29.56
26554 INDEX BUTTON 3.69
26556 S/L CARTRIDGE 18.73
26587 DELTA ADA LEVER HANDLE W/SCREW 15.48
26588 A/S BALLCOCK KIT 4.52
26589 DASHPOT NUT NF 0.75
26590 DASH POT BRASS WASHER (RB) 2.34
26591 CHICAGO DASH POT ASSY - SLO CLOSE 10.95
26595 METERING KIT 19.24
26599 SELF-CLOSING CARTRIDGE 41.18
26820 S* BRADLEY LABEL INDICATOR 5.59
26824 CONICAL SPRING 7.04
26852 S* BRADLEY INDEX BUTTON 24.00
26853 BRADLEY HANDLE 35.25
26855 FLOAT VALVE KIT 100.33
26856 MOEN STOPPER (CP) 15.96
27138 BRASS CARTRIDGE - MOEN 10.67
27140 MOEN BRASS CARTRIDGE METAL 26.74
27142 MOEN PLASTIC CARTRIDGE 19.01
27148 SPEAKMAN CARTRIDGE 208.26
27151 HOT/COLD CARTRIDGE - VALLEY 5.61
27158 ACRYLIC HANDLE W/H&C INDEXES 5.21
27161 VALLEY CARTRIDGE ASSY 3.39
27172 PACKING NUT 18.05
27173 LEVER HANDLE INDEX BUTTON (CP) 5.20

STS # 800130

Page 16



Best Plumbing Specialties - Pricelist 2/13/2013

27176 VALVE REBUILD KIT 33.62
27178 SPRAY DIVERTER 10.70
27179 NR*ACRYLIC KNOB HANDLE KIT 14.86
27183 POP-UP ROD (CP) 16.28
27795 H/C WASHER & RETAINER KIT 6.03
27856 CLEAR ACRYLIC HANDLE 3.22
27896 PRICE PFISTER METAL POP-UP ASSY 21.76
28102 FRONT INSERT 77.83
28104 WASHER FOR SHOWERHEAD 3.71
28105 SPRAY REGULATOR 16.03
28106 O-RING REPAIR KIT 34.53
28107 INLET SEAT (2/PACK) 3.17
28108 HANDLE SET SCREW 2.95
28109 UPPER HOUSING 16.27
28110 THRUST WASHER 2.95
28111 S* PLUG BUTTON 2.95
28112 ESCUTCHEON & SCREWS 44.60
28113 PUSH ROD W/SNAP RING 8.04
28114 DIVERTER HANDLE W/SET SCREW 49.42
28115 SPINDLE ASSY (DIVERTER) 50.60
28116 S* SYMMONS SAFETYMIX CAP 50.48
28117 S* COVER SCREW KIT FOR WASHING 4.06
28131 A/S PLUNGER REPAIR KIT 15.30
28169 A/S METAL LEVER BASIN HANDLE (CP) 23.62
28170 Fluidmaster 400A REPLACEMENT 1.36
28174 HOOV-R-LINE B/C REPAIR KIT 4.09
28187 ESCUTCHEON 3.85
28189 ESCUTCHEON HOLDER 10.33
28190 ESCUTCHEON 10.16
28192 LARGE ESCUTCHEON 7.82
28193 ESCUTCHEON HOLDER 6.63
28206 ESCUTCHEON (CP) 10.35
28216 ESCUTCHEON & SCREW 80.63
28219 ESCUTCHEON 29.07
28220 ESCUTCHEON FOR #2200 SERIES 39.80
28223 H/C CLEAR HANDLE KIT PAIR (CP) 28.34
28794 PRESSURE REGULATOR 45.67
28795 SPINDLE KOHLER 42.09
28796 HOT PLUNGER 8.28
28797 COLD PLUNGER 9.02
28798 SEAT WASHER 2.20
29002 S* HOT WATER CHOKE 13.01
29004 S* PLUG 6.57
29006 LIFT ROD W/KNOB 4.48
29020 JAM NUT 0.71
29021 HEX LOCKNUT 0.71
29034 EXTENSION ROD 4.76

STS # 800130

Page 17



Best Plumbing Specialties - Pricelist 2/13/2013

29035 WING NUT 0.77
29040 DELTA S/L ADA HANDLE 22.67
29041 HANDLE - CLEAR 17.27
29043 HOT HANDLE 4.49
29047 S* CENTRAL BRASS DIVERTER HANDLE 8.47
29057 LEVER HANDLE (KIT W/SLEEVE) 59.98
29061 HOT HANDLE 6.41
29065 BONNET 25.73
29067 BONNET 22.89
29068 BONNET 10.66
29072 HOT FIT-ALL HANDLE (CP) 3.85
29073 COLD FIT-ALL HANDLE (CP) 3.85
29085 1-1/8 X 8-32 ROUND HD SCREW (CP) 2.09
29087 COLD KOHLER HANDLE (CP) 47.32
29088 HOT KOHLER HANDLE (CP) 47.32
29089 SPOUT NUT FOR DELEX 10.19
29111 COAST MARK Il COVER ASSY 4.94
29112 LEONARD PACKING & GASKET KIT 37.03
29178 1B1 MASTER B/CKIT 3.12
29179 1B1 TOP ASSY W/PLASTIC FERRULE 5.16
29315 T&S HOT 4 IN WRIST BLADE HANDLE 36.99
29316 T&S COLD 4 IN WRIST BLADE HANDLE 36.99
29339 UNION BRASS HOT HANDLE 8.10
29340 UNION BRASS COLD HANDLE 8.10
29352 MOEN INDEX BUTTON (TEAR DROP) 8.68
29367 LEVER HANDLE KIT S/L (CP) 56.20
29368 LONG S/L HANDLE KIT (CP) 29.27
29390 CHICAGO HOT METAL CROSS 15.35
29391 CHICAGO COLD METAL CROSS 15.35
29392 CHICAGO 2-3/8 IN HOT METAL LEVER 12.98
29393 CHICAGO 2-3/8 IN COLD METAL LEVER 12.98
29394 CHICAGO 4 IN WRIST BLADE HANDLE 33.80
29395 CHICAGO 4 IN WRIST BLADE HANDLE 33.80
29397 S* CHICAGO CANOPY HANDLE PAIR (CP) 35.60
29398 CHICAGO HOT CANOPY HANDLE (CP) 15.74
29399 CHICAGO COLD CANOPY HANDLE (CP) 15.74
29412 LEONARD HANDLE POINTER 52.81
29415 LEONARD SNAP CAP (CP) 3.80
29425 T&S RED HOT INDEX BUTTON 0.80
29426 T&S BLUE COLD INDEX BUTTON 0.80
29427 T&S INDEX HANDLE RING 3.18
29440 HOT LEVER HANDLE (CP) 4.42
29453 HOT LEVER HANDLE (CP) 24.08
29454 COLD LEVER HANDLE (CP) 24.08
29457 HOT HANDLE KITCHEN & BASIN (CP) 8.21
29458 COLD HANDLE KITCHEN & BASIN (CP) 8.21
29483 A/S NEW STYLE HDLE KIT (PAIR) CP 27.80

STS # 800130

Page 18



Best Plumbing Specialties - Pricelist 2/13/2013

29491 CAP PLUNGER KIT 18.99
29493 COLD BATH HANDLE 7.42
29497 SLEEVE 4.12
29499 DIVERTER VALVE SLEEVE 1.33
29502 NIPPLE 2.65
29505 ESCUTCHEON 6.31
29506 S* LOCK NUT 5.94
29511 HOT HANDLE (NEW STYLE) (CP) 2.88
29512 COLD HANDLE (NEW STYLE) (CP) 2.88
29513 HOT HANDLE (LARGE) (CP) 5.50
29514 COLD HANDLE (LARGE) (CP) 6.05
29515 DIVERTER HANDLE (LARGE) (CP) 12.11
29517 COLD CROSS HANDLE (CP) 5.85
29520 ACRYLIC LAV HANDLE 25.93
29524 DURALAC HANDLE 17.15
29525 COLD HANDLE FOR DELTA 1.44
29526 HOT HANDLE FOR DELTA 1.44
29528 DURALAC HANDLE DELTA 15.10
29529 DURALAC HANDLE 12.17
29530 DELTA SINGLE LEVER HANDLE 16.09
29532 WRIST BLADE HANDLES W/VP 48.71
29547 KOHLER KITCHEN HANDLE (PAIR) 18.92
29562 HOT KITCHEN DECK HANDLE (CP) 2.95
29563 COLD KITCHEN DECK HANDLE (CP) 2.95
29576 OLD STYLE HOT BLADE HANDLE 8.40
29577 OLD STYLE COLD BLADE HANDLE 8.40
29584 HOT HANDLE 38.55
29585 COLD HANDLE 38.55
29589 HOT HANDLE (CP) 25.21
29590 COLD HANDLE (CP) 27.29
29591 PLAIN LEVER HANDLE (CP) 22.46
29592 COLD 4 IN WRIST HANDLE (CP) 44.38
29593 HOT 4 IN WRIST HANDLE (CP) 44.38
29594 HOT HANDLE 4 IN WRIST 1-3/4 52.06
29595 COLD HANDLE 4 IN WRIST 1-3/4 52.06
29598 KOHLER COLD INDEX BUTTON 2.94
29599 8-32 X 1/2 ROUND HD SCREW (CP) 2.25
29600 KOHLER HANDLE ONLY 11.00
29601 KOHLER HOT INDEX BUTTON 2.94
29602 KOHLER HOT HANDLE (OLD STYLE) 12.28
29603 KOHLER COLD HANDLE (OLD STYLE) 12.28
29604 PULL KNOB HANDLE 25.61
29606 KOHLER METAL LAV & KITCHEN HANDLE 9.56
29607 KOHLER HOT BATH HANDLE 42.54
29608 KOHLER COLD BATH HANDLE 43.81
29611 KOHLER METAL BATH HANDLE ONLY 13.48
29620 HANDLE ASSY (CP) 55.86

STS # 800130

Page 19



Best Plumbing Specialties - Pricelist 2/13/2013

29621 MOEN LAV HANDLE (SHORT BROACH) 18.31
29622 CHATEAU LEVER HANDLE (CP) 31.78
29623 MOEN LEVER HANDLE ASSY (CP) 25.73
29625 MOEN BATH HANDLE (LONG BROACH) 21.28
29626 MOEN BATH HANDLE (LONG BROACH) 19.11
29627 MOEN LAV HANDLE (SHORT BROACH) 20.45
29628 LUCITE HANDLE W/SLEEVE KIT 48.33
29633 POWERS MODEL 7 HANDLE 44.78
29634 S* LUCITE HANDLE KIT 44.78
29638 KOHLER LUCITE HANDLES (PAIR) 24.37
29674 CHECK STOP STEM ASSY 27.52
29677 HANDLE& DISC ASSY (CP) 10.67
29683 S* HOT HANDLE 8.84
29684 S* COLD HANDLE 8.84
29695 HOT HANDLE 4.30
29706 COLD HANDLE ONLY - For Hexagon Inserts 10.48
29716 STERLING HOT 4-ARM ACCENT TRIM 4.53
29717 STERLING COLD 4-ARM ACCENT TRIM 4.53
29727 DIVERTER/VOLUME HANDLE - PLASTIC 15.12
29729 LUCITE HANDLE 48.82
29730 SYMMONS SOLID LEVER HANDLE (CP) 33.35
29731 A/S METAL LEVER HANDLE PAIR (CP) 45.12
29733 SYMMONS TEMPERATURE CONTROL 18.31
29734 SUPER SHOWERHEAD W/FIP 72.33
29739 NEW NUT STYLE CAP ASSY KIT 4.19
29742 BONNETS FOR DELEX (2) 11.74
29743 SCALD GUARD ASSY W/SEATS 18.76
29744 NUT FOR POP-UP ROD 10.69
29748 ELJER BRASS SLEEVE 0.98
29749 BUSHING 1.85
29762 DRAIN PLUG (CP) 12.83
29773 PLUG BUTTON S/A 2.10
29781 5 IN BALL LEVER ASSY 19.42
29782 MOEN RETAINER CLIP 0.90
29783 HANDLE COVER (CP) 23.66
29784 DIVERTER KIT 25.40
29785 RETAINER CLIP 0.77
29786 RETAINER CLIP 0.85
29787 MOEN CARTRIDGE / DUAL HANDLE 13.01
29789 MOEN INDEX 11.31
29791 RETAINER NUT 8.67
29792 HANDLE ATTACHMENT KIT 9.07
29799 VAC BREAKER REPAIR KIT 37.51
29806 4 IN FAUCET PLATE 2.06
29810 FULL UPGRADE REPAIR KIT 230.43
29814 BRASS GUARD 3.46
29816 BALANCING CARTRIDGE REPLACEMENT 98.62

STS # 800130

Page 20



Best Plumbing Specialties - Pricelist 2/13/2013

29817 BALANCING CARTRIDGE REPLACEMENT 95.05
29825 BLOCK ASSY 484.81
29826 MIXING VALVE STEM ONLY 9.50
29837 RENEW KIT 13.73
29841 DOME COVER & LOCK NUT 22.28
29842 PACKING NUT 10.90
29843 CAP 63.54
29844 RENEWABLE SEAT W/GASKETS 51.31
29845 RENEW KIT 22.66
29851 PLUG BUTTON 2.95
29852 PACKING NUT 11.12
29853 CAP ASSY 36.45
29854 DOME COVER & LOCK NUT 13.85
29855 DIAL (MODEL A) 9.43
29856 SEAT REPAIR KIT 27.01
29857 WASHER REPAIR KIT 9.27
29861 1/2 MALE IPS CLEAR-FLO SHOWER 30.89
29864 LOCK NUT 3.08
29867 S* PUSH PULL STEM 3.05
29870 S* PACKING ADAPTER 0.71
29871 BRASS SAYCO GUIDE 2.58
29875 TRIP HANDLE (CP) 22.56
29877 HANDLE ATTACHMENT KIT 8.13
29881 POWERS DIAL ASSY REPLACEMENT 225.57
29882 FOOT VALVE REPAIR KIT 108.38
29884 AM STD HOT INDEX BUTTON 3.68
29885 AM STD COLD INDEX BUTTON 3.68
29888 LAV HANDLE W/SCREW 2231
29889 HANDLE SET SCREW 2.34
29893 WASHER BRASS-FRICTION 0.14
29901 MVP METERING VALVE CARTRIDGE 30.08
29902 UPPER & LOWER UNIT NF 53.70
29903 HOT TAPERED HANDLE (CP) 19.46
29905 H/C INDEX BUTTON (PAIR) NF 4.02
29906 COLD TAPERED HANDLE (CP) 19.46
29907 CHICAGO ACTUATOR ASSY NF 35.56
29913 AM STD S/L HANDLE (CP) 16.22
29919 DELTA CARTRIDGE 44.39
29920 DELTA PUSH BUTTON ASSY 19.25
29921 MOEN BALANCING SPOOL 55.94
29922 MOEN DIVERTER CARTRIDGE 30.51
29923 MOEN CARTRIDGE 35.23
29932 POWERS LEVER HANDLE & SCREW 34.09
29933 POWERS ACRYLIC HANDLE 61.57
29936 HANDLE INSERTS 3.35
29942 LEVER TEMPERATURE CONTROL 42.57
29943 TEMPTROL Il TEMPERATURE CONTROL 24.36

STS # 800130

Page 21



Best Plumbing Specialties - Pricelist 2/13/2013

29944 TEMPTROL Il DIAL 8.39

29945 POWERS MOTOR UPGRADE KIT 326.18
29950 DIAL INSERT 30.63
29955 SPRING 1.33

29960 S/L CONTROL CARTRIDGE 28.61
29961 FLO-CLOZ HOT CANOPY HANDLE ONLY 43.53
29962 FLO-CLOZ COLD CANOPY HDLE ONLY 43.53
29963 POWERS GASKET/DISC KIT 900 33.15
29964 KIT HANDLE 34.79
29965 B & G COUPLER ASSY - CAST 31.71
29967 COLD STEM ASSY 30.22
29968 HOT STEM ASSY 30.22
29970 STEM CARTRIDGE 11.54
29971 STEM CARTRIDGE 11.54
29975 S/LSEALKIT 4.78

29986 HOT & COLD HANDLE (PAIR) 8.51

29988 POWERS LEVER HANDLE KIT METAL 50.99
29989 POWERS ACRYLIC HANDLE 53.92
29990 POWERS INDEX BUTTON 10.85
29991 THROTTLE STEM 17.23
29992 BALANCE CHAMBER (WHITE) ASSY 55.89
29993 HOT SPEAKMAN ASSY 111.61
29994 COLD SPEAKMAN ASSY 111.61
29995 B & G COUPLER ASSY - STEEL 19.29
30001 WASHER & GASKET REPAIR UNIT 66.42
30002 CONVERSION CARTRIDGE 190.56
30003 0.5 GPM FLO-CONTROL 5.81

30004 POWERS POPPET REPLACEMENT 238.46
30005 POWERS MOTOR UPGRADE KIT 308.55
30006 CHECK VALVE REPLACEMENT 1/2 55.88
30007 CHECK STOP REPLACEMENT 55.88
30008 QUICK-CLOZ CARTRIDGE ASSY 67.85
30289 BRADLEY ROLLER PLASTIC (WHITE) 8.46

30290 FILTER DISK 11.87
30291 CAP CLAMP 17.43
30292 LOWER VALVE BODY ASSY 50.97
30293 UPPER VALVE BODY ASSY 53.07
30294 METERING CARTRIDGE 192.43
30295 GERBER STEM ASSY 35.08
30297 QUICK-CLOZ CARTRIDGE ASSY 61.94
30298 FLO-CONTROL ASSY (0.5 GPM) 13.26
30299 CERAMIC CARTRIDGE/SEAT/SPRING 24.17
30300 HU ELJER HOT STEM COMPLETE 5.11

30301 HU UNION BRASS HOT STEM 4.91

30302 INDIANA BRASS HOT STEM 6.99

30303 HU SAYCO HOT STEM COMPLETE 3.71

30304 HU PR/PF HOT STEM COMPLETE 5.10

STS # 800130

Page 22



Best Plumbing Specialties - Pricelist 2/13/2013

30305 HU CENTRAL HOT STEM COMP 5.84

30306 HU REPCAL HOT STEM COMPLETE 4.79

30311 HU SAVOY HOT STEM COMPLETE 5.08

30316 HU GERBER HOT STEM COMPLETE 8.84

30317 HU STERLG HOT STEM COMP 7.41

30320 CRANK STEM 44.75
30325 S* STEM CARTRIDGE CONVERSION KIT 10.32
30327 FLOAT PISTON & CAP REPAIR KIT 112.27
31316 BALANCING CARTRIDGE ASSY 26.00
31318 HU KOHLER HOT STEM COMP 6.33

31321 AM STD HU HOT O-RING STEM 5.26

31322 HU KOHLER GLX HOT STEM 9.24

31338 RH COLD *LF CERAMIC STEM CARTRIDGE 24.62
31339 LH HOT *LF CERAMIC STEM CARTRIDGE 24.62
31340 SHORT HOT-0/S CHICAGO STEM 16.83
31341 LONG HOT-0/S CHICAGO STEM 17.43
31342 STOP ASSY L/BONNET 67.39
31343 AIR CONTROL DIAPHRAGM 8.92

31344 AIR CONTROL METERING TIMER ASSY 28.15
31345 SERVOMOTOR PILOT ORIFICE PLATE 13.26
31346 STEM ASSEMBLY 17.98
31347 PENAL-MATIC CARTRIDGE ASSY 94.58
31348 SOLENOID ACTUATED VALVE BONNET 11.89
31355 DIVERTER STEM ASSY 15.17
31377 HOT AIR CONTROL PUSH BUTTON ASSY 44.85
32350 HOT ELJER STEM UNIT 12.85
33012 PR/PF OEM BASIN STEM COMPLETE 5.64

33467 HU KOHLER HOT STEM 7.96

33580 HU CHICAGO *LF HOT LH QUATURN 15.02
33583 HU SAVOY HOT STEM COMP 13.50
33585 UPPER STEM ASSY (RP) 13.35
33586 LOWER STEM W/PACKING 15.90
33587 SLEEVE 44.89
33692 HU CHICAGO *LF HOT QUATURN 21.44
34101 HU SAVOY HOT STEM COMP 18.24
34102 HU INDIANA HOT STEM COMPLETE 9.45

34104 HU SAVOY HOT STEM COMPLETE 23.58
34107 HU PR/PF STEM COMPLETE 11.79
34108 HU PR/PF DIVERTER STEM COMPLETE 11.54
34118 HU SAYCO HOT STEM COMPLETE 9.83

34121 HU STERLING HOT RH STEM COMPLETE 17.15
34123 ELJER RH HOT STEM COMPLETE 16.09
35129 HU KOHLER GLX HOT STEM CMP 39.68
35130 HU STERLING DIVERTER STEM 26.28
35147 AM STD H/C STEM COMPLETE 13.55
36125 FLO-CLOZ CARTRIDGE ASSY 41.38
36126 BONNET - CROSS HANDLE 11.89

STS # 800130

Page 23



Best Plumbing Specialties - Pricelist 2/13/2013

36166 HU DIV STEM COMP 20.96
36167 HU PR/PF HOT STEM COMPLETE 15.97
36168 AM STD DIV STEM COMP 27.94
36173 PR/PF DIVERTER STEM COMPLETE 16.78
36178 CARTRIDGE ASSY COMPLETE 115.95
36190 HOT CARTRIDGE 13.78
36191 COLD CARTRIDGE 13.78
36192 THROTTLING STEM & PLATE 39.39
36193 THROTTLING STEM & PLATE 28.29
36194 FLOW CONTROL SPINDLE 67.17
36195 LIMIT STOP ASSY 7.96

36196 FLOW CONTROL SPINDLE 97.04
36197 CONTROL CARTRIDGE 97.44
36199 TEMPTROL FLOW CONTROL SPINDLE 45.33
36200 LIMIT STOP W/O-RING 6.41

36201 VOLUME DIVERTER SPINDLE 9.24

36202 VOLUME DIVERTER SPINDLE (BLACK) 13.99
36507 SHOWER DIVERTER ASSY - 10.62
36617 PR/PF OEM BATH STEM COMPLETE 16.06
36668 WATERSAVER METAL TIP STEM UNIT 36.83
36673 PR/PF DIVERTER STEM COMPLETE 12.76
36695 HOT OEM STEM W/SCREWS & SLEEVE 32.08
36698 HOT OEM CARTRIDGE STEM COMP 29.44
37190 HU CENTRAL STEM COMPLETE 4.57

37192 HU SEARS U/R HOT STEM 10.68
37193 HU AM STD COLONY HOT STEM 9.45

37195 HU BELVEDERE HOT STEM 12.15
37201 HU AM STD HOT STEM COMP 8.34

37204 CRANE HOT STEM COMPLETE 7.48

37205 HU SAVOY HOT STEM COMP 17.18
37206 HU HARCRAFT HOT STEM COM 12.99
37212 AM STD DIVERTER STEM COMPLETE 10.58
37237 HOT WATERSAVER STEM UNIT 36.70
37239 RH COMP CONTROL RENEWABLE UNIT 32.22
37240 LH COMP CONTROL RENEWABLE UNIT 32.22
37243 KOHLER STEM 17.92
37247 HU HOT MILWAUKEE STEM 14.31
37250 HU KOHLER DIVERTER STEM 27.82
37251 DIVERTER KOHLER STEM 63.74
37257 HU RH BRADLEY CARTRIDGE 8.64

37258 HOT STEM W/BRASS PLUNGER 8.46

37281 KOHLER BEDPAN STEM 21.22
37284 METAL TIP CARTRIDGE UNIT 50.97
37320 S* ELJER STEM ASSY 20.13
37332 AM STD RH HOT AQUASEAL STEM 9.83

37348 HU HOT BRASS STEM 13.63
37503 S* CE DIVERTER STEM ASSY 43.15

STS # 800130

Page 24



Best Plumbing Specialties - Pricelist 2/13/2013

37504 HOT STEM FOR CHG 9.83

37505 COLD STEM FOR CHG 9.83

37506 HOT STEM FOR CHG 10.01
37507 COLD STEM FOR CHG 10.01
37543 STEM & BALANCING CARTRIDGE KIT 95.05
37560 CARTRIDGE ASSY 55.68
37561 SHOWER CARTRIDGE 43.73
37562 KOHLER STEM & SEAT ASSY 22.39
37563 ADJ STEM 24.02
37568 S* STEM (2/PACK) 15.42
37570 SELF CLOSING VALVE CARTRIDGE 46.02
37571 SHOWER VALVE ROTOR 4.82

37574 POWERS REPAIR KIT 134.85
37575 INTERNAL REPLACEMENT FOR 74.42
37576 WASHER & GASKET KIT 19.36
37580 KOHLER CAP ASSY (PLASTIC) 24.83
37585 GROHE CARTRIDGE 84.97
37586 BONNET 47.86
37588 CHECK STOP REPAIR KIT 52.11
37589 KOHLER COUPLING NUT 12.70
37591 COMPLETE SHOWER STEM ASSY 172.36
37592 SPEAKMAN HUB 253.69
37593 DIAL ASSY KIT 126.81
37594 POWERS SLEEVE (CP) 44.51
37595 COLD OEM CE STEM 11.63
37596 HOT OEM CE STEM 11.63
37598 1/2 SWIVEL STEM RH 28.23
37599 1/2 SWIVEL STEM LH 28.23
37600 WORM STEM WITH O-RING 33.86
37601 SPINDLE ASSY & PLASTER SHIELD 34.40
37602 STEM ASSY 36.65
37604 SPRING CHECK VALVE STEM COLD T&S 47.43
37605 SPRING CHECK VALVE STEM HOT T&S 47.43
37606 MIXING VALVE REPLACEMENT 252.04
37607 GERBER BATH BODY STEM ASSY 51.97
37902 0.5 GPM FLOW CONTROL ASSY 20.82
37903 DIAPHRAGM ASSY 33.92
39504 BRADLEY CARTRIDGE ASSY 95.73
39811 S* THERMAL MIXING CARTRIDGE 116.04
40000 SPRING LOADED HANDLE ASSY 42.68
40002 DIAPHRAGM OPERATING ASSY 29.45
40004 DIAPHRAGM OPERATING ASSY 35.11
40006 RENEWAL KIT - CLOSET LEATHER 8.23

40007 RENEWAL KIT - URINAL LEATHER 8.23

40008 COVER ASSY 45.44
40009 RUBBERFLEX HANDLE ASSY 28.23
40012 NOZZLE PIVOT (CP) 51.33

STS # 800130

Page 25



Best Plumbing Specialties - Pricelist 2/13/2013

40013 WASHER FOR COVER SCREW 0.64
40014 COVER SCREW 2.55
40015 REGULATING SCREW 2.43
40016 AUXILIARY VALVE SEAT 2.01
40017 MAIN VALVE SEAT 5.28
40018 DIAPHRAGM BUSHING 4.64
40019 PACKING WASHER 0.60
40020 PACKING FOR COVER 2.43
40023 COUPLING WASHER 0.64
40024 SPRING 2.67
40025 OPERATING STEM 6.19
40026 OPERATING STEM 6.19
40028 METAL HANDLE 12.92
40029 CLAMPING NUT (CP) 9.28
40030 UNION NUT (CP) 9.97
40031 KWIKFIT UNION TAILPIECE 2 IN 18.17
40033 CLAMPING RING 1.65
40034 PROTECTING CAP 4.28
40037 SEAT GUIDE 6.69
40038 SEAT GUIDE 6.69
40039 AUXILIARY SEAT VALVE HOLDER 6.95
40043 REX AUXILIARY VALVE 11.44
40044 OPERATING STEM 6.82
40045 OPERATING STEM 6.19
40046 BRASS INSERT CONVERTER 8.27
40047 FLEXER 2.39
40048 NEW STYLE OPERATING STEM 5.65
40049 HANDLE NUT 12.99
40055 KWIKFIT UNION TAILPIECE 4 IN 53.07
40056 KWIKFIT UNION TAILPIECE 5 IN 69.38
40057 BRASS PUSH BUTTON REPAIR KIT 9.94
40058 3-1/2 G/J TAILPIECE (CP) 21.54
40060 URINAL OPTIMA REBUILD KIT 38.20
41002 1IN X 60 YD MASKING TAPE 6.20
41003 3/4 IN X 60 YDS BLUE MASKING TAPE 4.55
41006 3/4 X 60 YDS MASKING TAPE 2.14
41009 1-1/2 X 60 YD MASKING TAPE GOLD 3.50
41011 SCOTCH RUG / CARPET TAPE 4.07
41031 1.0 ROYAL PERF KIT L/C URINAL 30.87
41032 1.5 ROYAL PERF KIT WATERSAVER 30.87
41033 3.5 ROYAL PERF KIT WATERSAVER CL 30.87
41034 1.6 ROYAL PERF KIT L/C CLOSET 30.87
41035 2.4 ROYAL PERF KIT CLOSET 30.87
41036 0.5 ROYAL PERF KIT WASH DOWN 30.87
41220 SOLENOID VALVE MODULE 183.07
42000 WATER SAVER KIT 17.52
42001 DIAPHRAM OPERATOR ASSY 55.26

STS # 800130

Page 26



Best Plumbing Specialties - Pricelist 2/13/2013

42004 WATER SAVER KIT 17.52
42005 DIAPHRAGM OPERATING ASSY 38.84
42007 RENEWAL KIT CLOSET 15.84
42008 RENEWAL KIT URINAL 15.84
42009 COVER ASSEMBLY 59.30
42010 COVER ASSEMBLY 59.30
42020 AUXILIARY VALVE SEAT HOLDER 7.24
42023 AUXILIARY VALVE 8.60
42024 MAIN VALVE SEAT WASHER 0.68
42035 COVER (FOR VALVES W/TURN-TO- 59.30
42036 SEAT GUIDE 12.38
42037 SEAT GUIDE 16.77
42039 MAIN VALVE SEAT W/WASHER 19.08
42040 MAIN VALVE SEAT W/WASHER & RING 19.48
42041 CHOKE RING FOR MAIN VALVE SEAT 5.54
42042 AUXILIARY VALVE 16.25
42043 OPERATING STEM 6.19
42052 SEAT GUIDE 6.10
42060 REX 3.5 GPF EXP CLOSET FLUSH VALVE 101.48
42102 MALE SHUT OFF STEM ASSY 8.37
42105 DISC W/METAL INSERT 6.81
42106 3/4 IN C&D TURN-TO-SILENCE ANGLE 49.93
42111 WASHER FOR WHEEL HANDLE 0.87
42112 SCREW FOR WHEEL HANDLE 0.93
42113 PACKING FOR SHUT OFF STEM 0.96
42114 SHUT OFF STEM 5.84
42122 BONNET WASHER 0.74
42138 S/D BONNET ASSY COMPLETE 49.72
42139 S/D BONNET ASSY COMPLETE 31.96
42202 AUXILIARY VALVE 16.25
42206 DIAPHRAGM OPERATING ASSY 53.23
42212 RUBBERFLEX HANDLE ASSY 35.72
42222 SEAT GUIDE 7.74
42224 OPERATING STEM 6.19
42301 ELECTRONICS MODULE 182.29
42730 AIR DIAPHRAGM ONLY 7.31
42731 SERVOMOTOR WATER DIAPHRAGM 12.51
42740 SHUT OFF DISC 6.44
42741 4.5 GPF CLOSET DROP IN KIT 40.13
42742 3.5 GPF CLOSET WATER SAVER DROP 29.50
42743 1.6 GPF DROP IN KIT 37.19
42744 1.0 GPF DROP IN KIT 38.34
42833 BULK ROLL NYLON TUBING (BLUE) 80.25
42834 BULK ROLL NYLON TUBING (RED) 80.25
43104 RUBBER VACUUM BREAKER 3.83
43105 1-1/2 X 1-1/4 X 9 IN TUBE 18.17
43106 1-1/2 X 1-1/4 X 12 IN TUBE 26.96

STS # 800130

Page 27



Best Plumbing Specialties - Pricelist 2/13/2013

43110 1-1/2 X9 IN TUBE 18.17
43111 1-1/2 X 12 IN TUBE 26.96
43115 1-1/2 X 3/4 X9 IN VENTED TUBE 27.62
43116 1-1/2 X 3/4 X 12 IN VENTED TUBE 31.08
43201 PEDAL REPAIR KIT 108.38
43202 SLOAN BEDPAN SPRAY KIT 62.50
43203 1 IN SLOAN STOP V/P CAP 9.17
43204 3/4 SLOAN STOP V/P CAP 9.17
43208 SD STOP REPAIR KIT 43.57
43209 REPAIR KIT WHEEL STOP 53.02
43210 3/4 SD STOP REPAIR KIT 20.60
43212 1IN SD STOP REPAIR KIT 21.37
43214 CROWN REPAIR KIT 20.30
43225 REPAIR KIT FOR N/S PISTON 13.42
43228 RETRO DROP IN KIT 3.5 CLOSET 12.37
43231 1-1/4 S/) COUPLING ASSY (CP) 11.68
43232 1-1/2 COUPLING ASSY (CP) 9.28
43233 3/4 SLIP JOINT WASHER 0.91
43235 1-1/4 SLIP JOINT WASHER 0.72
43236 1-1/2 SLIP JOINT WASHER 0.63
43237 3/4 FRICTION RING 0.67
43239 1-1/4 FRICTION RING 0.67
43240 1-1/2 FRICTION RING 0.76
43242 1IN COUPLING NUT 11.68
43245 SLOAN 1-1/2 GASKET 1.37
43247 3/4 SPUD CPLG ASSY (CP) 13.67
43248 1-1/4 SPUD CPLG ASSY (CP) 13.67
43249 1-1/2 SPUD CPLG ASSY (CP) 13.67
43250 3/4 SPUD COUPLING (CP) 11.82
43252 1-1/4 SPUD COUPLING 11.82
43253 1-1/2 SPUD COUPLING 10.38
43254 3/4 SPUD FLANGE (CP) 8.48
43257 1-1/2 SPUD FLANGE (CP) 8.48
43258 COUPLING FOR ADJ TAIL (CP) 7.57
43259 T/P LOCKRING 0.94
43261 2-1/16 ADJ TAILPIECE (CP) 13.80
43262 3-1/16 ADJ TAILPIECE (CP) 17.34
43263 4-1/16 ADJ TAILPIECE (CP) 20.98
43266 CPLG FOR GJ TAILPIECE (CP) 8.01
43267 1-1/4 G/J TAILPIECE (CP) 9.71
43268 1-1/2 G/J TAILPIECE (CP) 10.84
43269 1-3/4 G/J TAILPIECE (CP) 11.83
43270 2 IN G/J TAILPIECE (CP) 14.52
43271 2-1/2 G/J TAILPIECE (CP) 15.10
43272 3 IN G/J TAILPIECE (CP) 17.18
43275 4-1/2 G/J TAILPIECE (CP) 26.34
43400 S* 0.5 URINAL G2/OP FLUSHOMETER 390.56

STS # 800130

Page 28



Best Plumbing Specialties - Pricelist 2/13/2013

43401 1.0 GPF URINAL G2/OP FLUSHOMETER 390.56
43402 1.5 GPF URINAL G2/OP FLUSHOMETER 390.56
43403 1.0 GPF URINAL G2/OP FLUSHOMETER 390.56
43404 3.5 GPF CLOSET G2/OP FLUSHOMETER 390.56
43405 1.6 GPF CLOSET G2/OP FLUSHOMETER 390.56
43406 3.5 GPF URINAL G2/OP FLUSHOMETER 390.56
43407 1.5 GPF URINAL G2/OP FLUSHOMETER 390.56
44392 BRASS URINAL RELIEF VALVE 13.53
44396 S* BRASS BUSHING THREADED 5.33
44398 BRASS CLOSET RELIEF VALVE 10.30
44400 BEDPAN W/2 IN OFFSET 291.95
44401 METAL COVER ASSY W/OVERRIDE 91.83
44402 MOLDED DISC 3.71
44403 CLOSET RELIEF VALVE (White) 4.27
44404 URINAL RELIEF VALVE (Black) 4.27
44405 SEGMENT DIAPHRAGM 4.39
44407 RETRO DROP IN KIT 4.5 CLOSET 12.37
44408 RETRO DROP IN KIT 1.5 URINAL 12.37
44409 HANDLE COUPLING (CP) 5.24
44410 METAL HANDLE ASSY (CP) 14.01
44411 METAL HANDLE GRIP ONLY 7.49
44412 HANDLE SOCKET ASSY (CP) 6.34
44413 HANDLE REPAIR KIT 2.67
44414 METAL COVER ASSY (UR) L/OVERRIDE 69.76
44415 S* ANTIMICROBIAL HDLE ASSY 32.24
44416 EAGLE O.H. CLOSET 4.5 KIT 16.29
44417 EAGLE O.H. URINAL 1.5 KIT 16.29
44418 COVER GASKET 4.17
44419 EAGLE O.H. CLOSET 3.5 KIT 16.29
44422 LOW FLOW PISTON ASSY (Green) 4.27
44423 1.6 GPF CLOSET LOW CONSUMP KIT 16.85
44425 REPAIR KIT FOR 1 WH STOP 11.24
44426 REPAIR KIT FOR 3/4 WH STOP 11.24
44428 RETRO DROP IN KIT 2.4 GPF 16.85
44429 LOCKING RING (CP) 26.89
44431 S* MOLDED DISC FOR PEDAL VALVE 7.02
44441 S* PACKING 0.69
44442 S* HANDLE NUT 2.29
44443 FRICTION RING 0.53
44456 ADA HANDICAP HANDLE ASSY (CP) 13.95
44470 ROYAL EXP 3.5 CLOSET FLUSH VALVE 118.54
44475 SLOAN ROYAL 1.5 URINAL FLUSH VALVE 118.55
44476 ROYAL EXP 1.0 URINAL FLUSH VALVE 118.55
44479 STOP SNAP CAP SCREW COVER 2.98
44482 RETROFIT VALVE CLOSET L/FLUSH 108.90
44484 RETROFIT VALVE URINAL L/STOP & V/B 119.11
44486 DELANY 3.5 GPF EXP REX CLOSET 111.26

STS # 800130

Page 29



Best Plumbing Specialties - Pricelist 2/13/2013

44488 DELANY 1.6 GPF EXP REX URINAL 104.35
44490 DELANY 3.5 GPF EXP FLUSHBOY 110.70
44492 DELANY 1.0 GPF EXP FLUSHBOY 110.70
44493 ROYAL EXP 1.6 CLOSET FLUSH VALVE 118.55
44494 ROYAL EXP 1.0 URINAL FLUSH VALVE 118.55
44495 SLOAN REGAL EXP 3.5 CLOSET FLUSH VALVE 87.39
44496 REGAL EXP 1.6 CLOSET FLUSHOMETER 87.39
44497 REGAL EXP 1.0 URINAL FLUSHOMETER 87.39
44501 RESS CLOSET RETRO KIT 315.90
44502 RESS URINAL RETRO KIT 315.90
44542 ELECTRONIC MODULE CLOSET 174.09
44759 SENSOR KIT LAV W/TIMEOUT 197.31
45211 FLOW RING 1.35
45213 GUIDE RING 0.68
45500 INSIDE COVER - OLD STYLE A-11 6.55
45502 ROYAL COVER (CP) 21.09
45504 INSIDE COVER 4.63
45505 SEGMENT DIAPHRAGM W/COPPER RING 5.47
45520 S* ROYAL GENERIC WATER WARDEN 8.18
45522 SLOAN REGAL EXP 1.5 URINAL FLUSHOMETER 87.39
45523 MICROPHONE SENSOR JUNCTION 158.61
45524 REGAL EXP 1.0 URINAL FLUSHOMETER 87.39
45526 HYDRAULIC ACTUATOR CARTRIDGE 27.68
45529 SLOAN SINK SOLENOID VALVE ASSY 65.74
45538 SLOAN CLOSET SENSOR 167.44
45555 SLOAN COPPER RING 0.69
45568 SOLENOID COIL 24 VOLT AC 23.97
45571 ACTUATOR CARTRIDGE 24.00
45583 PLUNGER ASSY 40.65
45587 SLOAN URINAL SENSOR 167.44
46001 3/4 & 1IN CONTROL STOP REPAIR KIT 7.57
46031 HANDLE SEAL 0.77
46037 WHITE CLOSET PISTON 7.62
46041 BLACK URINAL PISTON 7.62
46051 INSIDE PLASTIC COVER 7.11
46071 GASKET 0.51
46072 RETAINER DISC 6.33
46081 PISTON GUIDE W/DIAPHRAM ASSY 6.03
46082 1.6 CLOSET DROP IN 22.42
46083 3.5 CLOSET DROP IN 22.42
46084 2.4 CLOSET DROP IN 22.42
46085 .5 URINAL DROP IN 22.42
46086 1.0 URINAL DROP IN 22.42
46087 1.5 URINAL DROP IN 22.42
46287 HANDLE REPAIR KIT FOR EXP VALVE 4.48
46288 UPPER RING (BLUE) 1.68
46289 GUIDE 1.08

STS # 800130

Page 30



Best Plumbing Specialties - Pricelist 2/13/2013

46290 RING 0.52
46291 A-170 UPPER RING REFILL HEAD 1.92
46292 1.6 GPF A-172 REFILL HEAD 4.30
46293 SOLENOID VALVE REPLACEMENT KIT 44.02
46294 1.6 GPF LOW-CONSUMPTION CLOSET 37.86
46295 1.0 GPF LOW-CONSUMPTION URINAL 37.86
46296 A-159 TURBO-FLO FLOW RING 1.00
46298 0.5 GPF URINAL REPAIR KIT 16.85
46601 HANDLE REPAIR KIT 8.90
46602 HANDLE ASSY COMP 25.70
46604 PLUNGER 1.03
46605 SPRING 1.10
46606 SLOAN BUSHING 1.67
46607 HYCAR HANDLE SEAL 0.47
46608 SLOAN HANDLE GASKET 0.26
46611 S* PLUNGER 3.43
46613 SLOAN HANDLE GASKET 0.38
46620 PEDAL ASSY 98.63
46621 PEDAL (CP) 58.48
46622 PEDAL VALVE PLUNGER 2.10
46628 CLOSET OPTIMA REBUILD KIT 38.20
46650 VALVE SEAL WASHER 1.37
46651 DIVERTER VALVE SEAL 1.68
46652 SET SCREW 2.10
46653 SLOAN BEDPAN KIT 8.70
46662 SLOAN PEDAL GASKET 0.91
46664 SLOAN PEDAL SCREW 1.22
46692 ELECTRONIC MODULE URINAL 174.09
46697 BLUE DIAPHRAGM W/RINGS 4.79
46699 VAC BREAKER REPAIR KIT V-651-A 3.61
46700 HANDLE REPAIR KIT / LC 6.70
46701 CLOSET PISTON KIT 3.5 GPF 27.86
46702 CLOSET PISTON KIT 1.6 GPF 30.09
46703 3/4 IN SD ANGLE STOP (CP) 54.37
46704 1.0 GPF URINAL KIT 16.85
46707 EAGLE O.H. URINAL 1.0 KIT 20.05
46708 EAGLE O.H. CLOSET 1.6 KIT 20.05
47101 TAILPIECE O-RING SET (10/PACK) 7.96
47103 SEAT PACKING SET 7.96
47104 U-PACKING LOCKING RING SET (10/PACK) 8.95
47105 VALVE GUIDE O-RING SET (10/PACK) 10.93
47106 NUT 10.93
47109 LOCKING RING SET (10/PACK) 12.61
47110 TAILPIECE FOR MFV SERIES 13.41
47111 LEVER HANDLE ASSY MFV (NEW) 31.53
47112 CAP ADJUSTMENT SET SCREW 21.29
47113 3.5 0R 1.0 GPF PISTON ASSY 52.03

STS # 800130

Page 31



Best Plumbing Specialties - Pricelist 2/13/2013

47114 VALVE COVER SET 1.0 GPF TMU 25.80
47115 1.6 GPF PISTON ASSY 27.59
47116 S* VALVE COVER SET 1.6 GPF TMT 26.53
47117 VALVE COVER SET 3.5 GPF TMW 26.53
47118 CAP ADJUSTMENT SET SCREW 43.74
47119 CAP SCREW O-RING SET (10/PACK) 10.01
47120 U-PACKING SET (10/PACK) 16.90
47127 CAP ADJUSTMENT SET SCREW 17.34
47129 SOLENOID O-RING SET (10/PACK) 8.95

47130 VALVE CAP SET 24.32
47131 PISTON ASSY 47.17
47133 PUSH BUTTON REPAIR KIT 44.99
47134 SOLENOID ASSY 33.90
47135 S* TOTO VALVE CAP ASSY 47.99
47136 SENSOR CONTROLLER DC TOILET 112.09
47139 1 IN ANGLE STOP CAP 11.26
47140 1IN ANGLE STOP COVER 10.93
47144 ANGLE STOP COVER 14.98
47152 CAP ADJUSTMENT SET SCREW 17.34
47707 PLASTIC URINAL PISTON 22.17
47708 PLASTIC CLOSET PISTON 22.17
47712 STOP BUMPER W/CAP 14.13
47718 SLOAN GASKET G-125 1.90

47722 MOLDED CUP 8.07

47727 RELIEF VALVE ASSY 14.91
47728 RELIEF VALVE SEAT 1.75

47731 MAIN SEAT 3.68

47740 GEM WASHER REP KIT 18.76
47750 RUBBER SLEEVE (OLD STYLE) 5.47

47756 MOLDED CUP 4.64

47759 RELIEF VALVE SEAT 2.21

47771 S* AUTOFLUSH FOR TANK TOILETS 170.33
47793 3/4 SLEEVE KIT 14.38
48800 1-1/2 X 3-1/16 VACUUM BREAKER (CP) 17.41
48802 1-1/2 FRICTION RING 0.58

48803 BAFFLE 0.95

48804 RUBBER SLEEVE 2.51

48806 3/4 X9 IN VACUUM BREAKER (CP) 15.34
48808 1-1/4 X 9 IN VACUUM BREAKER (CP) 15.34
48809 1-1/4 X 13-1/2 VAC BREAKER (CP) 33.08
48811 1-1/2 X 9 IN VACUUM BREAKER (CP) 16.18
48812 1-1/2 X 13-1/2 VACUUM BREAKER (CP) 33.08
48813 1-1/2 X 21-1/2 VAC BREAKER (CP) 25.81
48814 1-1/2 X 24 IN VACUUM BREAKER (CP) 41.50
48819 SCREW W/H-52 WASHER (CP) 1.81

48828 CAP FOR STOP (CP) 1.74

48831 SLEEVE FOR N/S V101A 15.20

STS # 800130

Page 32



Best Plumbing Specialties - Pricelist 2/13/2013

48832 1IN C&D TURN-TO-SILENCE ANGLE 46.11
48833 1IN C&D TURN-TO-SILENCE ANGLE 48.61
48834 SIDE MOUNT OP CL W/OVERRIDE MC 136.26
48839 S* EXP PEDAL VALVE 428.41
48841 S* 1IN WHEEL STOP (CP) 47.78
48842 3/4 SCREWDRIVER STOP (CP) 48.39
48843 1 IN SCREWDRIVER STOP (CP) 55.68
48850 1IN WH ANGLE STOP (CP) 45.81
48851 3/4 SCREWDRIVER ANGLE STOP (CP) 45.77
48852 1 IN SCREWDRIVER ANGLE STOP (CP) 54.37
48854 3/4 SL STOP CAP (CP) 10.65
48855 1IN STOP CAP (CP) 13.57
48856 OPERATING STEM 6.82

48858 DVRT VALVE BODY (CP) 79.74
48860 1IN SEAT - RUBBER 4.93

48861 3/4 SEAT - RUBBER 3.52

48862 STOP WASHER PLUG 1 4.65

48863 STOP WASHER PLUG 3/4 4.65

48864 SLOAN RUBBER INSERT 3.62

48868 1IN SD STOP 55.98
48869 3.5 GPF AQUAFLUSH CLOSET REPAIR 11.48
48870 1.5 GPF AQUAFLUSH URINAL REPAIR KIT 11.48
48872 1.6 GPF AQUAFLUSH CLOSET REPAIR 11.48
48873 3.0 GPF AQUAFLUSH URINAL REPAIR 11.48
48875 1.0 GPF AQUAFLUSH URINAL REPAIR KIT 11.48
48876 4.5 GPF AQUAFLUSH CLOSET REPAIR 11.48
48877 SIDE MOUNT OP Delany M/CVR W/OVERRIDE 164.85
48879 1IN SLEEVE KIT 14.38
48880 3.5 GPF RETROFLUSH CLOSET KIT (CP) 31441
48882 3.5 GPF AQUAVANTAGE CLOSET REPAIR 29.16
48884 1.6 GPF AQUAVANTAGE CLOSET REPAIR 29.16
48885 1.5 GPF AQUAVANTAGE URINAL REBUILD 38.07
48886 1.5 GPF RETROFLUSH URINAL KIT (CP) 297.41
48887 1.0 GPF AQUAVANTAGE URINAL REPAIR 29.16
49900 CROWN REPAIR KIT 55.22
49902 CROWN REPAIR KIT 35.56
49905 URINAL PISTON ASSY 55.30
49906 CLOSET PISTON ASSY 55.30
49908 CAP & SCREW REPAIR KIT 2.67

49909 REG SCREW W/O-RING 10.64
49911 SLOAN COVER GASKET 1.52

49912 TOP PLATE SCREW 0.97

49913 TOP PLATE WITH XPELOR 9.72

49915 MOLDED CUP 7.09

49922 RELIEF VALVE 10.00
49923 RELIEF VALVE SEAT 2.44

49924 S* CLOSET GUIDE W/ RESTR. RNG 26.62

STS # 800130

Page 33



Best Plumbing Specialties - Pricelist 2/13/2013

49928 MAIN SEAT 9.28
49935 ISOLATED SOLENOID FOR G2 24.41
49936 SOLENOID - ISOLATED OPERATOR 25.75
49950 CHICAGO V/B COVER SCREW NF 0.91
49954 CHICAGO VALVE SUB ASSY NF 20.91
49955 FLUSHBOY WATERSAVER DIAPHRAGM 37.25
49957 FLUSHBOY REFILL RING 5.65
49958 FLUSHBOY SEAT GUIDE 7.74
49959 FLUSHBOY CHOKE RING 5.65
49966 SPEAKMAN PISTON UNIT (K9180) 52.42
49968 SPEAKMAN PISTON UNIT (K9200) 62.49
49969 SPEAKMAN PISTON UNIT (K9205) 68.33
49970 URINAL PLUG 5.41
49971 URINAL PLUG 6.74
49972 URINAL PLUG 5.22
49973 URINAL PLUG 5.84
49988 FLUSH CARTRIDGE ASSEMBLY 29.33
49989 UPPER SUPPLY KIT 6.96
49990 LOWER SUPPLY KIT 38.42
49991 CONVEX PUSH BUTTON ASSY (CP) 16.91
50000 5-3/8 X 3-1/2 X 1 In SPONGE GASKET 4.74
51000 FLUSH VALVE ARM FOR 51101 2.45
51023 SPONGE CUSHION 9/16 THICK 4.60
51054 TOILET SEAT HINGE WASHER 0.61
51055 GASKET FOR INSINKERATOR GARBAGE 0.94
51056 EXTERNAL CHECK HINGE L/HARDWARE 10.35
51058 1-1/4 BASIN MACK GASKET 0.91
51060 TANK-BOWL GASKET N/S FOR AM STD 1.37
51061 DIVERTER BONNET SEAL 0.59
51062 5-3/8X3-1/2X9/16 SPONGE GASKET 2.90
51063 5-3/8 X 3-1/2 X 3/4 SPONGE GASKET 3.18
51064 4-3/8 X 2-7/8 X 1/2 WALL/HUNG 2.90
51066 BEST BALLOON SPONGE GASKET 4.77
51074 ELJER LEVER ARM W/CHAIN 2.94
51077 ELJER TOUCH FLUSH UNIT COMP 8.32
51080 TANK LEVER-ELJER TOUCH FLUSH 12.20
51099 TANK LEVER W/BRASS NUT/GASKET 7.71
51106 KORKY FLAPPER 3.83
51107 AM STD SCREW ON SEAT DISC (BLUE) 1.68
51108 CRANE FLAPPER BALL 3.17
51109 VINYL FLAPPER W/CHAIN 4.36
51110 AM STD SNAP ON SEAT DISC (BLUE) 1.70
51116 BLUE VINYL FLAPPER W/PULL STRAP 2.13
51121 TANK LEVER 4.17
51160 SUPER FLAPPER SURE FIT (RED) 4.82
51180 FLAPPER ASSY W/DARK BLUE FLOAT 15.24
51190 #6 ARM & DISC ONLY FOR A/S 9.40

STS # 800130

Page 34



Best Plumbing Specialties - Pricelist 2/13/2013

52201 8 IN UPPER LIFT WIRE 0.63
52202 4-1/2 LOWER LIFT WIRE 0.33
52204 5-1/2 LOWER LIFT WIRE 0.52
52205 6 IN LOWER LIFT WIRE 0.61
52209 NO. 4 NO-SEEP 4 IN WAX RING 5.81
52210 8 IN COPPER FLOAT ROD 1.29
52211 NO. 2 NO-SEEP WALL MOUNT WAX 4.11
52212 10 IN COPPER FLOAT ROD 1.57
52213 12 IN COPPER FLOAT ROD 1.85
52214 POLY REFILL TUBE 3.60
52215 1 X 10-1/2 COPPER OVERFLOW TUBE 12.75
52219 1-1/8 X 1 X 10 RB O/F TUBE 22ga 7.24
52237 STOP FOR FLUSH VALVE 3.24
52238 AM STD FLUSH VALVE GASKET 2.01
53301 SIDE MOUNT PUSH BUTTON LEVER 7.37
53303 CP TANK LEVER-SINGLE ACTION 9.17
53305 TANK LEVER EXTRA LONG (CP) 7.58
53307 TANK LEVER - KOHLER 55.86
53311 ELJER BRASS GUIDE ARM W/O LIFT 12.31
53312 45 DEG ANGLE TANK LEVER (CP) 6.43
53313 FIT-ALL 30 DEG ANGLE TANK LEVER 8.84
53320 TANK LEVER (CP) - AM STD 6.75
53321 TANK LEVER - UNIV RUNDLE (CP) 8.43
53324 SIDE MOUNT TANK LEVER (CP) 6.58
53331 TANK LEVER GASKET 0.24
53333 6 IN CADET TANK LEVER 2.17
53335 5/16 X 2-1/4 JOHNI-BOLT SET 3.80
53336 OPEN PLASTIC CLOSET BOLTS/ 1.67
54402 5/16 X 1-3/4 BRASS CLOSET BOLT 1.07
54403 5/16 X 2-1/4 CLOSET BOLT 1.78
54405 1/4 X 2-1/4 BRASS CLOSET BOLT 1.28
54408 5/16 X 2-1/2 BRASS CLOSET SCREW (1) 141
54410 5/16 X 3-1/2 BRASS CLOSET BOLT SET 1.94
54411 5/16 X 3-1/4 C/C BOLT ONLY 211
54412 5/16 X 3-1/2 BRASS CLOSET SCREW (1) 1.68
54413 5/16 C/C TANK TO BOWL BOLT SET - 4.55
54417 3/8 X 3-1/8 C/C BRASS BOLT ONLY 1.43
54418 5/16 CLOSET BOLT OPEN NUT ONLY 0.44
54419 5/16 CLOSET SCREW NUT- CLOSED 0.53
54421 OVAL BOLT WASHER (CP) 0.43
54422 BEST PLASTIC PUSH NUT 0.13
54428 SEAT GRIP WASHER 1.58
54429 ROUND BOLT WASHER (CP) 0.31
54433 1/4 CLOSET BOLT OPEN NUT ONLY 0.39
54435 OVAL PLASTIC BOLT CAP (WHITE) 0.58
54436 5/16 BRASS HEX NUT DOMESTIC 0.15
54437 5/16 BRASS WASHER DOMESTIC 0.19

STS # 800130

Page 35



Best Plumbing Specialties - Pricelist 2/13/2013

54438 5/16 RUBBER WASHER DOMESTIC 0.19
54439 3/8 BRASS HEX NUT DOMESTIC 0.24
54440 3/8 BRASS WASHER DOMESTIC 0.25
54441 3/8 RUBBER WASHER DOMESTIC 0.12
54481 1/4 X 2-1/4 JOHNI-BOLT SET 3.64
54482 TWISTER TOILET BOLT CAPS (WHITE) 2.62
55158 NO. 5 BOL-WAX 3 & 4 IN WAX RING 5.56
55159 NO. 6 BOL-WAX 2 IN URINAL WAX RING 5.08
55160 8-1/2 IN HOOV-R-LINE REGULAR 7.04
55501 C/C TANK GASKET FIT/ALL 1.02
55503 C/C TANK GASKET KOHLER 3.28
55504 C/C TANK GASKET GERBER 1.62
55505 C/C TANK GASKET ELJER 2.67
55509 2 FLNGD CL SPUD GASKET 0.96
55514 NO. 1 NO-SEEP 3 & 4 IN BOWL WAX 3.31
55515 NO. 5 NO-SEEP 4 IN BOWL WAX 3.37
55516 NO. 1 BOL-WAX CLOSET WAX RING 2.75
55517 NO. 10 NO-SEEP EXTRA THICK WAX 4.64
55518 TANK-TO-BOWL GASKET 15.04
55520 SOLID RUBBER CLOSET GASKET 10.97
55521 TREATED FELT GASKET-CLOSET 9.52
55522 TREATED FELT GASKET-URINAL 10.33
55523 3 IN WAX-FREE TOILET BOWL GASKET 7.65
55524 4 IN WAX-FREE TOILET BOWL GASKET 7.65
55527 4 IN WAX-FREE TOILET INSTALL SEAL 6.31
55528 3 IN WAX-FREE TOILET INSTALL SEAL 6.31
55529 WAX FREE URINAL SEAL 4.84
55558 SPONGE URINAL GASKET 4.88
55580 GLUE ONLY FOR BEST #37578 15.34
55582 REPAIR KIT 1B1X - BRASS TRIGGER 11.55
55586 SWIVEL FLOOR FLANGE 10.85
55590 COAST 1B1X PISTON/SEAL KIT 3.71
55591 1B1X TOP ASSY 5.16
55592 OEM METAL TANK LEVER (CP) 25.16
55593 LH TRIP LEVER (WHITE) 9.63
55594 8-1/2 TANK LEVER 26.56
55596 UPPER & LOWER RETRO FIT KIT 43.30
55597 METAL RING REPAIR FLANGE 7.06
55598 FLAPPER W/STYROFOAM BOTTOM 5.87
55599 PLUNGER ASSY 34.15
56615 4 IN BRASS FLOOR FLANGE 15.20
56618 3 X4 IN PVC CLOSET FLOOR FLANGE 6.76
56620 REPAIR SPANNER FLANGE 3.38
56623 EXTEND A FLANGE 10.44
56629 SPLIT FLANGE 14.46
56690 BRASS TANK LEVER NUT 1.02
57004 ACTUATING UNIT SCREW ON 16.73

STS # 800130

Page 36



Best Plumbing Specialties - Pricelist 2/13/2013

57005 A/S #5 FLUSH VALVE COMPLETE 16.73
57006 A/S #5 ACTUATING UNIT ONLY 9.40
58200 $200 SCOVILL B/C REG SHANK 31.57
58203 400A TOILET FILL VALVE 7.71
58204 1B1 10 IN COAST MASTER FILL VALVE 8.95
58207 TOILET TANK FILL VALVE 10.35
58208 PRO45 ULTRA-QUIET FILL VALVE 9.14
58216 16 SCOVILL B/C REG SHANK 43.65
58218 PROA45 BRASS SHANK ULTRA-QUIET FILL 13.30
58220 S* B/C SHANK GASKET 0.27
58222 COUPLING NUT WASHER 3 PLY 0.51
58230 A/S #4 FLUSH VALVE 36.97
58233 SCREW FOR A/S SEAT DISC 1.08
58242 FIT-ALL TANK LEVER (CP) 6.09
58249 4-1/4 IN NU-ARM HEAD BRACKET (CP) 44.60
58251 Fluidmaster ADJUST-A-FLUSH 1.6 GPF 5.32
58252 Fluidmaster FLUSHER FIXER KIT 5.93
58254 Fluidmaster TOILET FLAPPER ONLY 4.95
58260 KOHLER BALLCOCK 70.28
58266 KORKY ADJUSTABLE FLUSH VALVE 13.33
58277 TOILET VALVE QUICK CONNECT 11.59
58604 400LS BALLCOCK PRO FILL VALVE 11.28
58606 HALSEY TAYLOR GASKET 3.40
58607 VINYL FLAPPER W/LIGHT BLUE FLOAT 10.55
58608 BALLCOCK 25.23
59100 A/S B/C SEAT WASHER 1.40
59102 S* SCOVILL B/C SEAT WASHER O/S 0.41
59111 SCOVILL B/C CHEVRON PISTON W 1.20
59121 A/S B/C SEAT BRASS N/S 1.69
59122 A/S B/C SEAT BRASS 1.55
59124 SCOVILL B/C SEAT NYLON 2.73
59125 S* KOHLER BRASS B/C BIBB SEAT 1.86
59138 4 IN PVC TWIST & SET FLANGE 19.08
59139 AM STD B/C PLASTIC CAP/PLUNGER 3.40
59140 A/S B/C CAP/PLUNGER BRASS 7.89
59143 A/S B/C PISTON 4.20
59146 KOHLER CHINA B/C SEAT 7.93
59147 KOHLER B/C GASKET 5.26
59148 KOHLER B/C SUB ASSY 10.63
59154 B/C FELT SPLIT 5.57
59156 KOHLER B/C PISTON ASSY 3.96
59173 U/R TILT VALVE SEAT GASKET 1.18
59174 U/R FLUSH VALVE LIFT STRAP 10 1.57
59177 KOHLER LIFT WIRE 10.17
59178 PLASTIC GUIDE ARM 2.94
59179 KOHLER TRIP ARM 11.49
59180 FLANGE 17.72

STS # 800130

Page 37



Best Plumbing Specialties - Pricelist 2/13/2013

59182 S* MACK WASHER 2.19
59188 NO-WAX FLEXIBLE REUSEABLE 6.64
59189 A/S #6 COMPLETE FLUSH VALVE 71.09
59802 SIDE MOUNT TRIP LEVER (CP) 7.11
59803 S* FLAPPER GASKET (10/PACK) 27.62
59804 POWER GRAVITY FILL VALVE 23.58
59805 G-MAX FLAPPER W/CHAIN (RED) 16.55
59806 GMAX FILL VALVE 25.23
59807 TRIP LEVER (CP) 24.44
59808 FLUSH VALVE ASSY W/NUT & 25.23
59809 GMAX FILL VALVE ASSY 23.58
59810 S* MODULAR ROUGH-IN KIT 10 IN 53.40
59814 S* MODULAR ROUGH-IN KIT 14 IN 59.26
59990 S* 24 IN WATERFREE PORCELAIN 373.36
59991 S* NR* CHINA 28 IN WATERFREE PORCELAIN 429.52
60001 LOWER LOCK & KEY 11.20
60002 LEONARD REPAIR KIT 204.31
60004 DRAIN KING3 TO 6 IN 32.66
60005 BUMPER KEEPER (CP) 7.73
60006 COLLAR NUT 2.03
60007 BUMPER KEEPER (CP) 6.49
60008 METERING PIN 9.01
60009 ORANGE WIRE NUT 0.07
60010 RED (LARGE) WIRE NUT 0.16
60011 YELLOW (MED) WIRE NUT 0.19
60012 6 X 1-1/4 REPLACEMENT PILASTER 18.63
60013 PAPER TOWEL DISPENSER 49.05
60014 SWIVEL BASE 9.93
60015 BLUE (SMALL) WIRE NUT 0.08
60016 SPRING LOADED POWER HINGE 16.35
60020 SILICONE GREASE 0.5 OZ 4.10
60028 2 IN SOLID RUBBER BASIN & BATH 3.31
60029 METERING CHAMBER REPAIR KIT 34.46
60055 4500W 240V SCREW-IN ELEMENT 10.85
60056 3500W 240V SCREW-IN ELEMENT 9.07
60057 UPPER THERMOSTAT 19.09
60058 SINGLE ELEMENT THERMOSTAT 17.65
60061 UNIVERSAL WATER HEATER 10.26
60062 GASKET - UNIVERSAL ELEMENT 0.49
60063 GASKET - SCREW IN ELEMENT 0.63
60102 1/2 FIP X 1/2 MIP X 24 IN S/S FLEX GAS 20.09
60103 1/2 FIP X 1/2 MIP X 48 IN S/S FLEX GAS 30.43
60104 1/2 FIP X 1/2 MIP X 36 IN S/S FLEX GAS 23.98
60109 1/2 FIP X 1/2 MIP X 72 IN S/S FLEX GAS 41.84
60110 3/4 FIP X 24 IN S/S FLEX GAS 20.09
60112 3/4 FIP X 36 IN S/S FLEX GAS 23.98
60113 3/4 FIP X 48 IN S/S FLEX GAS 30.43

STS # 800130

Page 38



Best Plumbing Specialties - Pricelist 2/13/2013

60117 1/2 FIP T-HANDLE GAS BALL VALVE 10.04
60118 3/4 FIP T-HANDLE GAS BALL VALVE 10.15
60119 1/2 FIP GAS BALL VALVE W/RED 8.76
60120 3/4 FIP GAS BALL VALVE W/RED 10.99
60123 2 IN WIDE X 60 YDS 3M DUCT TAPE 11.87
60125 DRYER VENT KIT COMPLETE 9.96
60128 APPLIANCE TRAP & COIL BRUSH 7.51
60129 4 IN X 8 FT VINYL DRYER VENT DUCTING 5.01
60135 1/2 FIP GAS CONNECTOR FITTING 5.75
60136 3/4 FIP GAS CONNECTOR FITTING 3.89
60145 CLEAR RUBBER COATING PLASTI-DIP 15.05
60693 BEATS-THE-NAIL VOC ADHESIVE 4.55
61232 GORILLATAPE 12 YD ROLL 7.24
61235 S* GAS RANGE DIAL KIT 14.39
61236 2 IN X 60 YDS DUCT TAPE 6.02
61238 1/2 COPPER CLAD VAN HANGER 2.26
61239 3/4 COPPER CLAD VAN HANGER 2.65
61600 TUBE POLYSEAMSEAL 5.5 OZ (WHITE) 3.72
61612 ADHESIVE CAULK 10.3 OZ (GREY) 3.26
61613 ADHESIVE CAULK 10.3 OZ (BLACK) 5.64
61615 PAINTERS ACRYLIC LATEX CAULK 3.14
61616 BIG STRETCH 10.5 07 8.67
61618 MOR-FLEXX MORTAR SEALANT 10.5 OZ 10.67
61619 MOR-FLEXX MORTAR SEALANT 10.5 OZ 10.67
61623 6 X 6 WALL PATCH 6.03
61624 12 X12 WALL PATCH 15.41
61629 2 OZ CRETE ADHESIVE 6.70
61630 SILICONE CAULK (WHITE) 7.52
61631 SILICONE CAULK (CLEAR) 7.35
61633 3/16 X 30 FT FINGERTIP ROPE 4.10
61639 DRYWALL REPAIR CLIPS 7.54
61640 PLUMBER SEAL EPOXY 2 OZ 4.36
61645 3/4 INCH PVC REPAIR CLAMP 3.41
61646 1/2 IN PVC REPAIR CLAMP 3.99
61647 1IN PVC REPAIR CLAMP 5.53
61650 PLUMBER SEAL EPOXY 4 OZ 9.67
61651 WHITE CAULK STRIP 7.34
61652 4 X 4 WALL PATCH 4.60
61655 SHOWER GUARDS - PAIR 5.08
61657 SPLASH ENDERS 10.12
61665 SINGLE USE FAST CURE EPOXY 10 CUPS 34.72
61672 3/8 BACKER ROD - 20 FT. 3.63
61673 1/2 BACKER ROD - 20 FT. 4.06
61674 5/8 BACKER ROD - 20 FT. 4.96
61682 8 X 8 WALL PATCH 10.16
61685 5 IN DIAM. PLUMBING WALL PATCH 9.39
62142 T/S WHITE ROUND O/F L/C PLASTIC 23.99

STS # 800130

Page 39



Best Plumbing Specialties - Pricelist 2/13/2013

62148 T/S WHITE ELONG F/R O/F L/C HEAVY 35.43
62149 T/S BLACK ELONG O/F L/C PLASTIC 22.73
62150 T/S WHITE ELONG O/F L/C WOOD 24.10
62401 S* T/S 063 VENETIAN PINK ROUND C/F 18.86
62403 T/S FAWN BEIGE ROUND C/F W/C 18.86
62405 T/S REGENCY BLUE ROUND C/F W/C 18.86
62407 T/S YELLOW ROUND C/F W/C 18.86
62409 T/S WHITE ELONG O/F L/C PLASTIC 26.96
62412 NUT & BOLT SET FOR T/SEAT 3.01
62415 S* T/S WHITE ELONG O/F L/C PLASTIC 205.12
62416 T/S WHITE ELONG C/F W/C WOOD 21.31
62417 T/S WHITE ELONG O/F L/C PLASTIC 63.34
62450 T/S WHITE ROUND O/F W/C WOOD 18.08
62455 T/S WHITE ROUND O/F W/C SOLID 17.28
62456 T/S BONE ELONG C/F W/C PLASTIC 168.25
62459 REPLACEMENT TANK LID FOR 28.34
62651 6 IN SPOUT SOAP DISPENSER W/ 49.71
62681 BOBRICK ROLLER PRIOR 1972 13.20
62682 BOBRICK ROLLER AFTER 1972 3.55
62693 5/8 X 24 IN ALUMINUM SQ TOWEL BAR 2.76
62694 3/4 X 24 IN ALUMINUM SQ TOWEL BAR 3.44
62695 3/4 X 18 IN SQ S/S TOWEL BAR ONLY 3.91
62696 S* 24 IN TOWEL BAR POST SET W/BAR 20.72
62699 SQUARE TOWEL BAR POST SET (CP) 6.64
62950 24 IN TOWEL BAR W/ENDS (WHITE) 4.86
62952 24 IN TOWEL BAR W/ENDS (CLEAR) 5.60
62953 SW. BASE SHOWER MOUNT (CP) 20.50
63564 LOCK NUT FOR 63686 MFG#U0O01U 2.60
63610 PRIVACY COVER 58 IN (2) 24.71
63624 10 X 1-1/4 REPLACEMENT PILASTER 23.00
63626 CONCEALED ADA LATCH & KNOB SET 12.45
63627 TOP HINGE Sanymetal (CP) 7.47
63628 CONCEALED LATCH COMP W/PLATE 11.51
63629 TOP PIN - METAL 3-5/8 IN 2.74
63632 CAP & NOZZLE ASSY (CP) 37.85
63633 4 X 1-1/4 REPLACEMENT PILASTER 14.55
63635 11/16 PINTLE 3.77
63636 TOP HINGE (CP) 31.64
63641 WRAP AROUND SS PLATE, ROUND 4.91
63642 WRAP AROUND SS PLATE, SQUARE 491
63666 TUB SOAP DISH L/GRAB (WHITE) 21.87
63681 DOUBLE ROLL TOILET TISSUE HOLDER 32.06
63686 SOAP DISPENSER VALVE 20.62
63688 CHROME LOCKNUT FOR SOAP VALVE 5.83
63690 LOTION SOAP DISPENSER WHITE 33.56
63691 ANTIBACTERIAL SOAP REFILL 800ML 13.30
63963 4 IN SPOUT SOAP DISPENSER W/ 40.51

STS # 800130

Page 40



Best Plumbing Specialties - Pricelist 2/13/2013

63970 BOBKEY - SPINDLE 0.85
63974 PISTON & 4 IN SPOUT 32.48
63975 UNIVERSAL BASIN MOUNTING 24.75
63976 SUPPLY TUBE 7.41
63977 34 0Z BOTTLE (NO CAP) 5.08
63978 BOTTLE CAP 5.08
64007 MAKE-A-CLAMP KIT 8.5 FT BAND 17.03
64009 S* MAKE-A-CLAMP KIT 100 FT BAND 137.01
64011 MAKE-A-CLAMP KIT 50 FT BAND 59.48
64013 ADJUSTABLE FASTENER 2.58
64015 S* BAND SPLICES 0.47
64035 TWO EAR WALL BRACKET (CP) 6.97
64036 TWO EAR WALL BRACKET (CP) 7.18
64037 ONE EAR WALL BRACKET (CP) 6.40
64040 TWO-PIECE WALL BRACKET 3-1/2 IN (CP) 8.46
64041 TWO-PIECE WALL BRACKET 2-1/2 IN (CP) 7.79
64043 TWO EAR URINAL SCREEN BRACKET (CP) 8.12
64044 TOP HINGE BRACKET (SQUARE) (CP) 10.60
64045 BOTTOM HINGE BRACKET (SQUARE) (CP) 12.97
64047 0/S CONCEALED LATCH F/STEEL DOORS 8.06
64048 0/S CONCEALED LATCH F/LAMINATED 8.33
64049 SURFACE MOUNTED HINGES (PAIR) (CP) 48.58
64050 SURFACE MOUNTED HINGES (PAIR) (CP) 48.58
64051 CONVERSION KIT 18.78
64104 6 IN SPOUT SOAP DISPENSER W/ 49.71
64109 FIT-ALL FLEXI URINAL SCREEN 3.32
64994 GAMCO DISPENSER KEY 3.09
64995 DISPENSER KEY ONLY 2.07
64997 BOBRICK CAT 74 DOOR KEY 1.55
64998 CONCEALED LATCH & KNOB (CP) 8.68
64999 TOP PIN 2.34
65000 TOP HINGE PIN (CP) 3.18
65004 ALUMINUM DOOR STOP 4.30
65005 BRASS DOOR STOP 4 IN 6.37
65016 HI-PRESSURE Y MIXING HOSE 11.69
65018 RUBBER HOSE WASHER 0.30
65019 LARGE BRASS TWIST HOSE NOZZLE 11.95
65020 STRAINER HOSE WASHER 0.64
65022 LEVER SPRAY NOZZLE 11.43
65023 SIAMESE HOSE CONNECTION 6.42
65024 SIAMESE HOSE W/SHUT-OFF 8.47
65026 HOT WATER HOSE WASHER WHITE 0.44
65031 S* RETRACTABLE CLOTHES LINE (PB) 37.98
65033 3 X 1-1/4 REPLACEMENT PILASTER 13.77
65037 BUMPER KEEPER (CP) 10.16
65038 BRASS DOOR KNOB 7.46
65039 BOBRICK LOCK & KEY 12.27

STS # 800130

Page 41



Best Plumbing Specialties - Pricelist 2/13/2013

65041 COAT HOOK & BUMPER - ZAMAK (CP) 3.55
65042 GUIDE PIN 5.84
65045 S/S SHELF & DOUBLE-ROLL TOILET 66.02
65046 PARTITION LOCK M & F KNOB 41.77
65047 DOUBLE PRONG COAT HOOK (CP) 1.95
65048 DIAL-A-SPRAY NOZZLE 9.08
65049 ADJ GUIDE 4.70
65234 DOOR STOP BUMPER W/SCREW HOLE 0.63
65247 ADA DOOR HANDLE PLASTIC 35.94
65255 TELESCOPIC DOOR HOLDER 21.97
65287 DOOR STOP BUMPER SOLID 0.61
65412 1/2 CTS STRAP TUBE HANGER W/NAIL 0.28
65814 ROUND HEAD HAND HELD SHOWER 17.61
65815 JACLO ROUND HEAD HAND HELD 25.82
65847 FLOOR MOUNTED DOME DOOR STOP 8.94
65848 FLOOR MOUNTED DOME DOOR STOP 7.57
65894 TOILET TISSUE DISPENSER - TWO 72.68
65895 RUBBER TIP - WHITE 0.10
65896 WINDOW CLIP FOR BALANCE 0.68
65898 DOOR WHEEL 6.05
65900 OPERATOR 38.37
65902 24 OZ SOAP CONTAINER 5.41
66028 S* CHANNEL BALANCE TYPE IV-G 25 IN 8.87
66029 BALANCE TYPE IV-G 29 IN 8.96
66030 BALANCE TYPE IV-A 29 IN 8.78
66031 S* CHANNEL BALANCE TYPE IV-B 23 IN 6.92
66051 CHANNEL BALANCE TYPE IV-C 25 IN 7.75
66052 CHANNEL BALANCE TYPE IV-C 25 IN 5.39
66057 S* CHANNEL BALANCE TYPE IV-G 25 IN 6.31
66058 S* CHANNEL BALANCE TYPE IV-G 25 IN 7.75
66061 S* CHANNEL BALANCE TYPE IV-H 21 IN 8.62
66064 BALANCE TYPE I TUBE 30 IN 6.12
66066 BALANCE TYPE Il 25 IN (2-4222) 7.68
66081 ROUND BALANCE TYPE Il (2-4105) 11.00
66083 BALANCE TYPE | 5/8 X 23 IN 6.76
66085 BALANCE TYPE Il TUBE 27 IN 7.68
66110 MH X 1/2 MIP HOSE ADAPTER 4.35
66111 3/4 MH X MH BRASS HOSE ADAPTER 3.69
66112 BRASS MALE HOSE ADAPTER 4.08
66113 MH X 3/4 FIP HOSE ADAPTER 4.91
66114 MH X 1/2 FIP HOSE ADAPTER 3.52
66115 FH X 1/2 MIP HOSE ADAPTER 4.43
66116 FH X 3/4 MIP / 1/2 FIP HOSE 4.71
66118 FH X FH BRASS FEMALE ADAPTER 4.61
66119 FH X 1/2 FIP HOSE ADAPTER 4.53
66120 FH X 3/4 FIP HOSE ADAPTER 5.93
66121 FH X 1/2 FIP SWIVEL ADAPTER 4.51

STS # 800130

Page 42



Best Plumbing Specialties - Pricelist 2/13/2013

66122 FH X 3/4 FIP SWIVEL ADAPTER 6.25
66123 FH X 3/4 FH SWIVEL ADAPTER 4.92
66139 1/2 FEM BRASS CPLG 5.13
66140 5/8 FEM BRASS COUPLING 5.78
66141 3/4 FEM BRASS COUPLING 5.62
66142 1/2 MALE HOSE COUPLING 4.81
66144 3/4 MALE HOSE COUPLING 4.80
66155 LARGE FEMALE HOSE COUPLING 2.81
66156 SMALL FEMALE HOSE COUPLING 2.94
66158 SMALL HOSE MENDER 3.74
66159 LARGE MALE HOSE COUPLING 2.53
66160 SMALL MALE HOSE COUPLING 2.47
66161 PLASTIC HOSE CAP 0.62
66478 HOSE SAVER PLUS 9.34
66552 ADJUSTABLE POWER NOZZLE 13.19
66601 TRANSPARENT FILTER FIXTURE 114.43
66603 DIRT/RUST TASTE/ODOR FOR COLD 91.96
66605 DIRT/RUST TASTE/ODOR FOR COLD 57.41
66607 S* WHOLE HOUSE DIRT/RUST FILTER 119.45
66608 S* WHOLE HOUSE DIRT/RUST FILTER 89.25
66609 WHOLE HOUSE MULTI-FILTER 157.40
66610 WHOLE HOUSE DIRT/RUST FILTER 92.33
66611 UNDERSINK WATER FILTER SYSTEM 109.56
66624 BAR SLIDE PLASTIC FOR SQUARE BAR 8.76
66626 SINGLE TISSUE HOLDER 24.10
66628 BRASS BAR SLIDE & KNOB ROUND (CP) 21.29
66852 3/4 1D X 50 FT HEAVY GARDEN HOSE 59.14
66874 3/41D X 25 FT HEAVY GARDEN HOSE 41.12
66890 RUBBER TIP - BLACK 1.18
66891 40 FL OZ SOAP DISPENSER 2-TONE 30.54
66892 RUBBER TIP - BEIGE 0.85
67004 4 IN BRASS DOOR HOLDER 18.20
67005 4 IN BRASS DOOR HOLDER 18.20
67101 ALSON HAND HELD SHOWER 14.58
67107 WALL MOUNTED HAND HELD SHOWER 47.91
67115 12 PT. SILLCOCK HANDLE 0.74
67116 FAUCET MITTS RED/BLUE (PAIR) 4.67
67118 16 PT. SILLCOCK HANDLE 0.82
67119 1/4 WHEEL HANDLE (RED) 1.00
67127 LG DISPOSER SPLASH GUARD 2.06
67146 3 In X6 In PLASTIC SHEATHING PATCH 14.61
67421 MULTI CAM MAILBOX LOCK 14.08
68202 TYPE A COUPLING FOR BEAD CHAIN 0.41
68208 1IN SOLID WHITE STOPPER 1.14
68209 1-1/8 SOLID WHITE STOPPER 1.14
68210 1-1/4 SOLID WHITE STOPPER 1.14
68211 1-3/8 SOLID WHITE STOPPER 1.34

STS # 800130

Page 43



Best Plumbing Specialties - Pricelist 2/13/2013

68212 1-1/2 SOLID WHITE STOPPER 1.48
68213 1-5/8 SOLID WHITE STOPPER 1.63
68214 1-3/4 SOLID WHITE STOPPER 1.69
68219 NYLON CAM 1.82
68230 HOSE BIBB LOCKOUT 19.52
68231 HOSE BIBB LOCK 15.73
68234 ALSON HAND HELD SHOWER 10.99
68235 3-1/2 COUNTERSUNK BRASS PLUG 12.77
68238 TOILET TISSUE HOLDER (WHITE) 9.50
68255 2 IN FLUSH CLEANOUT PLUG 8.01
68256 3 IN FLUSH CLEANOUT PLUG 8.46
68257 3-1/2 IN FLUSH CLEANOUT PLUG 10.69
68258 4 IN FLUSH CLEANOUT PLUG 11.65
68270 1-1/2 SURE-GRIP PLUG 4.59
68271 2 IN SURE-GRIP PLUG 5.15
68272 3 IN SURE-GRIP PLUG 6.63
68273 4 IN SURE-GRIP PLUG 10.55
68335 3/4 X 18 IN ALUMINUM SQ TOWEL BAR 2.57
68337 3/4 X 24 IN SQ'S/S TOWEL BAR ONLY 4.46
68504 SUREFLO RETROFIT SOAP VALVE 36.45
68505 BOBRICK SPINDLE (AFTER 12-1-73) 7.57
68552 ADA LATCH & KNOB (CP) 9.02
68652 2-3/4 PULL HANDLE (CP) 2.81
69342 CONCEALED LATCH RED/GREEN 7.33
69343 CONCEALED LATCH (CP) 18.96
69350 TOP O TANK SHELF 20.51
69351 2 IN DIA COCKHOLE COVER (S/S) 2.50
69357 1-1/4 X 36 IN'S/S GRAB BAR 27.95
69358 1-1/4 X 24 IN S/S GRAB BAR 22.92
69359 1-1/4 X 42 IN'S/S GRAB BAR 30.29
69370 1/2 CTS COPPER TUBING CLIP 0.23
69371 3/4 CTS COPPER TUBING CLIP 0.28
69372 1 COPPER STRAP CLIP 0.30
69400 SM. EXP RUB TRAP PLUG (3/4) 1.69
69402 LG. EXP RUB TRAP PLUG (7/8) 2.03
69403 EX. LG. EXP RUB TRAP PLUG 2.17
69405 1/2 BASIN SUPPLY NUT 1.59
69406 1/2 FAUCET LOCK NUT 0.87
69407 SHALLOW BASIN ROSETTE 1-3/4 OD 1.13
69408 DEEP BASIN ROSETTE 1.86
69413 3/8 BLEEDER CAP W/WASHER 1.39
69414 5/16 BLEEDER CAP W/WASHER 1.39
69415 3/4 X 1/2 BRASS FACE BUSHING 3.17
69421 1/2 HEAVY BRASS LOCKNUT 1.88
69422 MOUNTING NUT (2) 5.90
69423 MOUNTING LOCKNUT (BAG/100) 26.90
69424 1/2 CTS REPAIR CLAMP 3 IN WIDE - 8.18

STS # 800130

Page 44



Best Plumbing Specialties - Pricelist 2/13/2013

69426 1-1/2 IPS REPAIR CLAMP 6 IN WIDE - 23.11
69427 1-1/4 IPS REPAIR CLAMP 6 IN WIDE - 17.47
69428 1IN IPS REPAIR CLAMP 6 IN WIDE - 19.53
69429 2 IN IPS REPAIR CLAMP 6 IN WIDE - 30.30
69430 1/2 IPS REPAIR CLAMP 3 IN WIDE - 9.13
69431 3/4 IPS REPAIR CLAMP 3 IN WIDE - 7.19
69432 1IN IPS REPAIR CLAMP 3 IN WIDE - 9.83
69433 1-1/4 IPS REPAIR CLAMP 3 IN WIDE - 8.84
69434 1-1/2 IPS REPAIR CLAMP 3 IN WIDE - 9.57
69435 2 IN IPS REPAIR CLAMP 3 IN WIDE - 12.53
69436 1-1/4 FERNCO COUPLING 4.63
69437 1-1/2 FERNCO COUPLING 4.95
69438 2 IN FERNCO COUPLING 5.32
69439 3 IN FERNCO COUPLING 7.19
69440 4 IN FERNCO COUPLING 7.96
69441 1-1/2 FERNCO QWIK CAP 6.56
69442 2 IN FERNCO QWIK CAP 6.87
69443 3 IN FERNCO QWIK CAP 7.71
69445 4 IN FERNCO QWIK CAP 9.86
69447 59 IN S/S STRETCH SHOWER HOSE 21.84
69451 1-1/2 FERNCO NO-HUB COUPLING 6.20
69452 2 IN FERNCO NO-HUB COUPLING 6.20
69453 3 IN FERNCO NO-HUB COUPLING 7.40
69454 4 IN FERNCO NO-HUB COUPLING 8.75
69504 ROUND HEAD HAND HELD SHOWER 11.32
69505 60 IN BRASS WOUND HOSE (CP) 40.79
69506 71 IN BRASS WOUND HOSE (CP) 38.68
69507 60 IN VINYL REINFORCED HOSE 17.29
69508 71 IN VINYL REINFORCED HOSE 20.05
69509 SHOWERALL DIVERTER VALVE (CP) 67.77
69510 VACUUM BREAKER 17.09
69511 1/2 & 3/4 ZINC DIVERTER SPOUT W/ 29.59
69512 COUPLING WASHER 0.45
69513 ADJ CLEAR ACRYLIC WALL HOLDER 18.01
69514 WALL CRADLE (CP) 25.18
69515 SWIVEL BASE (CP) 23.41
69516 SWIVEL BASE WALL HOLDER (CP) 28.17
69518 60 IN S/S SHOWERALL HOSE 29.27
69520 71 IN'S/S SHOWERALL HOSE 32.61
69574 CRACK STOP (6 IN X 20 FT) 7.34
69578 FOAM SEALANT 12 OZ 7.33
69579 BOBRICK 40 FL OZ SOAP DISPENSER 50.71
69608 MALE & FEMALE KNOB SET (CP) 6.46
69637 3-1/2 PULL HANDLE 3.22
69653 COIN BOX W/LOCK & KEY(HL202) 15.57
69674 SHOWER CURTAIN RING SS 0.69
69679 VAC BREAKER FOR HAND HELD 21.95

STS # 800130

Page 45



Best Plumbing Specialties - Pricelist 2/13/2013

69681 SMALL AIR CUSHION STOP (2) 5.55
69682 SOLID DOOR STOP 2-7/8 1.11
69687 2-3/4 SLIDE LATCH (CP) 5.69
69688 3-1/2 SLIDE LATCH (CP) 7.38
69689 STRIKE & KEEPER (CP) 9.94
69690 THROW LATCH (CP) 37.60
69691 STRIKE & KEEPER (CP) 7.05
69692 CONCEALED DOOR LATCH HOUSING 7.09
69695 STRIKE & KEEPER (CP) 7.38
69696 BOTTOM HINGE BRACKET (ROUND) (CP) 11.40
69697 TOP HINGE BRACKET (ROUND) (CP) 10.54
69698 ADJ STRIKE & KEEPER 8.14
69699 URINAL DEODORIZER 9.52
69700 ECON URINAL BLOCK 4.72
69850 TOP & BOTTOM GUIDE PIN ASSY 4.57
69887 S* BURGLA BAR 5.37
69889 DELUXE SLIDE STOP 2.20
70002 1/2 F COMP X 3/8 M COMP BRASS 6.75
70023 3/8 X 3/8 X 3/8 E-Z CONNECT ADAPTER 6.46
70029 3/8 X 1/4 X 3/8 E-Z CONNECT ADAPTER 6.03
70100 3/8 OD X 12 IN KITCHEN/LAV RISER (CP) 4.63
70101 3/8 OD X 12 IN KITCHEN/LAV RISER (RB) 5.08
70102 3/8 OD X 20 IN KITCHEN/LAV RISER 6.41
70104 3/8 OD X 36 IN KITCHEN/LAV RISER 20.85
70105 3/8 OD X 36 IN KITCHEN/LAV RISER 19.83
70110 1/2 OD X 36 IN KITCHEN/LAV RISER (CP) 30.21
70111 Fluidmaster 3/8 F COMP X 7/8 BALLCOCK 4.10
70114 1/2 OD X 12 IN SWEAT KITCHEN RISER 13.02
70115 3/8 OD X 12 IN CLOSET RISER (CP) 4.80
70116 3/8 OD X 20 IN CLOSET RISER (CP) 11.78
70124 3/8 OD X 12 IN COMP FAUCET RISER 11.01
70125 3/8 OD X 12 IN COMP FAUCET RISER 11.32
70126 3/8 OD X 20 IN COMP FAUCET RISER 20.97
70127 3/8 OD X 12 IN SWEAT FAUCET RISER 10.92
70128 3/8 OD X 20 IN SWEAT FAUCET RISER 13.67
70168 5/8 CLOSET NUT (CP) 7.11
70169 5/8 FIBER WASHER 1.54
70200 1/2 X 1/2 Push-Fit BRASS STRAIGHT 6.03
70201 1/2 Push-Fit X 1/2 FNPT BRASS 5.02
70202 1/2 Push-Fit X 1/2 MNPT BRASS 4.86
70203 1/2 X 1/2 Push-Fit BRASS ELBOW 6.61
70204 1/2 Push-Fit BRASS TEE 8.62
70205 1/2 Push-Fit BRASS ENDSTOP 5.04
70206 3/4 X 3/4 Push-Fit BRASS STRAIGHT 7.02
70207 3/4 Push-Fit X 3/4 FNPT BRASS 5.72
70208 3/4 Push-Fit X 3/4 MNPT BRASS 5.48
70209 3/4 X 3/4 Push-Fit BRASS ELBOW 7.79

STS # 800130

Page 46



Best Plumbing Specialties - Pricelist 2/13/2013

70210 3/4 Push-Fit BRASS TEE 10.82
70211 3/4 Push-Fit BRASS ENDSTOP 6.45
70212 1IN X 1IN Push-Fit BRASS STRAIGHT 14.82
70213 1IN Push-Fit X 1 IN FNPT BRASS 11.58
70214 1IN Push-Fit X 1 IN MNPT BRASS 12.03
70215 1IN X 1IN Push-Fit BRASS ELBOW 15.93
70216 1IN Push-Fit BRASS TEE 19.28
70217 1 IN Push-Fit BRASS ENDSTOP 14.78
70218 3/4 X 1/2 Push-Fit BRASS REDUCING 7.05
70219 3/4 X 1/2 Push-Fit BRASS REDUCING 8.29
70220 3/4 X 3/4 X 1/2 Push-Fit BRASS 10.93
70221 3/4 X 1/2 X 3/4 Push-Fit BRASS 11.43
70222 3/4 X 1/2 X 1/2 Push-Fit BRASS 10.92
70223 1 X 3/4 Push-Fit BRASS REDUCING 17.98
70224 1/2 Push-Fit X 3/4 FNPT BRASS 6.00
70225 1/2 Push-Fit X 3/4 MNPT BRASS 5.83
70226 1IN Push-Fit X 3/4 MNPT BRASS 10.19
70227 1/2 Push-Fit X 1/2 MNPT BRASS 6.20
70228 1/2 Push-Fit X 1/2 FNPT BRASS 6.29
70229 1 X 1 X 3/4 Push-Fit BRASS 19.69
70230 1/2 Push-Fit DISCONNECT CLIP 3.37
70231 3/4 Push-Fit DISCONNECT CLIP 3.37
70232 1IN Push-Fit DISCONNECT CLIP 3.46
70233 1/2 Push-Fit DISCONNECT TONGS 29.02
70234 3/4 Push-Fit DISCONNECT TONGS 29.02
70235 1 IN Push-Fit DISCONNECT TONGS 29.44
70237 SAFE SEAL DEPTH GAUGE 21.55
70238 3/8 X 3/8 Push-Fit BRASS STRAIGHT 7.56
70239 3/8 X 1/2 Push-Fit BRASS REDUCING 7.35
70240 3/8 Push-Fit X 1/2 FNPT BRASS 6.09
70242 3/8 X 3/8 Push-Fit BRASS ELBOW 8.40
70243 3/8 Push-Fit X 1/2 FNPT BRASS DROP 6.90
70245 1/2 X 1/2 X 3/8 Push-Fit BRASS 11.87
70246 3/8 X 3/8 X 1/2 Push-Fit BRASS 11.32
70247 3/8 Push-Fit BRASS ENDSTOP 6.25
70248 3/8 Push-Fit DISCONNECT CLIP 2.96
70249 3/8 X 1/2 Push-Fit TAIL SB X TAIL OD 8.01
70250 3/8 X 3/4 Push-Fit TAIL SB X TAIL OD 8.67
70254 Push-Fit 3/8 od X 3/8 od X 3/8Comp ANGLE 10.51
70412 ADA ANGLE STOP COVER (WHITE) 19.53
70413 PUSH BUTTON ASSY 133.58
70414 PUSH BUTTON STEM ASSY (BRIGHT CP) 91.35
70415 1/2 M X 3/8 OD FEMALE ADAPTER 5.87
70420 S* CUP PACKING WASHER 3.52
70421 FINGER HOOK 38.17
70501 1/2 D-1-O FEMALE SOLDER END 4.44
70502 1/2 D-I-O MALE SOLDER END 3.26

STS # 800130

Page 47



Best Plumbing Specialties - Pricelist 2/13/2013

70503 S*1/4 OD D-1-O COMP END 4.38
70504 3/8 OD D-I-O COMP END 3.61
70505 1/2 OD D-I-O COMP END 4.98
70506 5/8 OD D-I-O COMP END 4.28
70507 3/8 OD D-I-O FEMALE COMP END 4.80
70508 1/2 OD D-I-O FEMALE COMP END 13.80
70509 5/8 OD D-I-O FEMALE COMP END 4.98
70510 1/2 D-I-O CPVC END 5.30
70511 1/2 D-I-O CPVC TAILPIECE END 5.47
70512 1/8 FIP D-I-O END 3.50
70513 1/4 FIP D-I-O END 3.61
70514 3/8 FIP D-I-O END 4.10
70515 1/2 FIP D-I-O END 4.22
70516 1/8 MIP D-I-O END 2.38
70517 1/4 MIP D-I-O END 2.40
70518 3/8 MIP D-I-O END 2.56
70519 1/2 D-I-O DUAL (COPPER OR MALE) 5.57
70520 1/2 D-1-O POLY-B END 4.77
70521 D-1-O MALE HOSE END 3.09
70522 D-1-O FEMALE SWIVEL HOSE END 4.15
70523 3/8 (1/2 OD) D-1-O COMPEX END 12.14
70524 1/2 (5/8 OD) D-I-O COMPEX END 8.25
70525 1/2 D-I-O KCRIMP END 4.55
70526 3/8 D-I-O KCOMP END 8.70
70527 1/2 D-1-O KCOMP END 9.22
70528 1/2 OD OR 7/16 OD D-I-O SLIP 7.19
70529 3/8 D-1-O CRIMPEX END 3.96
70530 1/2 D-1-O CRIMPEX END 2.65
70531 D-1-O BODY 12.37
70536 D-I-O CAP GASKETS (20/PACK) 22.70
70537 D-I-O PLUG (5/PACK) 5.30
71126 HOT INDEXBUTTONT & S 0.85
71127 COLD INDEXBUTTONT & S 0.85
71130 HOT STEM ASSY T&S 40.83
71131 COLD STEM ASSY T&S 40.83
71228 1/2 X 12 NO SWEAT CONNECTOR 17.19
71233 3/8 WASHER ONLY J 0.38
71239 3/4 X 12 NO SWEAT CONNECTOR 19.17
71240 SPRING FOR T&S PRE-RINSE 61.14
71241 24 IN RISER 3/8 MIP 40.18
71255 BrassCraft 3/8 F X 1/2 OD ANGLE STOP 21.14
71257 S* AIR BUTTON 1.46
71259 1/2 COP DUAL ANGLE VALVE (RB) 21.20
71288 WASHER 1.30
71300 GOOSENECK SPOUT ADAPTER 25.93
71301 PETCOCK 1/4 MIP X 1/4 FIP 16.08
71302 GAUGE COCK 1/4 FIP 12.97

STS # 800130

Page 48



Best Plumbing Specialties - Pricelist 2/13/2013

71303 1/4 MIP AIR COCK W/TEE HANDLE (PB) 15.55
71304 GROUND KEY COCK VALVE ONLY 42.80
71306 S* GAS INDEX BUTTON 1.46
71400 T&S SPRAY HEAD FACE ONLY 6.63
71401 T&S SPRAY FACE SCREW ONLY 2.03
71402 T&S HEAD BUMPER RING 3.42
71407 SEAT WASHER PRE-RINSE 2.07
71409 STEM PRE-RINSE 3.71
71410 BONNET WASHER PRE-RINSE 1.42
71411 PACKING PRE-RINSE 3.55
71412 BONNET SPRING 1.79
71414 SQUEEZE VALVE HANDLE T&S 27.07
71415 5/16 X 8-32 ROUND HD HDLE SCREW 1.46
71416 HANDLE NUT PRE-RINSE 2.44
71417 HOSE WASHER PRE-RINSE 1.22
71418 T&S COMPLETE SPRAY HEAD 34.57
71419 T&S COMPLETE BONNET 30.93
71420 T&S COMPLETE SPRAY VALVE 67.39
71421 T&S PRE-RINSE HOSE HDLE GRIP 26.80
71422 FLEXIBLE S/S HOSE 26 75.77
71423 44 IN FLEXIBLE S/S HOSE 65.02
71424 68 IN FLEXIBLE S/S HOSE 74.24
71427 44 IN CLEAR VINYL HOSE ASSY 75.90
71430 T&S REPAIR KIT FOR FOR BEST #71420 19.13
71431 T&S CONVERSION ADAPTER 14.36
71434 T&S WATERSAVING PRE-RINSE 82.63
71435 T&S FOOT PEDAL VALVE PARTS KIT 22.62
71452 HOLD DOWN RING 4.22
71503 SHANK WASHER BASE FCT 3.30
71506 T&S GASKET 3.13
71510 SEAT WASHER (TEFLON) 3.97
71511 T&S HOT HANDLE 7.38
71512 T&S COLD HANDLE 7.38
71514 SEAT SCREW 1.79
71516 SPRING 1.30
71517 BONNET FOR BASE FAUCET 13.43
71518 PACKING 1.93
71519 PACKING NUT BASE FAUCET 4.99
71520 T&S INSERT GASKET 1.83
71522 T&S BONNET GASKET 1.63
71525 SEAT WASHER HOLDER 2.12
71530 COLD SPINDLE ASSEMBLY 48.50
71531 HOT SPINDLE ASSEMBLY 48.50
71532 BONNET FOR BASE FAUCET 16.90
71533 PACKING FOR BASE FAUCET 2.40
71534 S/S WASHER 1.42
71535 RUBBER WASHER 1.13

STS # 800130

Page 49



Best Plumbing Specialties - Pricelist 2/13/2013

71536 BRASS WASHER 1.62
71581 1/2 SCH 40 PVC FEMALE ADAPTER 0.36
71582 3/4 SCH 40 PVC FEMALE ADAPTER 0.44
71583 3/8 VAC BREAKER REPAIR KIT 29.10
71584 1/2 VAC BREAKER REPAIR KIT 33.11
71588 1/2 SCH 40 PVC MALE ADAPTER 0.30
71589 3/4 SCH 40 PVC MALE ADAPTER 0.29
71592 1/2 SCH 40 PVC PLUG 0.81
71593 3/4 SCH 40 PVC PLUG 0.87
71601 REMOVEABLE SEAT 3.82
71604 1/2 COPPER COUPLING W/O STOP 0.36
71607 3/4 COPPER COUPLING W/O STOP 0.88
71614 PRE-RINSE SPRAY VALVE W/3 FT 157.20
71615 PRE-RINSE SPRAY VALVE W/3 FT 159.86
71616 WALL HOOK OUTLET 52.76
71618 1/2 SCH 40 PVC COUPLING 0.19
71620 1/2 SCH 80 PVC UNION SOCKET 3.95
71622 3/4 SCH 40 PVC 90 DEG ELBOW 0.36
71624 3/4 SCH 40 PVC TEE 0.41
71625 3/4 SCH 80 PVC UNION SOCKET 5.03
71631 1/2 COPPER COUPLING W/STOP 0.31
71633 1/2 COPPER FEMALE ADAPTER 1.29
71634 1/2 COPPER TEE 0.72
71636 1/2 COPPER CAP 0.31
71637 1/2 COPPER 45 DEG ELBOW 0.80
71638 3/4 COPPER 90 DEG ELBOW 0.84
71640 3/4 COPPER MALE ADAPTER 151
71641 3/4 COPPER FEMALE ADAPTER 1.99
71644 3/4 COPPER CAP WROT 0.66
71646 50/50 ROLL SOLDER (1 LB) 22.63
71647 S* 40/60 ROLL SOLDER (1 LB) 16.94
71648 95/5 ROLL LEAD-FREE SOLDER 1/8 26.20
71650 50/50 BAR SOLDER 19.91
71671 1/4 OD X .170 ID X .040 WALL POLY 22.45
71673 3/80D X 1/41D X .062 WALL POLY 41.97
71675 1/2 0D X 3/8 1D X .062 WALL POLY 62.35
71687 3/4 COPPER 90 DEG STREET ELBOW 1.42
71694 1/2 COPPER 90 DEG STREET ELBOW 0.75
71704 1/4 FIP X 1/4 OD STR FEM ADAPTER 2.09
71706 1/2 FIP X 1/4 OD STR FEM ADAPTER 5.84
71718 3/8 FIP X 5/8 OD STR FEM ADAPTER 5.62
71719 1/2 FIP X 5/8 OD STR FEM ADAPTER 4.33
71720 3/4 FIP X 5/8 OD STR FEM ADAPTER 7.08
71731 1/8 MIP X 1/4 OD STR MALE UNION 1.40
71732 1/4 MIP X 1/4 OD STR MALE UNION 1.74
71733 3/8 MIP X 1/4 OD STR MALE UNION 2.43
71738 1/8 MIP X 3/8 OD STR MALE UNION 2.04

STS # 800130

Page 50



Best Plumbing Specialties - Pricelist 2/13/2013

71739 1/4 MIP X 3/8 OD STR MALE UNION 1.90
71745 1/4 MIP X 1/2 OD STR MALE UNION 3.17
71748 3/4 MIP X 1/2 OD STR MALE UNION 6.25
71749 3/8 MIP X 5/8 OD STR MALE UNION 3.81
71750 1/2 MIP X 5/8 OD STR MALE UNION 3.56
71751 3/4 MIP X 5/8 OD STR MALE UNION 5.54
71757 1/8 OD COMP UNION 1.94
71758 3/16 OD COMP UNION 2.03
71759 1/4 OD COMP UNION 1.96
71760 5/16 OD COMP UNION 2.45
71761 3/8 OD COMP UNION 2.53
71763 1/2 OD COMP UNION 4.06
71764 5/8 OD COMP UNION 5.33
71765 3/4 OD COMP UNION 14.29
71766 7/8 OD COMP UNION 11.26
71774 3/8 X 1/4 OD COMP RED UNION (RB) 2.54
71776 1/2 X 3/8 OD COMP RED UNION (RB) 3.80
71783 1/4 OD COMP TEE 4.47
71785 3/8 OD COMP TEE 5.54
71787 5/8 OD COMP TEE 13.21
71790 1/4 OD COMP ELBOW 3.56
71792 3/8 OD COMP ELBOW 4.46
71795 5/8 OD COMP ELBOW 9.66
71803 1/4 FIP X 1/4 OD COMP ELBOW (RB) 5.04
71812 5/8 FIP X 1/2 OD COMP ELBOW (RB) 10.55
71813 1/8 OD X 1/8 MIP COMP ELBOW (RB) 2.85
71817 1/4 OD X 1/4 MIP COMP ELBOW (RB) 3.02
71818 1/4 OD X 3/8 MIP COMP ELBOW (RB) 5.02
71823 3/8 OD X 1/4 MIP COMP ELBOW (RB) 3.29
71832 5/8 OD X 3/8 MIP COMP ELBOW (RB) 8.46
71833 5/8 OD X 1/2 MIP COMP ELBOW (RB) 8.57
71835 1/8 OD COMP SLEEVE 0.25
71836 3/16 OD COMP SLEEVE 0.24
71837 1/4 OD COMP SLEEVE 0.14
71838 5/16 OD COMP SLEEVE 0.19
71839 7/16 OD COMP SLEEVE 0.52
71840 3/4 OD COMP SLEEVE 1.23
71841 7/8 OD COMP SLEEVE 1.43
71842 1/8 OD COMP NUT (RB) 0.35
71843 3/16 OD COMP NUT (RB) 0.47
71844 1/4 OD COMP NUT (RB) 0.43
71845 5/16 OD COMP NUT (RB) 0.54
71846 7/16 OD COMP NUT (RB) 131
71848 7/8 OD COMP NUT (RB) 2.84
71849 3/8 OD COMP CAP - SOLID (RB) 0.71
71850 1/4 X 1/8 BRASS HEX RED BUSHING 0.86
71852 3/8 X 1/4 BRASS HEX RED BUSHING 1.24

STS # 800130

Page 51



Best Plumbing Specialties - Pricelist 2/13/2013

71854 1/2 X 1/4 BRASS HEX BUSHING 5.94
71855 1/2 X 3/8 BRASS HEX BUSHING 5.94
71857 3/4 X 1/4 BRASS HEX BUSHING 7.48
71858 3/4 X 3/8 BRASS HEX BUSHING 7.48
71859 3/4 X 1/2 BRASS HEX BUSHING 7.48
71860 1/8 BRASS SQUARE HEAD PLUG - 0.45
71861 1/4 BRASS SQUARE HEAD PLUG - 0.88
71862 3/8 BRASS SQUARE HEAD PLUG - 1.07
71863 1/2 BRASS SQUARE HEAD PLUG - 2.26
71864 3/4 BRASS SQUARE HEAD PLUG - 3.84
71869 1/8 BRASS CAP 5.36
71870 1/4 BRASS CAP 5.36
71871 3/8 BRASS CAP 5.36
71872 1/2 BRASS CAP 5.36
71873 1/4 X 1/8 BRASS RED HEX NIPPLE 0.93
71874 3/8 X 1/4 BRASS RED HEX NIPPLE 1.47
71875 1/2 X 3/8 BRASS RED HEX NIPPLE 2.42
71876 3/4 BRASS CAP 6.75
71877 1/8 IPS FULL PORT BALL VALVE 8.84
71883 3/8 SWT FULL PORT BALL VALVE 7.07
71884 1-1/4 SWT BALL VALVE 30.04
71929 5/8 X5/8 X 1/2 RED UNION TEE 17.47
71934 1/4 OD FLARE ELBOW UNION 4.21
71935 1-1/2 X CLOSE (1-3/4) GALV NIPPLE 4.06
71936 1-1/2 X 2 GALV NIPPLE 4.34
71937 1-1/2 X 2-1/2 GALV NIPPLE 4.84
71938 1-1/2 X 3 GALV NIPPLE 4.84
71939 1-1/2 X 3-1/2 GALV NIPPLE 6.13
71940 1-1/2 X 4 GALV NIPPLE 6.13
71941 1-1/2 X 4-1/2 GALV NIPPLE 7.41
71942 1-1/2 X 5 GALV NIPPLE 7.41
71943 1-1/2 X 5-1/2 GALV NIPPLE 8.31
71944 1-1/2 X 6 GALV NIPPLE 8.31
71949 3/8 OD FLARE TEE UNION (RB) 5.30
71950 1/2 OD FLARE TEE UNION (RB) 7.13
71958 1/4 MIP X 1/4 OD FLARE ELBOW 3.16
71965 1/4 MIP X 3/8 OD FLARE ELBOW 3.54
71966 3/8 MIP X 3/8 OD FLARE ELBOW 4.17
71985 1/2 BRASS 90 DEG ELBOW FIP X FIP 20.17
71986 1/2 BRASS TEE FIP X FIP X FIP (CP) 23.68
71992 1/2 BRASS PIPE CAP (CP) 13.41
71995 1/2 BRASS COUPLING (CP) 16.86
72001 1/2 BLACK MALL IRON PLUG-SOLID 1.00
72002 3/4 BLACK MALL IRON PLUG-SOLID 1.90
72003 1/2 BLACK MALL IRON 90 DEG ELBOW 1.82
72005 1/4 MIP X 1/4 OD FLARE ADAPTER 1.16
72012 1/4 MIP X 3/8 OD FLARE ADAPTER 1.37

STS # 800130

Page 52



Best Plumbing Specialties - Pricelist 2/13/2013

72014 1/2 MIP X 3/8 OD FLARE ADAPTER 2.06
72016 1/4 MIP X 1/2 OD FLARE ADAPTER 2.34
72018 1/2 MIP X 1/2 OD FLARE ADAPTER 2.62
72022 3/4 MIP X 5/8 OD FLARE ADAPTER 4.81
72026 3/8 X 1/4 OD FLARE RED UNION (RB) 1.79
72029 1/2 X 3/8 OD FLARE RED UNION (RB) 2.66
72030 5/8 X 3/8 OD FLARE RED UNION (RB) 4.51
72036 1/4 OD SHORT FLARE ROD NUT 0.80
72038 3/8 OD SHORT FLARE ROD NUT 1.08
72040 1/2 OD SHORT FLARE ROD NUT 1.54
72041 5/8 OD SHORT FLARE ROD NUT 2.34
72049 1/4 OD FLARE UNION (RB) 0.98
72050 5/16 OD FLARE UNION (RB) 1.36
72051 3/8 OD FLARE UNION (RB) 1.72
72052 1/2 MIP X 5/8 OD FLARE ADAPTER 3.12
72056 1/2 BLACK MALL IRON 45 DEG ELBOW 3.00
72057 3/4 BLACK MALL IRON 45 DEG ELBOW 3.72
72058 1/2 BLACK MALL IRON TEE 2.43
72059 3/4 BLACK MALL IRON TEE 3.50
72062 1/2 BLACK MALL IRON CAP 1.84
72064 3/4 BLACK MALL IRON CAP 2.50
72067 MODEL 12000A VALVE ASSY 92.32
72068 1/2 SWT X 3/8 OD COMP STRAIGHT 11.58
72070 3/8 FIP X 3/8 OD COMP ELBOW (CP) 7.49
72071 1/2 FIP X 1/2 OD STRAIGHT ADAPTER 3.02
72072 TIP TOE ASSY 31.50
72073 1/2 CTS X 12 IN SWEAT FULL-SLIP 5.98
72074 1/2 CTS X 12 IN COMPRESSION 17.32
72076 CHECK STOP VALVE KIT 33.50
72078 HAWS FOUNTAIN REPAIR KIT 57.86
72082 HYDRANT REPAIR KIT #8 79.73
72083 New Style CARTRIDGE COLD W/CAP 84.89
72084 New Style CARTRIDGE HOT W/CAP 84.89
72085 1/2 BLACK MALL IRON COUPLING 2.52
72086 WOODFORD PLUNGER 12.88
72087 BUBBLER COMPLETE 109.53
72089 3/4 BLACK MALL IRON COUPLING 2.95
72090 1/2 BLACK MALL IRON UNION 8.06
72091 3/4 BLACK MALL IRON UNION 9.26
72100 1/2 BRASS 90 DEG ELBOW 8.06
72101 1/2 BRASS COUPLING 6.75
72102 1/2 BRASS TEE 9.47
72103 1/2 BRASS UNION 22.94
72105 1/2 BRASS SQUARE HEAD PLUG - 7.41
72118 3/4 BRASS COUPLING 9.47
72119 3/4 BRASS TEE 13.45
72120 3/4 BRASS UNION 31.53

STS # 800130

Page 53



Best Plumbing Specialties - Pricelist 2/13/2013

72134 1/2 GALV 90 DEG ELBOW 2.45
72135 1/2 GALV COULPING 3.59
72136 1/2 GALV TEE 3.18
72137 1/2 GALV UNION 10.69
72138 1/2 GALV CAP 2.72
72139 1/2 GALV PLUG-SOLID 1.88
72140 1/2 X CLOSE (1-1/8) GALV NIPPLE 1.57
72141 1/2 X 1-1/2 GALV NIPPLE 1.62
72142 1/2 X 2 GALV NIPPLE 1.62
72143 1/2 X 2-1/2 GALV NIPPLE 1.94
72144 1/2 X 3 GALV NIPPLE 1.94
72145 1/2 X 3-1/2 GALV NIPPLE 2.38
72146 1/2 X 4 GALV NIPPLE 2.38
72147 1/2 X 4-1/2 GALV NIPPLE 2.84
72148 1/2 X 5 GALV NIPPLE 2.84
72149 1/2 X 5-1/2 GALV NIPPLE 3.25
72150 1/2 X 6 GALV NIPPLE 3.25
72151 3/4 GALV 90 DEG ELBOW 3.01
72152 3/4 GALV COUPLING 4.14
72153 3/4 GALV TEE 5.23
72154 3/4 GALV UNION 12.29
72155 3/4 GALV CAP 3.76
72157 3/4 X CLOSE (1-3/8) GALV NIPPLE 1.88
72158 3/4 X 1-1/2 GALV NIPPLE 2.03
72159 3/4 X 2 GALV NIPPLE 2.03
72160 3/4 X 2-1/2 GALV NIPPLE 2.25
72161 3/4 X 3 GALV NIPPLE 2.25
72162 3/4 X 3-1/2 GALV NIPPLE 2.94
72163 3/4 X 4 GALV NIPPLE 2.94
72164 3/4 X 4-1/2 GALV NIPPLE 3.47
72165 3/4 X 5 GALV NIPPLE 3.47
72166 3/4 X 5-1/2 GALV NIPPLE 4.19
72167 3/4 X 6 GALV NIPPLE 4.19
72168 3/8 COMP X 5/8 COMP STR BALL STOP 10.05
72212 1/2 CTS DRY SEAL PIPE COLLAR 0.27
72213 1/2 IPS DRY PIPE SEAL COLLAR 0.27
72215 1/2 X 3/8 BRASS THREADED FACE 1.32
72234 3/4 CTS DRY SEAL PIPE COLLAR 0.27
72235 3/4 IPS DRY SEAL PIPE COLLAR 0.27
72266 BrassCraft 1/2 F X 3/8 OD ANGLE LOOSE 22.45
72267 BrassCraft 3/8 F X 3/8 OD ANGLE 22.45
72270 BrassCraft 3/8 NOM SWEAT X 3/8 OD 16.72
72284 3/8 OD BRASS NOSE PIECE 0.73
72286 S* 3/8 OD POLY NOSEPIECE 1.50
72288 3/8 OD BRASS COMP NUT (CP) 0.85
72289 1/2 OD BRASS COMP NUT (CP) 1.40
72290 5/8 OD COMP NUT (CP) 2.87

STS # 800130

Page 54



Best Plumbing Specialties - Pricelist 2/13/2013

72292 3/8 OD COMP SLEEVE 0.22
72293 1/2 OD COMP SLEEVE 0.43
72294 5/8 OD COMP SLEEVE 0.47
72295 3/8 OD COMP NUT (RB) 0.77
72296 1/2 OD COMP NUT (RB) 0.98
72297 5/8 OD COMP NUT (RB) 1.29
72299 1/2 OD PLASTIC COMP RING 0.73
72300 BIBB WASHER 0.98
72301 VALVE STEM (BRASS) 4.19
72302 BONNET PACKING 1.47
72303 VALVE HANDLE 1.86
72304 BONNET NUT-SHORT 2.56
72306 3/8 1P S/S ESCUTCHEON FLAT 1.84
72308 1/2 IP S/S ESCUTCHEON FLAT 1.84
72309 1/2 NOM S/S ESCUTCHEON FLAT 1.84
72310 3/8 IPS ESCUTCHEON BELL 4.92
72313 1/2 NOM COPPER ESCUTCHEON 4.41
72315 SELF TAPPING SCREW 1.09
72323 ESCUTCHEON W/SET SCREW 6.14
72326 S* ESCUTCHEON HOLDER-SOLID 5.28
72328 ESCUTCHEON NIPPLE 5/8 OD 24TH 4.17
72332 ESCUTCHEON NIPPLE 9/16 OD 20TH 3.40
72333 ESCUTCHEON NIPPLE 5/8 OD 1 4.17
72334 BUBBLER CARTRIDGE REPAIR KIT 38.44
72335 1IN SWT ADD-A-VALVE 359.27
72336 S* 1-1/4 SWT ADD-A-VALVE 537.93
72337 1-1/2 SWT ADD-A-VALVE 669.97
72341 1/2 IPS FULL PORT BALL VALVE 6.69
72342 3/4 IPS FULL PORT BALL VALVE 10.55
72343 1IN IPS FULL PORT BALL VALVE 14.63
72344 1-1/4 IPS FULL PORT BALL VALVE 28.75
72345 1-1/2 IPS FULL PORT BALL VALVE 35.61
72346 2 IN IPS FULL PORT BALL VALVE 55.72
72347 1/2 SWT FULL PORT BALL VALVE 6.69
72348 3/4 SWT FULL PORT BALL VALVE 10.55
72349 1IN SWT FULL PORT BALL VALVE 15.66
72350 S* 1-1/4 SWT FULL PORT BALL VALVE 28.75
72351 1-1/2 SWT FULL PORT BALL VALVE 35.61
72352 2 IN SWT FULL PORT BALL VALVE 55.72
72363 1/2 RUBBER GASKET FOR DIELECTRIC 0.46
72364 3/4 RUBBER GASKET FOR DIELECTRIC 0.46
72365 1 IN RUBBER GASKET FOR DIELECTRIC 0.54
73000 1/2 X CLOSE (1-1/8) BLACK NIPPLE 1.35
73001 1/2 X 1-1/2 BLACK NIPPLE 1.35
73002 1/2 X 2 BLACK NIPPLE 1.35
73004 1/2 X 2-1/2 BLACK NIPPLE 1.59
73005 1/2 X 3 BLACK NIPPLE 1.59

STS # 800130

Page 55



Best Plumbing Specialties - Pricelist 2/13/2013

73006 1/2 X 3-1/2 BLACK NIPPLE 1.94
73007 1/2 X 4 BLACK NIPPLE 1.94
73008 1/2 X 4-1/2 BLACK NIPPLE 2.25
73009 1/2 X 5 BLACK NIPPLE 2.25
73010 1/2 X 5-1/2 BLACK NIPPLE 2.50
73011 1/2 X 6 BLACK NIPPLE 2.50
73012 3/4 X CLOSE (1-3/8) BLACK NIPPLE 1.57
73013 3/4 X 1-1/2 BLACK NIPPLE 1.66
73014 3/4 X 2 BLACK NIPPLE 1.66
73015 3/4 X 2-1/2 BLACK NIPPLE 1.88
73016 3/4 X 3 BLACK NIPPLE 1.88
73017 3/4 X 3-1/2 BLACK NIPPLE 2.34
73018 3/4 X 4 BLACK NIPPLE 2.34
73019 3/4 X 4-1/2 BLACK NIPPLE 2.94
73020 3/4 X 5 BLACK NIPPLE 2.94
73021 3/4 X 5-1/2 BLACK NIPPLE 3.31
73022 3/4 X 6 BLACK NIPPLE 3.31
73028 1/2 GALV 45 DEG ELBOW 3.88
73029 3/4 GALV 45 DEG ELBOW 5.58
73303 3/8 COMP X 5/8 COMP ANG BALL STOP 9.39
73304 1/2 COMPRESSION BALL VALVE 10.49
73305 3/4 COMPRESSION BALL VALVE 15.24
73306 1IN COMPRESSION BALL VALVE 23.15
73307 1/2 REPLACEMENT VALVE 30.87
73308 3/4 REPLACEMENT VALVE 41.83
73310 3/8 FIP X 3/8 OD STR FEM ADAPTER (CP) 8.14
73311 3/8 FIP X 3/8 OD STR FEM ADAPTER 2.55
73312 1/2 FIP X 3/8 OD ST FEM ADAPTER (CP) 9.43
73313 1/2 FIP X 3/8 OD STR FEM ADAPTER 2.77
73314 3/8 FIP X 1/2 OD STR FEM ADAPTER (CP) 11.95
73316 1/2 FIP X 1/2 OD ST FEM ADAPTER (CP) 10.90
73318 3/8 MIP X 3/8 OD STR MALE UNION (CP) 3.58
73319 3/8 MIP X 3/8 OD STR MALE UNION 2.26
73320 1/2 MIP X 3/8 OD ST MALE UNION (CP) 8.84
73321 1/2 MIP X 3/8 OD STR MALE UNION 2.82
73322 3/8 MIP X 1/2 OD ST MALE UNION (CP) 11.52
73324 1/2 MIP X 1/2 OD ST MALE UNION (CP) 11.97
73325 1/2 MIP X 1/2 OD STR MALE UNION 3.26
73328 1/2 FIP X 3/8 OD COMP ELBOW (CP) 13.24
73332 1/2 FEM X 1/2 COMP ELBOW (CP) 19.62
73334 3/8 MIP X 3/8 OD COMP MALE ELBOW 11.80
73335 3/8 OD X 3/8 MIP COMP ELBOW (RB) 3.74
73336 1/2 1P X 3/8 EL MAL COMP (CP) 14.02
73337 3/8 OD X 1/2 MIP COMP ELBOW (RB) 6.12
73339 1/2 OD X 3/8 MIP COMP ELBOW (RB) 5.62
73341 1/2 OD X 1/2 MIP COMP ELBOW (RB) 6.90
73342 1/2 NM X 3/8 ST SWT COMP (CP) 8.03

STS # 800130

Page 56



Best Plumbing Specialties - Pricelist 2/13/2013

73343 1/2 NOM SWT X 3/8 OD STR ADAPTER 2.09

73346 5/8 OD X 3/8 OD COMP UNION (CP) 5.76

73347 5/8 X 3/8 OD COMP RED UNION (RB) 4.76

73349 5/8 X 1/2 OD COMP RED UNION (RB) 5.47

73352 1/2 NM X 3/8 EL SWT FTG (CP) 14.38
73359 1/2 OD X 3/8 EL COMP FTG (RB) 18.92
73361 1/2 OD X 1/2 EL COMP FTG (RB) 21.02
73362 5/8 X 3/8 COMP S. D. BALL VALVE 12.15
73363 1/2 FIP X 3/8 CS. D. BALL VALVE 14.33
73364 3 IN ST BASIN TAILPIECE 5.01

73365 PRE-RINSE SPRAY W/44 IN S/S HOSE 145.37
73367 3/8 OD STOP RETRO FIT VALVE 13.47
73369 BEST ICE MAKER KIT 19.00
73370 3/8 OD COMP STRAIGHT UNION (CP) 3.80

73375 SUPER SHOWERHEAD W/MALE IPS 72.33
73376 1/2 OD STOP RETRO FIT VALVE 27.18
73381 5/8 OD TEE W/ 1/4 VALVE - SOLDERLESS 18.92
73382 5/8 OD TEE W/ 3/8 VALVE - SOLDERLESS 18.32
74100 2.5 GPM HUDSON SHOWERHEAD 7.88

74139 6 NOZZLE POWER JET BRASS SHOWER 28.17
74140 SPEAKMAN 2.5 GPM 2-3/4 IN 117.64
74150 SPEAKMAN 2.5 GPM 2-1/2 IN 44.78
74304 BRASS CONSERVATION WASHER 0.88

74306 1 X 6 POLISHED ALUM SHOWER ROD 6.79

74313 FLOW REDUCER FOR SHOWER HEAD 0.16

74400 ECONO SHOWERHEAD 5.16

74517 1.5 GPM ULTRA SAVER SHOWER HEAD 8.67

74519 WATER FUN SHOWERHEAD (CP) 10.42
74524 ADJ MASSAGE SHOWERHEAD (CP) 14.73
74525 ADJ MASSAGE SHOWERHEAD (WHITE) 10.19
74526 SOLID BRASS SHOWERHEAD 12.05
74535 SHOWER ARM 6.53

74539 KOHLER ADJ LINK 31.13
74542 PLUNGER 23.55
74560 KOHLER ROCKER ARM 23.27
74561 KOHLER SCREW (CP) 16.09
74567 S* STRAINER PLUG 15.84
74568 UNION BRASS STOPPER 19.14
74569 UNION BRASS ROCKER ARM 12.15
74570 UNION BR NUT 0.74

74590 WATCO TUB TRIM 36.45
74591 WATCO PUSH PULL DRAIN 17.34
74592 WATCO PUSH PULL DRAIN 29.39
74593 WATCO PUSH PULL DRAIN 33.13
74594 WATCO PUSH PULL DRAIN 33.13
74595 WATCO PUSH PULL DRAIN 17.34
74596 WATCO PUSH PULL DRAIN (CP) 34.85

STS # 800130

Page 57



Best Plumbing Specialties - Pricelist 2/13/2013

74597 WATCO PUSH PULL DRAIN 33.13
74598 WATCO DRAIN STOPPER 13.46
74605 SHOWERHEAD 9.61
74856 PRESFLO TUB DRAIN (CP) 27.79
75301 S* 1/2 & 3/4 DIE CAST TUB SPOUT (CP) 6.29
75307 1/2 X 10 IN 90 DEG SHOWER ARM (CP) 15.67
75309 FACE PLATE W/TRIP LEVER & SCREWS 4.71
75312 1/2 & 3/4 CAST BRASS DIVERTER SPOUT 37.43
75314 1/2 & 3/4 PLASTIC DIVERTER SPOUT 11.34
75317 BLANK CP FACE PLATE 2.97
75319 1/2 X 12 IN 45 DEG SHOWER ARM (CP) 19.14
75366 3/4 SPOUT W/DIVERTER (CP) 11.00
75440 BRASS SHOWERHEAD 11.89
75490 DIVERTER TUB SPOUT (PB) 11.29
75491 S* TRIP LEVER W/SCREWS (PB) 4.86
75589 TUB SPOUT RING 6.02
75590 TUB SPOUT TRIM PLATE (CP) 6.33
75612 3/8 IPS STD PORT BRONZE BALL 11.82
76005 3/4 BLACK MALL IRON 90 DEG ELBOW 2.20
76083 1/2 BALL HOSE BIBB 8.98
76582 3/4 SWT SWING CHECK VALVE 11.33
76652 1IN SWT BALL VALVE 18.57
76653 3/8 COMP X 1/2 SWT ANG BALL STOP 10.92
76655 3/8 0.D. COMP ANGLE VALVE 15.76
76656 3/8 0.D. COMP STRAIGHT VALVE 13.78
76690 1/2 FIP X 3/8 COMP ANG BALL STOP 11.58
76701 1/2 SWT GLOBE STOP VALVE 6.86
76702 3/4 SWT GLOBE STOP VALVE 7.48
76703 1/2 SWT GLOBE STOP VALVE W/ 8.00
76704 3/4 SWT GLOBE STOP VALVE W/ 8.61
76705 1/2 BRONZE STOP VALVE 7.78
76706 3/4 BRONZE STOP VALVE 8.71
76718 12 IN ANTI-FREEZE WALL HYDRANT 46.46
76724 1/2 BRONZE STOP & WASTE VALVE 10.05
76725 3/4 BRONZE STOP & WASTE VALVE 13.83
76726 3/4 BALL VALVE W/HOSE CAP 45.40
76729 3/8 COMP X 3/8 IPS ANG BALL STOP 11.62
76731 3/4 IPS BALL VALVE 10.55
76734 3/4 SWT BALL VALVE 11.66
76740 1/2 BRONZE ANGLE STOP VALVE 8.81
76751 1/2 In TELESCOPIC EXPANSION UNION 30.37
76752 3/4 In TELESCOPIC EXPANSION UNION 35.97
76801 3/4 BALL HOSE BIBB 11.43
76885 VALVE 1/4 X 1/4 168.85
76887 1/2FIP X 1/2DUAL INTERGRAL STOP 17.34
77104 S* TEMPTROL PRESSURE-BALANCING 133.49
77410 HYDROGUARD 410 PRESSURE 316.40

STS # 800130

Page 58



Best Plumbing Specialties - Pricelist 2/13/2013

77681 UNIVERSAL VALVE BODY 30.33
77682 VALVE ONLY TRIM W/CLEAR KNOB 52.19
77691 SINGLE HANDLE LAV FAUCET 109.63
77692 4 IN DECK FAUCET W/12 IN SPOUT (CP) 167.82
77693 3-1/2 IN CENTERS WORKBOARD FCT 129.15
77694 8 IN CENTERSET WORKBOARD FAUCET 140.96
77695 PRE-RINSE UNIT 320.10
77696 S* LAV FAUCET W/SELF CLOSING WRIST 339.11
77697 8 IN CONCEALED LAV FAUCET W/LEVER 233.89
77698 SLOW SELF CLOSING SINGLE BASIN 146.48
77699 DOUBLE LEDGE FAUCET (CP) 201.55
77701 8 IN S/L KITCHEN FAUCET W/LOOP 39.14
77702 S/L LAV FAUCET W/KNOB HANDLE & 109.65
77703 KOHLER TRITON KITCHEN FAUCET 245.63
77706 S/L CENTERSET LAV FAUCET W/ 46.13
77710 EMERGENCY EYE/FACE WASH 101.21
77712 2-HANDLE 4 IN CENTERSET LAV FAUCET 40.59
77715 SERVICE SINK FAUCET WALL MTN 158.59
77716 SINGLE HOLE S/L DECK MOUNTED 157.06
77718 2-HANDLE WIDESPREAD LAV FAUCET 105.84
77720 4 IN S/L LAV FAUCET L/POP-UP W/ 89.74
77721 BATTERY OP SENSOR FAUCET 491.23
77722 4 IN CENTER BATTERY SENSOR FAUCET 425.65
77723 S/L KITCHEN PULL-OUT FAUCET (CP) 111.17
77724 HANDHELD SHOWER SET W/ 24 IN 97.31
77725 S* 4 IN LAV FAUCET L/POP-UP & 146.67
77726 8 IN KITCHEN SINK FAUCET 167.23
77727 EASY-PUSH LAV FAUCET L/POP-UP (CP) 239.47
77728 EMERGENCY EYEWASH FOUNTAIN 70.50
77729 DECK MOUNT FAUCET W/GOOSENECK 172.09
77730 T&S DOUBLE PANTRY FAUCET (CP) 176.09
77731 SINGLE PANTRY FCT HOT 104.79
77732 SINGLE PANTRY FCT COLD 104.79
77734 A/S COMMERICAL SERVICE SINK 183.92
77735 DECK MIXING FAUCET W/12 IN SWING 177.78
77736 MEDICAL LAV FAUCET 4 IN CENTERS 193.51
77737 T&S MEDICAL LAV FAUCET 8 IN 211.86
77738 T&S RIGID GOOSENECK SPOUT 31.09
77739 T&S VACUUM BREAKER GOOSENECK 97.33
77740 A/S HERITAGE COMMERCIAL 2-HANDLE 161.51
77741 T&S DECK MIXING FAUCET W/ 176.46
77742 A/S COLONY S/L KITCHEN FAUCET 103.63
77744 BEST LAV FAUCET W/POP-UP 52.29
77745 A/S HERITAGE COMMERCIAL 2-HANDLE 178.32
77746 KITCHEN FAUCET L/SPRAY (CP) 51.02
77747 T&S BACK MNT FCT W/8 IN SPOUT (CP) 178.71
77748 T&S BACK MOUNT FAUCET W/ 172.25

STS # 800130

Page 59



Best Plumbing Specialties - Pricelist 2/13/2013

77749 T&S BACK MOUNT FAUCET W/ 188.93
77756 8 IN BOTTOM PLATE 3.22

77758 4 IN DELEX 2-HANDLE SELF-CLOSE 187.93
77762 8 IN 2-HANDLE DECK MOUNT KITCHEN 80.79
77763 8 IN 2-HANDLE DECK MOUNT KITCHEN 75.75
77766 T&S SINGLE PANTRY FAUCET W/18 IN 114.39
77767 3-HANDLE TUB/SHOWER VALVE 100.35
77768 S/L KITCHEN FAUCET L/SPRAY (CP) 82.59
77772 4 IN CRYSTAL 2-HANDLE DECK MOUNT 53.30
77773 4 IN CRYSTAL 2-HANDLE DECK MOUNT 75.82
77775 A/S HERITAGE COMMERCIAL 2-HANDLE 175.52
77776 A/S COLONY S/L CENTERSET LAV 100.83
77777 SENSOR BATTERY OP LAV FAUCET (CP) 297.91
77778 4 IN LAV FAUCET W/ADA WRIST BLADE 42.62
77779 CLASSIC 2-HANDLE CENTERSET LAV 72.63
77781 S/L CENTERSET LAV FAUCET W/ 36.17
77785 S* S/L DECK FAUCET L/SPRAY 63.39
77787 S/L LAV FAUCET L/POP-UP (CP) 125.11
77788 1/2 SELF CLOSING SHOWER VALVE 39.69
77791 2-HANDLE GOOSENECK BAR FAUCET 55.77
77792 DELTA PLAIN SLOW-CLOSE SINGLE 83.12
77794 CENTRAL BRASS S/C HOT SINGLE 58.96
77795 CENTRAL BRASS S/C COLD SINGLE 58.96
77796 S* BASIN FAUCET L/POP-UP W/HOLE (CP) 16.95
77797 S* BASIN FAUCET W/POP-UP (CP) 25.71
77798 8 IN 2-HANDLE KITCHEN FAUCET W/ 41.46
77800 BUBBLER - 2 STREAM (BRIGHT CP) 79.11
77801 SINGLE STREAM BUBBLER 77.66
77803 AUTOMATIC STREAM REGULATOR 158.93
77805 BUBBLER HEAD 38.74
77826 NU-FIT TRIM KIT PUSH/PULL 32.77
77828 3 IN NUFIT PRESFLO TRIM KIT (CP) 27.44
77831 S* HALSEY TAYLOR SEAT (BRIGHT CP) 14.06
77835 SEALED CARTRIDGE REGULATOR - 27.32
77844 D/F FLANGE 2-1/4 IN OD 7.11

77850 LEVER HANDLE STEM ASSY (BRIGHT CP) 93.24
77851 PUSH BUTTON ASSY 7-1/2 15.51
77852 PUSH BUTTON ASSY 8-13/16 17.06
77853 SEALED CARTRIDGE REGULATOR - 24.65
77854 MODEL 12000A BUBBLER HANDLE ASSY 14.79
77855 MODEL 12000 STEM ASSY 78.59
77858 REGULATOR ASSY W/COPPER SPRING 27.49
77861 TEMPTROL PRESSURE-BALANCING 133.49
77862 TEMPTROL PRESSURE-BALANCING 158.50
77869 GASKET FOR 8WB BUBBLER-BLACK 0.85

77871 PUSH-IN ADAPTER NIPPLE 11.89
77872 EASY FLEX BUBBLER HEAD .4 GPM 20.90

STS # 800130

Page 60



Best Plumbing Specialties - Pricelist 2/13/2013

77884 REPLACEMENT FILTER FOR AP310 37.11
77885 HAWS FOUNTAIN REPAIR KIT 52.56
77886 COARSE DIRT/RUST HOT/COLD 39.96
77887 COARSE DIRT/RUST CARTRIDGE 41.60
77889 DIRT/RUST TASTE/ODOR CARTRIDGE 23.88
77890 STANDARD DIRT/RUST FILTER 12.45
77891 TASTE/ODOR FILTER 36.49
77894 ICE MAKER CARTRIDGE 31.87
77898 IN-LINE ICE MAKER WATER FILTER 25.64
77902 BILTMORE SHOWER VALVE S/S 187.41
77910 BILTMORE SHOWER VALVE (CP) 136.30
77961 TEMPTROL PRESSURE-BALANCING 179.57
77962 TEMPTROL PRESSURE-BALANCING 165.48
77963 TEMPTROL PRESSURE-BALANCING 230.96
78752 SINGLE HANDLE TUB & SHOWER TRIM 28.14
78753 SINGLE HANDLE VALVE TRIM SET 24.54
78754 SINGLE HANDLE TUB/SHOWER VALVE 53.51
78762 GERBER E-Z CLEAN POP-UP (CP) 41.22
78764 SINGLE HOLE S/L LAV METERING 138.46
78765 SELF CLOSING LAV FCT L/POP-UP (CP) 257.28
78766 BACKMOUNT SERVICE SINK FAUCET 223.26
78768 BACKMOUNT FAUCET W/6 IN SWIVEL 206.91
78769 MPU DELTA P/U ASSY (CP) 49.09
78770 PR/PF 8 IN 2-HANDLE DECK KITCHEN 40.99
78771 4 IN LAV FAUCET L/POP-UP & HOLE (CP) 125.75
78772 4 IN LAV METERING FAUCET (CP) 220.36
78773 PR/PF 4 IN CENTERSET LAV FAUCET 46.49
78793 2-HANDLE 8 IN KITCHEN DECK FAUCET 56.14
78812 REPAIR KIT #11 COURSE THREAD 28.53
78816 REPAIR KIT #12 FINE THREAD 36.68
78860 SCOT METERING LAV FAUCET W/ADA 204.07
79001 3/8 ANTI-SIPHON VAC BREAKER (CP) 58.61
79002 1/4 7O 3/8 VAC BREAKER REPAIR KIT 13.89
79003 1/2 ANTI-SIPHON VAC BREAKER (RB) 36.77
79005 1/2 VAC BREAKER REPAIR KIT 24.89
79008 3/4TO 1IN VAC BREAKER REPAIR KIT 24.89
79010 3/4 IN VACUUM BREAKER BACKFLOW 16.55
79011 3/4 VACUUM BREAKER BACKFLOW 6.88

79012 3/8 M X F LAB FAUCET VAC BREAKER 76.15
79014 POLY FLOAT CUP W/ GASKET 10.43
79017 WATERSAVER V/B GASKET 1.86

79021 SCALD SAFE 48.74
79052 CONTROL VALVE FOR ARM 14.02
79056 1/2 DIE CAST SPOUT - SLIP FIT 13.45
79058 1/2 VALLEY SPOUT W/DIV - THREADS 10.26
79077 PLUG - DRAIN 1-1/2 (BRIGHT CP) 22.95
79078 1-1/2 X 6-1/2 GALV NIPPLE 12.90

STS # 800130

Page 61



Best Plumbing Specialties - Pricelist 2/13/2013

79080 3/4 CTS X 12 IN SWEAT FULL-SLIP 8.76

79081 3/4 CTS X 12 IN COMPRESSION 23.54
79082 1/2 REPLACEMENT COUPLER 29.30
79083 MIXING VALVE CARTRIDGE ASSY 71.39
79223 1/2 SWEAT RETRO TUB/SHOWER 15.34
79224 1/2 MIP RETRO TUB/SHOWER 16.83
79508 STRAINER SCREW 1-5/8 IN 0.91

79510 SHOE PLUG FOR GERBER 3/8 TAPPED 9.38

79530 GERBER TRIP LEVER W&O COMP (CP) 83.37
79537 EZY TOUCH TUB STOPPER 5.67

79546 S* BATH DRAIN PLUG (CP) 13.82
79559 ELJER LINKAGE UNIT 11.05
79568 LINKAGE PART 11.00
79569 S* SPRING CLIP 3.61

79570 OVERFLOW PLATE (CP) 38.00
79571 STOPPER ASSY 29.56
79572 LIFT ROD 9.83

79573 KOHLER LEVER ARM 5.59

79574 OVERFLOW PLATE ASSY 14.68
79580 S* W & O LINKAGE ASSY 13.14
79581 TUB DRAIN PLUG W/STRAINER (CP) 16.58
79589 FACE PLATE & LINKAGE 24.65
79591 SPRING LINKAGE 20.15
79593 FACE PLATE ONLY 16.11
79605 HEX ESCUTCHEON UNIT 8.03

79606 ADJUSTABLE ESCUTCHEON UNIT 11.18
79608 FIT-ALL LEXAN NIPPLE 2.37

79807 ST FEMALE COP DESANCO FTG 23.40
79810 ST MALE COP DESANCO FTG 18.23
79910 EASY FIT DRAIN STOPPER 9.73

79916 FLIP-IT JR. FIT-ALL LAV STOPPER (CP) 9.20

79917 115V SOLENOID VALVE 53.67
79918 115V SOLENOID VALVE 57.42
79919 WASTE GASKET 8.33

79921 SWITCH 18.12
79961 S* TEMPTROL PRESSURE-BALANCING 157.45
79962 S* TEMPTROL PRESSURE-BALANCING 188.40
79967 8 IN'S/L KITCHEN FAUCET W/BLACK 54.43
79968 8 IN 2-HANDLE KITCHEN FAUCET W/ 47.97
79987 FIT-ALL DRAIN W/CROSS HAIR & 29.50
80000 STRAINER REPLACEMENT KIT 55.88
80001 SPRING BODY 47.65
80003 STRAINER 150.16
80004 ADA P-TRAP & SUPPLY COVER (WHITE) 60.51
80068 3 IN BRASS LOCK BAR 12.36
80069 3-1/2 IN BRASS LOCK BAR 12.36
80110 1-1/2 IN 17ga P-TRAP L/CLEANOUT (CP) 20.22

STS # 800130

Page 62



Best Plumbing Specialties - Pricelist 2/13/2013

80126 1-1/4 IN 17ga P-TRAP W/CLEANOUT (CP) 22.14
80129 1-1/2 IN 17ga P-TRAP W/CLEANOUT (CP) 21.96
80134 1-1/2 IN 20ga J-BEND W/CLEANOUT (CP) 15.02
80135 1-1/2 IN 17ga J-BEND W/CLEANOUT (CP) 15.49
80139 1-1/2 IN 20ga SWIVEL SINK TRAP J-BEND 16.69
81102 S/S FLOOR DRAIN 3-1/4 TO 6-3/4 24.76
81103 S/S FLOOR DRAIN 5-1/4 TO 8-3/4 39.14
81104 1/2 FIP X 1/2 FIP 1E STRAIGHT TRAP 69.22
81105 STRAINER (BRIGHT CP) 6.18

81108 BASIN STRAINER 9.82

81109 NYLON FLOOR DRAIN COVER 4.06

81112 SERVICE KIT FOR 17C 1/2 & 3/4 TRAP 46.47
81113 TWIST HANDLE 27.09
81122 2X5X7IN 22ga TANK ELBOW (CP) 29.49
81123 2X6X8IN 22ga TANK ELBOW (CP) 26.85
81124 1-1/2 PVC-DWV P-TRAP W/CLEANOUT 6.74

81150 EXTEND-O-DRAIN 3-3/8 KIT 10.93
81151 EXTEND-O-DRAIN 2-3/8 KIT 10.93
81152 EXTEND-O-DRAIN 4-3/8 KIT 14.61
81175 3/8 IN 17ga CENTER HOLE DRAIN ASSY 25.53
82122 1-1/2 X 12 IN 17ga S/J WASTE ARM (RB) 14.83
82143 1-1/2 X 12 IN 22ga SINK TAILPIECE 10.16
82144 $*1-1/2 X 12 IN 20ga DOUBLE FLANGED 12.85
82146 1-1/2 X 16 IN 20ga DOUBLE FLANGED 16.15
82148 1-1/2 OR 2 IN NPS X 3-1/2 SINK OPENING 107.22
82171 1-1/2 X 8 IN 22ga S/J EXT. TUBE (RB) 14.26
82176 1-1/2 X 12 IN 17ga S/J EXT. TUBE (CP) 13.89
82205 ABS PUSH PULL LAV DRAIN (CP) 16.62
82206 1-1/4 X 8 IN 20ga T.O.E. TUBE (CP) 6.70

82208 PUSH PULL POP-UP DRAIN (CP) 41.59
82219 $*1-1/2 X 12 IN 22ga WALL BEND (RB) 11.07
82227 1-1/2 IN 17ga REVERSIBLE SINK TRAP 15.49
82240 1-1/2 X 12 IN PVC S/J EXT. TUBE (WHITE) 2.15

82250 1-1/2 X 24 IN 17ga S/J WASTE ARM (CP) 27.37
82270 3-1/2 FLANGE ASSY 44.01
82272 3-1/2 FLAT STRAINER 7.26

82278 3-1/2 FLANGE WASHER 3.01

82291 3 & 3-1/2 TWIST & LEVER KIT 12.22
82292 1-1/2 NPS X 3 IN SINK OPENING LEVER 70.27
82300 1-1/2 NPS X 3 IN SINK OPENING LEVER 127.53
82302 1-1/2 NPS X 3-1/2 SINK OPENING LEVER 134.61
83110 1-1/4 IN 22ga DOUBLE S/J COUPLING (CP) 5.26

83121 2 X 8 IN 17ga FLANGED SINK TAILPIECE 15.56
83132 BASIN LAVATORY LEGS (PAIR) 28.38
84000 1-1/2 FERNCO RUBBER DRAIN 4.53

84001 2 IN FERNCO RUBBER DRAIN TRAP 5.98

84002 1-1/4 IN FLEXIBLE LAV POP-UP ASSY 7.98

STS # 800130

Page 63



Best Plumbing Specialties - Pricelist 2/13/2013

84004 3/4 CONDENSATE EZ-TRAP KIT 11.73
84005 3/4 CONDENSATE PIPE CONNECTOR 8.53
84006 1IN CONDENSATE PIPE CONNECTOR 8.53
84009 1-1/2 OR 1-1/4 TUBULAR DRAIN PIPE 3.40
84031 1-1/2 DWV D.C. ELBOW ONLY (CP) 15.89
84100 1-1/2 FLEXI-DRAIN FLANGED 3.59
84150 1-1/2 S/J EXT FLEXI-DRAIN 3.99
84175 DOUBLE END S/J FLEXI-DRAIN 3.81
84200 1-1/4 FLEXI-DRAIN S/J 3.28
84207 1-1/2 PVC ALL-BEND ELBOW 7.40
84210 1-1/2 OR 1-1/2 X 1-1/4 PVC J-BEND 2.31
84211 PVC SINK J BEND 3.98
84214 1-1/2 X 21 IN PVC END OUTLET 4.36
84215 1-1/2 PVC-DWV P-TRAP W/UNION 13.02
84247 FLEXI REPAIR TRAP 14.94
84501 P-TRAP & SUPPLY COVER KIT (WHITE) 45.69
84512 S* QUICK TRAP CLEAR PLASTIC 23.36
85211 1-1/2 X 8 PVC D/W S/J T/P (WHITE) 3.43
85222 1-1/2 PVC DOUBLE OFFSET 9.12
85224 1-1/2 IN PVC SLIP 90 DEG ELBOW 1.29
85241 CORR J BEND REGULAR 4.75
85242 CORR J BEND W/TP ADAPTER 4.64
85569 PRESFLO LAVATORY DRAIN (CP) 36.79
86015 1-1/2 SCH 40 PVC CAP 0.78
86019 2 IN PVC-DWV CAP 3.26
86231 1-1/2 X 8 PVC D/W BRANCH T/P (WHITE) 3.76
86234 1-1/2 X 12 IN PVC SOLVENT EXT. TUBE 1.33
86236 1-1/2 X 1-1/4 PVC-DWV MALE TRAP 1.53
86243 1-1/2 SPLIT NUT (PLASTIC) 2.18
86244 1-1/4 SPLIT NUT (PLASTIC) 2.18
86252 1-1/2 SCH 40 PVC MALE ADAPTER 0.84
86253 1-1/2 SCH 40 PVC FEMALE ADAPTER 0.84
86521 ADA P-TRAP COVER (WHITE) 20.68
87019 2 INCH TAILPIECE WASHER (LEAT 211
87024 SOFT PLIABLE T/P WASHER 0.58
87498 1-1/4 VINYL S/J WASHER 0.42
87500 1-1/4 POLY S/J WASHER 0.12
87501 1-1/2 POLY S/J WASHER 0.12
87502 2 IN POLY S/J WASHER 0.71
87503 1-1/2 X 1-1/4 POLY RED. WASHER 0.12
87504 1-1/2 POLY TAILPIECE WASHER 0.15
87510 1-1/2 X 1-1/4 RUBBER WASHER 0.68
87511 FIT-ALL RUBBER WASHER 0.62
87513 1-1/2 DIECAST TRAP CAP (CP) 2.34
87527 4 IN DIE CAST DUO LOCKNUT 2.78
87534 2 IN BRASS FRICTION RING 0.92
88112 BRASS SINK STRAINER (CP) 15.98

STS # 800130

Page 64



Best Plumbing Specialties - Pricelist 2/13/2013

88300 EZ-ON S/S STRAINER 9.92
88500 4-1/2 IN BRASS STRAINER (CP) 7.90
88750 S* TAPERED OVERFLOW TUBE (CP) 9.90
88801 1 NPS X 3-1/4 LENGTH DRAIN PLUG ASSY 26.38
88900 COMMERCIAL WASTE LINE REDUCER 30.43
89001 3-1/4 IN OD HEAVY STRAINER 2.54
89011 2-3/4 SHOULDER STRAINER 2.01
89021 1-1/2 FLAT STRAINER 1.55
89022 1-5/8 FLAT STRAINER 1.55
89025 2 IN OD FLAT STRAINER 0.77
89032 3-1/4 S/S SNAP-IN STRAINER 8.67
89033 4-1/4 S/S SNAP-IN STRAINER 7.41
89040 1-5/8 OD KOHLER STRAINER 5.58
89080 3 DRAIN PROTECTOR 2.29
89092 5 IN CAST IRON STRAINER-ROUND 21.80
89093 6 IN CAST IRON STRAINER-ROUND 34.18
89094 8 IN CAST IRON STRAINER-ROUND 55.43
89400 FIT-ALL S/S BASKET 8.02
89403 3 IN COVER FOR 1-1/2 IN PIPE 6.42
89405 3 IN COVER FOR 2 IN PIPE 7.23
89410 4 IN COVER FOR 3 IN PIPE 7.23
89415 5IN COVER FOR 4 IN PIPE 6.48
89500 URINAL BEEHIVE STRAINER 26.12
89700 PLUNGER 20.05
89705 FLANGE WASHER 4-1/2 ODx3 ID 3.51
89706 LEVER HANDLE 23.88
89707 PACKING NUT 18.50
89708 BODY BUSHING 3.49
89709 BODY NUT BUSHING 2.67
89806 HANDLE ASSY - LEVER 25.75
89808 PACKING NUT 19.14
89809 BODY BUSHING 3.40
89810 BODY NUT BUSHING 3.40
90104 HEATING ORIFICE - .040 (NO. 4) 0.98
90105 S* HEATING ORIFICE - .070 (NO. 5) 0.98
90111 STEAM VENT 1/8M ANGLE 17.08
90112 1/4 STRAIGHT STEAM AIR VALVE (43) 11.55
90113 1/8 STRAIGHT STEAM AIR VALVE (41) 10.29
90114 1/8 ANGLE STEAM AIR VALVE 9.02
90116 PUSH BUTTON MANUAL VENT 3.68
90117 SHORTSTOP AUTO SHUT-OFF 5.99
90119 MAID-O-MIST AUTO-VENT (7) 17.21
90129 1/2 IN 1R ANGLE TRAP 97.08
90131 STEAM VENT 1/8M STRAIGHT 29.06
90132 B & G COUPLER 1/2X 1/2 49.82
90133 STEAM VENT 1/4 STRAIGHT 27.79
90134 1/2 IN 1E ANGLE STEAM TRAP 69.54

STS # 800130

Page 65



Best Plumbing Specialties - Pricelist 2/13/2013

90135 STEAM VALVE 3/4 X 1/2 (4A) 31.86
90138 HOFFMAN VENT #41 24.52
90139 THERMOSTAT GROUP 157.83
90142 SEAL KIT 49.86
90143 HOFFMAN VENT #79 88.03
90144 LEONARD THERMOSTATIC CONTROL 246.61
90145 24V MOTOR ONLY FOR ZONE VALVE 29.05
90146 BEARING ASSY 376.35
90147 SIGHT WINDOW & O-RING FOR 2.20
90148 NOKORODE SOLDER PASTE 8.13
90149 NOKORODE SOLDER PASTE 3.45
90151 NO. 5 PIPE THREAD SEALANT 1/2 PINT 12.85
90153 TIP-TRAP 2.51
90156 S* HEATING ORIFICE - .1285 (C) 0.98
90188 S* HEATING ORIFICE - .1850 (D) 0.98
90322 AIR FILTER 1/2 X 14 X 25 4.66
91100 3/4 X 1/2 MAIN AIR VENT - HW 67.45
91102 S* AIR VENT BUILT-IN TWIST BODY 26.21
91117 LOOSE KEY AIR VALVE 2.43
91118 KEY/COIN COMBO RADIATOR AIR VALVE 1.60
91119 VENT KEY FOR BEST #91117 0.59
91125 HOT WATER VENT (67) 7.86
91126 MAID-O-MIST AUTO-VENT (37) 21.48
92012 1/8 ANGLE STEAM AIR VALVE (70A) 9.02
92026 1/2 X 3/4 STRAIGHT STEAM VENT (45) 18.40
92032 1/4 STRAIGHT STEAM AIR VALVE (71B) 12.20
92041 1/8 STRAIGHT STEAM AIR VALVE 10.88
92047 HOT WATER VENT (75) 28.03
92049 1/8 ANGLE VARIVALVE 24.66
92050 1/8 STRAIGHT VARIVALVE 23.33
92052 1/8 RADIATOR STEAM VENT #40 15.55
92054 1/4 STEAM VENT #43 24.59
92065 HOT WATER VENT (790) 9.11
92085 HOT WATER VENT (791) 11.53
93226 1/8 NPT AUTO FLOAT TYPE VENT 7.52
95046 S* HEATING ORIFICE - .0935 (NO. 6) 0.98
95602 POWER HEAD FOR ZONE VALVE 98.09
95650 NO SLIME STRIP 4.17
95653 NO SLIME STRIP JUMBO 8.59
95656 3/8 FLARE HEAT PUMP DRYER BI-FLOW 38.69
95658 3/8 FLARE SUCTION LINE FILTER DRIER 52.52
95659 3/8 SIGHT GLASS MOISTURE INDICATOR 14.75
95660 BULLET VALVE 1/4 5/16 3/8 OD 7.07
95669 CO2 CARTRIDGES (12/PK) 30.50
95913 RAD VALVE PACKING 2.32
95940 3/32 IN X 25 FT ZIP JOINT PKG 24.15
95941 3/32 IN X 50 FT ZIP JOINT PKG 39.19

STS # 800130

Page 66



Best Plumbing Specialties - Pricelist 2/13/2013

95942 5/32 IN X 25 FT ZIP JOINT PKG 42.97
95945 1/4 LB SELF FORM PACKING 10.93
95946 1/8 GRAPHITE TWIST PKG 1/4 LB 13.87
96001 5/8 X 10 GAUGE GLASS 1.68
96002 5/8 X 12 GAUGE GLASS 1.66
96007 1/2 WATER GAUGE SET (GLASS) 32.31
96008 EZ FIX BOILER PLUG CRD 2.61
96015 ADJUSTABLE SOLAR-POWERED 64.69
96018 30-240F STRAIGHT FORM THERMOM 33.30
96019 30-240F ANGLE FORM THERMOMETER 35.59
96020 COMB TRIDICATOR GAUGE (50 PSI) 49.97
96061 HEAT & A/C THERMOSTAT 29.89
96070 SOLDER FLUX 4 OZ FLIPTOP 9.00
96072 SOLDER FLUX 16 OZ 13.74
96197 3/4 IN SIDE MOUNT ANGLE 37.15
96198 RAV TO RA 2000 ADAPTER 44.77
96199 RA TO RA 2000 ADAPTER 43.20
96200 OPERATOR - TOP ASSY 53.18
96201 RAVB REPLACEMENT KIT 88.63
96203 ANTI-SEIZE LUBRICANT 8 OZ 18.41
96204 S* 1/2 IN SHAFT 69.98
96299 ENDRUST - RUST STAIN REMOVER 20 OZ 18.50
96315 COIL AWAY QUART 12.13
96316 WD-40 HANDY CAN 3 OZ 4.66
96320 P B BLASTER LUBRICANT (7 OZ) 5.69
96321 P B BLASTER LUBRICANT (12 0Z) 9.47
96343 4-1/2 IN FACE INDUSTRIAL GAUGE 88.84
96344 4-1/2 IN FACE CAST ALUMINUM CASE 34.45
96653 FUTURE GLUE PEN 3.83
96657 SUPER GLUE ULTRA THICK GEL 4.29
96726 1/2 TEFLON VALVE DISC 1.74
96727 S* 3/4 TEFLON VALVE DISC 1.77
96728 1 TEFLON VALVE DISC 2.43
96731 S* 1-1/2 TEFLON VALVE DISC 5.23
96733 S* 2 TEFLON VALVE DISC 9.03
96735 RADIATOR DISC 1E 18.79
96736 S* 2E STEAM TRAP ELEMENT FOR 36.64
96737 S* D&B 1/2 IN UNION NIPPLE 11.47
96738 1E CAP & DISC 55.43
96739 S*1/2 IN UNION NUT 15.46
96741 D&B BOX STEEL WRENCH 60.29
96743 D&B RADIATOR VALVE REPAIR KIT (6) 42.24
96744 D&B RADIATOR VALVE HANDLE 12.32
97771 STAINLESS STEEL CLEANER 17 OZ 8.96
97820 1/2 IN BLUE MONSTER THREAD 5.35
97821 3/4 IN BLUE MONSTER THREAD 7.29
97822 1IN BLUE MONSTER THREAD 9.37

STS # 800130

Page 67



Best Plumbing Specialties - Pricelist 2/13/2013

97852 1/4 X 520 IN TEFLON TAPE 2.84
97853 THREAD SEALANT W/TEFLON 16 OZ 18.77
97859 HEAT PROOF GREASE 1 FL OZ 2.53
97865 PLUMBERS PASTE 1.08
97870 3/4 IN X 60 FT 3M ELECTRIC TAPE 1.96
97871 QUIK STIK (YELLOW) 3.83
97872 S* QUIK STIK (WHITE) 3.98
97873 QUIK STIK - RED 7.26
97874 QUIK STIK - BLACK 7.26
97900 FLAT SPRAY PAINT 12 OZ (BLACK) 7.88
97902 WD-40 W/SMART STRAW 8 0Z 6.23
97903 SILICONE SPRAY LUBE 10.25 OZ 11.00
97905 3/4 1D X 1/2 THICK X 6 FT SELF SEAL 5.00
97906 1-1/8 ID X 1/2 THICK X 6 FT SELF SEAL 5.42
97907 1-3/8 ID X 1/2 THICK X 6 FT SELF SELF 6.07
97908 2 IN X 50 YDS ALUM PIPE TAPE 11.43
97910 INSULATION FOAM TAPE 2 X 1/8 X 30 20.99
97915 FORM-A-GASKET FAST DRYING 14.38
97916 FORM-A-GASKET NON-HARDENING 12.00
97917 HIGH-TEMP RTV RED SILICONE FORM 18.37
97918 SILICONE BLUE FORMULA GASKET 20.81
97920 COVERSUP STAIN SEALING CEILING 9.75
97929 WD-40 NO-MESS PEN 5.26
98408 PAN-SPRAY INSTANT PATCH LEAK 22.06
98550 S* AUTOCLEAN LED DISPENSER KIT 94.73
98551 SOLDERIT 7.41
98553 S*AUTOCLEAN LED DISPENSER KIT 94.73
98554 ONESHOT AUTOMATIC SOAP DISPENSER 118.22
98555 LOTION HAND SOAP W/MOISTURIZERS 47.31
98558 AUTOCLEAN LED DISPENSER KIT 94.73
98560 MICROBURST 3000 LCD AEROSOL 110.20
98566 MINI-SHELF ADAPTOR FOR CANISTER 3.63
98599 SUPER GLUE 3.33
98600 PC-7 EPOXY PASTE 2 FL OZ 5.62
98601 BLUE DIP CAN PLASTI-DIP 14.5 OZ 18.93
98602 RED DIP CAN PLASTI-DIP 14.5 OZ 18.93
98607 QUICKTAPE 249 THREADLOCKER TAPE 18.99
98610 PC-SUPER EPOXY 1 OZ 5.79
98611 PC PLUMBING EPOXY PUTTY 2 OZ 6.16
98612 PC-11 MARINE WHITE EPOXY PASTE 4.73
98619 PC-CONCRETE EPOXY 250 ml 27.68
98621 CONDENSATE PAN PILLS 29.49
98625 50RAs TOILET SEAT COVERS 6.76
98630 1 LB ANCHORING/PATCHING 2.73
98641 HEAVY DUTY CONTRACTOR TRASH 13.06
98649 DRY DRAIN-A-MATIC 26 OZ 17.16
98650 LIQUID LIME AWAY, QUART 146.97

STS # 800130

Page 68



Best Plumbing Specialties - Pricelist 2/13/2013

98652 BEST SLUDGE AWAY QUART 34.00
98654 BOILER CLEANER 9 OZ 15.82
98665 WATER STOPPING CEMENT 10 LB 13.94
98700 T/S PLASTIC DISPENSER 15.19
98874 CYCLONE FIN & COIL CLEANER 20 Oz 12.74
99511 ODOR-KILL SOLID 4 Oz 7.57
99559 PURINEL DRAIN MAINTENANCE & 12.65
99612 B-404 TOMS SECRET FORMULA LUBE 6.73
99663 BLUE SEAL PIPE JOINT SEALANT 12.44
99664 GRAFFITI & PAINT REMOVER 24.47
99700 BEST PLUMBERS PUTTY 14 OZ 2.94
99701 BEST PUTTY 5 LBS 10.94
99702 PRO DOPE 1/2 PINT 6.03
99703 BLACK PIPE JOINT COMPOUND 11.37
99704 TUBE BEST DOPE 2 OZ 1.89
99705 SINGLE STRAND WICKING 1.67
99707 MED. CANDLEWICKING 2.23
99708 SELF CLEAN PASTE FLUX 4 OZ 8.31
99709 SELF CLEAN PASTE FLUX 1/2 LB 9.88
99710 SELF CLEAN PASTE FLUX 1 LB 14.58
99712 PVC LO-V.O.C. SOLVENT CEMENT 8 OZ 6.98
99715 LO-V.0O.C. PURPLE PRIMER 8 OZ 7.05
99717 LEAK DETECTOR 4 OZ 6.60
99719 PRIMER/CLEANER/CEMENT SPRAY 8.29
99720 BEST TFE-SEAL TEFLON 8 OZ 18.97
99721 GASKET CEMENT GRIP 8 OZ 12.25
99847 X-TREME TAPE - 10 FT 8.03
99854 WHITE PORCELAIN REPAIR KIT 35.94
99875 FIRST AID KIT 26.75
99885 CAULK REMOVER 5.5 07 8.28
99910 DARK CUTTING OIL QUART 16.22
99984 S* SPRAY NOZZLE 2.92
99993 SUPER LUBRICANT OIL 4 FL OZ 3.72
99999 LIQUID ELECTRICAL TAPE 4 OZ 10.31
303000 CU ELJER COLD STEM COMPLETE 5.11
303010 CU UNION BRASS COLD STEM 4.91
303030 CU SAYCO COLD STEM COMPLETE 3.71
303040 CU PR/PF COLD STEM COMPLETE 5.10
303060 CU REPCAL COLD STEM COMPLETE 4.79
303080 CU RYL BRS COLD STEM CMP 9.31
303110 CU SAVOY COLD STEM COMPLETE 5.08
303160 CU GERBER COLD STEM COMPLETE 8.84
303170 CU STERLG COLD STEM COMP 7.41
303213 HOT STEM ONLY (CP) 6.77
303216 CP COLD STEM ONLY 6.77
303280 S* PR/PF COLD STEM 5.57
313180 CU KOHLER COLD STEM COMP 6.33

STS # 800130

Page 69



Best Plumbing Specialties - Pricelist 2/13/2013

313193 HS TR/SCH HOT STEM ONLY 6.05
313196 CS TR/SCH COLD STEM ONLY 6.05
313210 AM STD CU COLD O-RING STEM 5.26
313220 CU KOHLER GLX COLD STEM 9.24
313296 CS AM STD COLD STEM ONLY 7.93
313400 SHORT COLD-0O/S CHICAGO STEM 16.83
313410 LONG COLD-0/S CHICAGO STEM 17.43
323453 HS AM STD HOT COLONY STEM 5.41
323463 HS ELJER HOT STEM ONLY 5.06
323466 CS ELJER COLD STEM ONLY 5.06
323500 COLD ELJER STEM UNIT 12.85
323533 HS A/S HOT STEM ONLY 8.59
323536 CS AM/STD COLD STEM ONLY 8.59
333653 T&S HOT STEM RH 12.64
333656 T&S COLD STEM LH 12.64
334670 CU KOHLER COLD STEM 7.96
334683 HS CRANE HOT STEM ONLY 4.94
334686 CS CRANE COLD STEM ONLY 4.94
335733 HS CHASE RH HOT STEM ONLY 13.97
335800 CU CHICAGO *LF COLD RH QUATURN 15.02
335803 $* HS CHICAGO RH QUATURN STEM 13.30
335830 CU SAVOY COLD STEM COMP 13.50
336863 HS AM STD HOT STEM ONLY 8.59
336920 CU CHICAGO *LF COLD QUATURN 21.44
336946 CS AM STD COLD STEM ONLY 10.19
341243 S* HS KOHLER HOT STEM ONLY 48.20
351303 S* HS STERLING DIVERTER STEM ONLY 9.21
351383 HS SPKMAN HOT STEM ONLY 16.82
361673 S* HS PR/PF HOT OR COLD STEM ONLY 9.09
361743 HS KOHLER H/S STEM 23.91
361753 HS DIV STEM ONLY A/S 22.24
366173 P/P STEM ONLY (36617) BATH 9.17
366733 S* P/P STEM ONLY DIV. (36673) 9.04
366950 COLD OEM STEM W/SCREWS & 32.08
366980 COLD OEM CARTRIDGE STEM COMP 29.44
371890 CU COLD SPEAKMAN STEM 5.08
371920 S* CU SEARS U/R COLD STEM 10.68
371930 CU AM STD COLONY COLD STEM 9.45
372010 CU AM STD COLD STEM COMP 8.34
372040 CRANE COLD STEM COMPLETE 7.48
372043 CS CRANE COLD STEM ONLY 5.34
372046 HS CRANE HOT STEM ONLY 5.34
372363 WOLVERINE HOT STEM 12.79
372366 WOLVERINE COLD STEM 12.79
372370 COLD WATERSAVER STEM UNIT 36.70
372373 HS WATERSAVER STEM RH 11.35
372376 CS WATERSAVER STEM LH 11.35

STS # 800130

Page 70



Best Plumbing Specialties - Pricelist 2/13/2013

372470 CU COLD MILWAUKEE STEM 14.31
372580 COLD STEM W/BRASS PLUNGER 8.46
375426 T&S COLD SPINDLE 15.12
375443 HOT T & S STEM S/A 31.64
375446 COLD T & SSTEM S/A 31.64
700003 1IN COPPER 90 DEG ELBOW 2.06
700020 1/8 COPPER COUPLING W/STOP 0.50
700023 1IN COPPER COUPLING W/STOP 111
700032 1IN COPPER TEE 4.62
700042 1IN COPPER 45 DEG ELBOW 291
700050 1/4 CAST COPPER UNION 12.84
700062 1IN COPPER CAP 1.13
700070 1 IN COPPER COUPLING W/O STOP 1.81
700082 1 IN COPPER 90 DEG STREET ELBOW 3.48
700112 1IN COPPER FEMALE ADAPTER 3.91
700122 3/4X3/4X3/4CASTCOPTEECXFXC 11.95
700130 1/8 BLACK MALL IRON COUPLING 3.78
700131 1/4 BLACK MALL IRON COUPLING 3.27
700132 3/8 BLACK MALL IRON COUPLING 3.27
700133 1 IN BLACK MALL IRON COUPLING 4.42
700134 1-1/4 BLACK MALL IRON COUPLING 5.72
700135 1-1/2 BLACK MALL IRON COUPLING 7.73
700136 2 IN BLACK MALL IRON COUPLING 11.46
700140 1/4 X 1/8 BLACK MALL IRON RED 3.44
700141 3/8 X 1/4 BLACK MALL IRON RED 3.44
700142 1/2 X 1/4 BLACK MALL IRON RED 3.13
700143 1/2 X 3/8 BLACK MALL IRON RED 2.96
700144 3/4 X 1/2 BLACK MALL IRON RED 3.31
700145 1 X 1/2 BLACK MALL IRON RED 5.27
700146 1 X 3/4 BLACK MALL IRON RED 5.15
700147 1-1/4 X 1 BLACK MALL IRON RED 6.63
700148 1-1/2 X 1-1/4 BLACK MALL IRON RED 8.38
700149 2 X 1-1/2 BLACK MALL IRON RED 12.14
700150 1/4 X 1/8 BLACK MALL IRON HEX BUSHING 0.69
700151 3/8 X 1/8 BLACK MALL IRON HEX BUSHING 0.81
700152 3/8 X 1/4 BLACK MALL IRON HEX 0.81
700153 1/2 X 1/4 BLACK MALL IRON HEX 1.26
700154 1/2 X 3/8 BLACK MALL IRON HEX BUSHING 1.26
700155 3/4 X 1/2 BLACK MALL IRON HEX 2.96
700156 1 X 1/2 BLACK MALL IRON HEX BUSHING 3.16
700157 1 X 3/4 BLACK MALL IRON HEX 3.11
700158 1-1/4 X 1 BLACK MALL IRON HEX 4.05
700159 1-1/2 X 1-1/4 BLACK MALL IRON HEX 5.15
700160 2 X 1-1/2 BLACK MALL IRON HEX 6.48
700161 1/8 BLACK MALL IRON 90 DEG ELBOW 2.69
700162 1/4 BLACK MALL IRON 90 DEG ELBOW 2.63
700163 3/8 BLACK MALL IRON 90 DEG ELBOW 2.63

STS # 800130

Page 71



Best Plumbing Specialties - Pricelist 2/13/2013

700164 1IN BLACK MALL IRON 90 DEG ELBOW 3.82
700165 1-1/4 BLACK MALL IRON 90 DEG ELBOW 6.30
700166 1-1/2 BLACK MALL IRON 90 DEG ELBOW 8.29
700167 2 IN BLACK MALL IRON 90 DEG ELBOW 14.29
700170 1/2 BLACK MALL IRON 90 DEG STREET 3.77
700171 3/4 BLACK MALL IRON 90 DEG STREET 3.77
700172 1IN BLACK MALL IRON 90 DEG STREET 5.34
700173 1-1/4 BLACK MALL IRON 90 DEG STREET 8.29
700174 1-1/2 BLACK MALL IRON 90 DEG STREET 11.10
700175 2 IN BLACK MALL IRON 90 DEG STREET 18.03
700180 1/4 BLACK MALL IRON 45 DEG ELBOW 3.96
700181 3/8 BLACK MALL IRON 45 DEG ELBOW 3.96
700182 1IN BLACK MALL IRON 45 DEG ELBOW 4.69
700183 1-1/4 BLACK MALL IRON 45 DEG ELBOW 8.29
700184 1-1/2 BLACK MALL IRON 45 DEG ELBOW 10.25
700185 2 IN BLACK MALL IRON 45 DEG ELBOW 15.51
700186 1/2 BLACK MALL IRON 45 DEG STREET 4.21
700187 3/4 BLACK MALL IRON 45 DEG STREET 6.36
700190 S* 1/8 BLACK MALL IRON TEE 4.05
700191 1/4 BLACK MALL IRON TEE 3.82
700192 3/8 BLACK MALL IRON TEE 3.82
700193 1IN BLACK MALL IRON TEE 5.98
700194 1-1/4 BLACK MALL IRON TEE 9.70
700195 1-1/2 BLACK MALL IRON TEE 12.05
700196 2 IN BLACK MALL IRON TEE 20.55
700200 1/8 GALV COUPLING 5.43
700201 1/4 GALV COUPLING 4.54
700202 3/8 GALV COUPLING 4.70
700203 1IN GALV COUPLING 6.78
700204 1-1/4 GALV COUPLING 9.56
700205 1-1/2 GALV COUPLING 10.88
700206 2 IN GALV COUPLING 15.89
700207 1/4 X 1/8 GALV RED COUPLING 4.66
700208 3/8 X 1/4 GALV RED COUPLING 4.66
700209 1/2 X 1/4 GALV RED COUPLING 4.19
700210 1/2 X 3/8 GALV RED COUPLING 4.35
700211 3/4 X 1/2 GALV RED COUPLING 4.66
700212 1 X 1/2 GALV RED COUPLING 7.76
700213 1 X 3/4 GALV RED COUPLING 7.21
700214 1-1/4 X 1 GALV RED COUPLING 9.84
700215 1-1/2 X 1-1/4 GALV RED COUPLING 12.23
700216 2 X 1-1/2 GALV RED COUPLING 17.66
700220 1/4 X 1/8 GALV HEX BUSHING 0.71
700221 3/8 X 1/8 GALV HEX BUSHING 0.88
700222 3/8 X 1/4 GALV HEX BUSHING 0.88
700223 1/2 X 1/4 GALV HEX BUSHING 1.40
700224 1/2 X 3/8 GALV HEX BUSHING 1.40

STS # 800130

Page 72



Best Plumbing Specialties - Pricelist 2/13/2013

700225 3/4 X 1/2 GALV HEX BUSHING 2.21
700226 1 X 1/2 GALV HEX BUSHING 6.09
700227 1 X 3/4 GALV HEX BUSHING 5.67
700228 1-1/4 X 1 GALV HEX BUSHING 7.64
700229 1-1/2 X 1-1/4 GALV HEX BUSHING 9.21
700230 2 X 1-1/2 GALV HEX BUSHING 10.69
700231 1/8 GALV 90 DEG ELBOW 4.17
700232 1/4 GALV 90 DEG ELBOW 3.81
700233 3/8 GALV 90 DEG ELBOW 3.81
700234 1IN GALV 90 DEG ELBOW 5.58
700235 1-1/4 GALV 90 DEG ELBOW 8.81
700236 1-1/2 GALV 90 DEG ELBOW 11.50
700237 S* 2 IN GALV 90 DEG ELBOW 18.85
700238 1/2 GALV 90 DEG STREET ELBOW 5.39
700239 3/4 GALV 90 DEG STREET ELBOW 5.39
700240 1IN GALV 90 DEG STREET ELBOW 7.21
700241 S* 1-1/4 GALV 90 DEG STREET ELBOW 12.10
700242 S* 1-1/2 GALV 90 DEG STREET ELBOW 15.19
700243 2 IN GALV 90 DEG STREET ELBOW 25.61
700244 1/4 GALV 45 DEG ELBOW 5.20
700245 3/8 GALV 45 DEG ELBOW 5.80
700246 S* 1IN GALV 45 DEG ELBOW 6.30
700247 S* 1-1/4 GALV 45 DEG ELBOW 11.76
700248 1-1/2 GALV 45 DEG ELBOW 13.82
700249 2 IN GALV 45 DEG ELBOW 20.45
700250 1/2 GALV 45 DEG STREET ELBOW 5.92
700251 3/4 GALV 45 DEG STREET ELBOW 9.40
700252 S* 1/8 GALV TEE 5.90
700253 1/4 GALV TEE 4.98
700254 3/8 GALV TEE 4.98
700255 1IN GALV TEE 8.46
700256 S* 1-1/4 GALV TEE 13.43
700257 1-1/2 GALV TEE 16.71
700258 2 IN GALV TEE 27.14
700260 1/8 BLACK MALL IRON PLUG-SOLID 1.94
700261 1/4 BLACK MALL IRON PLUG-SOLID 0.66
700262 3/8 BLACK MALL IRON PLUG-SOLID 0.66
700264 1-1/4 BLACK MALL IRON PLUG-SOLID 1.94
700265 1-1/2 BLACK MALL IRON PLUG-SOLID 3.19
700266 2 IN BLACK MALL IRON PLUG-SOLID 4.10
700267 1/8 BLACK MALL IRON CAP 0.99
700268 1/4 BLACK MALL IRON CAP 1.87
700269 3/8 BLACK MALL IRON CAP 1.47
700270 1 IN BLACK MALL IRON CAP 3.01
700271 1-1/4 BLACK MALL IRON CAP 3.98
700272 1-1/2 BLACK MALL IRON CAP 5.47
700273 2 IN BLACK MALL IRON CAP 7.97

STS # 800130

Page 73



Best Plumbing Specialties - Pricelist 2/13/2013

700274 S* 1/8 BLACK MALL IRON UNION 13.95
700275 1/4 BLACK MALL IRON UNION 12.91
700276 3/8 BLACK MALL IRON UNION 8.90
700277 1 IN BLACK MALL IRON UNION 12.06
700278 1-1/4 BLACK MALL IRON UNION 17.31
700279 1-1/2 BLACK MALL IRON UNION 21.58
700280 2 IN BLACK MALL IRON UNION 25.09
700281 1/8 GALV PLUG-SOLID 1.35
700282 1/4 GALV PLUG-SOLID 1.35
700283 3/8 GALV PLUG-SOLID 0.69
700284 1 GALV PLUG-SOLID 4.03
700285 1-1/4 GALV PLUG-SOLID 4.27
700286 1-1/2 GALV PLUG-SOLID 4.62
700287 2 IN GALV PLUG-SOLID 8.14
700288 1/8 GALV CAP 1.25
700289 1/4 GALV CAP 1.25
700290 3/8 GALV CAP 1.25
700291 1IN GALV CAP 4.66
700292 1-1/4 GALV CAP 6.14
700293 1-1/2 GALV CAP 7.86
700294 2 IN GALV CAP 11.02
700295 S* 1/8 GALV UNION 19.88
700296 1/4 GALV UNION 17.51
700297 3/8 GALV UNION 11.71
700298 1IN GALV UNION 16.08
700299 1-1/4 GALV UNION 23.26
700300 1-1/2 GALV UNION 28.17
700301 2 IN GALV UNION 32.40
700302 1/8 X CLOSE (3/4) GALV NIPPLE 1.62
700303 1/8 X 1-1/2 GALV NIPPLE 2.29
700304 1/8 X 2 GALV NIPPLE 2.29
700305 1/8 X 2-1/2 GALV NIPPLE 3.00
700306 1/8 X 3 GALV NIPPLE 3.00
700307 1/8 X 3-1/2 GALV NIPPLE 3.53
700308 1/8 X 4 GALV NIPPLE 3.53
700309 1/8 X 4-1/2 GALV NIPPLE 5.97
700310 1/8 X 5 GALV NIPPLE 5.97
700311 1/8 X 5-1/2 GALV NIPPLE 6.69
700312 1/8 X 6 GALV NIPPLE 6.69
700313 1/8 X CLOSE (3/4) BLACK NIPPLE 1.31
700314 1/8 X 1-1/2 BLACK NIPPLE 1.59
700315 1/8 X 2 BLACK NIPPLE 1.59
700316 1/8 X 2-1/2 BLACK NIPPLE 1.88
700317 1/8 X 3 BLACK NIPPLE 1.88
700318 1/8 X 3-1/2 BLACK NIPPLE 2.25
700319 1/8 X 4 BLACK NIPPLE 2.25
700320 1/8 X 4-1/2 BLACK NIPPLE 4.25

STS # 800130

Page 74



Best Plumbing Specialties - Pricelist

2/13/2013

700321 1/8 X 5 BLACK NIPPLE 4.25
700322 1/8 X 5-1/2 BLACK NIPPLE 4.69
700323 1/8 X 6 BLACK NIPPLE 4.69
700324 1/4 X CLOSE (7/8) GALV NIPPLE 1.75
700325 1/4 X 1-1/2 GALV NIPPLE 2.07
700326 1/4 X 2 GALV NIPPLE 2.07
700327 1/4 X 2-1/2 GALV NIPPLE 2.69
700328 1/4 X 3 GALV NIPPLE 2.69
700329 1/4 X 3-1/2 GALV NIPPLE 3.22
700330 1/4 X 4 GALV NIPPLE 3.22
700331 1/4 X 4-1/2 GALV NIPPLE 4.38
700332 1/4 X 5 GALV NIPPLE 4.38
700333 1/4 X 5-1/2 GALV NIPPLE 4.91
700334 1/4 X 6 GALV NIPPLE 4.91
700335 1/4 X CLOSE (7/8) BLACK NIPPLE 1.57
700336 1/4 X 1-1/2 BLACK NIPPLE 1.66
700337 1/4 X 2 BLACK NIPPLE 1.66
700338 1/4 X 2-1/2 BLACK NIPPLE 2.16
700339 1/4 X 3 BLACK NIPPLE 2.16
700340 1/4 X 3-1/2 BLACK NIPPLE 2.47
700341 1/4 X 4 BLACK NIPPLE 2.47
700342 1/4 X 4-1/2 BLACK NIPPLE 3.75
700343 1/4 X 5 BLACK NIPPLE 3.75
700344 1/4 X 5-1/2 BLACK NIPPLE 4.43
700345 1/4 X 6 BLACK NIPPLE 4.43
700346 3/8 X CLOSE (1 IN) GALV NIPPLE 1.90
700347 3/8 X 1-1/2 GALV NIPPLE 2.18
700348 3/8 X 2 GALV NIPPLE 2.18
700349 3/8 X 2-1/2 GALV NIPPLE 2.94
700350 3/8 X 3 GALV NIPPLE 2.94
700351 3/8 X 3-1/2 GALV NIPPLE 3.47
700352 3/8 X 4 GALV NIPPLE 3.47
700353 3/8 X 4-1/2 GALV NIPPLE 4.78
700354 3/8 X 5 GALV NIPPLE 4.78
700355 3/8 X 5-1/2 GALV NIPPLE 5.32
700356 3/8 X 6 GALV NIPPLE 5.32
700357 3/8 X CLOSE (1 IN) BLACK NIPPLE 1.59
700358 3/8 X 1-1/2 BLACK NIPPLE 1.81
700359 3/8 X 2 BLACK NIPPLE 1.81
700360 3/8 X 2-1/2 BLACK NIPPLE 2.34
700361 3/8 X 3 BLACK NIPPLE 2.34
700362 3/8 X 3-1/2 BLACK NIPPLE 2.75
700363 3/8 X 4 BLACK NIPPLE 2.75
700364 3/8 X 4-1/2 BLACK NIPPLE 3.94
700365 3/8 X 5 BLACK NIPPLE 3.94
700366 3/8 X 5-1/2 BLACK NIPPLE 4.38
700367 3/8 X 6 BLACK NIPPLE 4.38

STS # 800130

Page 75



Best Plumbing Specialties - Pricelist 2/13/2013

700368 1 X CLOSE (1-1/2) GALV NIPPLE 2.59
700369 1 X2 GALV NIPPLE 3.03
700370 1X 2-1/2 GALV NIPPLE 3.28
700371 1 X3 GALV NIPPLE 3.28
700372 1 X 3-1/2 GALV NIPPLE 3.94
700373 1 X4 GALV NIPPLE 3.94
700374 1 X 4-1/2 GALV NIPPLE 4.84
700375 1 X5 GALV NIPPLE 4.84
700376 1 X 5-1/2 GALV NIPPLE 5.50
700377 1 X 6 GALV NIPPLE 5.50
700378 1 X CLOSE (1-1/2) BLACK NIPPLE 2.25
700379 1 X2 BLACK NIPPLE 2.47
700380 1 X 2-1/2 BLACK NIPPLE 2.59
700381 1 X 3 BLACK NIPPLE 2.59
700382 1 X 3-1/2 BLACK NIPPLE 3.25
700383 1 X4 BLACK NIPPLE 3.25
700384 1 X 4-1/2 BLACK NIPPLE 3.81
700385 1 X5 BLACK NIPPLE 3.81
700386 1 X 5-1/2 BLACK NIPPLE 4.53
700387 1 X 6 BLACK NIPPLE 4.53
700388 1-1/4 X CLOSE (1-5/8) GALV NIPPLE 3.47
700389 1-1/4 X 2 GALV NIPPLE 3.75
700390 1-1/4 X 2-1/2 GALV NIPPLE 4.06
700391 1-1/4 X 3 GALV NIPPLE 4.06
700392 1-1/4 X 3-1/2 GALV NIPPLE 4.84
700393 1-1/4 X 4 GALV NIPPLE 4.84
700394 1-1/4 X 4-1/2 GALV NIPPLE 6.00
700395 1-1/4 X 5 GALV NIPPLE 6.00
700396 1-1/4 X 5-1/2 GALV NIPPLE 6.97
700397 1-1/4 X 6 GALV NIPPLE 6.97
700398 1-1/4 X CLOSE (1-5/8) BLACK NIPPLE 2.84
700399 1-1/4 X 2 BLACK NIPPLE 3.22
700400 1-1/4 X 2-1/2 BLACK NIPPLE 3.44
700401 1-1/4 X 3 BLACK NIPPLE 3.44
700402 1-1/4 X 3-1/2 BLACK NIPPLE 4.06
700403 1-1/4 X 4 BLACK NIPPLE 4.06
700404 1-1/4 X 4-1/2 BLACK NIPPLE 4.84
700405 1-1/4 X 5 BLACK NIPPLE 4.84
700406 1-1/4 X 5-1/2 BLACK NIPPLE 5.75
700407 1-1/4 X 6 BLACK NIPPLE 5.75
700409 1-1/2 X CLOSE (1-3/4) BLACK NIPPLE 3.53
700410 1-1/2 X 2 BLACK NIPPLE 3.81
700411 1-1/2 X 2-1/2 BLACK NIPPLE 4.25
700412 1-1/2 X 3 BLACK NIPPLE 4.25
700413 1-1/2 X 3-1/2 BLACK NIPPLE 4.78
700414 1-1/2 X 4 BLACK NIPPLE 4.78
700415 1-1/2 X 4-1/2 BLACK NIPPLE 5.84

STS # 800130

Page 76



Best Plumbing Specialties - Pricelist 2/13/2013

700416 1-1/2 X 5 BLACK NIPPLE 5.84
700417 1-1/2 X 5-1/2 BLACK NIPPLE 6.69
700418 1-1/2 X 6 BLACK NIPPLE 6.69
700419 2 X CLOSE (2 IN) GALV NIPPLE 5.69
700420 2 X 2-1/2 GALV NIPPLE 6.41
700421 2 X 3 GALV NIPPLE 6.41
700422 2 X 3-1/2 GALV NIPPLE 7.78
700423 2 X 4 GALV NIPPLE 7.78
700424 2 X4-1/2 GALV NIPPLE 9.97
700425 2 X 5 GALV NIPPLE 9.97
700426 2 X 5-1/2 GALV NIPPLE 11.56
700427 2 X 6 GALV NIPPLE 11.56
700428 2 X CLOSE (2 IN) BLACK NIPPLE 4.82
700429 2 X 2-1/2 BLACK NIPPLE 5.53
700430 2 X 3 BLACK NIPPLE 5.53
700431 2 X 3-1/2 BLACK NIPPLE 6.69
700432 2 X 4 BLACK NIPPLE 6.69
700433 2 X 4-1/2 BLACK NIPPLE 7.72
700434 2 X 5 BLACK NIPPLE 7.72
700435 2 X 5-1/2 BLACK NIPPLE 9.03
700436 2 X 6 BLACK NIPPLE 9.03
700469 1/2 IPS STD PORT BRONZE BALL 11.82
700470 3/4 IPS STD PORT BRONZE BALL 19.53
700471 1IN IPS STD PORT BRONZE BALL 24.57
700472 1-1/4 IPS STD PORT BRONZE BALL 41.21
700473 1-1/2 IPS STD PORT BRONZE BALL 52.63
700474 1/2 SWT STD PORT BRONZE BALL 14.77
700475 3/4 SWT STD PORT BRONZE BALL 19.53
700476 1-1/4 SWT STD PORT BRONZE BALL 41.21
700477 1-1/2 SWT STD PORT BRONZE BALL 52.63
700478 2 IN SWT STD PORT BRONZE BALL 65.96
700479 2 IN IPS STD PORT BRONZE BALL 57.05
700486 1IN SWT STD PORT BRONZE BALL 24.57
700535 1/8 BRASS COUPLING 6.75
700536 1/4 BRASS COUPLING 6.75
700537 3/8 BRASS COUPLING 6.75
700538 1/4 X 1/8 BRASS RED COUPLING 8.06
700539 3/8 X 1/4 BRASS RED COUPLING 8.06
700540 1/2 X 1/4 BRASS RED COUPLING 8.06
700541 1/2 X 3/8 BRASS RED COUPLING 8.06
700542 3/4 X 1/2 BRASS RED COUPLING 10.77
700543 1/8 BRASS 90 DEG ELBOW 8.06
700544 1/4 BRASS 90 DEG ELBOW 8.06
700545 3/8 BRASS 90 DEG ELBOW 8.06
700546 3/4 BRASS 90 DEG ELBOW 10.77
700547 1/2 BRASS 90 DEG STREET 10.77
700548 3/4 BRASS 90 DEG STREET 14.84

STS # 800130

Page 77



Best Plumbing Specialties - Pricelist 2/13/2013

700549 1/4 BRASS 45 DEG ELBOW 9.90
700550 3/8 BRASS 45 DEG ELBOW 9.90
700552 1/2 BRASS 45 DEG ELBOW 9.90
700553 3/4 BRASS 45 DEG ELBOW 14.07
700554 1/8 BRASS TEE 9.47
700555 1/4 BRASS TEE 9.47
700556 3/8 BRASS TEE 9.47
700557 1/8 BRASS UNION 25.59
700558 1/4 BRASS UNION 22.94
700559 3/8 BRASS UNION 22.94
700601 1/2 CPVC COUPLING 0.32
700602 3/4 CPVC COUPLING 0.36
700603 3/4 X 1/2 CPVC REDUCING COUPLING 0.44
700604 3/4 X 1/2 CPVC RED BUSHING 0.40
700605 3/4 SLIP IPS X 3/4 SLIP CTS PVC TO CPVC 0.99
700606 1/2 CPVC 45 DEG ELBOW 0.44
700607 3/4 CPVC 45 DEG ELBOW 0.63
700608 1/2 CPVC 90 ELBOW 0.23
700609 3/4 CPVC 90 DEG ELBOW 0.59
700610 1/2 CPVC SPECIAL FEMALE ADAPTER 1.14
700611 3/4 CPVC SPECIAL FEMALE ADAPTER 1.58
700612 1/2 CPVC MALE ADAPTER 0.36
700613 3/4 CPVC MALE ADAPTER 0.59
700614 1/2 CPVCTEE (SXSXYS) 0.36
700615 3/4 CPVC TEE SLIP X SLIP X SLIP 0.76
700616 1-1/2 X 6-1/2 BLACK NIPPLE 10.63
701000 1/4 OD UNION CONNECTOR PUSH-IN 2.29
701001 3/8 OD UNION CONNECTOR PUSH-IN 3.84
701002 1/4 OD ELBOW PUSH-IN FITTING 3.29
701003 3/8 OD ELBOW PUSH-IN FITTING 4.43
701004 1/4 OD TEE PUSH-IN FITTING 4.14
701005 3/8 OD TEE PUSH-IN FITTING 4.66
701006 1/4 STEM OD X 1/4 NPTF STEM ADAPTER 1.01
701007 3/8 STEM OD X 3/8 NPFT STEM ADAPTER 1.40
701008 1/4 LOCKING CLIP FOR PUSH-IN FITTING 0.27
701009 3/8 LOCKING CLIP FOR PUSH-IN FITTING 0.27
701010 1/4 TUBE OD PUSH-IN SHUT-OFF VALVE 8.62
701013 3/8 TUBE OD PUSH-IN SHUT-OFF VALVE 9.10
701014 3/8 X 3/8 X 1/4 ANGLE STOP ADAPTER 10.88
701015 3/8 X 3/8 X 3/8 ANGLE STOP ADAPTER 11.29
711157 2 X 6-1/2 GALV NIPPLE 18.84
711158 S* 2 X7 GALV NIPPLE 18.84
711159 2 X 7-1/2 GALV NIPPLE 18.84
711160 S* 2 X8 GALV NIPPLE 18.84
711161 2 X 8-1/2 GALV NIPPLE 22.03
711162 S* 2 X9 GALV NIPPLE 22.03
711163 2 X 9-1/2 GALV NIPPLE 22.03

STS # 800130

Page 78



Best Plumbing Specialties - Pricelist 2/13/2013

711164 2 X 10 GALV NIPPLE 22.03
711165 2 X 10-1/2 GALV NIPPLE 25.28
711166 2 X 11 GALV NIPPLE 25.28
711167 2 X 11-1/2 GALV NIPPLE 25.28
711168 $*2 X 12 GALV NIPPLE 25.28
03017001 |BEST AQUASEAL WASHER 0.34
7186033 |LF* LEAD FREE 1/8 IN BRASS 1.57
7186133  |LF* LEAD FREE 1/4 IN BRASS 211
7186233 |LF* LEAD FREE 3/8 IN BRASS 3.07
7186333  |LF* LEAD FREE 1/2 IN BRASS PLUG 7.34
7186433  |LF* LEAD FREE 3/4 IN BRASS PLUG 9.23
7210533  |LF* LEAD FREE 1/2 IN BRASS PLUG 9.23
12002001 |SPRAY HEAD ONLY 5.50
14602001 |2.2 GPM AERATOR SMALL SLOTLESS 1.76
19010001 |RE #5 PIPE THREAD SEALANT 16 OZ 23.06
19040132 |HV CLEAR PIPE CLEANER 32 OZ 14.02
19080033 |##LV RED KOHLER AMERLINE FLUSH 4.05
21447001 |CARTRIDGE LF* FOR AM STD AMARILIS 15.36
23542001 |CARTRIDGE FOR MOEN 29.71
23545001 |S/L POSI-TEMP HANDLE 5.13
24555001 |LAV STOPPER - GERBER 3.40
24586001 |S* DIVERTER CARTRIDGE FOR VALLEY 17.99
24587001 |S* S/L CARTRIDGE FOR VALLEY 15.71
26120001 |REPAIR KIT FOR DELTA 2.84
26122001 |OLD STYLE DELTA CAM ASSY (2 PC) 1.84
26133001 |BALL STAINLESS FOR DELTA 1.99
26856001 |POP-UP STOPPER - MOEN 6.49
27142001 |S/L CARTRIDGE - MOEN 10.65
27150001 |S* REPAIR KIT FOR VALLEY 4.94
27153001 |S* COLD INDEX FOR VALLEY 0.83
27165001 |CONTROL CARTRIDGE FOR VALLEY 47.07
28202001 |TUBE FOR CENTRAL 4.66
28209001 |SAYCO/BRIGGS ESCUTCHEON 6.18
29009001 |S* SLEEVE FOR AM STD (CP) 4.49
29315001 |4 IN HOT WRIST BLADE HANDLE - 13.03
29316001 |4 IN COLD WRIST BLADE HANDLE - 13.03
29607001 |HOT BATH HANDLE FOR KOHLER 16.93
29608001 |COLD BATH HANDLE FOR KOHLER 16.93
29611001 |HANDLE FOR KOHLER 13.11
29633001 |POWERS MODEL 7 HANDLE 21.87
29654001 |HOT HANDLE - PRICE PFISTER 2.43
29655001 |COLD HANDLE - PRICE PFISTER 2.43
29656001 |HOT BATH HANDLE - PR/PF 3.55
29657001 |COLD BATH HANDLE - PR/PF 3.55
29688001 |HOT HANDLE - BRIGGS/SAYCO 5.23
29689001 |COLD HANDLE - BRIGGS/SAYCO 5.23
29690001 |DIV HANDLE FOR BRIGGS/SAYCO 5.77

STS # 800130

Page 79



Best Plumbing Specialties - Pricelist 2/13/2013

29691001 |HOT HANDLE - BRIGGS/SAYCO (CP) 5.13
29692001 |COLD HANDLE - BRIGGS/SAYCO (CP) 5.13
29727001 |SYMMONS DIVERTER HANDLE (CP) 6.05
29733001 |HANDLE FOR SYMMONS 8.32
29739001 |OLD STYLE NUT FOR DELTA 3.40
29743001 |STEM UNIT W/SEATS/SPRINGS 8.31
29818001 |SLEEVE FOR SAYCO 5.39
29919001 |SPOOL FOR DELTA 43.81
29920001 |DIVERTER STEM - DELTA 6.41
29921001 |SPOOL FOR MOEN 49.43
29988001 |S* HANDLE FOR POWERS 29.94
30307001 |HOT STEM FOR GERBER 5.65
33012001 |PR/PF BRASS STEM 3.99
34102001 |HU INDIANA HOT STEM COMPLETE 9.61
35152001 |GERBER STEM 8.50
36125001 |FLO-CLOZ CARTRIDGE ASSY 37.78
36167001 |PR/PF BRASS STEM 11.16
36173001 |DIVERTER STEM - PR/PF 10.19
37501001 |H/C STEM - CENTRAL BRASS 12.36
37502001 |DIVERTER STEM - CENTRAL BRASS 20.33
37597001 |H/C STEM W/O OUTER SLEEVE 11.34
40047001 |[HANDLE FLEXER FOR DELANY 2.07
43104001 |VACUUM BREAKER FOR DELANY 2.73
51107001 |SCREW ON DISC (RED) CHEMICAL 1.56
51110001 |SNAP ON DISC (RED) 1.19
53303001 |TANKLEVER 4.60
53306001 |HANDLE FOR AM STD 6.22
53307001 |TRIP LEVER ARM & HANDLE - KOHLER 19.32
54413001 |5/16 C/C BOLT SET (2) IMPORTED 3.99
54431001 |S* 5/16 X 2-1/4 BR PLATED BOLT SET 0.98
58607001 |FLAPPER W/CHAIN & BLUE FLOAT 5.61
59139001 |S* PLASTIC CAP& PLUNGER FOR A/S 1.18
59141001 |S* BALLCOCK SEAL FOR A/S 0.36
60102001 |1/2 FIP X 24 FLEX GAS CONNECTOR 13.56
60103001 |1/2 FIP X 48 FLEX GAS CONNECTOR 19.19
60113001 |3/4 X 48 FLEX GAS CONNECTOR 24.70
63678001 |DOUBLE ROLL T/P HOLDER (CP) 15.01
63679001 |DOUBLE ROLL T/P HOLDER (CP) 15.01
64010001 |S/S CLAMP 9/16 TO 1-1/16 0.64
64020001 |S/S CLAMP 13/16 TO 1-3/4 0.64
64024001 |S/S CLAMP 1-1/16 TO 2 0.80
64028001 |S/S CLAMP 1-5/16 TO 2-1/4 0.90
67128001 |HYDRANT KEY FOR ZURN 4.62
69505001 |60 IN BRASS WOUND SHOWER HOSE 19.34
69511001 |1/2 & 3/4 ZINC SPOUT W/DIV ON 15.13
69987001 |S* HINGE PIN DOOR STOP 1.34
70055733 |LF* LEAD FREE 1/8 IN BRASS UNION 36.55

STS # 800130

Page 80



Best Plumbing Specialties - Pricelist 2/13/2013

71240001 |SPRING FOR PRE-RINSE 29.34
71511001 |HOT HANDLE - T&S BRASS (CP) 3.35

71512001 |COLD HANDLE - T&S BRASS (CP) 3.35

74139001 |6 SPRAY SHOWERHEAD 14.73
77695001 |S* DECK MOUNT PRE-RINSE UNIT 290.43
77749001 |S* BACK MOUNT GOOSENECK FAUCET 216.33
88000089 |MN PLUG BUTTON KIT, 7600 SERIES 14.07
88000510 |MN 2-HANDLE LAV DECK GASKET 5.79

88000762 |MN LEVER HANDLE KIT, VILLETA 30.74
88001006 |MN 1IN HANDLE EXTENSION KIT 40.25
88002500 |MN PLASTER GROUND, POSI-TEMP 11.88
88002567 |MN ESCUTCHEON SERVICE KIT 33.55
88002575 |MN DOME KIT (CP) 13.69
88002579 |MN SPOUT KIT, 1-HANDLE KITCHEN 42.44
88003194 |MN RETAINER CLIP, LEVER HANDLE 17.37
88003204 |MN CHECK STOPS, TUB/SHOWER, 39.95
88004006 |MN SPOUT, WIDESPREAD, W/O LIFT 99.47
88102112 |## 9 IN THE AX SUPER SAWZALL 3.92

88102113 |## 12 IN THE AX SUPER SAWZALL 4.51

88102122 |## 9 IN SUPER SAWZALL METAL 2.51

88102131 |## 9 IN DEMOLITION SAWZALL 3.74

88102132 |## 6 IN DEMOLITION SAWZALL 2.82

88102133 |## 9 IN DEMOLITION SAWZALL 3.74

88103397 |##MWT BIT STEP DRILL SET 3PC 54.25
88103406 |##MWT BIT 1/4TO 7/8 TO 1-1/8 IN STEP 53.62
88103459 |##MWT 1/4 IN CHUCK ATTACHMENT 25.05
88103688 |##MWT HOLE SAW ARBOR PILOT DRILL 2.91

88104389 |##MWT ULTIMATE DEMOLITION KIT 28.03
88104390 |##MWT 9-PC SAWZALL BLADE KIT 20.67
99010032 |SL 4 IN CENTERSET TRIM PLATE (CP) 33.71
99010136 |AC BUBBLER W/MOUTHGUARD W/ 84.27
99010155 |AC FLO-CLOZ CARTRIDGE & CP STEM 51.30
99010340 |SL SOLENOID NUT (CP) 13.49
99010433 |SL 1-1/2 X 22-1/2 VAC BREAKER W/2 IN 106.47
99010436 |ZU 1.0 GPF VOLUME CONTROL 4.77

99010437 |ZU METAL HOUSING 77.93
99010481 |ZU COVER PLATE - FOR SUPPLY & 45.66
99010482 |ZU SUPPLY COVER TUBE RING W/ 16.23
99010483 |ZU RETURN COVER TUBE RING W/ 16.23
99010508 |AC DECK MOUNTED SPOUT ASSY 188.97
99010536 |AC 3/8 NPSL BRASS NUT 2.72

99010538 |AC O-RING (10/PACK) 16.69
99010712 |## COMM DUTY FCT REPAIR KIT 26.23
99010722 |## RH VALVE BODY PLASTIC 36.28
99010738 |1/2 SCH 80 PVC TEE SOCKET 3.00

99010739 |1IN SCH 80 PVC TEE SOCKET 3.94

99010740 |1-1/4 SCH 80 PVC TEE SOCKET 10.83

STS # 800130

Page 81



Best Plumbing Specialties - Pricelist 2/13/2013

99010741 |1-1/2 SCH 80 PVC TEE SOCKET 10.83
99010742 |2 IN SCH 80 PVC TEE SOCKET 13.55
99010760 |1/2 SCH 80 PVC 90 DEG ELBOW 1.07
99010763 |2 IN SCH 80 PVC 90 DEG ELBOW 3.80
99010774 |1/2 SCH 80 PVC COUPLING 1.93
99010775 |1-1/4 SCH 80 PVC COUPLING 4.09
99010776 |1-1/2 SCH 80 PVC COUPLING 4.41
99010777 |2 IN SCH 80 PVC COUPLING 4.73
99010784 |1-1/4 SCH 80 PVC FEMALE ADAPTER 6.42
99010785 |1-1/2 SCH 80 PVC FEMALE ADAPTER 7.86
99010787 |1-1/4 SCH 80 PVC MALE ADAPTER 5.04
99010788 |1-1/2 SCH 80 PVC MALE ADAPTER 7.23
99010814 |1/2 SCH 80 PVC CAP SOCKET 1.90
99010815 |3/4 SCH 80 PVC CAP SOCKET 1.99
99010816 |1 IN SCH 80 PVC CAP SOCKET 3.54
99010817 |1-1/4 SCH 80 PVC CAP SOCKET 4.28
99010818 |2 IN SCH 80 PVC CAP SOCKET 8.43
99010848 |TO VANDAL PROOF SCREW SET 23.66
99010849 |TO SCREW SET (10/PACK) 10.93
99010850 |TO SELF-CLEANING DIAPHRAGM & 15.90
99010857 |ZU SUPPLY COVER TUBE 3-3/8 IN LONG 12.19
99010861 |ZU CLOSET BRACKET 3.77
99010862 |ZU YOKE 11.93
99010863 |##ZU 6 VDC SENSOR - URINAL 179.77
99010864 |ZU BRACKET SCREWS (2/SET) 2.73
99010865 |ZU YOKE SCREWS (2/SET) 2.73
99010867 |ZU WALL BRACKET FOR BATTERY 17.55
99010868 |ZU COVER PLATE FOR BATTERY 37.74
99010869 |ZU INDICATOR LIGHT ASSY FOR 9.78
99010871 |ZU PLUG-IN 6 VDC POWER CONVERTOR 31.64
99010906 |##LF* LEAD FREE 1 X 3/4 IN BRASS 13.52
99011024 |AC HOT OVAL ESCUTCHEON 88.51
99011051 |SL BUTTON HYDRAULIC ACTUATOR 95.10
99011052 |AC METERING SERVOMOTOR MAGNET 15.64
99011085 |WA 13/16 SMALL MALE AERATOR 2.71
99011111 |SL 2.2 AERATOR LAMINAR FLOW (CP) 25.13
99011136 |TS HOT PEDAL 51.61
99011137 |TS COLD PEDAL 51.61
99011205 |SL INSIDE COVER FOR CONTINENTAL 14.18
99011289 |CG CSLH QUATURN STEM ASSY 13.30
99011424 |##LF* LEAD FREE 1 X 3/4 IN BRASS RED 25.04
99011538 |BO 50 FL OZ RECESSED SOAP 186.97
99011620 |## 4 IN CAST BRASS CENTERSET 227.58
99011692 |GE COLD LARGE FLUTED METAL 19.25
99011710 |SL 3 IN PUSH BUTTON ASSY (CP) 31.74
99011722 |CE HOT LEVER HANDLE W/SCREW 7.63
99011723 |CE COLD LEVER HANDLE W/SCREW 7.63

STS # 800130

Page 82



Best Plumbing Specialties - Pricelist 2/13/2013

99011826 |## A/S COVER SCREW (CP) 3.86
99011828 |## A/S CARTRIDGE 19.59
99011840 |DB 1/2 IN RIGHT HAND RADIATOR 76.72
99011876 |AC TOP OUTLET STRAINER & CHECK 81.32
99011879 |AC ESCUTCHEON RETAINER 16.69
99011917 |## 20 OZ BOTTLE & CAP 11.89
99011950 |## SHOWER GUARDS 44 IN HIGH (PAIR) 30.27
99012064 |## INLET TUBE & REGULATOR ASSY 176.08
99012065 |## INLET TUBE & REGULATOR ASSY 176.62
99012117 |DY EMPIRE COVER SCREW 3.09
99012144 |2 IN SCH 40 PVC CAP SLIP 0.88
99012150 |1 IN SCH 40 PVC PLUG MIPT 1.36
99012151 |1-1/4 SCH 40 PVC PLUG MIPT 1.44
99012152 |2 IN SCH 40 PVC PLUG MIPT 1.99
99012153 |1 IN SCH 40 PVC FEMALE ADAPTER 0.48
99012154 |1-1/4 SCH 40 PVC FEMALE ADAPTER 0.74
99012156 |##2 IN SCH 40 PVC FEMALE ADAPTER 1.13
99012170 |SL G2 RESS OPTIMA PLUS URINAL 298.82
99012171 |SL G2 RESS OPTIMA PLUS CLOSET 298.82
99012199 |##KH PRESSURE BALANCE CAP ASSY 82.29
99012382 |FH 12 IN SWING SPOUT (CP) 33.67
99012399 |##OLM 3-HDLE TUB/SHOWER VALVE 63.30
99012606 |TO 0.5 GPF MANUAL URINAL 149.80
99012608 |TO 1.28 GPF MANUAL WATER CLOSET 208.02
99012690 |AC PENAL BUBBLER L/MOUTHGAURD 87.62
99012692 |## OVERRIDE BUTTON REPAIR KIT 15.15
99012740 |## 90 DEG LEFT CLOSE CERAMIC 35.21
99012840 |AC PENAL SHOWER HEAD MOUNTING 64.12
99013002 |## 1-3/4 IN COCKHOLE COVER (CP) 1.05
99013050 |##CD CLEAR PRIMER - NSF LISTED 19.33
99013243 |## HOT VALET UNIT W/PLASTIC 22.03
99013250 |IS MOUNTING GASKET 0.78
99013251 |IS LOWER MOUNTING NUT 3.22
99013269 |AC 120V/24V 50 VA TRANSFORMER 104.59
99013529 |1-1/2 SCH 80 PVC 90 DEG ELBOW 3.15
99013642 |BD 3/8 CLOSE NIPPLE-BRASS 11.87
99013677 |SL TRIM PLATE FOR 8 IN CENTERSET 60.89
99013911 |SS SCOT REPAIRKIT 95.59
99014036 |## 3/8 SWT BRONZE SWING CHECK 41.69
99014125 |1-1/2 SCH 80 PVC UNION SOCKET 12.92
99014386 |1-1/4 SCH 80 PVC 90 DEG ELBOW 2.95
99014388 |1/2 SCH 80 PVC FEMALE ADAPTER 1.81
99014389 |1/2 SCH 80 PVC MALE ADAPTER 2.26
99014432 |## CARTRIDGE W/RING & STOP 25.26
99014433 |## E CLIP & TEMP STOP 4.81
99014437 |WC FLUSHMATE VESSEL ONE-PIECE 115.74
99014762 |ZU 1-1/2 X9 IN FLUSH TUBE/VAC 23.93

STS # 800130

Page 83



Best Plumbing Specialties - Pricelist 2/13/2013

99014860 |IS THERMAL FUSE ASSY 8.87
99014975 |1 IN BLACK MALL IRON 45 DEG STREET 7.40
99014976 |1-1/4 BLACK MALL IRON 45 DEG STREET 12.79
99014977 |1-1/2 BLACK MALL IRON 45 DEG STREET 16.50
99015016 |1-1/2 X 1 GALV CAST IRON HEX 9.61
99015031 |AC COLD AIR CONTROL PUSH BUTTON 44.85
99015071 |MN TEMPERATURE LIMIT STOP KIT, 5.71
99015072 |MN ESCUTCHEON CHATEAU 40.64
99015215 |SS NEW STYLE ALLURA LEVER 47.85
99015222 |BR 1/2 FIP X 3/8 OD COMP ANGLE 17.47
99015318 |2 IN SCH 40 PVC MALE ADAPTER 1.11
99015466 |3/8 GALV 90 DEG STREET ELBOW 5.27
99015487 |SL SOCKET 5-3/4 L DIM (RB) 34.60
99015713 |LAG TIMEMIST PREMIUM METERED 12.64
99015948 |1/8 BLACK MALL IRON 45 DEG ELBOW 3.96
99015976 |SS VALVE CAP 30.19
99015977 |SS SPACER 3.71
99015979 |SS DECK RING 16.68
99015980 |SS THREADED STUDS (3) 7.60
99015997 |AC BALL JOINT NUT 54.28
99016048 |SL FILLER ROD 9-3/4 L DIM 15.57
99016377 |2-1/2 X 2 GALV RED COUPLING 54.95
99016378 |2-1/2 GALV COUPLING 48.66
99016381 |2-1/2 BLACK MALL IRON 90 DEG ELBOW 35.49
99016608 |CD LO-VOC PVC CLEANER 16 OZ 10.54
99020035 |CG COLD WATER INDEX BUTTON NF 6.91
99020045 |IS COVER 8.35
99020046 |IS SPOUT ASSY FOR INSTA-HOT 57.22
99020050 |IS GASKET 2.14
99020053 |IS TANK & JACKET ASSY 246.68
99030109 |DY 3.5 GPF WATER CLOSET/URINAL 242.76
99030110 |DY 1.0 GPF URINAL RETRO-FIT KIT 242.76
99030111 |MN 4 IN WRIST BLADE HANDLE PAIR 49.16
99030132 |BD HAIR PIN 39.62
99030136 |CE HOT CERAMIC CARTRIDGE 24.26
99030231 |## HOT STEM CARTRIDGE 12.27
99030233 |BEC 1 X 4-1/2 SCH 80 BLACK NIPPLE 3.31
99030286 |## ACT-O-MATIC 2.5 GPM SHOWERHEAD 72.03
99030325 |##HT BUBBLER - 0.4 GPM PLASTIC 19.52
99030599 |CD PURPLE PRIMER/CLEANER 17.93
99030692 |WW DRAIN ELL WASHER, 1.5 1IN, 2.01
99030710 |CE SNAP RING (6/PACK) 1.67
99030728 |ZU 2.0 GPM FEMALE AERATOR 13.38
99030732 |ZU SPOUT NUT 5.81
99030898 |TS TIP W/ WASHER GF B1200 7.71
99030900 |TS WATER STATION 239.58
99030911 |##LF* LEAD FREE 1-1/2 IN BRASS CAP 38.78

STS # 800130

Page 84



Best Plumbing Specialties - Pricelist 2/13/2013

99031025 |RI REPLACEMENT BLADE 3 IN 17.77
99031035 |DY PACKING NUT 3.41
99031138 |AC 1/4-20 X 3/8 PHIL PAN HD S/S 16.69
99031459 |SL 2-3/4 WALL FLANGE (CP) 18.33
99031482 |MN 6 IN WRIST BLADE HANDLE PAIR 62.49
99031484 |MN CARTRIDGE REMOVAL TOOL 25.55
99031527 |IS GASKET FOR THE H-770 1.68
99031888 |1-1/4 SCH 40 PVC TEE 1.20
99031905 |PW PLUG BUTTON 10.52
99031943 |3/4 X 2-1/2 BLACK XH STEEL PIPE NIPPLE 1.92
99032081 |3/4 X 4 BLACK XH STEEL PIPE NIPPLE 2.27
99032083 |AN 3/4 X CLOSE (1-3/8) BLACK XH STEEL 1.60
99032125 |## POLYFLANGE CALK FITS 3 IN DWV 5.29
99032153 |##1/2 X CL (1-1/8) BLACK XH NIPPLE 1.39
99032154 |1/2 X 1-1/2 BLACK XH STEEL PIPE NIPPLE 1.39
99032155 |##1/2 X 2 BLACK XH STEEL PIPE NIPPLE 1.39
99032156 |1/2 X 3 BLACK XH STEEL PIPE NIPPLE 1.68
99032157 |3/4 X 3 BLACK XH STEEL PIPE NIPPLE 1.92
99032158 |3/4 X 3-1/2 BLACK XH STEEL PIPE NIPPLE 2.27
99032159 |3/4 X 4-1/2 BLACK XH STEEL PIPE NIPPLE 2.83
99032160 |3/4 X 5 BLACK XH STEEL PIPE NIPPLE 2.83
99032161 |3/4 X 5-1/2 BLACK XH STEEL PIPE NIPPLE 3.34
99032234 |2 X CLOSE (2 IN) BLACK XH STEEL PIPE 4.94
99032235 |2 X 2-1/2 BLACK XH STEEL PIPE NIPPLE 5.58
99032236 |2 X 3 BLACK XH STEEL PIPE NIPPLE 5.58
99032237 |2 X 3-1/2 BLACK XH STEEL PIPE NIPPLE 6.41
99032238 |2 X4 BLACK XH STEEL PIPE NIPPLE 6.41
99032239 |2 X 4-1/2 BLACK XH STEEL PIPE NIPPLE 7.92
99032240 |2 X5 BLACK XH STEEL PIPE NIPPLE 7.92
99032241 |2 X 5-1/2 BLACK XH STEEL PIPE NIPPLE 9.13
99032242 |2 X 6 BLACK XH STEEL PIPE NIPPLE 9.13
99032320 |AC SHOWERHEAD BRACKET 25.25
99032396 |SL BACK-MOUNTED FAUCET W/ 297.69
99032413 |3/4 X 6 BLACK XH STEEL PIPE NIPPLE 3.34
99032503 |AC FLO-CLOZ CARTRIDGE ASSY 127.32
99032506 |AC FLO-CLOZ SLEEVE 9.59
99032657 |PA 1/2TO 1IN QUICK SWEAT KIT 73.50
99032720 |CG WOOD SCREW (CP) 2.59
99032721 |CG LOWER SPOUT SLEEVE (CP) 22.34
99032777 |##TS BONNET 17.94
99032778 |## WASHER 1.22
99032999 |PW VOLUME LEVER 51.21
99033789 |2-1/2 X 6 BLACK XH STEEL PIPE NIPPLE 22.75
99033790 |2-1/2 X 5 BLACK XH STEEL PIPE NIPPLE 20.86
99033830 |BD SPUD-METAL WASHFOUNTAIN 56.84
99034586 |AC 24 VAC SOLENOID OPERATED 147.60
99034587 |AC 24 VAC SOLENOID OPERATED 147.60

STS # 800130

Page 85



Best Plumbing Specialties - Pricelist 2/13/2013

99034588 |AC 24 VAC SOLENOID OPERATED 147.60
99034718 |3 X 4 BLACK XH STEEL PIPE NIPPLE 23.98
99034855 |SL 1-1/2 SUPPORT BRACKET W/BUMPER - 42.14
99035590 |BD LIMIT STOP ASSY 24.53
99035591 |BD HANDLE 153.20
99035692 |2 IN SCH 80 PVC MALE ADAPTER 10.46
99035747 |## LEVER HANDLE 1-HANDLE 25.03
99040004 |SL SPOUT MOUNTING HARDWARE 20.38
99040017 |PW COMBINATION SEAT 19.88
99040054 |## REPLACEMENT MODULE 3/4 & 1 IN 131.52
99040057 |SL 3/4 S/J COUPLING ASSY (RB) 9.04

99040063 |SL PISTON BODY 14.87
99040067 |DY 1.5 GPF URINAL RETRO-FIT KIT 242.76
99040105 |BD TAILPIECE SECTIONALS 17.43
99040106 |BD TAILPIECE UNPLATED 24.59
99040192 |TS ROLL PEN 1.02

99040257 |ST COLD STEM 12.98
99040387 |SO COMPACT LIFT 132.46
99040389 |WHO 6 X 1-1/8 REPLACEMENT 19.07
99040390 |WHO 1-1/8 X 10 IN REPLACEMENT 23.02
99040436 |WHO 3 X 1-1/8 REPLACEMENT 13.91
99040437 |WHO 12 X 1-1/8 REPLACEMENT 21.62
99040438 |WHO 9 X 1-1/8 REPLACEMENT 28.94
99040472 |SL BONNET 1 & 3/4 WHEEL HANDLE (RB) 16.06
99040473 |SL WHEEL HANDLE 1.98

99040491 |LE POINTER ROD W/GEAR 43.67
99040579 |MN MOUNTING HARDWARE KIT 18.32
99040689 |SL 3 IN PUSH BUTTON ASSY 120.62
99040696 |SL PLASTIC SLEEVE 2.29

99040697 |SL PLASTIC SLEEVE 2.29

99040703 |## TOILET PAPER HOLDER & ROLLER 6.97

99040730 |IS VALVE STEM ASSY 21.17
99040755 |DY COVER 34.21
99040759 |DY COVER (FOR VALVES W/TURN-TO- 34.21
99040765 |DY CHOKE RING FOR MAIN VALVE 5.54

99040766 |DY MAIN VALVE SEAT WASHER 0.93

99040784 |CG FLANGED LOCKNUT (CP) 21.91
99040786 |CG FLANGE (CP) 19.61
99040819 |LE O-RING 3.66

99040820 |LE STOP SCREW 5.00

99040825 |SL 3-3/4 SOCKET (RB) 37.11
99040906 |## SLOAN TO ZURN LOCKING RING 25.55
99040993 |TS 14 IN SWING SPOUT 47.84
99041004 |SEC ORIFCE PLATE 12.94
99041029 |PP SHOWER BALL (CP) 18.16
99041095 |SL ROYAL 110 SG 194.12
99041112 |FM SHAFT BUSHING 9.61

STS # 800130

Page 86



Best Plumbing Specialties - Pricelist 2/13/2013

99041114 |FM CAN OPENER SPRING 4.10
99041115 |FM KNIFE HOLDER RIVET 3.11
99041116 |FM CAN OPENER GEAR 20.33
99041117 |FM CAN OPENER KNIFE 9.98
99041122 |CE WASHER SEAT (25/PACK) 4.57
99041158 |CE SEAT WASHER SCREW (25/PACK) 2.48
99041195 |## REPLACEMENT SENSOR - LAV 167.44
99041315 |IS BODY FLANGE 6.91
99041380 |CE COLD CERAMIC CARTRIDGE 24.26
99041431 |SL FILLER ROD 11-3/4 L DIM 16.61
99041432 |SL FILLER ROD 12-3/4 L DIM 13.75
99041435 |1/4 BLACK XH MALL IRON CAP 5.26
99041436 |3/8 BLACK XH MALL IRON CAP 5.26
99041437 |AN 1/2 BLACK XH MALL IRON CAP 5.21
99041438 |SL 3/8 MALE CONNECTOR (2) 23.77
99041439 |3/4 BLACK XH MALL IRON CAP 6.58
99041452 |1-1/4 BLACK XH MALL IRON CAP 9.56
99041453 |1-1/2 BLACK XH MALL IRON CAP 13.96
99041454 |2 IN BLACK XH MALL IRON CAP 19.40
99041480 |TS 16 IN SWING NOZZLE 37.56
99041484 |## AUTOFRESH BATT OP WALL MNTD 98.67
99041638 |AC O-RING (10/PACK) 13.26
99041695 |AS HANDLE (PAIR) 14.24
99041704 |## T&S COLD SPINDLE ASSY 46.03
99042068 |## 3/4 TOWEL BAR BRACKET (PAIR) 6.14
99042171 |HT COMPRESSOR - SERVICE PAK 115V 242.22
99042172 |HT DRIER - R134AID .095 12.51
99042214 |PW BONNET 38.61
99042215 |PW ADJUSTABLE STOP 9.04
99042217 |PW 10-32 X 1 IN BONNET SCREW (S/S) 8.03
99042219 |PW 410 LEVER HANDLE KIT 46.01
99042251 |AC FLO-CLOZ SINGLE-TEMP CANOPY 59.19
99042252 |AC FLO-CLOZ COLD CANOPY HANDLE 59.19
99042312 |## HORIZONTAL FCT 145.46
99042442 |PW CONTROL KNOB 28.39
99042591 |SS SOLID HANDLE (CP) 29.89
99042751 |SL 3 IN PUSH BUTTON ASSY 110.27
99042768 |RI CCUTTER1IN 22.09
99042871 |TS ESCUTCHEON (2/BOX) 32.16
99042872 |TS STEM ASSY 88.76
99042901 |IS SET SCREW 0.78
99042902 |IS MOUNTING NUT 11.59
99042920 |ZU 1.0 GPM 13/16-27 MALE AERATOR 4.06
99042986 |SL THERMOSTATIC MIXING VALVE FOR 170.84
99043254 |SL LOTION SOAP W/MOISTURIZERS 17.40
99043382 |MC SHOWERHEAD PUSH 1 160.96
99043563 |## STANDARD TOILET TANK LEVER - 15.18

STS # 800130

Page 87



Best Plumbing Specialties - Pricelist 2/13/2013

99043685 |ZU GOOSENECK O-RING 0.32
99044822 |WW LIFT & TURN D PIN 3.92
99047468 |WW STRAINER BODY CP 11.74
99047500 |WW PUSH PULL STOPPER-CP PLASTIC 4.02
99047503 |WW SUCTION CUP 1.48
99047504 |WW DIRECT DRAIN TEE SCH 40 ABS 7.49
99047505 |WW OVERFLOW ELL SCH 40 ABS 7.19
99047506 |WW DIRECT DRAIN TEE SCH 40 PVC 7.49
99047507 |WW OVERFLOW ELL SCH 40 pVC 7.19
99047508 |WW GREEN TEST PLUG W/ORING 3.86
99050003 |## SL PACKING DISC 1.52
99050004 |AC H&C MIXING TEE ASSY 0.5 GPM 32.36
99050005 |## FLOW CONTROL ADAPTER 13.14
99050006 |AC 1/4 OD NYLON COMPRESSION NUT 25.82
99050007 |AC H&C 0.5 GPM PLASTIC VALVE BODY 57.77
99050008 |AC H&C 2.5 GPM PLASTIC VALVE BODY 57.77
99050010 |## LH VALVE BODY PLASTIC 36.28
99050011 |AC H&C MIXING TEE ASSY 2.5 GPM 47.45
99050012 |##AC H&C MIXING TEE BODY ONLY 15.42
99050014 |AC 10X 1/2 PHIL ROUND HD S/S 16.68
99050015 |AC COMPLETE ASSY 218.13
99050016 |AC BUBBLER CONNECTION ASSY 82.74
99050019 |AC BUBBLER GASKET 18.64
99050020 |AC SLEEVE ASSY 31.23
99050021 |AC FLANGED COLD PUSHBUTTON 23.46
99050022 |AC FLANGED HOT PUSHBUTTON 23.46
99050023 |AC PUSHROD X 11-1/2 32.53
99050024 |AC 1/2 IN PUSHROD GUIDE 44.37
99050025 |AC 1/2 NPS CONDUIT NUT (10/PACK) 16.99
99050026 |AC O-RING OUTLET FITTING 27.22
99050028 |AC RETAINING CLIP (10/PACK) 13.26
99050030 |CG LH COLD SLOW COMPRESSION 34.65
99050031 |## CG RH HOT SLOW COMPRESSION 34.65
99050032 |CG STEM ASSY (FOR RH UNIT) 18.55
99050033 |CG STEM ASSY (FOR LH UNIT) 17.93
99050034 |CG LH STEM ASSY (BRIGHT NICKEL) 18.50
99050035 |CG RH STEM ASSY (BRIGHT NICKEL) 18.50
99050036 |CG RH HOT QUATURN SLEEVE (RB) 14.51
99050037 |CG LH COLD QUATURN SLEEVE (RB) 14.51
99050040 |##CG RH *LF CERAMIC CARTRIDGE 18.98
99050041 |##CG LH *LF CERAMIC CARTRIDGE 18.98
99050052 |CG NAIAD PUSH BUTTON CAP (CP) 23.99
99050053 |## SET SCREW MVP NF 1.89
99050054 |CG SPRING RETAINER (RB) 3.06
99050055 |CG STEM ACTUATOR (NICKEL PLATED) 9.66
99050056 |CG RETAINER RING NF 2.06
99050057 |CG RETURN SPRING NF 3.67

STS # 800130

Page 88



Best Plumbing Specialties - Pricelist 2/13/2013

99050058 |CG NUT ADJUSTMENT NF 3.67
99050059 |CG CAP WASHER NF 2.21
99050060 |CG MVP FILTER NF 5.33
99050063 |## CLOSET 2.4 RELIEF VALVE (Blue) 6.19
99050074 |SL NON-ADJUSTABLE GEM2 COVER 23.47
99050126 |## 4.5 GPF CLOSET REPLACEMENT KIT 37.86
99050127 |## 3.5 GPF WATER-SAVING CLOSET 37.86
99050128 |## 3.0 GPF URINAL REPLACEMENT KIT 37.86
99050130 |## TRIP MECHANISM (RISER TUBE) 29.48
99050131 |ZU 4.5 GPF VOLUME CONTROL 4.77
99050145 |AS RH HOT STEM NUT (CP) 2.30
99050153 |## A/S HANDLE SCREWS (3) 6.53
99050154 |## INDEX WASHER KIT (2) 6.09
99050165 |SL POLISHED BRASS HANDLE ASSY 47.05
99050166 |SL POLISHED BRASS COVER 28.43
99050170 |BD FITTING 20.02
99050172 |BD COPPER TUBE 17.43
99050173 |BD BRACKET 39.76
99050174 |BD NUT 3.86
99050175 |BD STUD 3.71
99050176 |BD TUBING UNION 15.32
99050177 |BD ADAPTER 6.67
99050178 |BD FEMALE CONNECTOR 5.19
99050179 |BD MALE CONNECTOR 7.60
99050180 |BD NUT 8.52
99050181 |BD TAILPIECE 35.38
99050191 |SP ROD COUPLING NUT 6.01
99050195 |SP FLANGE 10.51
99050218 |WC FLUSH VALVE CARTRIDGE KIT 23.11
99050223 |WC FLUSHMATE VESSEL (AM STD) 111.09
99050224 |WC FLUSHMATE VESSEL (OTHER) 111.09
99050233 |##FM 3 IN FLANGE 45.33
99050234 |FM 3-1/2 IN CRUMB CUP STRAINER 21.73
99050236 |##FM LEVER WASTE KNOB (PLASTIC) 10.97
99050237 |## 1-1/2 IN OVERFLOW WASHER 0.84
99050238 |## OVERFLOW FLANGED LOCKNUT 1.72
99050239 |## OVERFLOW STRAINER 15.80
99050240 |## STRAINER MOUNTING SCREW 1.71
99050241 |BG 5/8 KEYWAY X 5/8 KEYWAY 106.47
99050242 |BG SPRING COUPLER 70.27
99050243 |BG 1/2 X 5/8 KEYWAY COUPLER 59.63
99050244 |BG STEEL IMPELLER 1/6 HP 132.02
99050245 |BG STEEL IMPELLER 1/12 HP 116.05
99050247 |BG BRONZE IMPELLER 1/6 HP 140.54
99050248 |BG HALF PP IMPELLER GLASS FILLED 35.05
99050250 |BG FLANGE GASKET SET (PAIR) 13.13
99050251 |BG FLANGE GASKET SET (PAIR) 23.94

STS # 800130

Page 89



Best Plumbing Specialties - Pricelist 2/13/2013

99050253 |BG GASKET 8.19

99050255 |CO 8 IN BRASS FLOAT ROD 2.32

99050256 |CO 1B1 & COASTMASTER PISTON ASSY 2.04

99050257 |CO LOCKNUT REGULAR 0.81

99050258 |CO 1/2 IN CONE WASHER 0.55

99050259 |CO 1/2 IN FRICTION RING 0.22

99050261 |CO 8/32 X 3/4 BRASS SCREW 0.71

99050262 |CO 8 IN VINYL REFILL TUBE - PLAIN 0.80

99050285 |## PLUNGER FOR Z-1320 7.63

99050287 |## ACTUATOR CARTRIDGE ASSY 45.87
99050292 |BD EYEWASH SPRAY HEADS 21.63
99050388 |LE DIAL PLATE FOR TM 50 16.68
99050407 |BD 16 OZ PLASTIC SOAP CONTAINER 10.26
99050408 |##BD 32 OZ PLASTIC SOAP CONTAINER 18.42
99050411 |BD 6 IN PLUNGER & VALVE ASSY 76.97
99050415 |TS RH LH SPINDLE ASSY FOR B0290 57.94
99050427 |MC PUSH BUTTON 15.73
99050431 |CE CAST BRASS WALL MOUNT 187.96
99050432 |## 1/2 NPS MALE DRINKING FAUCET 132.67
99050433 |CE 3/8 NPS FEMALE DRINKING 130.08
99050434 |CE 3/8 NPS FEMALE DRINKING 108.18
99050435 |TS 44 IN FLEXIBLE S/S HOSE W/VACUUM 109.88
99050438 |TS 72 IN FLEXIBLE S/S HOSE 86.35
99050439 |TS 96 IN FLEXIBLE S/S HOSE 122.44
99050440 |## 6 IN SWING NOZZLE 33.38
99050441 |TS 10 IN SWING NOZZLE 42.41
99050442 |TS BASE FAUCET 181.08
99050443 |TS BASE FAUCET 181.08
99050445 |TS 6 IN WALL BRACKET 41.86
99050446 |## T&S 3/8 X 18 IN NIPPLE 33.80
99050447 |TS 26 IN RISER 47.43
99050448 |TS 32 IN RISER 51.36
99050452 |TS 6 IN HOT WRIST ACTION HANDLE 42.05
99050453 |TS 6 IN COLD WRIST ACTION HANDLE 42.05
99050454 |TS LEVER NUT 2.23

99050456 |##TS BLUE LEXAN PUSH BACK ARM 19.72
99050457 |## LEVER HANDLE BLANK 10.90
99050458 |TS DOME LAVATORY HANDLE COLD 19.32
99050459 |TS DOME LAVATORY HANDLE HOT 19.32
99050509 |PW COMPLETE ACRYLIC HANDLE 157.04
99050526 |SL 1-1/2 SPLIT RING PIPE SUPPORT (CP) 38.59
99050582 |LE SLEEVE O-RING 3.52

99050590 |CG BRACKET (CP) 41.12
99050591 |CG BRACE ROD ASSY (RCF) 54.85
99050592 |CG CAST SPOUT ASSY (CP) 140.75
99050593 |CG NUT (RCF) 11.72
99050594 |CG TAILPIECE (CP) 19.42

STS # 800130

Page 90



Best Plumbing Specialties - Pricelist 2/13/2013

99050595 |CG VACUUM BREAKER CAST SPOUT 277.44
99050597 |CG FIBRE WASHER NF 1.89

99050598 |CG 3/4 IN HOSE THREAD MALE 15.74
99050631 |BD BRASS SEAT 45.00
99050640 |BO ALUMINUM WRENCH 8.34

99050656 |## G2 COVER/RING/SENSOR ASSY 282.76
99050657 |## G2 COV/RING/SENSOR ASSY 282.76
99050658 |SL G2 COVER/RING/SENSOR ASSY 282.76
99050659 |SL G2 COVER/RING/SENSOR ASSY 282.76
99050664 |SL ANCHOR FOR YR VARIATION 1.98

99050665 |SL SCREW YR VARIATION 1.52

99050667 |SL DECK MOUNTED FAUCET W/ 271.87
99050670 |SL OPTIONAL 8 IN TRIM PLATE 52.88
99050733 |## ULTRA SPRAY VALVE: 1.60 GPM 58.72
99050778 |ZU FILTER ASSY 12.97
99050873 |TS LH COLD SPINDLE ASSY 52.49
99050874 |TS COLD ETERNA SPINDLE ASSY 40.52
99050875 |TS HOT ETERNA SPINDLE ASSY 40.52
99050876 |TS COUPLING 37.82
99050878 |WC DISCHARGE NUT W/GASKET 11.70
99050879 |WC DISCHARGE NUT W/GASKET 12.67
99050880 |WC DISCHARGE NUT W/GASKET 4.70

99050881 |##WC LOWER SUPPLY ASSY 28.48
99050882 |WC FLUSHMATE VESSEL ONE-PIECE 115.74
99050895 |SS TUB/ SHOWER DIAL EMBLEM 13.72
99050896 |SS SHOWER DIAL EMBLEM 13.72
99060007 |## COMM DUTY FCT REPAIR KIT 29.60
99060044 |SL BUTTON 42.05
99060047 |PP STEM/BONNET ASSY 3541
99060132 |SL BONNET RC WHEEL HANDLE 17.78
99060142 |LE PORT SLEEVE ASSY 134.34
99060188 |PW PLUG BUTTON 11.65
99060226 |LE CHECKSTOP KIT ONLY 28.97
99060312 |DY CAP FOR HANDLE OPENING 6.72

99060313 |RI CABLE KIT 5/8 X 45 FT & 386.41
99060386 |BO COIN PLATE - NAPKIN 10 CENT 6.18

99060387 |BO COIN PLATE - TAMPON 10 CENT 6.18

99060389 |BO COIN PLATE - TAMPON 10 CENT 1.18

99060428 |PP COVER PLATE SCREW 2.71

99060429 |PP TEMP STOP ASSY 4.29

99060435 |SL 1-1/2 X 9 IN VAC BREAKER (CP) 17.82
99060545 |FH WASHER 1.55

99060546 |FH DUCK GASKET 3.09

99060669 |SL BONNET RC WHEEL HANDLE 20.21
99060676 |SP NYLON WING NUT 6.01

99060732 |##MN REPLACEMENT CARTRIDGE 70.06
99060745 |TS FOUR ARM HANDLES, HOT & COLD 16.46

STS # 800130

Page 91



Best Plumbing Specialties - Pricelist 2/13/2013

99060830 |ST S/LHANDLE 9.89
99060876 |## TUB/SHOWER 4-1/2 IN STEM W/ 39.91
99060922 |WW PRESFLO STRAINER BODY 18.41
99060935 |EK CUT SPLIT BEARING 8.78
99060950 |1/2 BRASS UNION (CP) 63.51
99060972 |## SL SOLENOID ASSY (CP) 24 VOLT 127.67
99060987 |TS COUPLING FLANGE 37.82
99060988 |TS ESCUTCHEON 38.17
99060989 |TS TAILPIECE 4.75
99060994 |FH NOZZLE FOR SPRAY VALVE 33.13
99060995 |FH BLACK BUMPER 12.36
99060996 |FH BLUE BUMPER 12.36
99060997 |FH BONNET NUT 24.54
99060998 |FH BONNET NUT WASHER 3.39
99060999 |FH SPRING 1.69
99061000 |FH SEAT WASHER 1.24
99061005 |BO BOBKEY 0.85
99061007 |TS ESCUTCHEON 41.12
99061011 |FH RETAINER DISK ASSY 15.45
99061012 |FH HANDLE GASKET 1.24
99061013 |FH LIFT PIN 15.45
99061014 |FH O-RING LIFT PIN 1.24
99061015 |FH GASKET 1.24
99061016 |FH LIFT PIN GUIDE 6.14
99061017 |FH SQUEEZE LEVER 36.39
99061018 |FH 10-32 X 1/4 IN SCREW 1.55
99061019 |FH SPRAY VALVE CLIP 3.09
99061020 |FH CUP WASHER CP (OLD) 3.39
99061021 |FH CUP WASHER BRASS (NEW) 3.39
99061022 |FH SPRAY NOZZLE 30.68
99061023 |FH 10-24 X 1/2 SCREW 1.69
99061024 |FH RED BUTTON 3.09
99061025 |FH BLUE BUTTON 3.09
99061026 |FH LEVER HANDLE 13.91
99061027 |FH BIBB CAP 15.45
99061031 |FH PILLOW PACK O-RING LUBE 6.18
99061034 |FH SPRAY VALVE REPAIR KIT 49.51
99061035 |SL 1IN BONNET REPAIR KIT (CP) 41.89
99061062 |SL SINGLE LIP CUP 7.09
99061097 |AC FLO-CONTROL RETAINER 21.33
99061098 |AC O-RING (10/PACK) 16.69
99061105 |BD REPAIRKIT 28.78
99061106 |## ADAPTER (PLASTIC BOTTLE CAP) 3.55
99061162 |PW DIAL ASSY KIT 150.73
99061222 |## DANFOSS PACKING GLAND 16.44
99061232 |TS SWIVEL YOKE 13.64
99061274 |SL ADA HANDLE GRIP ONLY 13.19

STS # 800130

Page 92



Best Plumbing Specialties - Pricelist 2/13/2013

99061275 |GE 2.2 GPM MALE AERATOR STANDARD 11.82
99061405 |SL COUPLING ASSY 11.68
99061416 |DE LARGE NEOSTYLE METAL 60.75
99061529 |TS PEDESTAL PUSH BACK SINGLE 129.41
99061574 |SL 1IN SCREW DRIVER STOP 40.73
99061705 |FH LH SWIVEL STEM 37.31
99061706 |FH RH SWIVEL STEM 37.31
99062034 |SS ANCHOR BAR 7.41
99062035 |SS MOUNTING SPACER (2) 11.03
99062036 |SS O-RING (2) 6.31
99062044 |FN 1-1/2 X 1-1/4 C.I. & PLASTICTO C.I. 7.20
99062053 |## 1500W 240V SCREW-IN ELEMENT 13.44
99062231 |1/2 X 6 BLACK XH STEEL PIPE NIPPLE 2.57
99062240 |TS RH HOT SPINDLE ASSY 52.49
99062273 |BD SUPPLY STEM 23.12
99062274 |BD CENTER SEAL GASKET 12.05
99062542 |CG PLASTIC WASHER FOR RIGID/SWING 1.76
99062583 |DY 3/4 X9 IN STRAIGHT FLUSH 20.41
99062608 |## SWIVEL WASHER 0.95
99062609 |## SWIVEL SLEEVE 1.63
99062631 |AC 8-32 X 3/8 PHIL ROUND HD S/S 16.69
99062643 |## SOLENOID VALVE FOR EUROPLUS E 140.92
99062838 |PW ACTUATOR REPLACEMENT KIT 269.65
99062882 |##CG 0.5 GPM PRESSURE COMPENSATING 14.95
99062883 |## RK-65 REPAIR ASSY 53.34
99062897 |## CHECK PLUNGER 9.83
99063010 |SL REGAL EXP 1.5 URINAL 87.39
99063180 |ZU 1-1/2 IN SPUD ESCUTCHEON & 14.97
99063336 |## LEXEL VOC GENERAL PURPOSE 6.16
99063535 |##CE DIVERTER STEM 27.27
99063616 |1 IN SCH 80 PVC FEMALE ADAPTER 4.41
99063617 |1IN SCH 80 PVC MALE ADAPTER 4.31
99063627 |WHO BOTTOM HINGE 16.72
99063637 |WHO PAN HEAD SCREW 0.51
99063698 |SS PLUG BUTTON 3.71
99063699 |SS SPOUT ASSY (CP) 46.95
99063711 |SS TEMPTROL 2000 LOOP 54.15
99063805 |## VALVE ASSY REPAIR 47.88
99063829 |BD PROXIMITY VALVE SPRING 8.95
99063830 |BD PROXIMITY VALVE ARMATURE 8.76
99063862 |SS 0.5 GPM VR MALE AERATOR 19.37
99063994 |TS O-RING PLUNGER 1.78
99063999 |TS O-RING PLUNGER 1.46
99064060 |## 3/8 TUBE OD - 1/4 TUBE OD 3.88
99064080 |IS RETAINER C CLIP 1.49
99064081 |IS RETAINER SPRING 1.79
99064083 |IS RING RETAINING 0.78

STS # 800130

Page 93



Best Plumbing Specialties - Pricelist 2/13/2013

99064217 |IS AERATOR 22.74
99064237 |SS LIMIT STOP RING 3.71
99064340 |## WINDOW & O-RING BEFORE 3.55
99064489 |HT INSERT - PUSH BAR GRAY 5.26
99064920 |TS ASM SPINDLE NSF - LH/HOT 47.95
99065197 |BD 3/8 BRASS COUPLING 31.07
99065349 |SL 2.2 GPM LAMINAR FLOW SPRAY 25.13
99065512 |AC FLO-CLOZ HOT CANOPY HANDLE 59.19
99065513 |AC FLO-CLOZ COLD HANDLE/ 98.63
99065514 |AC FLO-CLOZ HOT HANDLE/CARTRIDGE 98.63
99065761 |DB 3/4 ANGLE STEAM TRAP 73.90
99070002 |## HANDLE SET SCREW 2.18
99070004 |SS DIAL 17.89
99070006 |SS O-RING 3.71
99070007 |SS LIMIT STOP W/O-RING 8.07
99070015 |SS STOP RETAINER WASHER 4.06
99070016 |SS STOP RETAINER SCREW 4.06
99070017 |SS STOP SPINDLE (PAIR) 38.29
99080016 |NI S/L PLASTIC CARTRIDGE 24.79
99080025 |PW PHIL HD BRASS SCREW 9.04
99080049 |BD OPERATING ROD & SPRING 44.32
99080063 |BD BIBB WASHER 5.19
99080073 |## 8 IN C-C CAST SWING SPOUT 72.26
99080108 |CG 2-1/8 IN METAL CANOPY HANDLE 117.56
99080152 |BD SUPPLY PIPE CIRCULAR WASH 79.85
99080155 |BD SUPPLY TUBE CIRCULAR WASH 84.18
99080172 |MN 69 IN DOUBLE LOCK HOSE (CP) 61.34
99080173 |MN LEVER HANDLE ASSY (CP) 31.75
99080180 |1-1/4 SCH 40 PVC CAP SLIP 0.67
99080205 |BD BUTTON HD SCREW 17.79
99080265 |MN 2 IN HANDLE EXTENSION KIT 36.25
99080282 |SL PISTON KIT / GEM 1.0 GPF 30.09
99080302 |1 IN SCH 40 PVC 90 DEG ELBOW 0.81
99080304 |1 IN SCH 40 PVC MALE ADAPTER 0.58
99080365 |## PACKING 9.17
99080435 |SS LOOP HANDLE (CP) 29.89
99080462 |PW PLUG BUTTON W/INSERTS (CP) 19.68
99080472 |## 1IN SCH 40 PVC COUPLING 0.51
99080475 |1IN SCH 40 PVCTEE 0.85
99080503 |TS 56 IN FLEXIBLE S/S HOSE 73.12
99080510 |PP AVANTE CARTRIDGE ASSY 21.18
99080514 |GE 2.2 GPM MALE AERATOR W/FLOW 9.39
99080559 |SL FILTER O-RING 1.68
99080628 |SL ROYAL EXP 1.5 URINAL 175.54
99080705 |SL 1IN STANDARD WHEEL HANDLE 45.58
99080849 |AC 8-32 X 3/16 ALLEN HD S/S SET 16.69
99080870 |FH SNAP RING 1.69

STS # 800130

Page 94



Best Plumbing Specialties - Pricelist 2/13/2013

99080881 |RI 10 FT REAR GUIDE HOSE 145.72
99080888 |1-1/4 SCH 40 PVC COUPLING 0.62
99080939 |TS ROSETTE 1.78
99081051 |AC STOP STEM 50.25
99081154 |1-1/4 SCH 40 PVC MALE ADAPTER 0.63
99081207 |## SL INSIDE PARTS KIT .5 GPF 38.20
99081229 |CG RIVET PIN (BRIGHT NICKEL) 2.07
99081554 |## SOLENOID & MOUNTING HARDWARE 55.77
99081846 |## LH TRIP LEVER FOR FLUSHMATE 49.01
99081868 |BO ALL PURPOSE SOAP VALVE 37.28
99081900 |WC CONCAVE PUSH BUTTON ASSY 13.44
99081913 |##AS LH TRIP LEVER (CP) 13.67
99082001 |## FLAPPER KORKY PLUS REG FLUSH 6.74
99082087 |TS REPAIR KIT FOR SELF-CLOSING 25.45
99082158 |SL REPAIRKIT 19.00
99082345 |BD DOME DIAL 36.22
99082346 |BD NUT LOCK 26.07
99082347 |BD NUT W/ O-RING 34.90
99082348 |BD CAP 179.52
99082394 |1-1/2 SCH 80 PVC CAP SOCKET 4.28
99082400 |SS 6 IN LEVER HANDLE 38.73
99082406 |SL FLANGE SPUD 21.87
99083030 |SS SHELL FOR SCOT LAVATORY 85.63
99083179 |SP PALM PUSH BUTTON CARTRIDGE 62.32
99083216 |TS NOZZLE RIGID GOOSNECK SPT 39.82
99083411 |EB BUBBLER HEAD W/ 1/4 NPT (CP) 327.33
99084464 |## HEX WRENCH FOR SIDE MOUNT 5.35
99084799 |BD NYLON SPACER SUPPORT TUBE 21.21
99084802 |BD NUT 3/8-16 HEX LOCK OPEN 13.16
99084803 |BD 1/4-20 X1/8 SET SCREW 6.31
99085061 |SL COVER SCREW GASKET 0.85
99085525 |CE COUPLING NUTS & WASHERS 8.32
99085589 |SL VOLUME REGULATOR 2.4 GPF/ 2.06
99085996 |TS CROSS BODY & HARWARE KIT 37.23
99090042 |SL 1-1/2 SUPPORT ROD RING 32.07
99090059 |BD SUPPORT TUBE 54 153.04
99090062 |BD SPRAY HEAD FOR SEMI CIRCLE 295.84
99090063 |BD SUPPLY PIPE CIRCULAR HAND 89.62
99090064 |BD TIEROD 54 IN 20.47
99090065 |BD TIE ROD NUT 6.49
99090066 |BD SET SCREW 10-24 X 3/8 HEX 4.08
99090099 |MN STEM BUSHING SUPPORT 3.48
99090102 |WW PUSH PULL/LIFT & TURN 14.96
99090109 |GR EUROMIX HANDLE ASSY (CP) 40.13
99090111 |SL YOKE ASSY 6.95
99090190 |## BIG STRETCH 10.5 OZ 8.67
99090267 |DY 1/2 IN PUSH BUTTON 12.80

STS # 800130

Page 95



Best Plumbing Specialties - Pricelist 2/13/2013

99090344 |MN ESCUTCHEON CHATEAU 7900 42.28
99090536 |PW RUBBER RETAINER 20.68
99090562 |TS SERV SINK BST ASSY 23.05
99090681 |2 IN SCH 80 PVC UNION SOCKET 17.50
99090696 |SL REGAL EXP 3.5 URINAL 87.39
99090813 |FH 14 IN SWING SPOUT: 3/4 IN (CP) 74.38
99090815 |SS DOME COVER & LOCK NUT 44.54
99090816 |SS ESCUTCHEON 46.73
99090817 |SS 8-32 X 1-3/4 IN ESCUTCHEON SCREW 3.71
99090922 |3/4 SCH 80 PVC MALE ADAPTER 2.49
99090923 |3/4 SCH 80 PVC FEMALE ADAPTER 2.69
99091075 |TS 60 IN FLEXIBLE S/S HOSE 76.28
99091104 |## LONG HANDLE SKIRT (CP) 19.36
99091114 |##CD PURPLE PRIMER/CLEANER 13.47
99091278 |PW 8-32 X1 IN FLAT HD BRASS SCREW 9.04
99091280 |PW INSERT 30.95
99091347 |SL SPLIT RING BRACKET FOR V/B 44.03
99091644 |MC HOT & COLD SHOWER VALVE 569.26
99091645 |MC SINGLE VALVE PNEUMATIC 331.98
99091646 |MC SINGLE VALVE PNEUMATIC 258.56
99091647 |MC SINGLE TEMP VALVE ASSY 0.5 GPM 223.38
99091648 |MC SINGLE TEMP PNEUMATIC VALVE 260.65
99091665 |BD NUT M7X1 HEX 7.43
99091853 |IS VALVE STEM REPAIR KIT 29.55
99092324 |TS ROSE SPRAY 55/64-27 F 35.34
99092644 |WHO REPLACEMENT TIP (WHITE) 2.71
99092757 |##LF* LEAD FREE 1 IN BRASS 90 33.25
99100090 |BD SPRAYHEAD AERATOR 40.06
99100094 |CE CAP NUT - CENTRAL 12.26
99100095 |CE CAP NUT - HOT INDEX 12.26
99100096 |CE CAP NUT - COLD INDEX 12.26
99100097 |CE SAMSON LOCK SLEEVE (10/PACK) 4.22
99100098 |CE SAMSON NUT (10/PACK) 6.69
99100099 |CE SAMSON NUT (BRASS) LEFT HAND 11.57
99100100 |CE FOUR ARM SELF-CLOSING 30.12
99100101 |CE BRASS BALLS (9/PACK) 6.46
99100102 |CE SELF-CLOSING STEM & 39.76
99100103 |CE PACKING (10/PACK) 12.40
99100104 |CE PACKING SPRING (10/PACK) 6.74
99100105 |CE GLAND - CHROME PLATED 19.61
99100106 |CE SPRING 3.33
99100107 |CE SELF-CLOSING STEM ASSY 13.43
99100108 |CE GASKET NYLON (12/PACK) 8.40
99100125 |##CG STILT WASHER NF 3.54
99100126 |NUT (RB) 6.91
99100127 |CG BRASS WASHER (RB) 6.01
99100128 |CG STEEL WASHER NF 2.84

STS # 800130

Page 96



Best Plumbing Specialties - Pricelist 2/13/2013

99100129 |CG NUT (RB) 8.77
99100130 |CG COUPLING NUT FOR 3/8 OR 1/2 IN 6.28
99100131 |CG COUPLING NUT FOR SW & WC 13.78
99100132 |CG RUBBER WASHER NF 2.07
99100133 |CG BRASS WASHER (RB) 2.07
99100134 |CG SWIVEL ASSY (RB) 41.90
99100135 |## RETAINER (RB) 3.67
99100136 |CG NUT (RB) (TRANSFER PART) 9.21
99100137 |## RUBBER WASHER NF 2.78
99100138 |CG SWIVEL ASSY (RB) 41.90
99100139 |## ESCUTCHEON NUT (CP) 11.99
99100141 |## STEEL WASHER NF 2.59
99100142 |## ESCUTCHEON (CP) 19.06
99100182 |DE *NR SMALL INNOVATIONS LEVER 37.90
99100217 |BG STRAINER GASKET 18.80
99100218 |BG OIL WICK 2.30
99100251 |BG BODY GASKET FOR #100 4.03
99100254 |SL WHEEL STOP 12.23
99100262 |AC 1/4-20 X 1-1/2 FLAT HD ALLEN W/ 19.40
99100285 |EK BUTTON ASSY 14.19
99100286 |EK SCREW 3.98
99100288 |EK 1/4-28 SET SCREW 3.56
99100289 |EK HANDLE INSERT 7.51
99100315 |GR TRICORN DELUXE SOLID BRASS 49.71
99100316 |GR HANDLE CONNECTING SET 18.07
99100318 |GR HANDLE CONNECTING SET 18.07
99100320 |GR HANDLE CONNECTING SET 17.61
99100323 |GR 1/2 IN COMPRESSION CARTRIDGE/ 24.30
99100324 |GR CARTRIDGE SPINDLE O-RING 17.15
99100325 |GR O-RING FOR 07 146/07 147 15.29
99100326 |GR SEAT WASHERS FOR CARTRIDGES 11.12
99100327 |GR CLASSIC LAV LIFT ROD (CP) 37.55
99100328 |GR MALE LAMINAR FLOW CONTROL 23.20
99100330 |GR EUROMIX LAV MOUNTING SET 18.78
99100331 |GR POP-UP WASTE ASSY (CP) 71.41
99100334 |GR 6 IN EURO ESCUTCHEON (CP) 23.75
99100335 |GR 1-1/2 EXTENSION FOR CENTERSET 32.03
99100336 |GR 2 IN EXTENSION FOR CENTERSET 34.40
99100337 |GR EUROMIX CAP (CP) 33.13
99100339 |GR EUROMIX LAV LEVER (CP) 39.76
99100340 |GR EUROMIX LEVER CLAMPS (1 SET) 18.07
99100341 |GR EUROMIX CARTRIDGE LOCK NUT 18.78
99100343 |GR CLASSIC LAV LIFT ROD (CP) 26.51
99100349 |GR TRICORN DELUXE SOLID BRASS 43.40
99100351 |GR WIDESET FLANGE (CP) 32.03
99100352 |GR CLASSIC WIDESET MOUNTING SET 28.72
99100354 |GR 1/2 IN COUPLING NUT 16.94

STS # 800130

Page 97



Best Plumbing Specialties - Pricelist 2/13/2013

99100355 |GR CLASSIC WIDESET CONNECTING 22.09
99100371 |##KH ESCUTCHEON (CP) 40.92
99100394 |##KH STABILIZER 5.14
99100407 |## NUT FOR STRAINER DRAIN 21.79
99100463 |KH HOT STEM 14.73
99100479 |MN HANDLE ASSY LEGEND LEVER 67.36
99100481 |MN GROOVED SLEEVE LEVER 34.23
99100482 |MN STOP TUBE (CP) 8.99
99100483 |MN MOUNTING HARDWARE 19.07
99100484 |MN CARTRIDGE NUT 8.60
99100485 |MN HARDWARE KIT LAVATORY DRAIN 13.29
99100487 |MN BRASS DRAIN SEAT (CP) 10.62
99100492 |NI HOT BUTTON 0.75
99100493 |NI COLD BUTTON 0.75
99100496 |PP .72 OVAL HEAD SCREW (CP) 0.84
99100497 |PP POP-UP FLANGE (CP) 10.11
99100511 |SL TUBE FITTING 14.39
99100512 |SL POWER CORD 21.59
99100514 |SL AERATOR .05 GPM MALE 25.13
99100518 |SL MICROPHONE SENSOR ASSY 84.85
99100520 |## PACKING NUT 5.17
99100532 |SP KEY FOR AERATOR 3.67
99100533 |SP PLUG 3.67
99100539 |SL 3/8 COMPRESSION NUT (CP) 3.12
99100540 |SL FERRULE 3/8 OD TUBE 1.29
99100542 |SP PLAIN METERING EASY-PUSH 42.68
99100544 |SP PALM BUTTON 27.17
99100545 |SP METERING WASHER KIT 27.30
99100550 |SP LOCKNUT 3.67
99100551 |SP RUBBER WASHER 3.67
99100558 |SP 6 IN WRIST BLADE HANDLE 46.87
99100564 |## 2.2 GPM AERATOR (CP) 6.49
99100568 |SP FLANGE ASSY W/HOLE 47.53
99100570 |SP CHANNEL WASHER 8.68
99100571 |SP WIDESPREAD LAV SPOUT W/O 66.91
99100572 |SP WIDESPREAD LAV SPOUT W/ 83.53
99100576 |SP BUSHING 3.67
99100578 |## 4 IN WRIST HANDLE REPAIR KIT (CP) 36.32
99100579 |SP BRASS WASHER 3.67
99100595 |SP SET SCREW 3.83
99100595 |SP SET SCREW 3.83
99100632 |AS LH COLD STEM NUT (CP) 2.30
99100644 |RQ LOWER DIVERTER 7.11
99100682 |NI CHROME HANDLE 8.65
99100683 |NI LOCK RING 0.85
99100767 |CE SPOUT NUT (2/PACK) 7.74
99100768 |CE BRASS PACKING NUT (10/PACK) 9.41

STS # 800130

Page 98



Best Plumbing Specialties - Pricelist 2/13/2013

99100769 |CG NUT (RB) 6.28
99100771 |CG NUT (RB) 4.02
99100772 |CG SPOUT BASE ASSY (CP) 57.82
99100774 |CG CAP (CP) 19.79
99100775 |CG BODY OUTLET ADAPTER 1 IN 30.74
99100776 |CG 3/8 X 23 IN RISER (CP) 69.71
99100777 |CG PIPE SUPPORT ASSY FITS 3/8 NPT 42.66
99100778 |CG SPRING FOR GOOSENECK (CP) 58.09
99100781 |CG 9-1/2 IN C-C SWING SPOUT 47.94
99100782 |CE RUBBER WASHER (6/PACK) 0.92
99100783 |CE 6 IN TUBE SPOUT W/AERATOR 28.64
99100785 |CG CONNECTION ASSY (RB) 41.81
99100786 |CG LOCKNUT (RB) 9.21
99100787 |CG CAST SPOUT (CP) 50.54
99100788 |CG 2-1/2 OFFEST INLET SUPPLY ARM 49.55
99100789 |CG SEAT (RCF) 12.44
99100790 |## CELCON WASHER NF 2.84
99100791 |## 1/2 IN VACUUM BREAKER (CP) 51.75
99100794 |CG FLANGE (CP) 18.18
99100797 |EK COUPLING NUT 8.03
99100798 |EK DIVERTER ASSY 16.91
99100799 |EK MOUNTING HARDWARE 6.25
99100801 |EK SMALL BUTTON (COLD) 3.56
99100802 |EK SMALL BUTTON (HOT) 3.56
99100803 |EK SMALL CRYSTALAC HANDLE 8.78
99100807 |EK GASKET 3.81
99100812 |EK SPOUT ASSY W/COMPONENTS 46.30
99100816 |EK BELLEVILLE WASHER 7.51
99100817 |EK HANDLE SCREW 3.56
99100821 |EK MOUNTING HARDWARE 10.94
99100823 |EK CAP NUT (CP) 10.01
99100824 |GE KITCHEN SPOUT NUT 13.14
99100825 |GR 7-3/4 IN SWAN SPOUT (CP) 36.03
99100826 |GR FEMALE LAMINAR FLOW CONTROL 16.57
99100831 |GR SPRAY & HOSE FOR KITCHEN (CP) 38.48
99100832 |GR SPRAY HOLDER FOR KITCHEN 64.42
99100834 |GR ULTRA 100 HANDLE PAIR (CP/PB) 145.61
99100836 |GR HANDLE CONNECTING SET 18.07
99100888 |WV HOT INDEX BUTTON 3.41
99100889 |WV COLD INDEX BUTTON 3.41
99100890 |WV LOCKNUT CLIP (6/PACK) 11.76
99100891 |WV HEX NUT (6/PACK) 12.16
99100892 |WV FRICTION WASHER (6/PACK) 9.17
99100893 |WV SELF CLOSING HANDLE 22.14
99100894 |WV ROLLER BEARING ASSY (6/PACK) 39.64
99100895 |WV PACKING NUT (6/PACK) 57.36
99100897 |WV STEM PACKING (6/PACK) 17.06

STS # 800130

Page 99



Best Plumbing Specialties - Pricelist 2/13/2013

99100898 |WV RETAINER WASHER (6/PACK) 10.28
99100899 |WV LIFT SPRING (6/PACK) 29.22
99100900 |WV VALVE STEM (6/PACK) 52.23
99100901 |WV VALVE DISC (6/PACK) 12.85
99100902 |WV RH BARREL (6/PACK) 39.31
99100944 |MN SPOUT CAP W/O-RING (CP) 16.65
99100945 |MN SPOUT CHATEAU (CP) 56.60
99100948 |NI S/L CARTRIDGE ALLEN WRENCH 0.68
99100949 |NI 8 IN KITCHEN SPOUT W/AERATOR 32.10
99100955 |## HOT STEM 7.80
99100956 |PP WASHER 0.95
99100960 |PP MOUNTING HARDWARE 9.63
99100961 |PP S/L HANDLE (CP) 22.11
99100973 |RQ DIVERTER VALVE - STERLING/ 10.20
99100977 |SP WOOD SCREW 3.67
99100978 |SP SPIRAL PIN 3.67
99100979 |SP SLEEVE-HANDLE & CARTRIDGE 3.67
99100980 |## TRIM COLLAR (CP) 8.41
99100981 |SP SERVICE NOZZLE (CP) 35.10
99100982 |## OEM VAC BREAKER (CP) 124.69
99100983 |## OEM VAC BREAKER (RCP) 66.42
99100984 |SP RUBBER WASHER 3.83
99100985 |SP SWIVEL ASSY 45.87
99100986 |SP 1/2 X 1IN LG TUBE 9.84
99100987 |SP FLANGE 17.15
99100988 |SP RETAINING NUT 3.67
99100989 |SP SCREW 3.83
99100991 |SP SEAT 4.00
99101007 |TS SPREADER GASKET 13.79
99101008 |TS BALL BEARING 1.62
99101009 |TS SPREAD UNIT 49.55
99101010 |TS PUSH BUTTON 3.71
99101011 |TS BONNET 21.91
99101012 |TS NIPPLE 7.71
99101013 |TS SPRAY CUP 19.87
99101014 |AC SCREW (10/PACK) 12.64
99101016 |AC FLO-CLOZ HOT & COLD 41.28
99101017 |AC 10-32 X 2 IN FLAT HD ALLEN W/ 3.83
99101018 |AC FLO-CLOZ SINGLE-TEMP CANOPY 43.53
99101021 |AC OVAL ESCUTCHEON FOR SINGLE- 47.79
99101022 |AC METER-MATIC CARTRIDGE W/ 110.61
99101023 |AC UNION NO STOP ASSY 32.93
99101024 |AC UNION NO STOP ASSY 54.93
99101035 |TS SHIELD 43.93
99101036 |TS VALVE BODY 39.35
99101042 |## SCREW 6.67
99101043 |BD INDEX WASHER (WHITE) 5.19

STS # 800130

Page 100



Best Plumbing Specialties - Pricelist 2/13/2013

99101044 |BD INDEX WASHER (BLUE) 5.19
99101045 |BD INDEX WASHER (RED) 5.19
99101046 |BD HANDLE 22.23
99101047 |BD BONNET 28.42
99101048 |## O-RING 4.45
99101049 |BD BRASS WASHER 6.67
99101050 |BD VALVE STEM 27.10
99101051 |## VALVE STEM EXTENSION 5.19
99101052 |BD GASKET PRECAST SUPPORT TUBE 22.09
99101053 |BD WASHER 3.86
99101054 |## FIBRE WASHER 4.06
99101055 |##BD VALVE STEM ASSY 39.47
99101056 |BD SCREW 10-24 X 1/2 PN 4.08
99101057 |BD SQUARE RING EF 4.27
99101058 |BD ROTOR 31.99
99101059 |BD WASHER 6.47
99101060 |BD SPRING 31.65
99101061 |##BD O-RING 5.19
99101062 |BD HANDLE HOUSING 175.13
99101063 |BD SERVICE STOP 6.86
99101064 |BD HOT LIMIT STOP 9.14
99101065 |BD SET SCREW 5.33
99101066 |BD BODY GASKET 5.19
99101067 |BD TOP SEAT GASKET 7.04
99101068 |## BD SCREW 4.08
99101069 |BD ESCUTCHEON SCREW 4.95
99101070 |BD SCREW 4.08
99101076 |## DELTA CLEAR HANDLE W/ 17.27
99101077 |## DELTA SPOUT NUT (CP) 14.15
99101078 |## ESCUTCHEON FOR PUSH 35.17
99101079 |## ESCUTCHEON W/GASKET (CP) 35.17
99101085 |GE HEAD & O/F TUBE 9 IN 20ga 21.18
99101090 |GE SHOE & 4 IN TUBE ASSY 17ga 29.99
99101092 |GE SHOE & 5 IN TUBE ASSY 17ga 22.09
99101148 |## STEM ADAPTER KIT 4.10
99101187 |LA REPLACEMENT HANDLE SCREW (CP) 17.67
99101188 |LA REPLACEMENT LEVER HANDLE (CP) 42.58
99101192 |LA FACE PLATE ASSYKITH 231.05
99101201 |## LAWLER 1/2 IN UNIVERSAL 244.26
99101202 |LA 3/4 IN UNIVERSAL COMPLETE 367.32
99101203 |LA SERIES61 & 67 1/2 INKITB 49.05
99101204 |LA SERIES 61 & 67 3/4 INKIT B 55.43
99101205 |LA 1/2IN PISTON & LINER ASSY KIT C 183.95
99101206 |LA SERIES 410 3/4 IN PISTON & LINER 231.94
99101207 |LA 1/2IN - SERIES 4000 COVER & 153.87
99101208 |LA SERIES 4000 3/4 IN COVER & 166.28
99101210 |LA 1/2 IN UNIVERSAL COMPLETE 292.37

STS # 800130

Page 101



Best Plumbing Specialties - Pricelist 2/13/2013

99101211 |LA SERIES61 & 67 1/2 INKITF 108.98
99101212 |LE 4-ARM HANDLE 45.57
99101213 |LE THERMOSTAT CONTROL ASSY 310.02
99101214 |LE BRIDGE ASSY 151.25
99101216 |LE COVER O-RING (TA) 3.52
99101218 |LE BRIDGE 31.55
99101219 |LE PORT SLEEVE ASSY 75.16
99101220 |LE PORT SLEEVE PACKING 3.66
99101221 |##LE COVER GASKET 5.28
99101226 |LE SEAT 13.25
99101228 |LE SEAT WASHER KIT 5.28
99101229 |LE BONNET WASHER & SPACER 3.66
99101230 |LE BONNET (CP) 32.75
99101231 |LE STEM PACKING 3.66
99101232 |LE BONNET CAP (CP) 16.20
99101234 |LE LOWER STEM W/PACKING 19.14
99101235 |LE SPRING 7.23
99101236 |LE UPPER STEM ASSY (CP) 17.61
99101237 |LE BONNET (ROUGH) 27.02
99101238 |LE POINTER (CP) 45.09
99101239 |LE STOP SCREW (CP) 8.62
99101242 |LE THERMOSTAT GROUP 285.61
99101243 |LE COIL SLEEVE STUD 21.89
99101244 |LE COVER SCREW 3.71
99101245 |LE FLANGE PACKING 12.23
99101246 |LE FLANGE PACKING 9.45
99101249 |LE PORT SLEEVE NUT ASSY 34.94
99101250 |LE PORT SLEEVE NUT ASSY 42.94
99101251 |LE THERMOSTAT CONTROL ASSY 263.25
99101252 |LE THERMOSTAT CONTROL ASSY 229.10
99101253 |LE BRIDGE ASSY 100.80
99101254 |LE POINTER ROD NUT 3.66
99101255 |LE PORT SLEEVE HOLDER NUT 9.08
99101256 |LE PORT SLEEVE HOLDER 14.55
99101257 |LE PORT SLEEVE ASSY 49.79
99101258 |LE BRIDGE 34.17
99101259 |LE PORT SLEEVE PACKING 3.66
99101261 |LE GLAND PACKING 3.52
99101262 |LE STOP 15.76
99101263 |LE RETAINING RING (TA) 3.52
99101264 |LE THERMOSTAT GROUP 122.13
99101265 |LE THERMOSTAT GROUP (PHOTO) 140.92
99101266 |LE BONNET (CP) 31.81
99101269 |## LOCK NUT ASSY 9.05
99101270 |TS ESCUTCHEON 19.32
99101271 |## TS TOP LOCK NUT 4.75
99101272 |TS WASHER 3.55

STS # 800130

Page 102



Best Plumbing Specialties - Pricelist 2/13/2013

99101273 |## TS BOTTOM LOCKNUT 8.60
99101274 |TS NUT 6.97
99101275 |TS WASHER 1.34
99101276 |TS SPRAY 31.34
99101277 |TS BODY 53.82
99101278 |TS WASHER 2.23
99101279 |TS LOCK NUT 2.67
99101280 |TS BRASS WASHER 1.93
99101281 |TS NIPPLE - 12 IN CENTER 18.24
99101282 |TS NIPPLE - 8 IN CENTER 8.16
99101283 |TS BRASS WASHER 1.78
99101284 |TS STAR WASHER 2.23
99101285 |TS NUT 4.30
99101286 |TS BEVELED WASHER 1.62
99101287 |TS FRICTION WASHER 1.93
99101288 |TS RIGID GOOSENECK SPOUT - 5-1/2 41.47
99101289 |##TS GOOSENECK 43.00
99101291 |LA 1/2 IN THERMOSTAT ASSY KIT F 110.85
99101293 |LA 1/2IN PISTON & LINER ASSY KIT C 189.21
99101295 |LA FACE PLATE ASSYKITH 191.65
99101297 |LA SERIES 410 3/4 IN THERMOSTAT 129.64
99101309 |VA BLADE HANDLE W/INDEXES & 8.19
99101311 |LE SEAT PACKING & SCREW 5.00
99101312 |LE STEM W/WASHER & SCREW (RP) 34.18
99101314 |LE BONNET PACKING 3.66
99101315 |LE BONNET (RP) 19.14
99101316 |MC PUSHBUTTON ESCUTCHEON 25.70
99101317 |MC BUTTON 11.65
99101318 |MC LOCK WASHER 2.03
99101324 |MC FILLER BUBBLER 47.96
99101330 |MN STOP TUBE W/ADJUSTABLE LIMIT 24.35
99101332 |MN 1IN HANDLE EXTENSION KIT 35.79
99101338 |## PW STEM & BONNET REPLACEMENT 63.41
99101347 |CG CHECK TAILPIECE (RB) 23.41
99101358 |PW STRAINER REPLACEMENT KIT 84.17
99101362 |GR DIVERTER FOR KITCHEN FAUCETS 37.67
99101363 |PW CHECK STOP REPAIR KIT 84.17
99101364 |PW GASKET & DISC REPAIR KIT 64.93
99101365 |PW GASKET & DISC REPAIR KIT 84.17
99101366 |PW GASKET & DISC REPLACEMENT 89.56
99101367 |PW MIXING VALVE KIT (PRIOR 91) 577.09
99101368 |PW 434 POPPET KIT (PRIOR FEB 91) 422.83
99101369 |PP 1/2 HOLLOW PIPE PLUG 4.29
99101371 |PP COLLAR (CP) 10.55
99101375 |## ACRYLIC HANDLE 11.30
99101378 |PP STEM ASSY 9.17
99101394 |SP RETAINING PIN 5.17

STS # 800130

Page 103



Best Plumbing Specialties - Pricelist 2/13/2013

99101395 |SP LIMIT STOP PLATE 3.83
99101398 |SP PLUG 12.54
99101400 |SP RETAINING NUT 5.17
99101401 |SP VOLUME CONTROL 3.67
99101402 |SP PAN HEAD SCREW 3.67
99101405 |##SP ESCUTCHEON (PC) 41.86
99101407 |SP RETAINING WASHER 3.83
99101415 |LE POINTER SCREW W/WASHER 3.80
99101416 |LE THERMOMETER 73.00
99101417 |LE THERMOMETER GASKET 5.00
99101418 |LE THERMOMETER CLIP 8.71
99101419 |LE THERMOMETER WELL 17.67
99101420 |LE THERMOMETER O-RING 3.66
99101422 |LE WALL FLANGE SCREW 6.67
99101423 |LE DIAL PLATE 20.40
99101424 |LE WALL FLANGE 58.25
99101425 |LE WASHER 3.33
99101426 |LE COVER GASKET 3.52
99101427 |LE UPPER CUP 18.26
99101428 |LE UPPER CUP PACKING 5.28
99101429 |LE CONTROL ROD O-RING 3.66
99101430 |## CONTROL ROD GROUP 86.43
99101431 |LE LOWER PACKING & SCREW 4.64
99101432 |LE SLEEVE PACKING 3.52
99101433 |LE CHECK BONNET PACKING 3.66
99101434 |LE WALL FLANGE SCREW 5.56
99101435 |LE WALL FLANGE 44.15
99101437 |LE POINTER WASHER 3.66
99101438 |LE POINTER COMPLETE 56.77
99101439 |LE POINT CAP 3.80
99101440 |LE POINTER SCREW 3.66
99101442 |LE BRIDGE HOLDER NUT 9.45
99101444 |LE VALVE CUP W/PACKING 10.56
99101445 |LE CONTROL ROD NUT 3.66
99101446 |LE CONTROL ROD WASHER 3.66
99101447 |LE BRIDGE WASHER 3.66
99101448 |LE THERMOSTATIC CONTROL YOKE 114.61
99101449 |LE BRIDGE ASSY 93.01
99101450 |LE PORT SLEEVE ASSY 48.04
99101451 |LE PORT SLEEVE PACKING 3.66
99101453 |LE TEST PLUG 2.78
99101454 |LE HANDLE GASKET 3.66
99101455 |LE BONNET COMPLETE (CP) 35.34
99101456 |LE CHECKSTOP REPAIR KIT 28.72
99101457 |LE S STOPS REPAIR KIT 28.72
99101525 |BD BODY 32.10
99101526 |BD NEEDLE ASSY 19.14

STS # 800130

Page 104



Best Plumbing Specialties - Pricelist 2/13/2013

99101527 |BD PLUNGER ASSY 31.76
99101529 |BD DIAPHRAM 11.87
99101530 |BD PLUNGER GUIDE 11.68
99101531 |BD BOTTOM NUT 16.87
99101532 |BD OPERATING LEVER 29.60
99101533 |BD SPRING 5.19
99101534 |BD WASHER 4.82
99101535 |BD SEAT 22.39
99101536 |BD FIBRE WASHER 20.39
99101537 |BD PLUNGER FOR FOOT VALVE 10.01
99101538 |## FOOT VALVE ASSY 254.12
99101539 |BD SEAT KEY 10.20
99101540 |FH LH CHECK STEM 18.41
99101541 |FH RH CHECK STEM 18.41
99101542 |FH SPRING 1.55
99101543 |FH LEVER HANDLE REPAIR KIT 15.23
99101544 |FH RH 1/2 CHECK STEM REPAIR 30.68
99101545 |FH LH 1/2 CHECK STEM REPAIR 30.68
99101546 |FH RETAINER ASSY 13.91
99101547 |FH RH 1/2 SWIVEL STEM REPAIR 23.49
99101548 |FH LH 1/2 SWIVEL STEM REPAIR 23.49
99101550 |MC #8 SCREW 4.64
99101551 |MC #8 LOCK WASHER 2.32
99101557 |MC REPLACEMENT SEAT W/O-RING 33.73
99101559 |MC LH PNEUMATIC CARTRIDGE 171.79
99101560 |MC PUSH BUTTON ADAPTER 53.02
99101561 |MC DIAPHRAM ASSY 38.46
99101563 |TS SNAP RING 2.44
99101564 |TS NYLON PEDAL VALVE BUSHING 1.93
99101565 |TS NYLON SCREW 10.38
99101566 |TS LOCK NUT (6/BOX) 33.36
99101567 |TS SHAFT 19.28
99101568 |FH SLOT ROUND HD SCREW 1.55
99101570 |TS NUT 1.78
99101572 |TS PUSH BUTTON 3.71
99101595 |DY PACKING NUT 8.42
99101596 |DY BONNET 19.09
99101597 |DY SHUT OFF STEM WHEEL HANDLE 9.71
99101600 |DY BONNET WASHER 0.76
99101610 |DY SEAT WASHER 1.02
99101611 |DY WASHER FOR SHUT OFF STEM 0.38
99101612 |DY SCREW FOR SHUT OFF STEM 0.63
99101613 |DY MALE SHUT OFF STEM 2.78
99101614 |DY MALE SHUT OFF STEM 6.29
99101615 |DY GUIDE 3.41
99101616 |DY SEAT WASHER 1.39
99101617 |DY WASHER FOR SHUT OFF STEM NUT 0.96

STS # 800130

Page 105



Best Plumbing Specialties - Pricelist 2/13/2013

99101618 |DY SEAT BUMPER 1.92

99101619 DY BUMPER HOLDER 4.69

99101620 |DY WHEEL HANDLE 11.73
99101624 |DY COMPLETE COVER ASSY 59.30
99101625 |## DIAPHRAGM OPERATING ASSY 37.25
99101626 |DY MAIN VALVE SEAT W/WASHER & 21.03
99101628 |DY COVER ONLY (FOR VALVES W/ 50.81
99101629 |DY COMPLETE COVER ASSY 59.30
99101631 |DY KWIKFIT VALVE BODY ONLY (CP) 78.41
99101632 |DY KWIKFIT CONC VALVE BODY ONLY 75.49
99101633 |## WASHER FOR COUPLING NUT OR 0.39

99101634 |DY WALL SLEEVE BUSHING 18.77
99101635 |DY LOCKNUT 14.29
99101636 |DY COUPLING NUT 16.32
99101637 |## WALL SLEEVE SPACER 7/16 IN 10.45
99101638 |DY WALL FLANGE 26.20
99101639 |DY 1/2 IN PUSH BUTTON 15.67
99101640 |DY COMPLETE COVER ASSY 56.24
99101641 |DY RUBBERFLEX 1/2 IN PUSH BUTTON 35.72
99101642 |DY DIAPHRAGM OPERATING ASSY 41.95
99101643 |DY RUBBERFLEX 3 IN OSCILLATING 53.66
99101644 |DY RUBBERFLEX FOOT PEDAL ASSY 58.25
99101645 |DY KWIKFIT VALVE BODY ASSY (CP) 91.30
99101648 |DY 3 IN OSCILATING DISC 28.87
99101649 |DY SINK FLANGE (FOR USE W/ 1/2 IN 26.20
99101650 |## HOLDER FOR DISCS 17.81
99101651 |DY HOLDING SCREW FOR DISCS 2.67

99101652 |DY STUD FOR FOOT PEDAL 7.14

99101653 |DY FOOT PEDAL 43.65
99101654 |DY BEARING PLATE 7.35

99101656 |DY KWIKFIT UNION TAILPIECE 3 IN 45.83
99101657 |DY HOLDER FOR FOOT PEDAL 20.05
99101658 |DY METAL HANDLE 17.81
99101659 |DY COWL NUT 19.09
99101661 |DY COVER ASSY 38.97
99101662 |DY SPRING HOUSING 15.25
99101663 |DY HANDLE NUT 16.85
99101664 |DY DIAPHRAGM OPERATING ASSY 47.23
99101665 |DY DIAPHRAGM OPERATING ASSY 45.64
99101666 |DY MAIN VALVE SEAT W/AUXILIARY 14.82
99101667 |DY OPERATING STEM 6.19

99101668 |DY 3.5 GPF CLOSET RETRO-FIT KIT 256.63
99101669 |DY 1.6 GPF CLOSET RETRO-FIT KIT 256.63
99101669 |DY 1.6 GPF CLOSET RETRO-FIT KIT 256.63
99101670 |DY 1.5 GPF URINAL RETRO-FIT KIT 242.76
99101671 |DY 1.0 GPF URINAL RETRO-FIT KIT 242.76
99101672 |SL 1IN BACK CHECK BONNET (CP) 12.58

STS # 800130

Page 106



Best Plumbing Specialties - Pricelist 2/13/2013

99101676 |SL STOP CAP 14.13
99101677 |## COVER (CP) 28.72
99101678 |DY HOLDING SCREW FOR DISCS 2.67

99101679 |DY RETAINING RING FOR HOLDING 1.60

99101681 |DY COVER 50.81
99101682 |DY COVER ONLY NON-ADJUSTABLE 34.60
99101685 |## COVER ASSY 36.11
99101689 |LE WALL FLANGE 63.88
99101690 |CE STRAINER PLATE SCREW (10/PACK) 5.42

99101692 |DY RUBBERFLEX 3 IN OSCILLATING 78.27
99101694 |SL 5-1/16 ADJ TAILPIECE (CP) 24.61
99101695 |SL 6-1/16 ADJUSTABLE T/P (CP) 28.21
99101696 |SL BUMPERKIT 4.53

99101697 |SL METAL COVER ASSY FOR ZURN 81.06
99101698 |SL METAL COVER ASSY 79.76
99101701 |## INSIDE COVER W/SOLENOID 74.16
99101702 |## HANDLE CAP 16.77
99101703 |SL BEAM DEFLECTOR 9.45

99101709 |SL 1-1/2 X 21-1/2 VAC BREAKER (CP) 37.26
99101710 |SL 1-1/2 X 11-1/2 VAC BREAKER (RB) 38.10
99101711 |SL 1-1/2 X 3 IN VAC BREAKER (RB) 30.76
99101712 |SL 1-1/2 X 24-1/2 VAC BREAKER (CP) 41.89
99101713 |## 1-1/2 S/J COUPLING (RB) - 2 SETS 12.03
99101714 |SL 1-1/2 X 10 IN S/J ELBOW (RB) 43.16
99101718 |## HEX SOCKET SCREW (CP) 1.74

99101719 |## YOKE & OVERRIDE BUTTON 27.78
99101721 |SL FLANGE ASSY (CP) 16.82
99101722 |SL NOZZLE SUB-ASSY (CP) 40.75
99101724 |SL 3/4 X 10-1/2 VAC BREAKER (CP) 38.77
99101725 |## 3/4S/) COUPLING ASSY (CP) 11.33
99101726 |SL SENSOR PLATE (CP) 35.38
99101727 |SL SENSOR PLATE (CP) 35.38
99101728 |## TUBE GASKET 2.57

99101730 |SL SHORT SPRAY ARM 54.28
99101731 |##SL NOZZLE & TUBE ASSY 12.23
99101732 |## PIVOT REPLACEMENT KIT 44.53
99101733 |SL DEOSEPTIC PIVOT REPLACEMENT 118.01
99101734 |SL PLUG BUTTON (CP) 8.90

99101735 |SL SWIVEL & BALL CHECK ASSY (CP) 88.49
99101736 |SL ASPIRATOR TUBE ASSY 11.68
99101737 |SL DEOSEPTIC BOTTLE 5.70

99101738 |SL DEOSEPTIC DIVERTER REPAIR 38.99
99101739 |SL DEOSEPTIC CONVERTER KIT 171.53
99101740 |SL OUTSIDE COVER RB 26.34
99101743 |SL COUPLING FOR ADJ TAILPIECE (RB) 9.51

99101744 |SL 2-1/16 ADJ TAILPIECE (RB) 15.68
99101745 |SL WHEEL HANDLE BAK-CHEK CONTROL 42.78

STS # 800130

Page 107



Best Plumbing Specialties - Pricelist 2/13/2013

99101746 |## 1-1/2 SLIP JOINT BRASS 90 ELBOW (RB) 21.37
99101747 |SL 1-1/2 COUPLING (RB) W/GASKET 9.04

99101748 |SL VALVE ACTUATOR HOUSING (RB) 24.85
99101749 |SL TUBE FITTING 9.52

99101750 |SL TUBE FITTING NUT 2.67

99101751 |SL 1/4 X 48 IN TAILPIECE TUBE 12.70
99101754 |SL ACTUATING HOUSING ASSY 82.68
99101756 |SL PUSH BUTTON KIT 31.40
99101757 |SL SPRING 1.68

99101758 |SL MOUNTING FLANGE KIT 28.50
99101759 |SL HYDROLIC ACTUATOR VALVE S/A 95.23
99101760 |SL METAL BUTTON KIT 73.62
99101761 |SL SPRING 1.89

99101762 |## ACTUATOR ASSY 114.24
99101763 |SL THREADED ROD 12 IN 3.43

99101764 |SL SPACER 9.94

99101765 |SL MOUNTING STRAP KIT 8.69

99101766 |SL PUSH BUTTON ASSY WALL 74.50
99101767 |SL WALL PLATE (CP) 29.71
99101768 |SL FLANGE METAL PUSH BUTTON (CP) 35.58
99101769 |SL WASHER NK MOUNTING 16.29
99101770 |SL MOUNTING NUT (RB) 17.39
99101774 |DY 3.5 GPF EXP FLUSHBOY CLOSET 93.94
99101775 |DY COVER ONLY (FOR VALVES W/ 50.81
99101776 |DY 1.6 GPF EXP FLUSHBOY CLOSET 93.94
99101777 |DY 1.5 GPF EXP FLUSHBOY URINAL 136.67
99101780 |DY COVER ONLY (FOR VALVES W/ 50.81
99101781 |DY KWIKFIT CONC VALVE BODY ASSY 82.47
99101782 |DY WALL FLANGE 26.20
99101783 |DY 1.6 GPF WATER CLOSET RETRO-FIT 242.76
99101784 |## SL BUSHING (RB) 4.59

99101787 |SL SLIP DISC 0.91

99101788 |SL 1.5 GPF URINAL PISTON ASSY 30.09
99101790 |SL VALVE SPRING FOR GEM 1.68

99101791 |SL 1IN SPUD COUPLING NUT (CP) 13.07
99101792 |##SL 1IN SPUD FLANGE (CP) 8.48

99101793 |## SL 1-1/4 SPUD FLANGE (CP) 8.48

99101794 |SL 1IN FRICTION RING 0.47

99101796 |SL 5-1/2 G/J TAILPIECE (CP) 31.04
99101798 |SL 3/4 SCREWDRIVER STOP G/J 47.91
99101799 |SL 1IN STOP VALVE 49.09
99101800 |SL 1IN SCREWDRIVER ANGLE STOP (CP) 45.77
99101801 |SL 1IN WHITWORTH INLET FOR 51.15
99101802 |SL 1IN BRITISH STD PIPE INLET 44.31
99101803 |SL 1IN INLET FOR ADJ TAIL 51.68
99101804 |SL 3/4 NPTF FOR G/J TAIL 60.49
99101805 |SL 1IN NPTF FOR G/J TAIL 58.27

STS # 800130

Page 108



Best Plumbing Specialties - Pricelist 2/13/2013

99101806 |SL 1IN WHITWORTH INLET FOR 50.59
99101807 |SL 1IN INLET WHITWORTH FOR 57.70
99101808 |SL 1IN NPSM INLET FOR G/J TAIL 60.18
99101809 |SL 1IN SCREWDRIVER STOP ADJ W/ 49.91
99101810 |SL 1IN SCREWDRIVER STOP W/ 49.91
99101811 |SL 1IN WHITWORTH INLET FOR 57.15
99101812 |SL 1IN SCREWDRIVER STOP ADJ W/ 49.91
99101813 |SL 1IN SCREWDRIVER STOP W/ 49.91
99101814 |SL 1IN WHITWORTH INLET FOR 57.15
99101816 |SL 1IN STANDARD SCREWDRIVER 48.61
99101817 |SL 1IN & 3/4 IN WHEEL HANDLE REPAIR 16.95
99101818 |SL 1IN STANDARD WHEEL HANDLE 48.61
99101819 |SL WHEEL HANDLE STOP REPAIR 15.29
99101821 |SL 1IN STANDARD SCREWDRIVER 40.73
99101822 |SL 1IN STANDARD SCREWDRIVER 48.61
99101824 |SL 1IN BONNET LOOSE KEY (CP) 19.16
99101826 |SL 3/8 SMALL STOP CAP (CP) 13.08
99101827 |SL 3/4 WHEEL HDLE REPAIR KIT 17.56
99101835 |SL BONNET ASSY REP KIT- 3/4 & 1IN 45.41
99101836 |SL CONTROL STOP PACKING 8.69
99101837 |SL 3/4 BONNET W/LOOSE KEY (CP) 41.89
99101838 |SL BONNET FOR H-440-AG 1 INCH 30.93
99101841 |SL VALVE BODY (CP) 52.65
99101842 |SL BODY (CP) 81.31
99101843 |SL BODY (CP) 87.97
99101844 |SL VALVE BODY (RB) 46.77
99101848 |SL COVER ASSY (CP) 73.13
99101849 |SL REGULATING SCREW REPAIR KIT 14.73
99101850 |## SHOWER PISTON MAIN SEAT 49.66
99101852 |SL HANDLE KIT W/BRASS BUSHING 12.58
99101854 |SL TOP PLATE-SHOWER VALVE ONLY 12.93
99101855 |SL XPELOR 2.89
99101856 |SL CROWN URINAL GUIDE ASSY 26.62
99101857 |SL VALVE WASHER REPAIR KIT 16.12
99101862 |WHO 4 X 1-1/8 REPLACEMENT 18.76
99101863 |WHO 5 X 1-1/8 REPLACEMENT 21.38
99101864 |WHO 8 X 1-1/8 REPLACEMENT 22.97
99101865 |WHO 2 X 1-1/4 OPEN ENDED 15.76
99101866 |WHO 5 X 1-1/4 OPEN ENDED 22.22
99101867 |WHO 8 X 1-1/4 OPEN ENDED 28.79
99101868 |WHO 9 X 1-1/4 OPEN ENDED 26.85
99101869 |WHO 12 X 1-1/4 OPEN ENDED 31.05
99101870 |WHO 14 X 1-1/4 OPEN ENDED 35.42
99101880 |## CLOSET ROYAL 2.4 GPF INSIDE KIT 38.20
99101881 |SL MOUNTING FLANGE KIT 25.13
99101882 |SL SCREW 1.37
99101884 |SL GUIDE ASSY 20.99

STS # 800130

Page 109



Best Plumbing Specialties - Pricelist 2/13/2013

99101886 |## BUMPER KEEPER (CP) 8.52

99101896 |WHO ANCHOR CLIP - STAMPED S/S 4.10

99101898 |SL 3/4 NPTF INLET 42.78
99101899 |SL 3/4 NPTF INLET FOR GROUND 44.67
99101900 |SL 1IN NPTF INLET FOR ADJ TAIL 44.67
99101901 |SL 1IN WHITWORTH INLET 51.15
99101902 |SL 3/4 NPTF INLET FOR GROUND 44.63
99101903 |SL 1IN WHITWORTH INLET FOR 45.97
99101904 |SL 1IN WHITWORTH INLET FOR 46.40
99101905 |SL 3/4 WHEEL HANDLE STOP 42.83
99101906 |SL 3/4 NPTF INLET FOR ADJ TAIL 44.67
99101907 |SL 3/4 SCREW DRIVER STOP 41.22
99101908 |SL 3/4 SCREWDRIVER STOP (CP) 50.37
99101910 |SL 3/4 SCREWDRIVER STOP (CP) 46.63
99101911 |SL 1IN INLET FOR ADJ TAIL 42.78
99101912 |SL 3/4 INLET FOR G/J TAIL (CP) 48.61
99101913 |SL 1IN INLET FOR G/J TAIL (CP) 48.61
99101914 |SL 1IN INLET FOR ADJ TAIL (CP) 47.53
99101916 |WHO TOP DOOR TRIM 20.74
99101919 |##SR 15/32 PINTLE 2.34

99101922 |## CAM HOUSING 3.83

99101938 |SL HYDRAULIC VALVE ACTUATOR 100.85
99101939 |SL HYDRAULIC VALVE ACTUATOR 100.85
99101940 |SL HYDRAULIC FLUSHOMETER 73.74
99101941 |SL BONNET-CP LOOSE KEY 13.28
99101956 |##SR*NR 5/8 PINTLE 5.28

99101963 |## POWER CAM 9.93

99101982 |## WHO BUMPER KEEPER - ZAMAK 8.43

99101985 |## COAT HOOK & BUMPER - ZAMAK (CP) 6.03

99101988 |## SR*NR BOTTOM POWER BEARING (CP) 15.56
99102021 |BO LOCK & KEY 12.20
99102022 |BO LOCK & KEY 10.66
99102024 |BO DUAL MECHANISM - 25 CENT 117.43
99102026 |BO NAPKIN MECHANISM - 10 CENTS 32.12
99102027 |BO NAPKIN MECHANISM - 25 CENTS 36.82
99102029 |BO TAMPON MECHANISM - 10 CENTS 32.12
99102030 |BO TAMPON MECHANISM - 25 CENTS 36.82
99102033 |BO TAMPON ROTOR 6.49

99102035 |BO COVER W/LOCK & KEY 36.33
99102036 |BO LOCK & KEY FOR COIN BOX 11.20
99102037 |BO KEY FOR COIN BOX 1.79

99102038 |BO HANDLE W/SET SCREW 9.40

99102039 |BO TAMPON WEIGHT 16.57
99102040 |BO NAPKIN WEIGHT 22.30
99102041 |BO COIN PLATE - NAPKIN - 25 CENTS 2.13

99102042 |BO COIN PLATE - TAMPON - 25 CENTS 2.13

99102045 |BO UPPER DOOR LOCK & KEY 10.95

STS # 800130

Page 110



Best Plumbing Specialties - Pricelist 2/13/2013

99102046 |BO TAMPON WEIGHT 14.12
99102047 |BO TAMPON MAGAZINE KIT 117.04
99102048 |BO NAPKIN WEIGHT 33.63
99102049 |BO NAPKIN MAGAZINE KIT 173.02
99102050 |BO LOCK & KEY FOR COIN BOX 10.95
99102052 |BO COIN PLATE - NAPKIN 25 CENTS 7.30

99102053 |BO COIN PLATE - NAPKIN FREE 7.11

99102054 |BO COIN PLATE - TAMPON 25 CENTS 7.30

99102055 |BO COIN PLATE - TAMPON FREE 9.27

99102058 |AC SINGLE-TEMP CHECK STOP 125.32
99102059 |AC CHECK STOP STRAINER & CAP 19.54
99102060 |AC CHECK STOP STRAINER ONLY 6.07

99102061 |AC RED FIBRE GASKET (10/PACK) 16.69
99102062 |AC STRAINER CAP 17.92
99102063 |AC SAFTI-TROL CHECK STOP 32.56
99102065 |AC SAFTI-TROL CHECK STOP SPRING 13.26
99102067 |AC O-RING (10/PACK) 16.69
99102070 |AC O-RING (10/PACK) 16.69
99102071 |AC O-RING (10/PACK) 16.68
99102078 |AC PACKING NUT 28.11
99102079 |AC BACK-UP RING (10/PACK) 16.69
99102080 |SEC RENEWABLE SEAT 34.61
99102083 |AC H&C TEE W/CONNECTORS 70.53
99102084 |AC GASKET (10/PACK) 18.29
99102085 |AC WASHER (10/PACK) 16.68
99102087 |AC TEE 44.61
99102088 |## 1/4 OD X 10 FT CLEAR POLY TUBE 14.55
99102090 |AC PUSH BUTTON ESCUTCHEON 21.14
99102091 |AC HOT AIR CONTROL PUSH BUTTON 16.33
99102092 |AC DIAPHRAGM RETAINER 13.26
99102093 |AC 1/8 OD NYLON COMPRESSION NUT 11.89
99102094 |## 1/8 X 10 FT RED POLY TUBE 14.55
99102096 |AC BELL SPACER 97.44
99102097 |AC LOCKNUT 36.19
99102098 |AC 1/4 OD TUBE X 1/4 NPT MALE 5.82

99102099 |AC COLD AIR CONTROL PUSH BUTTON 16.33
99102100 |## 1/8 X 10 FT BLUE POLY TUBE 14.55
99102101 |AC RETAINING WASHER 16.69
99102102 |##AC METERING SERVOMOTOR COVER 12.47
99102104 |##AC SERVOMOTOR HOUSING ONLY 16.69
99102105 |AC 8-32 STANDARD S/S HEX NUT 13.26
99102107 |AC O-RING (10/PACK) 16.69
99102108 |AC MIXING TEE BODY ONLY 25.70
99102109 |AC SAFTI-TROL CARTRIDGE W/STEM & 96.41
99102110 |AC SAFTI-TROL CARTRIDGE W/EXT 136.59
99102111 |AC POP VALVE CAP 3.72

99102112 |AC SAFTI-TROL CARTRIDGE ASSY 57.13

STS # 800130

Page 111



Best Plumbing Specialties - Pricelist 2/13/2013

99102113 |AC SAFTI-TROL CARTRIDGE SPRING 33.85
99102114 |AC SAFTI-TROL CARTRIDGE SPRING 37.44
99102115 |AC GASKET 4.44

99102116 |AC GASKET (10/PACK) 16.69
99102118 |AC COPPER W/HEAT TREAT THRUST 3.22

99102119 |AC PHENOLIC/LINEN WASHER (10/PACK) 16.69
99102120 |AC SAFTI-TROL STEM & PLATE ASSY - 20.71
99102122 |AC SAFTI-TROL TEMPERATURE LIMIT 7.57

99102123 |##AC SAFTI-TROL BALANCE CARTRIDGE 76.60
99102126 |BO LOCK & KEY - LOWER 11.20
99102127 |AC UNION BONNET 1/2 NPT 41.94
99102129 |AC UNION STOP ASSY 115.87
99102130 |AC UNION BONNET NUT 18.85
99102133 |AC H&C ZENITH EXPOSED WALL MOUNT 213.72
99102137 |AC RUBBER GASKET (EACH) 3.05

99102138 |AC UNION STOP ASSY 192.77
99102139 |AC GASKET (10/PACK) 15.90
99102141 |AC STOP STEM 37.58
99102142 |AC UNION STOP 58.41
99102143 |AC UNION CHECK STOP ASSY 173.18
99102144 |AC CHECK STOP PLUNGER 11.89
99102145 |AC AUTO-CLOZ VALVE ASSY 141.46
99102146 |AC 10-32 X 3/8 ALLEN HD S/S SET 16.68
99102147 |AC 5/161D X 7/16 OD BACK-UP RINGS 16.69
99102148 |AC O-RING RETAINER (10/PK) 16.69
99102149 |AC GASKET 5.41

99102150 |AC ROD ASSY 131.92
99102151 |AC SPRING (10/PACK) 16.69
99102152 |AC QUICK-CLOZ SLEEVE & SEAT 33.24
99102153 |AC GASKET DISC (10/PACK) 17.36
99102154 |AC PISTON 52.27
99102155 |AC U ROD SEAL RING (10/PACK) 55.55
99102156 |AC FELT TIMING GASKET (10/PACK) 20.42
99102159 |AC 10-32 X 1/4 ALLEN HD SET SCREW 16.69
99102160 |## NYLON SEAT GASKET (10/PACK) 13.26
99102161 |AC HOUSING & RETAINER ASSY W/ 141.31
99102163 |AC STOP ASSY 25.95
99102164 |AC STOP BODY 13.57
99102170 |AC ESCUTCHEON 60.87
99102171 |AC GASKET 12.36
99102172 |AC PUSHROD ADJUSTING CUP 32.00
99102173 |AC ROCKER/FULCRUM ASSY W/ 51.30
99102176 |AC BONNET 25.95
99102177 |AC CHECK STOP ASSY L/BONNET 61.87
99102180 |AC GASKET 3.95

99102181 |SEC UNION SPUD 32.13
99102182 |AC 3/8 NPSL RIGID CONDUIT CAD 29.17

STS # 800130

Page 112



Best Plumbing Specialties - Pricelist 2/13/2013

99102183 |SEC NIPPLE 44.31
99102184 |SEC BUSHING 35.10
99102185 |SEC PUSH ROD 14.97
99102186 |SEC ESCUTCHEON BLANK 122.13
99102187 |SEC ESCUTCHEON 58.72
99102189 |SEC CONE WASHER 9.73
99102190 |SEC FRICTION RING 8.18
99102191 |SEC CONE WASHER 9.73
99102192 |SEC FRICTION RING 8.18
99102193 |SEC FRICTION RING 6.64
99102196 |AC ROUND NUT 17.44
99102198 |DY RUBBERFLEX 1/2 IN PUSH BUTTON 82.26
99102199 |AC CONCEALED VALVE BODY FOR 185.98
99102200 |BG FRONT BEARING GASKET 4.03
99102205 |SEC VALVE BODY 231.27
99102206 |SEC TUBE NUT 32.03
99102207 |SEC DISCHARGE TUBE 79.37
99102208 |SEC SLEEVE 12.75
99102209 |SEC FLOW RESTRICTOR 29.11
99102210 |SEC TEE BODY 41.09
99102213 |SEC ROUND PLASTIC NUT 13.44
99102247 |HT BUBBLER - 0.6 GPM (BRIGHT CP) 14.35
99102249 |HT PROJECTOR NIPPLE - PLASTIC 3.71
99102252 |HT PUSH BAR 3.55
99102253 |HT INSERT - PUSH BAR (BRIGHT CP) 16.22
99102255 |HT NUT - 1/4 SELF THREAD 0.63
99102257 |HT SCREW - #10-24 X .50 PHTC 0.51
99102259 |HT KIT - WASTE LINE ASSY 63.15
99102260 |HT EVAPORATOR - REPLACEMENT KIT 143.66
99102261 |HT COMPRESSOR - REPLACEMENT 278.01
99102265 |HT BLADE - FAN 7.780 DIA CW30 7.11
99102274 |HT NUT - HEX #6-32 0.51
99102280 |ZU REVERSE THREAD OPERATING 30.26
99102282 |WHO 2 X 1-1/8 REPLACEMENT 12.70
99102283 |WHO 14 X 1-1/8 REPLACEMENT 36.79
99102288 |ZU HYDRANT PARTS REPAIR KIT FOR 134.23
99102290 |JM ACTUATORKIT 40.81
99102291 |JM O-RING FOR 95006 ACTUATOR 0.51
99102292 |JM KEY FOR #95006 JOSAM ACTUATOR 2.40
99102294 |BWS WORM STEM 24.95
99102295 |## WORM STEM Wade Prier Josam 24.95
99102296 |JM OLD STYLE OPER STEM 50.19
99102304 |SM OPERATING BLOCK 35.24
99102306 |ZU BRASS OPERATING BLOCK 22.85
99102311 |PQ 7/16 BRASS WORM SLEEVE 30.26
99102313 |WD PLUNGER 40.69
99102314 |PQ 5/8 SEAT WASHER 0.80

STS # 800130

Page 113



Best Plumbing Specialties - Pricelist 2/13/2013

99102319 |##PQ RUBBER PLUNGER 39.72
99102320 |WF PLUNGER 12.10
99102321 |## RK-25 REPAIR ASSY 48.08
99102322 |SM SEAT BRASS 15/16 X 3/4 X 27 8.80
99102325 |PQ PACKING NUT BRASS 15.87
99102326 |PQ PACKING NUT CHROME 27.76
99102330 |PQ STEM BUSHING NUT - BRASS 38.69
99102331 |PQ STEM NUT BUSHING - CHROME 104.76
99102332 |PQ WORM NUT ASSY 31.91
99102333 |PQ HYDRANT NUT 56.21
99102335 |PQ BRASS PACKING WASHER 7.69
99102339 |AC STOP BODY 59.11
99102340 |AC PLUNGER 27.63
99102341 |AC PUSH BUTTON FOR PENAL-TROL 30.93
99102342 |AC BONNET (CP) 36.97
99102344 |AC 4-40 X 3/16 PHIL ROUND HD S/S 16.68
99102347 |## BUTTON (CP) 6.80
99102348 |PQ O-RING 0.34
99102352 WD SCREW 0.98
99102353 |PQ CAST BRASS WORM SLEEVE 34.11
99102359 |BG BODY GASKET 3.78
99102361 |BG FLANGE GASKET SET (PAIR) 13.13
99102368 |BG IMPELLER GASKET 2.65
99102369 |LA COVER & SPINDLE KIT E (RB) 87.80
99102371 |SS ACRYLIC TEMP CONTROL HANDLE 25.69
99102376 |## NUT - COVER 1-1/8 - 24 (CP) 13.13
99102381 |AS PLUNGER 5.22
99102382 |SP RUBBER WASHER 3.67
99102387 |TS SHANK NUT 9.64
99102393 |WV LOCK WASHER (6/PACK) 6.53
99102394 |WV PACKING NUT (6/PACK) 36.89
99102395 |WV PACKING NUT O-RING (6/PACK) 10.66
99102402 |DY PACKING NUT 6.19
99102403 |## STOP VALVE KIT 11.12
99102406 |FM MODEL #1 MANUAL CAN OPENER 209.64
99102407 |FM HANDLE W/ARBOR 42.89
99102408 |FM SHAFT BUSHING 14.77
99102410 |FM CAN OPENER SPRING 4.70
99102411 |FM KNIFE HOLDER RIVET 2.98
99102412 |FM DISC WASHER 3.39
99102413 |FM KNIFE HOLDER 27.07
99102414 |## KNIFE 17.08
99102415 |FM KNIFE PLATE 4.10
99102416 |FM KNIFE SCREW 3.11
99102417 |FM CAN OPENER GEAR 40.82
99102418 |FM CAN OPENER BASE 53.97
99102419 |FM CAN OPENER BASE (S/S) 77.20

STS # 800130

Page 114



Best Plumbing Specialties - Pricelist 2/13/2013

99102420 |FM KNIFE HOLDER ASSY 27.07
99102421 |FM SPRING RELEASE CLAMP 61.58
99102422 |FM HANDLE W/ARBOR 40.18
99102423 |FM KNIFE HOLDER 19.76
99102424 |FM CAN OPENER BASE 53.97
99102431 |##FI VAC BREAKER & DISC ASSY 40.77
99102436 |FI BRACE ASSY 13.48
99102440 |##Fl PACKING NUT 6.89
99102449 |FI COUPLING ASSY 38.05
99102454 |FI COMPLETE BODY ASSY 197.61
99102458 |## COLD 1/4 TURN CERAMIC DISC 19.96
99102459 |## HOT 1/4 TURN CERAMIC DISC 19.96
99102467 |ZU CENTERSET GOOSENECK BASE 0.58
99102472 |##ZU HANDLE NUT 3.79
99102477 |ZU 1/2 IN BRASS COUPLING NUT 2.77
99102478 |ZU FRICTION WASHER 1.09
99102479 |PP 6 IN SHOWER ARM (CP) 19.47
99102480 |PP WASHER FOR SHOWER BALL 1.59
99102481 |PP SHOWER BALL NUT (CP) 12.99
99102482 |PP O-RING #117 0.84
99102483 |PP HANDLE ASSY 13.80
99102484 |PP NUT FOR BALL JOINT SHOWER 8.97
99102485 |PP SHOWER BALL (CP) 11.29
99102486 |PP SHOWER ARM FLANGE (CP) 3.74
99102488 |PP SOLDER PLUG 2.98
99102490 |PP O-RING #131 1.08
99102491 |PP O-RING #111 0.58
99102492 |PP BONNET 9.45
99102493 |PP OVAL WALL FLANGE (CP) 27.73
99102495 |PP PROTECTIVE WASHER 0.45
99102496 |PP RETAINER SLEEVE (CP) 16.88
99102498 |PP INDEX BUTTON (CP) 4.45
99102499 |PP TUB SPOUT (CP) 18.39
99102500 |PP TUB SPOUT (CP) 38.53
99102501 |PP TUB SPOUT W/DIVERTER 43.54
99102502 |PP CHECK STOP STEM ASSY 27.90
99102503 |TS AERATOR 7.41
99102504 |TS SHANK NUT 2.67
99102505 |TS POP-UP WASTE ASSY (CP) 36.52
99102552 |HT PUSHBAR - FRONT 16.83
99102584 |ZU HOT PLASTIC INDEX BUTTON (RED) 0.73
99102585 |ZU COLD PLASTIC INDEX BUTTON (BLUE) 0.73
99102594 |ZU SEALING WASHER 1.74
99102601 |ZU METERING VALVE SLEEVE 6.22
99102603 |ZU FILTER 6.42
99102605 |ZU SETSCREW 21.04
99102607 |MN DRAIN SEAT FOR 50/50 DRAIN 33.17

STS # 800130

Page 115



Best Plumbing Specialties - Pricelist 2/13/2013

99102611 |MN TAILPIECE SEAL 50/50 DRAIN 5.79
99102614 |MN SPOUT CHATEAU 2-HANDLE 53.90
99102617 |MN HANDLE SCREWS (2) 4.30
99102618 |MN SPOUT CAP W/O-RING (CP) 21.80
99102620 |MN 2.2 GPM AERATOR FEMALE 10.54
99102621 |MN 2.2 GPM SWING-N-SPRAY 44.72
99102624 |## SCREW 3.71
99102633 |SP PACKING 3.67
99102634 |SP PACKING NUT 13.35
99102635 |## BUSHING 3.83
99102637 |SP SEAT 3.67
99102640 |SP STOP SPINDLE ASSY 17.43
99102641 |SP COMBINATION SWIVEL 13.18
99102645 |## MB TUB/SHOWER TEMPERATURE 32.42
99102648 |PP SCREW (CP) 1.13
99102650 |MB TUB/SHOWER VOLUME CONTROL 44.55
99102651 |MB TUB/SHOWER EXTENDED 6-1/4 IN 61.40
99102652 |MB 4-1/2 IN ESCUTCHEON (CP) 22.14
99102655 |## TEMPERATURE CONTROL HANDLE 8.63
99102656 |MB 5-1/2 IN ESCUTCHEON (CP) 30.58
99102657 |MB RETAINER NUT (CP) 20.74
99102658 |MB TUB/SHOWER DELUXE ROUND 34.37
99102671 |## New Style CARTRIDGE ASSY BLANK 84.89
99102674 |TS SET SCREW S/S 3.11
99102678 |TS CAP INSULATOR 10.38
99102700 |AC MECH METERING SELF-CLOSE 75.87
99102701 |AC NON-METERING SERVOMETER 74.38
99102716 |AMB JEWELITE HANDLE 5.24
99102717 |AMB 2800 DIVERTER BONNET 3.50
99102721 |AMB THREADED ESCUTCHEON 3.81
99102722 |AMB 2800 UNDER BODY 22.47
99102723 |AMB 2800 BONNET 5.24
99102731 |AMB SHOWER HEAD 1/2 CP 7.30
99102732 |AMB 2800 SHOWER ARM 6.98
99102734 |AMB OVER RIM TUB SPOUT 14.60
99102739 |AMB 2700 UNDER BODY 19.68
99102740 |AMB 2700 BONNET 4.60
99102742 |AMB 2700 STEM 4.60
99102746 |AMB TUB/SHOWER/GARDEN RENU 3.97
99102747 |AMB SHOWER ARM CP 5.55
99102748 |AMB SHOWER ARM FLANGE 3.65
99102750 |AMB HANDLE 13.80
99102752 |AMB CAM W/ RING 11.11
99102753 |AMB HEART CAM W/ WASHER 11.11
99102754 |AMB BALL ASSY 10.32
99102757 |AMB BODY 24.12
99102758 |AMB SPOUT 19.68

STS # 800130

Page 116



Best Plumbing Specialties - Pricelist 2/13/2013

99102759 |AMB AERATOR 5.55
99102761 |AMB COVER PLATE 13.49
99102762 |AMB BOTTOM PLATE 7.46
99102763 |AMB PUTTY GASKET 3.97
99102769 |AMB LAV BONNET 3.97
99102771 |AMB LAV STEM 3.97
99102780 |AMB CHROME COVER PLATE 13.49
99102782 |AMB UNDERBODY 14.29
99102786 |AMB AERATOR 5.55
99102788 |AMB LAV BONNET 3.97
99102790 |AMB LAV STEM 3.97
99102795 |AMB CP COVER PLATE 11.90
99102796 |AMB UNDER PLATE 11.90
99102797 |AMB UNDERBODY 15.23
99102801 |AMB AERATOR 5.55
99102803 |AMB KITCHEN BONNET 3.97
99102805 |AMB KITCHEN STEM 3.97
99102809 |AMB CP COVER PLATE 12.53
99102810 |AMB UNDERBODY 18.41
99102812 |AMB 8 In KITCHEN D-SPT 11.43
99102813 |AMB SPOUT NUT 3.65
99102818 |AMB 109 AERATOR 6.19
99102819 |AMB 109 FLUTTER VALVE 12.22
99102820 |AMB 109 HOSE GUIDE 4.76
99102821 |AMB 109 HOSE & SPRAY 21.58
99102822 |AMB 109 TUBULAR SPOUT 8 IN 15.49
99102824 |AMB 2700 DIVERTER STEM 3.97
99102825 |## S/L VOLUME CONTROL KNOB 6.77
99102831 |SL 1-1/2 VACUUM BREAKER (CP) 27.95
99102838 |BD WASHER 8.52
99102839 |BD PUSH BUTTON SET SCREW 6.86
99102841 |BD ESCUTCHEON ASSY 113.30
99102842 |BD FLATHEAD SCREW 3.86
99102851 |BO COLLAR NUT 1.69
99102852 |BO BRACKET 8.50
99102853 |BO WINDOW REPLACEMENT KIT 14.21
99102855 |BO RED PLASTIC LID 2.88
99102856 |## FLOW CONTROL .5 GPM 6.47
99102860 |IS MOUNTING ASSY 39.23
99102862 |IS CENTRIFUGAL ACTUATOR ASSY 5.93
99102864 |IS STATOR ASSY 80.47
99102865 |IS START SWITCH ASSY 18.07
99102866 |IS OVERLOAD PROTECTOR 18.83
99102868 |IS WIRE SHIELD 0.91
99102869 |IS TERMINAL COVER ASSY 6.85
99102870 |IS BUSHING 2.14
99102871 |IS PLUG & CORD SET 27.00

STS # 800130

Page 117



Best Plumbing Specialties - Pricelist 2/13/2013

99102872 |IS THRU BOLT 0.91

99102873 |IS STATOR ASSY 79.64
99102874 |IS WIRE SHIELD 1.22

99102892 |## LH TRIP LEVER HANDLE (CP) 22.23
99102894 |## RH TRIP LEVER ASSY (CP) 50.76
99102905 |FH RH 3/4 CHECK STEM REPAIR 45.49
99102906 |## LH 3/4 CHECK STEM REPAIR KIT 45.49
99102907 |## RH 3/4 SWIVEL STEM REPAIR KIT 50.04
99102908 |## LH 3/4 SWIVEL STEM REPAIR KIT 50.04
99102909 |FH RH STEM ADAPTER 46.97
99102910 |FH LH STEM ADAPTER 46.97
99102911 |FH 16 IN SWING SPOUT (CP) 42.91
99102912 |FH SPOUT GASKET 1.69

99102914 |FH 6 IN SWIVEL GOOSENECK 36.39
99102915 |FH SWIVEL JOINT 3/8 F 156.57
99102916 |FH HOSE END ASSY 31.85
99102917 |FH 1/2 F X 3/8 M REDUCER 20.86
99102918 |FH O-RING REEL SET 36.82
99102919 |FH FLEXIBLE LEAD-IN LINE 45.41
99102920 |FH CLEAR VINYL TUBE 15.95
99102921 |FH MOTOR SPRING ASSY 259.19
99102922 |FH REEL SPOOL & HUB ASSY 222.17
99102923 |FH BALL STOP 40.95
99102924 |FH ROLLER HOSE GUIDE W/ROLLERS 181.96
99102926 |FH LOCKING CAM 36.39
99102927 |FH SPACER 30.68
99102928 |FH CAM SPRING 13.91
99102929 |FH HOSE CLAMP 12.27
99102930 |FH ROLLER GUIDE ARM 117.43
99102932 |FH MOUNTING BASE & AXLE ASSY 129.60
99102933 |FH GASKET 3.09

99102934 |FH ELBOW 31.85
99102935 |FH JOINT WASHER 3.09

99102936 |FH SLIP JOINT NUT 12.36
99102937 |FH STRAINER 36.82
99102938 |FH SCREW 6.14

99102939 |FH KNOB SCREW FOR WASTE VALVE 4.64

99102940 |FH WASTE VALVE KNOB 51.84
99102943 |FH VANDAL RESISTANT SCREWS 7.73

99102944 |FH UT LEVER HANDLE NUT 1.69

99102945 |FH SCREW 2.54

99102946 |FH FLAT STRAINER 15.45
99102947 |FH VANDAL RESISTANT FLAT 42.95
99102948 |FH CLAMPING RING 45.49
99102949 |FH LEVER HANDLE 22.09
99102950 |FH VANDAL RESISTANT CLAMPING 78.29
99102951 |FH GASKET 4.64

STS # 800130

Page 118



Best Plumbing Specialties - Pricelist 2/13/2013

99102952 |FH END CAP 23.17
99102953 |FH ROTOR W/O-RING 50.04
99102954 |FH END NUT 30.68
99102955 |FH FIBER WASHER 3.39
99102956 |FH 19 X 21 IN OVERFLOW TUBE 46.63
99102957 |FH 16 X 14 IN OVERFLOW TUBE 42.95
99102958 |FH END CAP GASKET 1.69
99102959 |FH SPOUT NUT 36.39
99102960 |##FH SPOUT O-RINGS 1.24
99102961 |FH 10 IN SWING SPOUT: 3/4 IN (CP) 70.46
99102962 |FH HOSE ADAPTER CP 36.82
99102973 |## LARGE LEVER HANDLE CP 26.22
99103008 |##KH BALL & ROD ASSY 6.75
99103076 |## 3/8 TUBE X 1/4 MPT CONNECTOR 6.63
99103094 |PP WINDSOR CLEAR ACRYLIC POP-UP 3.33
99103095 |PP BUTTON HOLDER (CP) 13.44
99103097 |PP MALE AERATOR (CP) 11.98
99103098 |PP SPOUT POP-UP (CP) 62.21
99103099 |PP POP-UP ROD #10 X 9-1/4 (CP) 6.05
99103100 |PP SCREW 0.84
99103101 |PP WASHER SPOUT STEEL 2.40
99103102 |PP LOCKNUT 11/16-16 3.22
99103105 |PP NUT 1/2 IN SLIP JOINT 3.74
99103106 |PP LARGE CLEAR WINDSOR HANDLE 6.14
99103107 |PP FLANGE ADAPTER (CP) 15.33
99103108 |PP RH STEM & BONNET 23.11
99103111 |PP BODY END W/S W/3181-C 41.87
99103112 |PP FLEX TUBE 13.35
99103113 |PP O-RING #110 0.72
99103114 |PP LOCKNUT 3.22
99103115 |PP FLANGE 7.75
99103144 |SP METERING MOUNTING PLASTIC 3.67
99103146 |SP METERING PALM BUTTON SET 3.67
99103147 |SP METERING MOUNTING SET SCREW 3.67
99103148 |SP WASHER NUT 16.38
99103150 |## HYDROSEAL BONNET WASHER 0.58
99103159 |CG 3/8 VACUUM BREAKER (CP) 51.20
99103160 |CG SPOUT NUT (CP) 20.85
99103169 |TS PUSH BACK GLASS FILLER W/ 87.94
99103178 |PW DIAL ASSEMBLY KIT 126.81
99103179 |PW WASHER 9.04
99103180 |PW INSERT FOR LUCITE HANDLE (2) 40.36
99103181 |## RETAINER (DIAL INSERT) 25.85
99103182 |PW DIAL INSERT 31.53
99103183 |PW OVAL DIAL PLATE (CP) 45.53
99103184 |PW RUBBER SEAL 9.04
99103185 |PW MAX TEMP. STOP (4) 29.22

STS # 800130

Page 119



Best Plumbing Specialties - Pricelist 2/13/2013

99103189 |PW RING 9.04
99103190 |PW SCREW 9.04
99103191 |PW BONNET GASKET 9.04
99103192 |PW QUAD RING 3/8 X 1/2X1/16 9.04
99103193 |PW SHUT OFF DISC 9.04
99103197 |##PW LEVER HANDLE 80.30
99103198 |PW LEVER HDLE SCREW KIT 23.93
99103199 |PW ACRYLIC HANDLE 80.30
99103200 |PW 8-32 X 1/2 HANDLE SCREW (CP) 8.03
99103202 |PW TRI-HANDLE 80.30
99103203 |PW WASHER 9.04
99103206 |PW PACKING GLAND 18.67
99103209 |PW HOT WTR SEAT ASSEMBLY 36.39
99103210 |PW HOT WTR SEAT ASSEMBLY 59.16
99103216 |PW TRIM PACKAGE W/ S/S DIAL 70.66
99103217 |SL STOP CAP W/EXTENDED SEAT 2.51
99103218 |SL 1IN WHITWORTH INLET FOR 57.15
99103227 |SL 5IN G/J TAILPIECE (CP) 28.72
99103230 |SL 1IN NPTFINLET FOR G/J TAIL 58.27
99103240 |PW TRI-HANDLE KIT 78.36
99103241 |PW PACKING GLAND BRASS 46.24
99103242 |PW RING 9.04
99103243 |PW MIXING PLATE COVER 68.19
99103245 |PW ADJUSTMENT STEM 70.22
99103246 |PW BONNET SCREW 8.03
99103247 |PW MIXER BONNET 87.53
99103248 |PW BODY 1/2 ROUGH BRONZE 265.42
99103249 |PW BODY BRIGHT 1/2 CHROME 266.00
99103250 |PW PIPE PLUG 1/2 BRASS 18.35
99103251 |PW PLUG 1/2 BRASS CHROME 23.93
99103252 |PW MOTOR REPLACEMENT KIT 317.70
99103253 |PW MOTOR REPLACEMENT KIT 317.70
99103254 |PW GASKET & PACKING KIT 36.19
99103258 |##AC 24 VOLT SOLENOID 80.59
99103259 |AC 3 AMP 32 VOLT FUSE 4.27
99103260 |AC CRIMP-ON FUSE HOLDER 16-22 AWG 13.25
99103310 |TS ASM SPINDLE NSF - RH/COLD 47.95
99103312 |TS LOCKNUT COVER PLATE 9.05
99103316 |## SWING GOOSENECK ASSY 39.08
99103319 |##TS O-RING 1.46
99103327 |TS WALL MOUNT SCREW 1.93
99103341 |TS KNOB 41.47
99103344 |## T&S HOT SPINDLE ASSY 39.61
99103345 |TS ASSY CCINLET 60.08
99103346 |TS ASSY MALE EE INLET 47.60
99103347 |TS NIPPLE 23.68
99103349 |TS HOOK SCREW 1.18

STS # 800130

Page 120



Best Plumbing Specialties - Pricelist 2/13/2013

99103350 |TS SPREADER UNIT 4 IN 49.55
99103351 |TS 12 IN WALL BRACKET ASSY 52.23
99103353 |TS SET SCREW 1.62

99103354 |TS FLEXIBLE CONNECTOR ASSY 58.35
99103356 |TS BASE FAUCET ASSY 187.52
99103357 |MN SPOUT ADAPTER 17.95
99103358 |MN ESCUTCHEON RING (CP) 52.74
99103359 |MN 2.2 GPM AERATOR MONTICELLO 24.24
99103361 |MN HANDLE ESCUTCHEON 14.10
99103362 |MN LARGE LEVER HANDLE INSERTS 40.67
99103364 |MN HANDLE ADAPTERKIT 6.46

99103365 |MN CARTRIDGE RETAINER REMOVAL 6.21

99103366 |MN STEM EXTENSION KIT HOT & COLD 19.63
99103368 |MN HOSE BOUTIQUE & CHATEAU 10.34
99103372 |MN 2.2 GPM AERATOR MALE 11.38
99103373 |MN SHORT WING HANDLE (CP) 33.13
99103376 |MN 2 IN HANDLE EXTENSION KIT TO 51.49
99103377 |MN ESCUTCHEON CHATEAU 70.66
99103378 |MN LEVER HANDLE 1-HANDLE 38.70
99103380 |MN STOP TUBE POSI-TEMP 1-HANDLE 18.76
99103381 |MN ESCUTCHEON SCREWS 17.12
99103382 |MN HANDLE SCREW 5.63

99103384 |MN 4 IN DECK PLATE FOR USE W/ 31.51
99103386 |HT CORD - POWER 115V HAC/EBF 23.17
99103387 |HT BLADE - FAN 7.75 DIA 30P CCW 9.89

99103389 |HT SHROUD - FAN 15.60
99103390 |HT NIPPLE - BUBBLER 3/8 18.69
99103391 |HT BUBBLER - 0.4 GPM (CP) 14.22
99103393 |HT STUD - COMPRESSOR MOUNTING 1.02

99103399 |HT RELAY - 115V 9660-042-166 18.85
99103400 |HT OVERLOAD - MRP26ALL69 115V 16.06
99103401 |HT COVER - TERM(TECH) 4.64

99103402 |HT SPRING - OVERLOAD 2.37

99103406 |HT TUBE-CU 1/4 X 36 (2-P117) 13.29
99103407 |## 3/8 TUBE OD - 1/4 TUBE OD 8.29

99103409 |##HT ASSY - TAILPIECE 1-1/4 X 6 23.81
99103412 |HT EVAPORATOR - REPLACEMENT KIT 142.25
99103414 |HT COVER - ELECTRIC SHIELD 1.02

99103415 |HT BLADE - FAN 8.00 DIA 30P CW 9.89

99103416 |HT PANEL - RH REAR (PV) HAC 37.80
99103417 |HT RH REAR PANEL (PLATINUM VINYL) 27.98
99103418 |HT PANEL - LH REAR (PV) HAC 37.80
99103419 |HT LH REAR PANEL (PLATINUM VINYL) 36.94
99103421 |HT PANEL - RH NO PUSH (PV) 20.85
99103422 |HT PANEL - RH PUSH (PV) 22.71
99103423 |HT PANEL - LH NO PUSH (PV) 20.85
99103425 |HT PANEL - FRONT DISP (PV) 25.80

STS # 800130

Page 121



Best Plumbing Specialties - Pricelist 2/13/2013

99103427 |## RIVET - DRIVE TYPE 0.93
99103431 |HT NIPPLE - BUBBLER 1/4 23.20
99103438 |HT BASIN - HT-E1 547.42
99103439 |HT BASIN - HT-S1 512.24
99103440 |HT COVER - BOTTOM HT-E1 28.11
99103441 |HT COVER - BOTTOM HT-S1 19.39
99103442 |HT BUTTON - BT 23.81
99103444 |## NUT - HEX 1-5/16 - 20UN (CP) 14.98
99103448 |HT ASSY - PANEL SINGLE 82.75
99103449 |HT ASSY - PANEL SINGLE 82.60
99103450 |HT ASSY - PANEL DOUBLE 137.01
99103451 |HT FITTING - ELBOW 1-1/4 DRAIN 16.99
99103452 |HT NUT - SLIP JOINT 1-1/4 3.55
99103487 |CG CAST SPOUT ASSY (CP) 74.16
99103488 |CG 3/8 X 13/16 ADAPTER (CP) 21.36
99103489 |CG 6 IN C-C CAST SWING SPOUT 57.87
99103490 |CG LOCKNUT (RB) 6.28
99103492 |CG O-RING NF 3.33
99103493 |CG SLEEVE FOR IN-WALL VALVE (CP) 20.49
99103494 |CG WASHERV P 27/32 IN 180 GRIT NF 6.45
99103504 |AC SENSOR SADDLE BRACKET 15.90
99103509 |AC FLO-CONTROL PLUG 36.41
99103524 |AC 24 VOLT SLOAN ELECTRIC EYE 166.37
99103530 |CE DECK MOUNT ELBOW FLANGE 61.91
99103531 |CE O-RING FOR STEM (25/PACK) 5.44
99103532 |CE AERATOR 3.65
99103534 |CE O-RING (25/PACK) 8.52
99103545 |EB STRAINER ASSEMBLY (SATIN) 97.36
99103550 |AD MECHANISM HANDLE W/SET SCREW 12.80
99103574 |SS HANDSPRAY & HOSE 53.24
99103577 |PW SCREEN 9.04
99103578 |PW BONNET 41.80
99103579 |PW STEM ROUGH BRONZE 29.99
99103582 |[SS NUT (2) 9.17
99103583 |SS AERATOR (CP) 8.16
99103584 [SS SCREW (3) 4.45
99103585 |SS ESCUTCHEON 31.00
99103586 |SS ESCUTCHEON W/HANDSPRAY HOLE 31.00
99103587 |SS BASE PLATE 11.77
99103589 |SS BALANCE WEIGHT 7.60
99103590 |SS PULL-OUT HOSE 47.50
99103591 [SS HANDSPRAY 72.81
99103592 |SS DECK GASKET (SINGLE HOLE) 3.71
99103593 |SS DECK GASKET (STANDARD) 3.71
99103594 |SS MOUNTING NUT 5.93
99103595 |SS O-RING 3.71
99103597 |SS VALVE CAP 33.51

STS # 800130

Page 122



Best Plumbing Specialties - Pricelist 2/13/2013

99103607 |PW SCREW 8-32 X1 3/4 P/H 9.04
99103608 |PW HANDLE 40.22
99103609 |PW 8-32 X2 IN DIAL RETAINING 41.80
99103610 |PW 10-32 X 5/16 SCREW ADJ STOP 8.03
99103612 |PW ADJUSTABLE LIMIT STOP 9.04
99103613 |PW SUPPORT RING (S/S) 21.22
99103614 |PW WAVY WASHER (S/S) (10/PACK) 23.93
99103615 |PW FLAT WASHER (15/PACK) 31.91
99103616 |PW 10-24 X 7/8 BONNET SCREW (S/S) 8.03
99103617 |PW TEMPERATURE STOP (6) 36.38
99103618 |PW PLUG BUTTON 15.26
99103619 |PW 8-32 X 1/2 SCREW (BRASS) 8.03
99103621 |PW LEVER HANDLE SCREW KIT (10) 28.39
99103622 |PW HANDLE SCREW (4) 20.42
99103623 |PW SLEEVE 15.67
99103624 |PW DIAL ASSEMBLY DELUXE 121.21
99103625 |PW SPEED NUT 9.04
99103626 |PW HEX BRS NUT 8.03
99103627 |PW SLEEVE DELUXE ONLY 22.17
99103628 |PW EXPOSED DIAL 58.43
99103629 |PW BONNET GASKET (10/PACK) 30.79
99103630 |PW SPRING 9.04
99103631 |PW O-RING 3/4 X 15/16 X 3/32 9.04
99103632 |PW CARTRIDGE 68.19
99103633 |PW VALVE BODY MACHINED 138.39
99103634 |PW 410 BODY ASSEMBLY 412.55
99103639 |ZU BLACK PLASTIC INDEX BUTTON 0.73
99103658 |PW 8-32 X 1-1/4 HANDLE SCREW (CP) 7.18
99103659 |PW LEVER HANDLE (CP) 46.36
99103660 |PW HANDLE KIT 30.47
99103661 |PW PHIL HEAD BRASS SCREW 9.04
99103662 |ZU MOUNTING NUT 2.77
99103722 |PW 8-32 X 2-1/4 SCREW (BRASS) 9.04
99103723 |PW COMPLETE DIAL ASSY 57.63
99103757 |##SL SOLENOID VALVE REPAIR KIT 38.88
99103852 |BD REPAIRKIT 90.66
99103885 |ZU 1-1/2 X 24 IN FLUSH TUBE/VAC 40.55
99103888 |ZU 1-1/2 IN TUBE FLANGE 9.01
99103900 |ZU 1/16 IN COMP FITTING FOR FLUSH 12.19
99103901 |##ZU 1/8 IN COMP FITTING FOR ACTUATOR 8.22
99103902 |##ZU 1/8 IN 90 DEG COMP FITTING FOR 9.54
99103934 |SL PIVOT & ADAPTER ASSY (CP) 51.86
99103965 |SEC UNION NUT 55.04
99103966 |SEC CAP NUT 34.00
99103967 |SEC LOCKNUT STEEL 5.71
99103968 |SEC PUSHBUTTON HOT 59.14
99103969 |SEC PUSHBUTTON COLD 59.14

STS # 800130

Page 123



Best Plumbing Specialties - Pricelist 2/13/2013

99103974 |BD PLASTIC RECEPTOR ASSY 183.34
99103975 |BD INLET DRAIN FITTING 71.58
99103976 |BD PLASTIC RECEPTOR 40.21
99103977 |BD CUP STRAINER 6.86
99103978 |BD EYEWASH YOKE ASSEMBLY 52.98
99103979 |BD EYEWASH SAFETY SIGN 39.03
99103980 |BD INSPECTION TAG 4.87
99103981 |BD 1/2 NPT X 3-1/2 IN GALV PIPE 11.68
99103982 |BD ELBOW 17.05
99103983 |BD WASHER 5/16 INT-TOOTH LOCK 3.89
99103984 |BD TAILPIECE 30.78
99103985 |## WA 5 IN RUBBER FORCE CUP 3.32
99104008 |FN 6 X6 C.l. & PLASTICTO C.I. & 27.06
99104010 |HT KIT - WASTE LINE ASSY 36.70
99104012 |FN 3X2C.l. & PLASTICTO C.I. & 9.34
99110032 |FH CYLINDER O-RING 1.24
99110053 |SL SCREW (CP) 2.51
99110069 |SL WALL SUPPORT KIT 39.93
99110268 |DY DIAPHRAGM OPERATING ASSY 47.23
99110275 |## PRICE PFISTER WASHER 1.34
99110278 |AC CHECK STOP STEM UNION STOP 33.63
99110289 |BO COIN BOX 11.12
99110318 |DY 1IN TURN-TO-SILENCE ANGLE 40.05
99110337 |MN LIFT ROD & KNOB KIT 12.62
99110419 |SL 1-1/2 X 13-1/2 VAC BREAKER (CP) 32.63
99110420 |SL TUBE OUTLET FLANGE (CP) 16.30
99110423 |CG COUPLING (CP) 37.82
99110443 |AC RUBBER GASKET/SLEEVE (10/PACK) 16.69
99110444 |AC O-RING (10/PACK) 16.69
99110445 |AC STOP STEM 25.94
99110472 |\WW FOOT ACTUATED STOPPER 12.90
99110485 |ZU 2.2 GPM 13/16-27 MALE AERATOR 13.37
99110508 |PW*NR PLUG BUTTON (4 PK) 48.34
99110531 |SL 1IN SCREWDRIVER STOP - G/J 48.39
99110570 |AC ADJUSTABLE INSERT FOR 29.20
99110572 |AC WRENCH ASSY FOR PENAL 43.57
99110653 |2 IN SCH 40 PVCTEE 2.12
99110655 |2 IN SCH 40 PVC 90 DEG ELBOW 2.18
99110657 |## 1-1/2 SCH 40 PVC TEE 1.46
99110658 |## 1-1/2 SCH 40 PVC 90 DEG ELBOW 1.09
99110660 |## 1-1/2 SCH 40 PVC COUPLING 0.74
99110661 |2 IN SCH 40 PVC COUPLING 1.03
99110699 |AC 1-1/16 OD X 3/32 THICK GASKET 13.25
99110710 |BD SOLENOID VALVE 80.58
99110753 |## E-Z ANCHOR LITE - PLASTIC 0.19
99110754 |## REG. E-Z ANCHOR PLASTIC 0.31
99110792 |AC SPACER SLEEVE 28.29

STS # 800130

Page 124



Best Plumbing Specialties - Pricelist 2/13/2013

99110814 |DY NUT FOR SHUT OFF STEM 0.96

99110818 |PW STEM ASSY THROTTLING 13.46
99110835 |SL 3 IN PUSH BUTTON ACTUATOR 99.91
99110838 |RI CABLEKIT 5/8 IN X 60 FT 492.16
99110851 |MN HANDLE ADAPTER 12.51
99110852 |MN HANDLE COLLAR, 1-HANDLE 14.75
99110853 |MN RETAINER CLIP 3.79

99110915 |## LAV DRAIN ASSY NON-METALLIC 10.00
99110948 |HT PANEL - FRONT LOWER (PV) 23.20
99110949 |HT MOUNTING BRACKET 9.12

99110958 |SS BODY COVER 21.73
99110964 |TS 55/64 - 27 FEMALE AERATOR 4.45

99110974 |AC ADJ CUP RETAINER (10/PACK) 22.00
99110975 |AC 10-32 STANDARD S/S HEX NUT 16.69
99110976 |AC 10-32 X 1IN PHIL ROUND HD S/S 13.72
99110977 |AC 10-32 X 1/4 PHIL ROUND HD S/S 16.68
99111047 |AC NEOPRENE GASKET (10/PACK) 16.69
99111110 |SL EXTENSION ADAPTER (RB) 18.33
99111111 |SL EXTENSION STEM 12.93
99111140 |CG 8 IN CENTERS DECK MOUNTED 242.42
99111194 |SL 3 IN OD PUSH BUTTON REPLACEMENT 32.45
99111278 |BD FLO CONTROL ASSY .75 GPM 91.69
99111321 |FM MODEL #2 MANUAL CAN OPENER 178.73
99111333 |BD TAILPIECE NUT 21.21
99111338 |FH HANDLE 3/4-14 IN X 3/8 35.59
99111418 |MN 1/2 IN SINGLE HANDLE SHOWER 66.10
99111484 |## 1.0 GAL SANITARY NAPKIN 35.16
99111639 |BD DRAIN SPUD - PRE-CAST 62.76
99111640 |BD DRAIN SPUD LOCKNUT 16.50
99111641 |BD B-TRAP 208.65
99111941 |CM 3000W/240V UNIVERSAL 14.40
99111968 |## SYMMONS CARTRIDGE (BLUE) 45.90
99111980 |BD BOTTOM BODY ASSY 81.73
99112041 |## BRASS STEM ASSY S/S PLATE 18.94
99112053 |## CONTROL MODULE ASSY 272.96
99112069 |SL REGAL EXP 1.0 URINAL 87.39
99112090 |HT ASSY - TUBE 23.56
99112107 |SS SCOT METERING FAUCET RETRO 97.98
99112115 |## SEAT DIAPHRAGM 11.12
99112162 |## COLD SMALL METAL LEVER HANDLE 11.58
99112202 |MB TUB/SHOWER TEMPERATURE 12.93
99112234 |## FIT-ALL FLEXI URINAL SCREEN 26.51
99112235 |IS AERATOR ASSY 18.59
99112237 |##1/4 X 1-3/4 BRASS CLOSET BOLT KIT 1.24

99112313 |## LEVER HANDLE KIT CHATEAU 20.44
99112343 |## SLIDE & KNOBS 57.15
99112400 |MN SUPPORT PLATE W/GASKET 24.41

STS # 800130

Page 125



Best Plumbing Specialties - Pricelist 2/13/2013

99112401 |MN HARDWARE KIT 14.28
99112439 |TS ADD-ON FAUCET L/NOZZLE 78.38
99112481 |SL 1-1/2 X 12 RB'S/J ELBOW W/TAILPIECE 51.30
99112530 |1-1/2 SCH 80 PVC PLUG 4.15
99112585 |WW STRAINER BODY, BRASS, 13.58
99112634 |WHO 1-3/8 X #8 PARTITION BOLT 0.51
99112667 |SP METERING EASY-PUSH HANDLE 3.67
99112800 |3/4 X 1-1/2 BLACK XH STEEL PIPE NIPPLE 1.60
99113123 |FN 2X1-1/2 C.I. & PLASTICTO C.I. & 7.90
99113165 |## FINESSE HANDLE ASSY (CP) 131.42
99113178 |SL PUSH BUTTON 12-3/4 L DIM (CP) 98.92
99113192 |SEC SPRING 13.91
99113561 |SL 4 IN TRIM PLATE - SINGLE 40.22
99113562 |SL 8 IN TRIM PLATE - SINGLE 79.38
99113668 |HT PANEL - BOTTOM DISP 18.16
99113775 |## INDEX RINGS FOR HANDLE (2) 6.09
99113800 |AC MONEL WASHER RETAINER 16.69
99120002 |CG SINGLE HOLE LAV METERING 137.43
99120020 |PW 420 DIAL ASSY (GREY INSERT) 80.30
99120050 |LE SCREW W/WASHER 4.45
99120051 |LE FRICTION SPRING 9.45
99120060 |## POP-UP CLEVIS 0.92
99120132 |SS COMPRESSION RING 3.71
99120134 |SS CARTRIDGE WRENCH 8.62
99120215 |BD TUBE TO PIPE 1/8 26.65
99120312 |WW PRESFLO STOPPER - PLASTIC 7.19
99120370 |TS B-111 BASE FCT ASSY 148.51
99120535 |## REPAIR KIT - LOW PRESSURE GUIDE 15.74
99120637 |BD SWITCH TT 60 SEC. 221.66
99120761 |AC PENAL-TROL DELAYED CLOSING 72.13
99120763 |AC SHUT OFF WASHER 3.06
99120767 |AC PENAL SHOWER HEAD NOZZLE 53.79
99120781 |## SUNBURST HANDSHOWER 65.69
99121032 |## CERAMIX CARTRIDGE KIT W/SEALS 21.17
99121098 |## SOLENOID VALVE 6 VDC W/ELBOW 60.73
99121107 |SL 6-3/4 L DIM FILLER ROD 13.48
99121177 |TS YOKE ASSY 80.49
99121370 |AC 24 VOLT ELECTRONIC SENSOR 213.20
99121380 |## SPLASH GUARD 1.83
99121505 |ZU 1-1/2 X 21 IN FLUSH TUBE/VAC 51.32
99121634 |PW VOLUME CONTROL ASSY 9.04
99130046 |## QUATURN JIFFY REPAIR KIT 18.29
99130053 |## HOT HANDLE COMPLETE 6.82
99130054 |## COLD HANDLE COMPLETE 6.82
99130112 |AC 10-32 X 1/2 PHIL TRUSS HD S/S 16.69
99130115 |AC 6-32 X 3/16 ALLEN HD S/S SET 13.26
99130116 |AC 6-32 X 1/8 ALLEN HD S/S SET 13.26

STS # 800130

Page 126



Best Plumbing Specialties - Pricelist 2/13/2013

99130121 |AC INTERNAL S/S PUSH-IN RETAINING 17.92
99130129 |AC O-RING (10/PACK) 16.69
99130133 |AC LOMACO CAP GASKET 25.03
99130134 |AC GRAY FIBER GASKET (10/PACK) 34.11
99130135 |AC GRAY FIBER GASKET 6.18

99130136 |AC GASKET (10/PACK) 13.26
99130144 |AC VALVE CARTRIDGE SEAT GASKET 14.27
99130152 |AC SHOWER HEAD ASSY FOR APEX 71.52
99130155 |AC SHOWER HEAD FEMALE ASSY 128.45
99130157 |AC SHOWER HEAD MALE ASSY 124.62
99130158 |AC SHOWER CAP 51.45
99130161 |AC RIGID SHOWER HEAD FEMALE 98.95
99130165 |AC SHOWER HEAD CAP RECEIVER 46.65
99130166 |AC SHOWER HEAD CAP RECEIVER 53.50
99130167 |AC LOGAN ADJUSTABLE SHOWER 164.22
99130168 |AC LOGAN ADJUSTABLE CAP/NOZZLE 107.06
99130169 |AC PENAL SHOWER HEAD NOZZLE 48.28
99130173 |## AC 3/8 FLAIR X 1/4 NPT FLARE 6.81

99130174 |AC 1/4 OD TUBE X 1/4 NPT MALE 4.33

99130178 |AC FLO-CLOZ LH STEM ONLY (CP) 77.54
99139162 |AC RIGID SHOWER HEAD NOZZLE ASSY 37.39
99150031 |## PLUMBERS GOOP ADHESIVE 3.7 OZ 8.10

99150032 |## RETRO HOSE VALVE 14.79
99150067 |## REPAIR KIT HANDLE CAP (CP) 18.98
99150080 |AC PENAL SHOWER HEAD ASSY 126.94
99150081 |AC PENAL SHOWER HEAD ASSY 114.74
99150082 |AC PENAL SHOWER HEAD W/SPACE 136.53
99150083 |AC PENAL SHOWER HEAD W/SPACE 144.05
99150088 |BG 3/4 COMFORT-TROL ZONE CONTROL 127.42
99150124 |PW 433 ATA UPGRADE KIT 489.73
99150125 |PW 434 ATA UPGRADE KIT 502.25
99150193 |HT BRACKET - VALVE & PUSH BAR 18.38
99150210 |1-1/4 SCH 80 PVC UNION SOCKET 11.40
99150259 |SL 3.5 & 1.6 GPF CLOSET G2 OPTIMA 435.17
99150262 |SL 1.5 & 1.0 GPF URINAL G2 OPTIMA 435.17
99150264 |CM 2500W 240V SCREW-IN 13.73
99150265 |CM 3000W 240V SCREW-IN 12.73
99150266 |## 1500W 120V UNIVERSAL ELEMENT 14.05
99150267 |CM 2500W 240V UNIVERSAL 14.66
99150268 |CM 3500W 240V UNIVERSAL ELEMENT 14.05
99150269 |CM 4500W 240V UNIVERSAL 14.12
99150270 |## 1500W/120V SCREW-IN ELEMENT 12.00
99150271 |CM 1500W 240V UNIVERSAL 14.08
99150273 |SL 1IN SPUD COUPLING ASSY (CP) 17.23
99150275 |##FL CONE/SHANK WASHER 0.62

99150276 |## DIVERTER TUB SPOUT ASSY (CP) 38.96
99150283 |PQ PLUNGER ONLY 37.23

STS # 800130

Page 127



Best Plumbing Specialties - Pricelist 2/13/2013

99150288 |SL ROYAL EXP 3.5 CLOSET 189.69
99150289 |SL ROYAL EXP 3.5 CLOSET 189.69
99150290 |SL ROYAL EXP 3.5 CLOSET 118.55
99150291 |SL ROYAL EXP 1.6 CLOSET 189.69
99150292 |SL ROYAL EXP 1.6 CLOSET 189.69
99150293 |SL ROYAL EXP 1.6 CLOSET 118.55
99150294 |SL ROYAL EXP 3.5 URINAL 118.55
99150296 |SL ROYAL EXP 1.5 URINAL 118.55
99150297 |SL ROYAL EXP 1.0 URINAL 164.41
99150298 |SL ROYAL EXP 1.5 URINAL 118.55
99150300 |SL ROYAL EXP 1.0 URINAL 189.69
99150302 |SL REGAL EXP 3.5 URINAL 87.39
99150303 |SL REGAL EXP 1.5 URINAL 87.39
99150304 |SL REGAL EXP 1.5 URINAL 87.39
99150310 |SL REGAL 186 0.5 GPF URINAL 87.39
99150337 |PW UPGRADE KIT 263.98
99150340 |TS SPINDLE HOT 16.76
99150341 |TS SPINDLE COLD 16.76
99150343 |TS WASHER 1.78

99150344 |TS SPINDLE RH 33.57
99150346 |TS VALVE 26.51
99150347 |TS BRASS WASHER 2.07

99150348 |TS RUBBER WASHER 1.34

99150349 |TS O-RING 2.23

99150351 |TS BONNET 18.83
99150352 |TS CERAMIC CARTRIDGE RIGHT 55.64
99150353 |TS CERAMIC CARTRIDGE LEFT 55.64
99150354 |##TS CERAMIC CARTRIDGE RH 42.46
99150355 |##TS CERAMIC CARTRIDGE LH 42.46
99150357 |TS CERAMIC CARTRIDGE LH 49.96
99150358 |TS WRIST ACTION CARTRIDGE ASSY 103.11
99150365 |SL 4 IN CENTERSET TRIM PLATE 33.71
99150367 |SL MOUNTING BRACKET KIT 45.45
99150371 |## VACUUM BREAKER REPAIR KIT 9.09

99150427 |## HOT HOSPITAL LEVER HANDLE - 8.31

99150428 |## COLD HOSPITAL LEVER HANDLE - 8.31

99150447 |## LH TRIP LEVER (CP) 23.08
99150452 |WHO 8-32 X 1-1/8 ONE WAY MACH 0.63

99150455 |## COLD STEM CARTRIDGE 12.27
99150530 |## CONCEALED DOOR LATCH (CP) 78.29
99150532 |## TELESCOPIC DOOR HOLDER 27.65
99150577 |1IN SCH 40 PVC CAP SLIP 0.68

99150578 |1-1/2 SCH 40 PVC PLUG MIPT 1.55

99150579 |1 IN SCH 80 PVC UNION SOCKET 5.75

99150580 |3/4 SCH 80 PVC TEE SOCKET 3.15

99150581 |2 IN SCH 80 PVC FEMALE ADAPTER 13.71
99150582 |1/2 SCH 80 PVC PLUG 1.82

STS # 800130

Page 128



Best Plumbing Specialties - Pricelist 2/13/2013

99150583 |3/4 SCH 80 PVC PLUG 1.90

99150584 |1 IN SCH 80 PVC PLUG 2.34

99150585 |2 IN SCH 80 PVC PLUG 4.26

99150586 |3/4 SCH 80 PVC 90 DEG ELBOW 1.36

99150587 |1-1/4 SCH 80 PVC PLUG 3.41

99150632 |## HANDLE MECHANISM KIT 18.59
99150642 |## HINGE TWEAKER Regular Duty 63.64
99150649 |IS DISPENSER CAP 13.27
99150650 |RI 6 FT REAR GUIDE HOSE 98.81
99150651 |RI CABLE CARRIER 62.21
99150652 |RI 5/16 X 25 FT CABLE W/BULB 55.30
99150653 |RI 5/16 IN X 50 FT CABLE 95.36
99150654 |RI 5/16 X 25 FT CABLE W/DROP 69.82
99150655 |RI 5/16 IN X 50 FT CABLE W/DROP 104.89
99150656 |RI 3/8 IN X 35 FT CABLE (MALE 90.48
99150657 |RI 5/8 X 10 FT HEAVY DUTY WIND 50.37
99150658 |RI ADAPTER W/35 FT X 3/8 CABLE 293.47
99150659 |RI ADAPTER W/50 FT X 5/16 IN 243.91
99150660 |RI ADAPTER W/50 FT X 5/16 IN 250.38
99150661 |RI REPLACEMENT CUTTER BLADE 14.89
99150662 |RI SET OF REPLACEMENT BLADES 23.82
99150663 |RI RETRIEVING AUGER 33.08
99150664 |RI STRAIGHT FLEX AUGER 26.29
99150665 |RI SPIRAL CUTTER 2 IN 36.18
99150666 |RI GREASE CUTTER 1-3/8 IN 27.49
99150667 |RI 4-BLADE CUTTER 1-3/8 IN 33.83
99150668 |RI FLUE BRUSH 3 IN 102.04
99150669 |RI FLUE BRUSH 2-1/2 IN 95.79
99150670 |RI FLUE BRUSH 2 IN 88.88
99150671 |RI FLUE BRUSH 1-1/2 IN 81.82
99150672 |RI CCUTTER 2 IN 35.15
99150673 |RI CCUTTER 2-1/2 IN 37.21
99150674 |RI CCUTTER3IN 39.44
99150675 |##Rl 5 PIECE CUTTER SET 61.55
99150771 |## D-I-O MEGAKIT 164.04
99150789 |## DELTA UNIVERSAL VALVE BODY 46.52
99150790 |DE CLASSIC MONITOR 13 SERIES 62.38
99150791 |DE LELAND MONITOR 14 SERIES 57.36
99150792 |DE ORLEANS MONITOR 14 SERIES 73.56
99150799 |DE INNOVATIONS MONITOR 17 SERIES 139.31
99150800 |DE LOCKWOOD MONITOR 14 SERIES 98.65
99150801 |DE LOCKWOOD MONITOR 17 SERIES 143.99
99150803 |DE VICTORIAN MONITOR 14 SERIES 104.83
99150804 |DE VICTORIAN MONITOR 17 SERIES 159.05
99150809 |DE*NR GRAVES COLLECTION METAL 38.47
99150811 |DE INNOVATIONS MONITOR 14 SERIES 93.89
99150812 |DE INNOVATIONS 17T SERIES SHOWER 243.16

STS # 800130

Page 129



Best Plumbing Specialties - Pricelist 2/13/2013

99150818 |## ALL PURPOSE SILICONE CAULK 3.11

99150881 |## HINGE TWEAKER - HEAVY DUTY 65.47
99151994 |IDS 1/2 DRIVE EXTENSION - LIGHTED 33.08
99152231 |1/4 MIP X MALE HOSE VALVE W/ CAP 30.71
99160151 |AC LOWER VALVE BODY PLASTIC 36.28
99160154 |SL CONCEALED WHEEL HANDLE KIT 6.88

99160163 |## SL COVER GASKET 1.52

99160247 |SL 1-1/2 COUPLING ASSY (RB) 9.05

99160248 |SL SOCKET 7-3/4 L DIM (RB) 41.89
99160279 |SX 3/4 STRAP TUBE HANGER 0.91

99160389 |PW PLASTIC HANDLE 40.10
99160423 |## 3 IN OSCILLATING DISC 29.45
99160451 |SL 3 IN PUSH BUTTON ASSY 117.17
99160559 |CG 44 IN'S/S HOSE/HANDLE ASSY NF 66.97
99160592 |PP 1-1/2 OVAL HEAD SCREW (CP) 2.17

99160594 |PP SLEEVE (CP) 15.40
99160618 |## ACTUATOR BUTTON L/A (CP) 14.18
99160693 |##DN 3/4 IN STRAIGHT VALVE BODY, 39.27
99160745 |##CM LOWER THERMOSTAT 13.99
99160757 |MB TUB/SHOWER PRE-1968 STEM 56.16
99160932 |AC NON-METERING SERVOMOTOR 24.35
99161001 |PW LOCKRING 51.21
99161032 |PW TRI-HANDLE KIT 76.54
99161053 |WV SET SCREW (6/PACK) 8.38

99161305 |SL SPRAY HEAD ADAPTER (CP) 23.14
99161386 |## PUSH CLEAN SHOWERHEAD (CP) 21.50
99161526 |RI REPLACEMENT BLADE 2-1/2 IN 15.92
99161528 |RI REPLACEMENT BLADE 2 IN 14.75
99161664 |WHO KEEPER FOR LAMINATED 29.40
99161724 |## VACUUM BREAKER COUPLING (CP) 13.63
99161833 |SL SENSOR ACTIVATED ELEC SOAP 403.18
99161834 |SL SENSOR ACTIVATED ELEC 291.30
99161888 |## G2 MANUAL OVERRIDE BUTTON ASSY 28.29
99161933 |SL VOL REGULATOR 1.5 GPF/5.8 LPF 2.07

99161934 |SL VOL REGULATOR 1.6 GPF/6.0 LPF 3.10

99162077 |WW CABLE STOPPER SEAL 2.44

99162144 |## INLET TUBE & REGULATOR ASSY 188.67
99170041 |PW CHECKSTOP REPAIR KIT FOR 25.75
99170066 |##ZU OVERRIDE PUSH BUTTON ASSY 29.74
99170174 |BD SENSOR LENS 11.68
99170253 |## 1/2 ANGLE STEAM TRAP 17C 69.15
99170319 |SP STEM 12.52
99170438 |PW INTERNAL REPLACEMENT FOR 99.82
99170464 |MN 30 IN SLIDE BAR (CP) 93.34
99170527 |BD 1/2 IN BALL VALVE FOR EYE 35.49
99170571 |BD TRANSFORMER ASSY 56.37
99170673 |BD COVER TNF - SHORT 50.64

STS # 800130

Page 130



Best Plumbing Specialties - Pricelist 2/13/2013

99170675 |BD BOTTOM BODY 81.36
99170748 |## 2 IN BRASS NO-CALK SHOWER 26.73
99170754 |## BIG STRETCH 10.5 OZ 8.67
99170756 |AC 8-32 X 1-1/4 PHIL ROUND HD S/S 16.69
99170823 |GR SINGLE-HANDLE CARTRIDGE 62.71
99171360 |WHO TOP CAM HOUSING 17.55
99171378 |ZU NEOPRENE O-RING FOR 71320 & 6.97
99171379 |ZU OPERATING COUPLING FOR 71320 36.55
99171387 |ZU BALL O-RING 4.18
99171388 |ZU BALL 4.58
99171528 |SL PUSH BUTTON 7-3/4 L DIM (CP) 82.26
99171629 |HT NUT - HEX 1/4-20 0.51
99171949 |BD STOP STRAINER CHECK VALVE 184.32
99171977 |SL LOCKNUT (RB) 9.24
99171978 |SL INDEX PUSH BUTTON (CP) 14.87
99172004 |BD SCREW 10-24X1/2 4.45
99172039 |MN HOSE & SPRAY PROTEGE 37.08
99172040 |MN HOSE GUIDE, PROTEGE, CHROME 17.63
99172059 |3/4 SCH 80 PVC COUPLING 2.62
99172301 |AC GASKET (10/PACK) 13.72
99172302 |AC O-RING (10/PACK) 13.25
99180001 |SS HANDLE & DIVERTER KIT #3 - GREY 39.19
99180003 |SS ESCUTCHEON W/SINGLE SCREW 58.80
99180005 |SS CAP ASSY 49.05
99180009 |SS HANDLE 19.96
99180010 |SS PACKING NUT 13.72
99180011 |SS HOT SEAT REMOVAL TOOL 17.98
99180012 |SS DIAL (MODEL 2) 11.77
99180013 |SS DIAL (MODEL 1) 11.77
99180014 |SS DIAL (MODEL 3) 11.77
99180017 |SS THERMOMETER ASSY 119.59
99180018 |SS ESCUTCHEON & SCREWS (2 REQ) 52.24
99180019 |SS DIAL SCREW W/O-RING 4.06
99180020 |SS DIALKIT 23.49
99180021 |SS BONNET O-RING 4.82
99180022 |SS DIAL (MODEL 5) 11.87
99180023 |SS DIAL (MODEL 6) 11.87
99180024 |SS DIAL (MODEL 4) 11.87
99180028 |SS SPRING & WASHER 11.03
99180029 |SS ESCUTCHEON & SCREW 53.07
99180031 |SS BONNET 35.72
99180032 |SS DOME COVER 31.25
99180033 |SS ANCHOR WASHERS (2) 6.31
99180034 |SS RETAINER RING 5.10
99180035 |SS HOUSING SCREW 3.71
99180036 |SS MOUNTING NUTS 3.99
99180037 |SS DIVERTER WASHER 3.71

STS # 800130

Page 131



Best Plumbing Specialties - Pricelist 2/13/2013

99180038 |SS LOCK RING 9.06
99180039 |SS CAP LARGE O-RING 4.06
99180041 |SS PACKING NUT 10.60
99180043 |SS MOUNTING BOLTS (PAIR) 4.37
99180046 |SS DIVERTER 19.66
99180048 |SS CONTROL CARTRIDGE FOR QUICK 105.50
99180049 |SS METERING CYLINDER 22.39
99180051 |## CONTROL CARTRIDGE FOR QUICK 103.01
99180055 |SS LAV HOUSING W/POP-UP HOLE 42.84
99180057 |SS HOUSING PLATE 8.43
99180059 |SS MOUNTING GASKET 6.21
99180060 |SS PISTON ASSY 34.98
99180062 |SS HANDLE 56.99
99180064 |SS SHELL LOCKING NUT 6.58
99180065 |SS NEW STYLE SPOUT 34.75
99180066 |SS UNDERCOVER PLATE 8.07
99180067 |SS BASE PLATE GASKET 6.58
99180068 |SS CONTROL ROD 3.99
99180069 |SS UNDERCOVER PLATE SCREWS 3.71
99180071 |SS VALVE HOUSING GASKET 4.06
99180072 |SS TOOL KIT FOR SCOT DISASSEMBLY 29.53
99180073 |SS SPRAY OUTLET WRENCH 3.71
99180074 |SS O-RING KIT 34.53
99180075 |SS LIMIT STOP RETAINER NUT 5.93
99180077 |SS LIMIT STOP WASHER (FIXED) 4.54
99180078 |SS LIMIT STOP WASHER (ADJUST) 4.54
99180079 |SS INLET SEAT SPRINGS (2) 3.71
99180080 |SS INLET SEAT O-RINGS (2) 3.71
99180082 |SS SET SCREW 3.71
99180083 |SS ESCUTCHEON W/SET SCREW 48.00
99180084 |SS ESCUTCHEON NIPPLE 19.48
99180085 |SS BONNET WASHER 3.71
99180086 |SS BONNET 27.32
99180087 |SS SPINDLE ASSY 54.54
99180088 |SS STOP RETAINER 5.93
99180089 |SS ESCUTCHEON SCREWS (2) 5.93
99180090 |SS KNOB SET SCREW 4.06
99180092 |SS KNOB 18.41
99180093 |SS CAP 37.45
99180094 |SS GUIDE NUT 14.18
99180095 |SS GUIDE NUT LARGE O-RING 4.06
99180096 |SS GUIDE NUT WASHER 3.71
99180097 |SS RETAINER GASKET 4.06
99180098 |SS RETAINER 11.48
99180099 |SS WASHER SCREW 14.08
99180104 |##BD SENSOR ASSY 265.22
99180105 |BD INLET SCREEN & FILTER TAILPIECE 29.01

STS # 800130

Page 132



Best Plumbing Specialties - Pricelist 2/13/2013

99180106 |BD HOUSING-FLOW CONTROL 28.12
99180107 |BD NUT & WASHER KIT 33.13
99180108 |BD AERATOR ADAPTER 41.23
99180113 |SL REGAL EXP 1.0 URINAL 87.39
99190031 |## BRASS STEM UNIT ASSY W/ 1/4 TURN 16.77
99190036 |## BRASS DIAPHRAGM BUSHING 5.87

99190044 |KST MAGELLAN 8 NOZZLE POWER 43.89
99190070 |SS WASHER & GASKET KIT 17.89
99190078 |SS HANDLE & DIVERTER KIT #2 - BLACK 39.19
99190084 |SS RETAINER ASSY 14.18
99190085 |SS ESCUTCHEON GASKET 5.28

99190090 |SS HANDLE SCREW 3.71

99190100 |TO SOLENOID ASSY W/LITHIUM 71.66
99190101 |TO RH REAR COVER SET (COTTON) 104.00
99190102 |TO LH REAR COVER SET (COTTON) 209.34
99190103 |TO RH REAR COVER SET (S/S) 166.14
99190104 |TO LH REAR COVER SET (S/S) 254.94
99190105 |SS DIAL (MODEL B) 9.43

99190106 |SS DIAL (MODEL C) 11.87
99190107 |TO RH FRONT COVER SET (COTTON) 121.76
99190108 |TO LH FRONT COVER SET (COTTON) 223.74
99190109 |[TO RH FRONT COVER SET (S/S) 176.95
99190110 |TO LH FRONT COVER SET (S/S) 244.14
99190111 |TO SENSOR COVER KIT 34.79
99190112 |TO SENSOR UNIT W/AA BATTERY 226.14
99190114 |TO SENSOR UNIT W/LITHIUM BATTERY 234.54
99190115 |TO VANDAL PROOF SCREW SET 22.07
99190117 |TO BATTERY CASE ASSY 40.79
99190121 |TO TOP COVER SET 62.52
99190135 |SS IN-LINE CHECKS (2 REQ) 53.45
99190139 |SS 3/32 HEX KEY WRENCH 5.19

99190140 |(SS 15/16 SOCKET 22.75
99190141 |ZU 1.5 GPF VOLUME CONTROL 4.77

99190142 |ZU 3.5 GPF VOLUME CONTROL 4.77

99190143 |ZU 1.6 GPF VOLUME CONTROL 4.77

99190144 |ZU 3.0 GPF VOLUME CONTROL 4.77

99190155 |SS VANDAL PROOF SPRAY OUTLET 35.05
99190156 |TO SENSOR BRACKET SET 16.90
99190158 |TO COPPER TUBE 16.90
99190160 |SS SHUT-OFF WASHER 4.06

99190161 |SS PISTON 41.83
99190162 |SS PISTON SPRING 4.82

99190163 |SS CONTROL ROD 7.04

99190164 |SS CYLINDER 32.18
99190165 |SS INTEGRAL STOP UNIT 20.54
99190166 |TO FLUSH VALVE FOR CST863/864/884 31.81
99190167 |TO FLUSH VALVE GASKET (10/PACK) 30.82

STS # 800130

Page 133



Best Plumbing Specialties - Pricelist 2/13/2013

99190170 |SS FRE-FLO INSTITUTIONAL 159.92
99190176 |TO DOUBLE SEMS SCREW SET 30.75
99190180 |TO E-RING SET (10/PACK) 17.34
99190181 |TO PLUNGER GUIDE GASKET SET 16.55
99190182 |TO LOWER COVER SET FOR TOILET 64.68
99190185 |PW LIMIT STOP 38.61
99190186 |PW WASHER 9.04
99190188 |PW PLUNGER DISC 9.04
99190189 |ZU SENSOR LENS KIT 23.74
99190190 |ZU HIGH VOLUME SENSOR - CLOSET 181.52
99190191 |ZU LOW VOLUME SENSOR - URINAL 181.52
99190192 |## BATTERY HOLDER W/CONNECTING 9.21
99190195 |ZU FLOW CONTROLKIT 10.04
99190196 |ZU FLOW RING 2.77
99190197 |ZU FLOW RING 2.77
99190209 |SS ESCUTCHEON W/SLOT 46.02
99190210 |SS ESCUTCHEON (MODEL C) 45.87
99190211 |SS ESCUTCHEON GASKET 3.71
99190212 |SS DIVERTER HANDLE KIT 42.85
99190213 |SS DIVERTER HANDLE STEM W/O-RING 7.04
99190215 |SS TUB/SHOWER DIAL - BLACK 4.17
99190216 |SS PLUG BUTTON (ROUND) 6.67
99190217 |SS ESCUTCHEON SCREWS (2) 3.99
99190219 |SS TEMPTROL 2000 DIAL - TAN 11.77
99190220 |SS SHOWER DIAL - TAN 4.17
99190232 |PW PLUNGER 9.04
99190241 |## HYDRAULIC PLUNGER ASSY 56.48
99190250 |PW ACTUATORKIT 336.37
99190251 |PW THERMAL ACTUATORKIT 398.38
99190252 |PW POPPET KIT 446.99
99190253 |TO LOWER COVER SET FOR URINAL 51.55
99190254 |TO RH FRONT COVER SET (COTTON) 134.43
99190255 |TO LH FRONT COVER SET (COTTON) 167.14
99190256 |TO RH FRONT COVER SET (S/S) 150.92
99190257 |TO LH FRONT COVER SET (S/S) 187.64
99190258 |TO SENSOR UNIT W/AA BATTERY 226.14
99190260 |TO OUTSIDE MANUAL BUTTON ASSY 32.39
99190262 |UB VALVE ASSEMBLY HOT 20.32
99190263 |UB VALVE ASSEMBLY COLD 20.32
99190265 |UB HOT CLEAR ACRYLIC HANDLE 16.50
99190266 |UB COLD CLEAR ACRYLIC HANDLE 16.50
99190268 |UB O-RING 1.02
99190269 |UB FIBRE BONNET WASHER 1.02
99190270 |TO RH REAR COVER SET (COTTON) 129.36
99190275 |UB HOT VALVE ASSY 27.98
99190276 |UB VALVE BONNET NUT 5.19
99190277 |UB HOT CLEAR ACRYLIC HANDLE 21.32

STS # 800130

Page 134



Best Plumbing Specialties - Pricelist 2/13/2013

99190278 |UB COLD CLEAR ACRYLIC HANDLE 16.94
99190279 |UB DIVERTER CLEAR ACRYLIC HANDLE 17.08
99190280 |TO LH REAR COVER SET (COTTON) 129.36
99190281 |TO RH REAR COVER SET (S/S) 126.83
99190282 |TO LH REAR COVER SET (COTTON) 126.83
99190283 |TO PISTON ASSY 32.99
99190284 |TO VALVE CAP SET 36.59
99190285 |TO INSIDE MANUAL BUTTON ASSY 31.79
99190318 |## STEM ASSY 29.21
99190319 |## CONNECT BODY 45.97
99190320 |## GASKET COUPLING 3.83

99190412 |## SOLENOID VALVE ASSY 132.72
99190502 |CG STEM ASSY (FOR LH SLO COMP) 16.27
99190503 |CG STEM ASSY (FOR RH SLO COMP) 16.27
99190504 |CG COLD STEM ASSY (BRIGHT NICKEL) 20.60
99190505 |CG HOT STEM ASSY (BRIGHT NICKEL) 20.60
99190506 |CG LH SLOW COMPRESSION SLEEVE 14.94
99190507 |CG RH SLOW COMPRESSION SLEEVE 14.94
99190525 |CG PUSH BUTTON NAIAD SLO-CLOSING 47.38
99190527 |CG PUSH BUTTON NAIAD SLO-CLOS 63.07
99190530 |CG PUSH BUTTON SLOW-CLOSING 55.24
99190531 |CG PUSH BUTTON & STEM ASSY (CP) 21.51
99190532 |CG COLD BUTTON & STEM ASSY (CP) 23.99
99190535 |CG HOT BUTTON & STEM ASSY (CP) 37.71
99190536 |CG COLD BUTTON & STEM ASSY 37.71
99190537 |CG PUSH BUTTON & STEM ASSY 37.71
99190538 |CG HOT BUTTON & STEM ASSY (CP) 23.99
99190540 |CG BUTTON & STEM ASSY (RB) 18.53
99190541 |CG CAP FOR 409-X CARTRIDGE (CP) 32.35
99190543 |CG TIP-TAP HANDLE SLOW CLOSING 54.61
99190544 |CG TIP-TAP HANDLE HOT INDEX (CP) 54.61
99190560 |CG PUSH BUTTON CARTRIDGE FOR 64.25
99190562 |CG PUSH BUTTON CARTRIDGE SLEEVE 8.95

99190563 |CG OSCILLATING HANDLE CARTRIDGE 41.08
99190564 |CG URINAL PUSH BUTTON 54.65
99190565 |CG GLASS FILLER CARTRIDGE NF 47.74
99190566 |CG STEM ASSY (RB) 20.48
99190567 |CG CAP (CP) 26.91
99190568 |CG STEM ASSY (RB) 27.82
99190572 |CG BUTTON NF 18.18
99190573 |CG BUTTON ASSY NF 27.56
99190574 |CG FLOW CONTROL (RB) 14.78
99190577 |##CG PLAIN TAPERED METERING HANDLE 41.34
99190699 |LL LIFT & TURN W/ STOPPER FINE 10.35
99190710 |CG 2-1/2 METAL CROSS HANDLE 50.15
99190711 |CG HOT WATER INDEX BUTTON NF 6.91

99190712 |CG STEAM INDEX BUTTON NF 6.91

STS # 800130

Page 135



Best Plumbing Specialties - Pricelist 2/13/2013

99190713 |CG AIR INDEX BUTTON NF 7.57
99190714 |CG GAS INDEX BUTTON NF 7.57
99190715 |CG VACUUM INDEX BUTTON NF 7.57
99190716 |CG DISTILLED WATER INDEX BUTTON NF 7.57
99190717 |CG OXYGEN INDEX BUTTON NF 6.91
99190718 |CG HYDROGEN INDEX BUTTON NF 6.91
99190719 |CG NITROGEN INDEX BUTTON NF 6.91
99190720 |CG 2-1/2 PLASTIC CROSS HANDLE 20.06
99190722 |CG 2-1/2 TEE HANDLE SINGLE (RCF) 17.29
99190723 |CG HOUR GLASS HANDLES PAIR (CP) 117.56
99190724 |CG 1-7/8 ROUND METAL HANDLE 20.06
99190725 |CG 6 IN ELBOW BLADE HANDLE W/ 64.51
99190726 |CG 3-3/4 CANOPY WING HANDLE 61.64
99190727 |CG ACRYLIC HANDLE ASSY 47.45
99190728 |CG 2-1/2 IN 4-ARM CROSS HANDLE 39.57
99190730 |CG 2 IN CANOPY HANDLE PAIR 41.33
99191096 |DY AUXILIARY VALVE 17.81
99192030 |TS HOT CERAMA CARTRIDGE W/ESCH 52.49
99192031 |TS COLD CERAMA CARTRIDGE W/ 52.49
99192096 |CG 2.0 GPM SPRAY OUTLET (CP) 35.28
99192098 |SP NOZZLE SPACER 3.67
99193033 |WA 5 FT MOLDED ELBOW WASHING 16.69
99200010 |BD REPAIR KIT TOUCH-N-FLOW 38.32
99220029 |SM HYDRANT PLUNGER - BRASS 20.81
99220030 |SM OPERATING SCREW FINE THRD 30.82
99220077 |SL 1-1/2 S/J NUT (CP) 8.34
99220175 |## ACTUATOR ARM 3.09
99220269 |## SINGLE HANDLE CERAMIC 16.39
99220309 |## VAC BREAKER FOR 3/4 IN HOSE 51.68
99220462 |## GOOSENECK SPOUT (CP) 49.48
99220869 |## FOUNTAIN DRAIN GASKET 6.08
99230072 |PW THERMAL ACTUATOR KIT 269.65
99230073 |PW POPPET KIT W/O OVERLOAD 251.56
99230107 |##1/2 X 2-1/2 BLACK XH STEEL PIPE NIPPLE 1.68
99230108 |1/2 X 4-1/2 BLACK XH STEEL PIPE NIPPLE 2.27
99230109 |1/2 X 5 BLACK XH STEEL PIPE NIPPLE 2.27
99230110 |1/2 X 5-1/2 BLACK XH STEEL PIPE NIPPLE 2.57
99230180 |RI CABLE KIT 5/8 X 45 FT & 324.20
99230224 |3/4 X 2 BLACK XH STEEL PIPE NIPPLE 1.60
99230227 |AC DASH POT ASSY FOR PENAL-TROL 30.27
99230228 |AC BRASS ROD METERING DASH POT 21.77
99230579 |MN SPOUT O-RING KIT 7.51
99230582 |## INTERNALS KIT 76.54
99230839 |1/2 X 3-1/2 BLACK XH STEEL PIPE NIPPLE 2.00
99250013 |PW MIXING VALVE KIT FOR 434 443.24
99250026 |CE FLANGE ASSY 27.22
99250045 |SL SOCKET 12-3/4 L DIM (RB) 51.68

STS # 800130

Page 136



Best Plumbing Specialties - Pricelist 2/13/2013

99250182 |TO 1-PIECE DV ASSY W/PINK FLAPPER 33.06
99250264 |##HT CONTROL - COLD (G.E.) 22.46
99250275 |BO REPLACEMENT FLAT WASHER 0.85
99250276 |## SPOUT & SENSOR ASSY 184.42
99250277 |SL FAUCET MOUNTING KIT 10.36
99250278 |SL COMPRESSION FIT CONNECTOR 16.33
99250282 |SL 3/8 TEE COMP FITTING 20.49
99250582 |BD LUBRICANT GREASE 10.01
99250760 |MN 2.5 GPM 4-FUNCTION MASSAGING 183.68
99251041 |1/2 X 4 BLACK XH STEEL PIPE NIPPLE 2.00
99251042 |2-1/2 X 8 BLACK XH STEEL PIPE NIPPLE 27.46
99252277 |MN LEVER HANDLE KIT, CHATEAU 26.41
99252278 |MN PLUG BUTTON & SET SCREW 6.88
99252279 |MN DOME KIT (CP) 9.30
99252280 |MN DECK GASKET, 1-HANDLE LAV 7.35
99252480 |AC BUBBLER W/MOUTHGUARD 87.62
99252497 |AC NO STOP PLUG ASSY 32.06
99252498 |AC PLUG 11.59
99252973 |## PISTON VALVE 21.04
99253204 |SL WINDOW LENS COVER FOR G2 12.72
99253205 |## CLOSET ELECTRONIC MODULE 123.06
99253206 |## URINAL ELECTRONIC MODULE 123.06
99253207 |SL COVER REST PLATE 4.03
99253208 |## INSIDE COVER W/SOLENOID 74.48
99253379 |BD REPAIR KIT SHORT COVER 144.86
99253533 |SL 1-1/2 PIPE SUPPORT (CP) 34.31
99254031 |## UNIVERSAL BASIN NUT WRENCH 34.56
99254190 |TS HANDLE 26.39
99254191 |## TS HANDLE SCREW 1.30
99254278 |## PHILLIPS DRIVER BIT 2.71
99254279 |## PHILLIPS DRIVER BIT 2.71
99254280 |## SQUARE DRIVER BIT 2.71
99254281 |## SQUARE DRIVER BIT 2.71
99254282 |## STAR DRIVER BIT 2.71
99254283 |## STAR DRIVER BIT 2.71
99254284 |## SLOTTED DRIVER BIT 2.71
99254285 |## SPANNER DRIVER BIT #6-#8 7.45
99254286 |## SPANNER DRIVER BIT #10-#12 7.45
99254287 |## HEX PIN DRIVER BIT 1/8-9/64 7.45
99254288 |## HEX PIN DRIVER BIT 5/32-3/16 7.45
99254289 |## STAR PIN DRIVER BIT #10-#15 7.45
99254290 |## STAR PIN DRIVER BIT #20-#25 7.45
99254291 |## STAR PIN DRIVER BIT #27-#30 7.45
99254510 |SL SOAP DISPENSER SPOUT ASSY 185.69
99254511 |SL MOUNTING HARDWARE KIT 11.05
99254512 |SL MOTOR ASSY 92.12
99254513 |SL PLUG IN TRANSFORMER 91.57

STS # 800130

Page 137



Best Plumbing Specialties - Pricelist 2/13/2013

99254514 |SL BATTERY PACK 40.25
99254515 |SL TRIM PLATE 45.47
99255431 |##CD 3 X4 IN LEVEL FIT PVC CLOSET 11.46
99260090 |CE STEEL CROWFOOT WASHER 2.95

99260261 |SL 2.2 GPM SHOWER SPRAY HEAD 76.24
99260425 |AD TWO STACK FINGER PLATE 20.86
99260469 |SL PUSH BUTTON ASSY 11-3/4 L DIM (CP) 95.58
99270035 |MN RED & BLUE WASHER KIT 5.87

99270472 |PW STRAINER CAP 9.04

99271505 |## 15-IN-1 SCREWDRIVER 29.55
99271632 |SL 13 IN FLEXIBLE SUPPLY HOSE 34.40
99272869 |## 1-1/4 OR 1-1/2 TUBULAR DRAIN 3.93

99273761 |WW OVERFLOW ELL WASHER, 3.60

99280002 |2-1/2 X 3 BLACK XH STEEL PIPE NIPPLE 15.77
99280091 |## VALVE REBUILD KIT 40.44
99280313 |BD REPAIRKIT FOR SOLENOID VALVE 57.68
99281265 |## COLEMAN PUMP 217.54
99281545 |SL REPAIR KIT FOR EXPOSED SEAT 14.18
99281638 |## EXP CLOSET FLUSHOMETER - ROYAL 155.38
99281785 |IS HANDLE FOR INSTA-HOT 4.35

99282213 |BD DWG-SPRAYHEAD WATERSAVER 580.83
99282339 |TO 1.28 GPF NON-HOLD OPEN MANUAL 149.80
99282480 |##MN HANDLE ADAPTER KIT 7.90

99282655 |BD LOCKING TIE ROD COUPLING 16.34
99282656 |BD DISPENSER COVER - A 34.72
99283215 |## BIG STRETCH 10.5 OZ 6.71

99283693 |PW BONNET (DELUXE) 34.46
99284520 |WW OVERFLOW PLATE, 4.94

99285279 |##CK 1/2 Push-Fit X 1/2 FNPT BRASS 12.84
99289093 |WW BRASS KNOB 3.78

99289094 |WW FRICTION RING & POST 3.63

99290077 |##SL VOLUME REGULATOR 3.5 GPF/ 3.09

99300074 |## END CAP FOR 15511 5.63

99300277 |## BIG STRETCH 10.5 OZ 6.71

99310250 |CE 8IN TUBE SPOUT W/AERATOR 30.15
99310331 |BD PLASTIC HANDLE ASSY 27.39
99310371 |BD ESCUTCHEON SLEEVEH & C 45.09
99310372 |BD BONNET 32.69
99310517 |## 4 IN LAV FAUCET W/POP-UP (CP) 146.05
99310518 |##KH CORALAIS S/L LAV FAUCET (CP) 131.51
99310553 |##LF* LEAD FREE 1 IN BRASS 22.12
99310703 |## STRAIGHT RELEASE FITTING 12.83
99310737 |FN 4 X3 C.I. & PLASTICTO C.I. & 13.62
99310826 |BD STEM EXTENDER 14.27
99310842 |SL 0.5 GPM SPRAY HEAD 25.13
99310845 |SL MIXER HANDLE ASSY & CARTRIDGE 49.11
99310846 |SL STRAINER (FILTER) 12.94

STS # 800130

Page 138



Best Plumbing Specialties - Pricelist 2/13/2013

99310927 |BD O-RING .441IN OD 4.82
99310940 |IS EXPANSION TUBE GASKET 1.44
99311406 |BD MANUAL MIX VALVE 96.48
99311409 |RI ADAPTER W/25 FT X 5/16 CABLE 208.56
99311415 |##BD EYEWASH CAP YELLOW 1-3/16 OD 10.01
99311545 |MN PLUG BUTTON, CHATEAU 7.03
99311550 |SL PISTON ASSY 25.35
99311811 |SS ESCUTCHEON GASKET 3.81
99312344 |MN LIQUID DISPENSER PUMP & HEAD 53.61
99313270 |MN SPOUT O-RING KIT 11.26
99315041 |MN HANDLE KIT (CP) 35.40
99320069 |HN ACTUATOR W/REMOTE 73.02
99320113 |SAS BIG STRETCH 10.5 0Z 8.67
99320177 |BD EF O RING 3.45
99320178 |BD TIMING CARTRIDGE/STANDARD 35.49
99320727 |MN RETAINER CLIP 4.77
99322037 |## BLADES FOR QUICK BLADE LOCK 3.74
99322317 |SS INSERT GASKET 4.37
99330033 |TS STREAM REGULATOR 10.97
99330034 |TS 3/8 IN STRAIGHT SERRATED 21.09
99330035 |TS 1/2 IN BRASS NIPPLE 17.08
99330040 |SL COUNTERBALANCE SPRING 3.73
99330042 |SL NOZZLE SCREEN 2.44
99330043 |SL NOZZLE SPRAY DISC 3.05
99330044 |SL SPRAY DISC RETAINER 7.09
99330045 |SL WALL FLANGE W/SET SCREW (CP) 27.95
99330046 |SL SUPPORT ROD (CP) 16.33
99330047 |SL O-RING 0.91
99330048 |SL O-RING 0.91
99330050 |SL 13-3/4 L DIM FILLER ROD 14.30
99330051 |SL 14-3/4 L DIM FILLER ROD 14.91
99330052 |SL 11-3/4 SOCKET L DIM (RB) 48.55
99330053 |SL 13-3/4 SOCKET L DIM (RB) 54.82
99330054 |SL 14-3/4 SOCKET L DIM RB 57.95
99330055 |SL PUSH BUTTON ASSY 4-3/4 L DIM (CP) 72.25
99330056 |SL PUSH BUTTON ASSY 5-3/4 L DIM (CP) 75.57
99330057 |SL PUSH BUTTON ASSY 10-3/4 L DIM (CP) 92.27
99330058 |SL PUSH BUTTON ASSY 13-3/4 L DIM (CP) 102.24
99330059 |SL PUSH BUTTON ASSY 14-3/4 L DIM 105.62
99330060 |SL 3 IN PUSH BUTTON ASSY 103.36
99330061 |SL 3 IN PUSH BUTTON ASSY 106.82
99330063 |SL PLUNGER SLEEVE (CP) 13.07
99330064 |SL 4-3/4 WALL SOCKET 31.04
99330065 |SL SOCKET 6-3/4 L DIM 38.28
99330066 |SL SOCKET 8-3/4 L DIM (RB) 45.53
99330067 |SL SOCKET 9-3/4 L DIM (RB) 49.17
99330068 |SL WALL SOCKET 10-3/4 L DIM (PB) 46.63

STS # 800130

Page 139



Best Plumbing Specialties - Pricelist 2/13/2013

99330069 |SL PUSH BUTTON 3-3/4 L DIM (CP) 68.91
99330070 |SL PUSH BUTTON 6-3/4 L DIM (CP) 78.91
99330071 |##SL PUSH BUTTON 8-3/4 L DIM (CP) 85.57
99330072 |SL PUSH BUTTON 9-3/4 L DIM (CP) 88.82
99330073 |SL RETAINING RING 5.28

99330074 |SL O-RING 11/16 X 7/8 X 3/32 0.85

99330075 |SL GROUND RUBBER BALL 1.37

99330078 |SL 7-3/4 L DIM FILLER ROD 14.18
99330079 |SL 8-3/4 L DIMENSION FILLER 14.87
99330080 |SL L DIM FILLER ROD 10-3/4 16.12
99330081 |SL 4-3/4 L DIM FILLER ROD 12.23
99330082 |SL 3 IN PUSH BUTTON ASSY 113.76
99330083 |SL 3 IN PUSH BUTTON ASSY 124.04
99330090 |AC FLO-CLOZ STEM SEAT (1/EACH) 2.44

99330091 |AC FLO-CLOZ O-RING RETAINER 16.88
99330093 |AC O-RING (10/PACK) 16.69
99330094 |AC VALVE ADAPTER 64.13
99330097 |MC DUAL TEMP LAV PNEUMATIC 533.34
99330098 |MC DUAL TEMP SINGLE FIXTURE 472.45
99330103 |AC WASHER S/S (10/PACK) 15.91
99330114 |BD RING CLAMP 30.19
99330115 |BD FILTER 5.19

99330116 |BD UPPER VALVE ASSY 33.57
99330117 |BD TIMING CARTRIDGE 35.78
99330119 |BD SCREW 5.19

99330120 |BD O-RING 5.19

99330122 |BD PLUNGER ASSY 24.15
99330123 |BD HOSE BARB 13.16
99330124 |BD HANDI-TAP WASHFOUNTAIN VALVE 246.52
99330125 |BD METERING VALVE 307.09
99330126 |AC NON-METERING SERVOMOTOR 15.23
99330127 |AC CHECK STOP ASSY - COMPLETE 62.50
99330128 |AC SELF CLOZING ROD (ONLY) 7.08

99330137 |BD SCREW 6.86

99330139 |BD INTERNAL STOP CORE 37.26
99330141 |##AC RETRO-AIR METERING VALVE ONLY 109.18
99330142 |AC SNAP RING 3.43

99330143 |AC RETRO-AIR BONNET NUT FOR 18.28
99330144 |AC O-RING (10/PACK) 16.69
99330145 |AC O-RING (10/PACK) 16.69
99330146 |AC RETRO-AIR STRAINER FOR 15.77
99330147 |BD ESCUTCHEON 55.61
99330148 |BD DISPENSER COVER 76.85
99330149 |BD TIE BAR 51.42
99330150 |BD CYCOLAC DISPENSER LID 42.14
99330151 |BD LIQUID SOAP VALVE CELCON 104.37
99330152 |BD SPRAYHEAD 295.84

STS # 800130

Page 140



Best Plumbing Specialties - Pricelist 2/13/2013

99330153 |BD TIEROD 18.55
99330154 |BD SPRAY HEAD 580.83
99330155 |BD RESTRAINING BRACKET 40.84
99330156 |BD BLACK RUBBER WASHER 4.06

99330157 |BD GASKET 4.82

99330159 |BD COVER TNF - LONG 95.36
99330160 |BD SPACER 25.92
99330161 |BD SCREW ASSY 24.74
99330162 |BD SPRING 5.19

99330163 |BD GUIDE 18.11
99330164 |BD BODY 28.72
99330165 |BD U-CUP WASHER 10.20
99330166 |BD POP-IT ASSY 19.00
99330167 |BD VALVE SEAT 17.05
99330168 |BD RESTRAINING BRACKET 41.82
99330169 |BD RESTRAINING BRACKET 37.88
99330170 |BD SUPPLY PIPE 72.71
99330171 |BD SUPPORT TUBE 211.86
99330172 |BD FRICTION RING 4.08

99330173 |BD SLIP JOINT WASHER 7.23

99330174 |BD 1/2 X 1-1/2 NIPPLE 11.49
99330175 |BD VOLUME CONTROL 155.58
99330176 |BD 1/2 IPS ELBOW 21.13
99330178 |BD SCREW 3.45

99330179 |BD STRAINER 11.87
99330180 |BD LOWERTIE BAR 14.87
99330181 |BD FLAT WASHER .668 X .969 X .094 8.33

99330182 |BD TAILPIECE 132.55
99330183 |BD FILLER HOLE CAP 26.80
99330184 |BD POWDER SOAP DISPENSER 41.93
99330185 |BD 36 IN SUPPORT TUBE 156.89
99330188 |BD GASKET METAL SUPPORT TUBE 22.09
99330189 |BD OPERATING ROD-JUV HEIGHT & 47.82
99330190 |BD ANGLE VOLUME CONTROL VALVE 65.39
99330205 |CE HANDLE SCREWS (25/PACK) 6.61

99330208 |CE BUTTON HOLE PLUG BRASS 6.71

99330215 |CE MALE FLANGE ADJUSTABLE 29.66
99330216 |CE FEMALE FLANGE ADJUSTABLE 40.72
99330217 |BD BODY ASSY FOR TOUCH-N-FLO 65.67
99330218 |BD TIE ROD NUT 20.76
99330219 |BD TIEROD 10.93
99330220 |BD UPPERTIE BAR 16.79
99330221 |BD CIRCULAR SPRAY HEAD 295.84
99330222 |BD OPERATING CROSS 31.37
99330226 |BD NYLON DISPENSER LID 51.48
99330228 |BD LOWER TIE ROD 17.82
99330229 |BD LOCKING HEX NUT 14.46

STS # 800130

Page 141



Best Plumbing Specialties - Pricelist 2/13/2013

99330230 |BD CAP SCREW 5.19
99330232 |BD ESCUTCHEON 2-5 PERSON COLUMN 58.18
99330233 |BD ESCUTCHEON 6 PERSON COLUMN 68.50
99330234 |BD HANDLE SET SCREW 8.38
99330236 |BD BOTTOM SEAT GASKET 15.76
99330237 |BD BODY SEAT 465.66
99330238 |BD COLD WASHER 6.67
99330239 |BD FLOW CONTROL SPINDLE 282.26
99330240 |AC 1/2-13 STANDARD ZINC HEX NUT 15.90
99330242 |IS ASPIRATOR BALL 0.78
99330243 |IS COMPRESSION NUT 1.22
99330244 |IS COMPRESSION SLEEVE 0.78
99330245 |IS THERMOSTAT 37.92
99330247 |IS PLUG & CORD ASSY 16.22
99330248 |IS CASE 17.32
99330251 |IS CAP NUT 0.73
99330255 |IS SCREW 0.78
99330256 |IS SCREW 0.43
99330257 |IS VENT TUBE 2.35
99330262 |MN HANDLE STOP KIT (CP) 15.72
99330263 |MN LEVER HANDLE COLLAR VILLETA 9.30
99330264 |MN LIFT ROD & KNOB KIT VILLETA 33.67
99330265 |MN DECK GASKET 7.27
99330266 |PP 1-1/4 TAILPIECE 11.39
99330267 |PP SMALL BLUE VERVE INSERT 1.97
99330268 |PP WINDSOR BUTTON/INSERT BLUE 1.83
99330269 |PP WINDSOR BUTTON/INSERT RED 1.83
99330270 |PP BLUE WINDSOR INSERT INDEX (CP) 1.37
99330272 |PP SMALL WINDSOR HANDLE (CP) 5.26
99330273 |PP MALE AERATOR 5.53
99330274 |PP POP-UP FLANGE (SATIN NICKEL) 20.23
99330275 |PP STRAP LAV POP-UP W/SCREW 6.78
99330276 |PP WASHER CROWFOOT STEEL 0.72
99330277 |PP LOCKNUT 1/2 IN SHANK 1.34
99330278 |PP 3/8 FRICTION RING 2.26
99330279 |PP LAV STOPPER (ANTIQUE BRONZE) 21.56
99330280 |PP FLANGE (PVD POLISHED BRONZE) 23.88
99330283 |## CG ADAPTER (CP) 17.58
99330287 |CG RUBBER WASHER NF 1.89
99330290 |CG DECK TRIM FLANGE (CP) 13.33
99330298 |##CG TEE FITTING ASSY (RB) 27.11
99330301 |##DE SET SCREW (CP) 6.33
99330318 |GE BRASS NUT 5.21
99330323 |GE HOSE ADAPTER S/A 6.64
99330328 |GE PLASTIC LOCKNUT & SHANK NUT 6.04
99330329 |GE COLD HANDLE W/THREADED 19.28
99330414 |## BUBBLER FAUCET W/PUSH HANDLE 212.45

STS # 800130

Page 142



Best Plumbing Specialties - Pricelist 2/13/2013

99330426 |IS LOGO NAME PLATE 0.77
99330427 |IS KNOB 6.50
99330428 |IS SCREW 0.78
99330429 |IS CLEAR LOGO COVER 4.13
99330444 |GE 1/2 IPS BRASS PIPE PLUG 6.92
99330445 |GE BLANK LARGE METAL HANDLE (CP) 12.48
99330446 |IS CAP & BODY KIT 48.55
99330447 |IS TCO BARRIER 4.14
99330455 |SL 3/4 DECORATIVE STOP CAP 21.15
99330458 |SL FAUCET SENSOR ASSY 259.43
99330459 |SL FAUCET MOUNTING KIT 32.31
99330460 |SL 1-1/2 SPUD COUPLING ASSY 17.23
99330461 |SL CP COVER FOR CONTINENTAL 32.09
99330462 |SL ROYAL Il COVER 54.43
99330463 |SL ROYAL Il HANDLE ASSY 49.58
99330464 |SL ROYAL Il COUPLING (CP) 16.29
99330465 |SL ROYAL Il SPUD COUPLING ASSY (CP) 20.93
99330466 |SL CAP & SOLAR CELL ASSY 82.76
99330468 |SL 2.2 GPM AERATOR SPRAY HEAD 31.63
99330469 |SL BATTERY REPLACEMENT KIT 33.82
99330470 |SL MIXER HANDLE ASSY & CARTRIDGE 73.00
99330471 |SL HANDLE CAP 5.15
99330473 |SL THROAT PLATE ASSY 206.05
99330474 |SL THROAT PLATE ASSY W/I.Q. - 259.77
99340094 |SS PLASTER SHIELD WRENCH 30.33
99340891 |MN POSI-TEMP HANDLE ADAPTER 8.52
99340991 |## 1/2 X 1/2 *LF SharkBite BALL 13.69
99340992 |## 3/4 X 3/4 *LF SharkBite BALL 17.18
99345176 |WW ABS RETAINER STAR NUT FOR 3.60
99410321 |WW RUBBER STOPPER (D-RING) 1.17
99490735 |## ERGONOMIC KNEE & BACK PAD 29.11
303070001 |COLD STEM FOR GERBER 5.65
341020001 |CU INDIANA COLD STEM COMPLETE 9.61

STS # 800130

Page 143



	Sheet1

